PRODUCT
CATALOGUE




Right at your fingertips

Visit the New Online WABCO Customer Centre

We have prepared our new WABCO Customer Centre
to support you on finding and ordering what you need easiet,
faster, and with lots of new features you’ll come to love.

www.wabco-customercentre.com WABco



Dear WABCO customer,

Welcome to the new WABCO Customer Catalogue. This
extensive reference work has been designed to support and
simplify your daily operational performance by providing you
with an exhaustive overview of our product availability. The
catalogue enables you to quickly find and order replacement
parts and services essential to supporting your customer’s
ability to achieve reduced downtime.

A lot has changed since the last imprint, and the new
publication contains up-to-date details of our latest products
and services, designed and developed for today’s commercial
vehicle industry, one which is quickly transitioning to an
Autonomous, Connected and Electric future.

Backed by over 150 years of expertise in the supply of
commercial vehicle parts and built on a long collaboration with
the world’s leading Original Equipment Manufacturers, every
WABCO component is designed and manufactured to the
highest quality standards and supported by a powerful, global
customer service network. Our high quality standards have
been put in place to delivery you, that essential peace of mind -
knowing that when you order from the WABCO catalogue,
every item is a like for like replacement part to the original

OE part.

ZF Friedrichshafen AG

ZF is a global technology company and supplies systems

for passenger cars, commercial vehicles and industrial
technology, enabling the next generation of mobility. ZF allows
vehicles to see, think and act. In the four technology domains
Vehicle Motion Control, Integrated Safety, Automated Driving,
and Electric Mobility, ZF offers comprehensive solutions

for established vehicle manufacturers and newly emerging
transport and mobility service providers. ZF electrifies different
kinds of vehicles. With its products, the company contributes to
reducing emissions and protecting the climate.

ZF, which acquired WABCO Holdings Inc. on May 29, 2020,
now has 162,000 employees worldwide with approximately

Within these pages you will find detailed specifications of our
growing range of systems and components for trucks, trailers
and buses. The catalogue has been designed to deliver a one-
stop shop for every workshop and distributor.

Serving you with a complete overview of our offer, this
catalogue also provides details on our REMAN SOLUTIONS
offering, leading repair solutions, as well as WABCO
ACADEMY trainings and diagnostics. We hope you find this
catalogue useful.

Orders may be placed through our online portal wabco-
customercentre.com catalogue, or you are welcome to reach
out to our expert staff that is readily available to provide full
technical and business support, ensuring you find the right
product, training course or service.

We are confident that this catalogue, with its comprehensive

offering of parts and services will play a key part in achieving
our joint ambition: to enable the commercial vehicle transport
industry achieves safer, greener and leaner operations.

Your WABCO team

N

|

AUTONOMOUS
CONNECTED
ELECTRIC

7

260 locations in 41 countries. In 2019, the two then-
independent companies achieved sales of €36.5 billion (ZF)
and $3.4 billion (WABCO).

With the integration of WABCO, the leading global supplier of
braking control systems and other advanced technologies that
improve the safety, efficiency and connectivity of commercial
vehicles ZF will create a new level of capability to pioneer

the next generation of solutions and services for original
equipment manufacturers and fleets globally. WABCO, with
almost 12,000 people in 40 locations worldwide, will now
operate under the ZF brand as its new Commercial Vehicle
Control Systems division.

3




Welcome to the WABCO family!

Are you searching for the ways to bring down the cost of your business, enable simplicity in your operations, train your staff,
improve productivity across the board, increase uptime, and simply reduce the carbon footprint? We are here for you!

This catalogue proudly offers you an overview of our aftermarket OE proven parts, repair solutions, diagnostic tools, training and
re-manufacturing services.

LOGICAL

NOMICAL

WABCO Original Equipment and Repair Kits

Our OE parts deliver peace of mind, built on decades of experience and on our
extensive industry partnerships with the commercial vehicle sector as a whole. To
ensure we deliver the highest quality, we use high-grade materials, as well as subject
these parts to comprehensive tests and inspections designed to meet the most rigorous
production and safety standards. Today our parts and services proudly serve over

100 OE companies worldwide.

Not looking to replace the whole part? If you need a cost-effective refresh without
requiring the entire component to be replaced you can choose from our extensive range
of repair solutions. On top, many of these components require no additional specialist
tooling, making the repair quick and easy.

WABCO REMAN SOLUTIONS

Our extensive REMAN SOLUTIONS offer customers a remanufactured product that
matches the level of quality of a new part and is the perfect cost-efficient choice when
core return is ensured. This solution, which builds on the need for the industry to return
used cores back to WABCO, supports a significant cut down on waste, supporting our
contribution to a greener planet and allows us to return used cores back to the market
as new.

ProVia

Looking to strike a balance between safety, reliability and cost as an alternative to the
low-end budget parts which can often fall short of quality and reliability expectations?
Don't want to invest in premium aftermarket parts for trucks, buses, and trailer? Then
ProVia is the perfect solution for you. Want to know more? Visit the dedicated ProVia
catalogue, for a detailed portfolio overview on www.provia-auto.com.




Your journey with WABCO

Order & delivery Customer support

The greater your fleet operations uptime, the higher Have a question? Missing some information? We are here
the satisfaction levels of your customers, stakeholders for you! Our trained specialists at the WABCO Customer
and drivers. Finding the right replacement part for your Care Centre are always on hand to answer your technical
vehicles therefore plays a key role in enabling improved and commercial questions, providing the help you need in
uptime! To help you find and order the part quickly, we your local language where available:

have recently introduced the new WABCO Customer www.wabco-auto.com/Get-in-touch

Centre — the online tool for all your WABCO parts and
service needs. If you prefer personal contact, we look
forward to answering your call or welcoming you to one of
our almost 5000 distribution points worldwide. To find the 09
nearest one use “Find us” on: Dlgltal
www.wabco-customercentre.com

& diagnostic tools

To prevent is better than to cure. Vehicle downtime can

be a real thorn in a fleet and workshop manager’s side.

Repai r & maintenance One effective way to increase uptime across your fleet
operations is by being on top of the health of

When the vehicle is constantly on the
road, it has to be continuously
maintained. WABCO offers

a comprehensive range of
customized aftermarket
solutions and dedicated
support services tailored

to your repair and
maintenance needs,

enabling you to operate
safely and efficiently.

In our extensive offering

you will find spare parts

and a repair kits for

almost all commercial
vehicles worldwide,

tailored to your budget

and vehicle age.

TOWARD ZERO
DOWNTIME

Training FROM THE S1

Enabling your

specialists to quickly

assess the condition of

a vehicle, decide on the right replacement part and effectively repair it
to reduce the truck’s downtime requires continued training.

WABCO ACADEMY provides advanced technical training and
consulting services to fleet managers, professional drivers, garage
managers, distributors and mechanics. As the industry and the
technology around it evolve, WABCO ACADEMY is there to

enable you and your teams to stay on top of the latest trends and
technological changes.

To meet varying customer demands and in a drive to offer the most
convenient forms of training, WABCO ACADEMY offers a number of
different training options:

m e-learning,

m classroom training,

m in-house training,

Visit www.wabco-academy.com and choose an option that meets
your needs today!

your vehicles at all times.
To enable you to detect onboard
system failures early on and
optimize vehicle maintenance
scheduling, WABCO offers
a powerful combination of
diagnostics solutions that
will monitor the technical
performance of your
vehicle on the road and
support diagnostic work
in the workshop, enabling
mechanics can react
quickly to improve the
uptime.

Upgrade & update

Keeping your vehicles up to speed

with the changing market is a challenging
task for any fleet manager and when
replacement is not an option, you can turn
to WABCO'’s extensive offering of Retrofit
solutions. It's a portfolio specifically designed
to keep you vehicles up to date, thanks to
an ability to upgrade your existing vehicles
with the latest state-of-the-art technology
and ensure they are up to standard (e.g.
Advanced Driver Assistance Systems or our
newest Trailer EBS).




Content

Important instructions

Safety & testing instructions .. ...................... 12

Structure of the WABCO number. .................... 12

Description of pneumatical ports . ................... 12

Advanced digital solutions

Telematics

Entry-level telematics . . ......... .. ... ... ... .. 15
TRAXEE™ 15

Advanced telematics. . .......... ... ..o 16
TX-SKY 16
TX-GO 2. 16
TX-CONNECT (MP) . . ..ot 16
TX-SOCIAL ..t 17
TX-ECO ..o 17
TX-REPORTS .. e 17
TX-DASHBOARDS . ... . i 17
TX-TANGO . .o 17
TX-FLEXSOLO . ..ot 18
TX-DIAGNOSTIX (remote diagnostics) . .............. 18

Trailer telematics . ... ... 19
TX-TRAILERGUARD . . . ..o 19
TX-TRAILERPULSE. . .. ... ... 19
TX-GEO 2. . .o 19
TX-CONNECT (MP) . . .ot 19

Truck & bus

Air supply and processing

Al COMPreSSOr . ..ot 23
Compressor - foot mounted (single cylinder)........... 23
Compressor - flange mounted (single cylinder) . ... ... .. 24
Compressor - flange mounted (twin cylinder) .......... 28
Compressor - flange mounted (special cylinder) ... ... .. 31
Compressor-standalone . ........................ 31

Air proCessing . ... ..o 32
Air Processing Unit (APU) . ......... ... .. ... ..... 32
Electronic Air Processing Unit (EAPU) - FuelGuard™. . . .36
Unloader. . ... 36

Chargingvalve ......... .. ... .. . . 38
Protectionvalve . ........ ... ... ... . . . . .. 40
Triple protectionvalve. . . ......... ... ... ... ...... 40
Quadruple circuit protection valve - flange mounted . . .. 40
Quadruple circuit protectionvalve . .................. 42
Safetyvalve . ...... ... ... 44
Air dryer - single chamber (Standard cartridge). ... .... 45
Air dryer - single chamber (Air System Protector) ... .. .. 51

Air dryer - single chamber (Air System Protector Plus) . . .52
Air dryer - single chamber with external filling port

(Standard cartridge) . . . ... 53
Air dryer - single chamber with external filling port (Air
System Protector). . .. ... 53
Air dryer - twin chamber with unloader (Standard
cartridge) .. ... 54
Air dryer - twin chamber with unloader (Air System
Protector) . ....... .. . e 56
Air dryer - twin chamber without unloader. .. .......... 57
Air dryer - electrically controlled (ECAD) . ... ......... 58
Heater. .. ...... .. . 58
Pressure limiting valve (475009 ... 0). .............. 59
Airdryercartridge. . ...... .. ... . 60
Essential cartridge . .. ...... ... . 60
Standard cartridge . ... ... ... 60
Air System Protector. ... .......... .. 61
Air System Protector Plus. . .. ........ ... ... ... ... 61
Pressure limitingunit . ........... ... .. .. . . . 62

Air storage

ArresServoir .. ... 63
Clampband. . ....... ... .. . 65
Drainvalve ...... ... . 65
Drain valve - manually operated. . ................... 65
Drain valve - automatic with control port .. ........... 66
Drain valve - automatic. . . ............. ... . ....... 66

Conventional braking components

Foot brakevalve. ... ... ... ... . ... ... .. . . 67
Foot brake valve (without actuation). . ................ 67
Foot brake valve (with actuation) . .................. 69
Foot brake valve with empty load function (461 319 ... 0) 71
Foot brake valve with retarder control . ............... 72
Foot brake valve (461494 ...0) .................... 76
Foot brake valve digital (461333 ...0) ............... 77




Relay valve . ... ... .. . . 77
Relay valve - simple (97300. ... 0).................. 77
Relay valve - simple (973011 ... 0). . ................ 78
Relay valve - simple (with predominance) ............. 79
Overload protectionrelay valve ... .................. 79
Empty-load relayvalve. .. ......... .. ... .. ... .. ... 80
Relay valve - special. . . ......... .. .. . i 81

Pressurelimitingvalve . .......... ... ... ... . ... ..... 81
Pressure limiting valve (475010 ... 0). . .............. 81
Pressure limiting valve (475015 ... 0). ... ............ 83

Pressure limiting valve (475019 ... 0/475020 ... 0)... 84

Load sensingvalve ... ... ... .. . ... ... 85
Load sensing valve - mechanical . . .................. 85
Load sensing valve - mechanical with integrated relay
Valve . . 86
Load apportioning valve (475604 ... 0) .............. 88
Load sensing valve - pneumatic. . . .................. 89
Load sensing valve - pneumatic with integrated relay
valve . .. 89
Load sensing valve - hydraulic. .. ................... 92

Adaptingvalve . .......... .. . 92
Adaptingvalve (47330....0) ... i 92
Adaptingvalve (97500. ...0) . ......... i 93

Pressureswitch . .......... ... . . . 94
Pressure switch - normal pressure. .. ............... 94
Pressure switch - high pressure. .. .................. 95

Directional controlvalve. .. ... ... ... ... ... ... ..... 95
2/2 Directional control valve (463068 ...0) ........... 95
3/2 Directional control valve (434205 ...0) .......... 96

3/2 Directional control valve - manually controlled (push) 97
3/2 Directional control valve - manually controlled (turn). .98
4/2, 4/3 Directional control valve (463 037 ... 0)........ 98
Directional control valve (463079 ... 0/571 040 ... 0). 99

Quickreleasevalve . ....... ... ... ... 100

Piston operating cylinder ......... ... ... ... ... .... 101
Piston operating cylinder - single acting (421 410 ... 0) .101
Piston operating cylinder - single acting (421 41. ... 0) .102
Piston operating cylinder - single acting (421 42. ... 0,

42144 . . 0) . 103
Piston operating cylinder - double acting. . ........... 104
Silencer. ... 104
Silencer (432407 ... 0,899470...0) .............. 104
Silencer (53240....0) ... 105
Solenoid . ... .. 105
Solenoidvalve . ... ... .. ... 106
Solenoidvalve -open. . ....... ... .. i 106
Solenoidvalve -closed ............... ... . ...... 107

Anti-lock braking system (ABS)

ABS electronic control unit (ECU)................... 111
ABS solenoid modulatorvalve. . .................... 112
ASR proportional valve. . ........ ... ... ... ... ... 114
ABS trailer controlvalve. .. ........................ 114
Wheel speed sensor ............ .. 117

Sensor set-radialsensor . .......... ... .. ... ..., 117

Sensorset-axial sSensor . ......... ... 119

Electronic braking system (EBS)

EBS truck electronic control unit (ECU).............. 123
EBS truck Central Braking Unit (CBU) ............... 124
EBS truck modulator. ............. ... ... ... ... ... 125
Truck EBS modulator - generation1 ................ 125
Truck EBS modulator - generation2 ................ 126
Truck EBS modulator - generation3 ................ 127
Truck EBS modulator - generation4 ................ 127
EBS trailercontrolvalve........................... 129
EBS brake signal transmitter . ...................... 130
EBS brake signal transmitter withpedal ............. 131
EBS proportional relay valve . . .......... ... ... .... 132
EBS solenoidrelay valve . ......... ... .. ... .. .... 133
Parking brake . ... ... ... ... 134
Hand brakevalve . .......... ... ... ... ... ... .... 134
Hand brake valve - parking. . . .......... ... ... .... 135
Hand brake valve - parking with additional valve. ... ... 138
Hand brake valve for trailercontrol ................. 141

Hydraulic brake systems

Conventional hydraulic brake . .................. ... 143
Load sensing valve - hydraulic. .................... 143
Brakevalve. .. ... ... ... ... . .. 143
Single circuit air - hydraulic servounit. .............. 144
Trailer controlvalve .......... ... ... ... ... ...... 144
Hydraulik brake chamber . ... ........... .. ... .... 147
Piston air / hydraulic actuator. . .................... 148

Electro hydraulicbrake. .......... ... ... ... ... .... 149
Hydraulic ABS modulator. . ....................... 149
ABS hydraulic power brake (HPB) ... ............... 150

Hydraulic electronic control unit (ECU) .............. 150




CONTENT

Brake actuators

Service brake chamber (UNISTOP™) .. .. ............ 151
Service brake chamber (UNISTOP™) -disc .......... 151
Service brake chamber (UNISTOP™) -cam.......... 154
Service brake chamber (UNISTOP™) - wedge . . ... ... 158

Spring brake actuator (TRISTOP™). . ................ 159
Spring brake actuator (TRISTOP™) -disc............ 159
Spring brake actuator (TRISTOP™) -cam ........... 162
Spring brake actuator (TRISTOP™) - wedge. .. ....... 165

Air disc brakes

Tool sets fordiscbrakes. ............ ... ... ... ..... 167
Tool set for MAXX™, MAXXUS™ & PAN™ calipers. .. .167
Toolset'Basic’ . ... 167
Tool set ‘Extension’ . ......... ... ... . ... ... . ... 167
Adjusterchange . .......... ... 167
Ratchet forreturnunit. .. ........... ... ... . ... . ... 167
Application oftoolsets. . .......... ... ... ... ... .. 168

PAN™ range . ... 168
PAN™ 17 - light duty air disc brake . ................ 168
PAN™ 19 - medium duty air disc brake ... ........... 170
PAN™ 22 - heavy duty air disc brake. . . ............. 172
PAN™ 25 - heavy duty air disc brake. . .............. 173

MAXX™ FANQE . . ottt 174
MAXX™ 17 - light duty air discbrake ............... 174
MAXX™ 19 - medium duty air disc brake ............ 175
MAXX™ 22 - heavy duty air disc brake. ... .......... 176
MAXX™ 221 - heavy duty air disc brake. . ........... 177
MAXXUS™ - heavy duty air disc brake . .. ........... 178

ROtOr . . 178

Hydraulic disc brakes

Floating caliper disc brakes........................ 179
Hydraulic floating caliper disc brake 230 V-10. .. ... ... 179
Hydraulic floating caliper disc brake 340 V-10. .. ... ... 180
Hydraulic floating caliper disc brake 244 V-O ... ...... 180
Hydraulic floating caliper disc brake 268 V-O ... ...... 181

Fixed caliper disc brakes .......... ... .. ... .. .... 182
Hydraulic 4-piston fixed caliper disc brake 444 F-O ... .182
Hydraulic 4-piston fixed caliper disc brake 450 F-O . .. .183
Hydraulic 4-piston fixed caliper disc brake 456 F-O . .. .183

Drum brakes

Servo /duo servodrumbrakes ......... .. ... .. ..., 185
Hydraulic servo drum brake 270x80 SM-Om . ........ 185
Hydraulic servo drum brake 310x100 SM-Om. ........ 186

Hydraulic servo drum brake 315x80 SM-Om. ... ...... 186
Hydraulic servo drum brake 325x100 SM-Om. . ....... 186
Simplex /duplex drum brakes . ..................... 187
Simplex expanding wedge drum brake 360x170 Z-E. . . .187
Simplex expanding wedge drum brake 410x180 Z-E. . . .188
Duplex expanding wedge drum brake 410x180 D-E . .. .190
Simplex expanding wedge drum brake 410200 Z-E. . . .190
Simplex expanding wedge drum brake 500x160 Z-E . ..191
Duplex expanding wedge drum brake 500x180 D-E. . . .191
Slack adjuster. . ....... ... ... .. 192
Manual slack adjuster. . .. ........... ... ... ... .... 192
Automatic slack adjuster - WABCO EasyFit™ . ........ 192
Suspension controls
Conventional air suspension control ................ 193
Chassis levellingvalve . . ......................... 193
AIrsSpring .. ..o 194
Airbellow . ... 195
Shock absorber . ... ... .. ... .. 195
Cabin air levelling module (CALM). ................. 197
Cabinlevellingvalve. . ....... ... ... ... ... ... ..., 197
ECAS™ - electronically controlled air suspension ... .. 199
ECAS™ electronic control unit (ECU) ............... 199
ECAS™ solenoid valve. . . ........... ... .. ...... 200
ECAS1 valve replacement . .. .................... 202
ECAS™ heightsensor . ............ ... ..., 204
ECAS™ pressure SENSOr . . ..o v oo e e i e 205
ECAS™ remote controlunit. .. ................... 206
Driveline controls
Pneumatic automated manual transmission (AMT) ... .207
Aftermarket solutions for Daimler AMT
st/ 2 generation. .. ..o 207
Aftermarket solutions for Daimler AMT 3 generation. . 208
Aftermarket solutions for gearbox control units for ZF
tranSMISSIONS . . . .t 209

Aftermarket solutions for gearbox control units for Volvo

applications. . .. ... . 211
Hydraulic automated manual transmission (AMT) ... .. 213
REMAN SOLUTIONS complete devices for ZF
applications. .. ... 213
Aftermarket solutions for ZF applications. . ........... 213
Aftermarket solutions for Daimler applications ........ 215
Transmission acCcesSories . ... ... . 216
Transmission solenoidvalve ...................... 216
Shiftlever . ... . . 216
Gear shiftcontrolvalve. . .. ........... ... .. ... ... 217




Clutch control

Pedal unit . ... 219
Pneumatic clutch actuator . ....................... 220
Manual transmission. .. ............ ... .. ... 221
Clutchservo . ... e 221
Servomaster . ... 227
Clutchmastercylinder . ......................... 228
Retardercontrol .. .......... ... ... . . .. ... 228
Retarder solenoidvalve . . ....................... 228
Vacuum exhaustbrake. . ....... ... ... ... ... . ... 229
Hydraulic engine brake cylinder. .................. 229
Exhaust brake control unit switch. . ................ 229
Bus systems
Modular door control. . ........... ... 231
Doorelectronic. . . ... 231
Doorvalve. . ... 231
Door operatingcylinder ............. ... ... . .. 232
DOOr SEBNSON . . .ttt e e 233
Doorsolenoidvalve . .......... ... ... ... .. ...... 233
Emergency cock. .......... . . 234
Climatecontrol........ ... .. .. . ... . . . .. . . . ... ... 235
Cimate control electronic control unit (ECU) .......... 235
Water quantity controlvalve. . .................... 236
Temperature SENSOr . . .. ..o v i e 236
Retrofit solutions
OptiTire™ - tire pressure monitoring system.......... 237
OptiTire™ electronic control unit (ECU). . ............ 237
OptiTire™cable . ......... ... ... . .. 237
OptiTire™ external sensor - wheel module 2 (WM2). .. 238
OptiTire™ valve-mounted internal sensor (WIS) . . . ... 240
OptiTire™ strap-mounted internal sensor (SMS). . ... .. 241
OptiTire™Mdisplay . . ........ ... 241
OptiTire™ TPMS manager. . ..........ouiueenn.n.. 241
TailGUARD™ . . . 242
TallGUARD™ electronic. . .. ... ovvii i 242
TallGUARD™ cable .. ... .. ... .. . 242
TallGUARD™ SENSOr . . .ttt e i e 243
TallGUARD™ accessories. . .. oovv i 243
OnGuardACTIVE™. . ... . i 244
OnGuardACTIVE™ radar sensor. . . ............... 244
OnLaneALERT™ . . . 245
OnLaneALERT™ sset . . ... ... i 245
OnLaneALERT™ camera ............ ... 245
OnLaneALERT™ mounting bracket. . .............. 245

Vehicle connection

Connecting devices

Pneumatical connection.............. ... ... .. .... 249
Coupling head - towing vehicle ................... 249
Coupling head - trailer . .......... ... ... ... ...... 249
Coupling head - dummy coupling. . ................. 251
Linefilter. ... . o 251
DuoMatic . ... 251
TrioMatiC. . .. ... 252
Coiledtube .. ... .. ... . 252
Straighttube DIN 74324 . . . ... ... ... ... ... ... ... 253
Straight tube DIN 73378. .. ... ... ... .. i 254
Straight tube DIN 7628. ... ...... ... ... ... ...... 254
Brakehose .. ..... ... ... . . 255
Tireinflatinghose. .. ....... ... ... ... ... ... .... 255
Metal corrugated hose . . . ....................... 256
Fittingcase. .. ... 256

Electrical connection ............ ... . ... ... ... ... 257
Electricalcable.......... ... ... ... ... .. ... ... 257
SOCKEeL. . . 258
CONNECION. . . oo 258

Trailer

Air storage

AIrresServoir .. ... 261

Clampband......... ... ... ... . . 264

Drainvalve ......... . . . . 265
Drain valve - manually operated. . ................. 265
Drain valve - automatic with control port .. .......... 265
Drain valve - automatic. . . ....................... 265

Air brake systems

Conventional braking components................. 267
Loadsensingvalve. ........ ... ... ... ... ... . ... 267
Relay emergencyvalve ............ ... ... ....... 269
Trailerreleasevalve . . ......... ... ... ... ... ... ... 272
Quickreleasevalve .......... ... ... .. ... .. . ... .. 273
Shut-offcock . ... ... .. . 274

Anti-lock braking system (ABS). . ................... 274
ExchangeofVarioC.......... ... .. ... .. ... .... 274
Exchange of VCS|. ... ... ... 275
Vario Compact ABS (VCS ) . ...t 275
Wheel speed Sensor. .. ... 276
Trailer ABSrelayvalve.............. ... .. ....... 277

9



CONTENT

Electronic braking system (EBS). .. ................. 278
Trailer EBS D modulator. . . ....................... 278
Trailer EBSEmodulator. .. ....... ... ... ... ...... 278
Pneumatic Extension Module (PEM) . ............... 279
TrailerEBSrelayvalve. .. ........ ... ... ... .. ... 280
Relay emergency valve for TrailerEBS .. ........... 280
Park release emergency valve. .. ................. 280

Brake actuators

Service brake chamber (UNISTOP™) .. .............. 281
Service brake chamber (UNISTOP™) -disc .......... 281
Service brake chamber (UNISTOP™) -cam.......... 282

Double diaphragm spring brake actuator

(TRISTOP™ D) . .ot e 283
Double diaphragm spring brake actuator (TRISTOP™ D) -
AiSC . e 283
Double diaphragm spring brake actuator (TRISTOP™ D) -
CaM . L 284

Spring brake actuator (TRISTOP™). .. .............. 286
Spring brake actuator (TRISTOP™) -disc........... 286
Spring brake actuator (TRISTOP™)-cam .......... 288

Air disc brakes

Tool sets fordiscbrakes. ............ ... ... ... .... 289
Tool set for MAXX™, MAXXUS™ & PAN™ calipers. .. 289
Toolset'BasiC’ . ... 289
Tool set ‘Extension’” .......... ... ... . ... ... ..., 289
Adjusterchange . .......... ... . . 289
Ratchet forreturnunit. .. ........... ... ... ... .... 289
Application oftoolsets. . ........... ... ... ... .... 290

PAN™ range . ........ . e 290
PAN™ 17 - light duty air disc brake . ............... 290
PAN™ 19 - medium duty air disc brake . . ........... 290
PAN™ 22 - heavy duty air disc brake. . . ............ 292

MAXX™ range ... ... 294
MAXX™ 17 - light duty air disc brake .............. 294
MAXX™ 22T - heavy duty air disc brake. ........... 294

Suspension controls

Conventional air suspension control ............... 295
Chassis levellingvalve . .. ........... ... ... ...... 295
Rotary slidevalve. . ......... ... ... ... ... ... ... 295
TASC ™ 296
TASC™ - 24V (new generation) ................... 297
TASC™ - 12 V (new generation). . . . ................ 297
Liftaxlecontrolvalve . ......... ... ... ... ... .... 298

AIrspring . ..o 300

Airbellow . ... .. 301
Shock absorber . ... ... .. ... .. 301
ECAS™ - electronically controlled air suspension . ... 302
ECAS™ electronic control unit (ECU) .............. 302
ECAS™ Sel. . ittt 302
ECAS™ solenoid valve. . . ......... ... ..., 303
ECASl valvereplacement .. ..................... 304
ECAS™ heightsensor . ............ ... ..., 305
ECAS™ pressure SENSOI . . ..o 306
ECAS™ remote control ............ ... ... . ... ... 307
ETASC. . o 309
Retrofit solutions
OptiTire™ - tire pressure monitoring system. . ........ 311
OptiTire™ electronic control unit (ECU). . ............ 311
OptiTire™cable .. ....... ... i, 311
OptiTire™ external sensor - wheel module 2 (WM2). .. .312
OptiTire™ valve-mounted internal sensor (WIS) ... .. .. 313
OptiTire™ strap-mounted internal sensor (SMS). . ... .. 314
OptiTire™ acCesSoriesS. . .. ..v vt 314
OptiLock™ security solutions .. .................... 315
Mechanical locking system . ...................... 315
Electronic door lock system ELB-LOCK®--+-----vvevieeee 318
SmartBoard . ... .. 322
SmartBoardcable ........ ... .. ... L. 322
OptiLink™ L 323
OptiLink™ Electronic Control Unit (ECU). . ........... 323
OptiLink™M cable. . ... ... ... .. . i 323
OptiLink™ set. . ... 323
OptiFlow™ SideWings. .. ... 324
OptiFlow™ SideWings - MidSkirt. . ................. 324
OptiFlow™ SideWings - EndSkirt. . ................. 326
OptiFlow™ SideWings - flow conductor. ... .......... 326
OptiFlow™ SideWings - pillar. . . ................... 327
OptiFlow™ SideWings - further components. . ........ 327
Brake pad wear indicator . ............. ... ... ... 328
Wearindicator . ........... i 328
Brake pad wear indicatorset . ..................... 328
Trailer Immobilizer. . ... .. ... ... .. L. 329
TaillGUARD™ . . . 330
TailGUARD™ electronic. . . ....... ... .o, 330
TallGUARD™ cable . ........... .. ... .. ... .. ... 330
TailGUARD™ SENSOr . . ..ot 331
TailGUARD™ aCCeSSOries. . . ..o v ae 331




Diagnostics, tools & equipment

Index lists

Diagnostics Index by product number........... ... ... .. 345
Hardware. . . ... ... 335

LaDIOD. -+ o oo 335 | Index by productname................... 367

Diagnostic Interface . .. ............. .. . ... 335

ABS/EBS Code Reader . ............. ... ....... 335 | Cross reference list

Testplug ABS. . ... 336

Flashing code connector . ....................... 336 | To quickly identify the right spare part for your vehicle open the

Diagnostic cable case - truck . . . .. ... oori . 336 ,,Cro_ss Reference List", document 81_5 QlO 054 3 and follow

) ) 3 quick and easy steps, described within the document.

Diagnostic cablecase-bus...................... 336

Diagnostic cable case - trailer . .................... 337 Disclaimer. . . .. 372
Diagnostic SOFtWAre ... .........ooveoeee . 337 Copyright & trademark notice. . . ................... 372

Diagnostic software - full package . . .. .............. 337

Diagnostic software - bus package ................ 338

Diagnostic software - truck package . .............. 338

Diagnostic software - trailer package. . ............. 338

Diagnostic software - multi-brand diagnostics. ... .. .. 338

Tools and equipment

Air pressuretesting. .. ... 339
Test case for air braking systems. .. ............... 339
Test case - ‘Agriculture’ compressed air .. .......... 339
Test case - brake and suspension ... .............. 340
Pressuregauge ... 340
Fabrichose....... ... ... ... .. . . ... . . . .. 340

Tool sets fordiscbrakes. . .......... ... ... ... ..... 341
Tool set for MAXX™ MAXXUS™ & PAN™ calipers. .. .341
Toolset‘Basic’ . ... 341
Tool set ‘Extension” . ....... ... .. ... ... ... . .. ... 341
Adjusterchange . .......... .. .. 341
Ratchet for returnunit. . . .......... .. ... . ... 341

TOOIS .. 342
Leakage Finder2.0. . .......... ... .. 342
Testcase-powersupply . ..., 342
TPMS manager ............uiiiin. 342

Cleaning . ... 343
Bio-cleaning systemset......................... 343

Chemical liquidparts ......... .. ... ... ... .. ...... 343
WABCOTHYL™ . e 343
WABCONTROL™ . . e 343
WABCOSEAL™ . . 343

WABCO EaseTec™ .. ... .. i 344




Important instructions

Safety & testing instructions
Repair

Repairs must be made by qualified expert technicians with
specific knowledge of the system only.

It is imperative that the applicable accident prevention
regulations of the company as well as national regulations are
observed.

It is imperative that the vehicle manufacturer’s specifications
and instructions are complied with.

Adjustment

Even where devices have the same product number, they may
have different operating principles. Electronic control units
especially are often produced universally and then adjusted
for a particular application by the vehicle manufacturer setting
corresponding parameters. If a replacement is required the
device must be calibrated or parameterized with diagnosis
equipment. Therefore you need to attend an adequate system
training course and have the knowledge of special settings.

Apart from electronic control units, automatic load-dependent
brake-power distribution is also likely to require special
adjustments and settings.

Test

After replacing or repairing a device, a functional test of the
entire system must be performed.

It is imperative that universal devices are tested on the basis
of the vehicle manufacturer’s data (such as load sensing valve
label, brake calculation etc.).

Perform a test drive after finishing work on the vehicle.

Description of pneumatical ports

The markings consist of a number comprising a maximum of
2 digits. The first digit stands for:

0 - intake connection

1 - supply of energy

2 - energy delivery (not for delivery to atmosphere, see
no. 3)

3 - exhaust port

4 - control port (device inlet)

5 - additional pneumatic port

6 - free

7 - anti-freeze connection

8 - 0il connection

9 - cooling water connection (compressor)

Structure of the WABCO number

WABCO part numbers consist of 8 or 10 digits.

8 digit product number (wheel brakes)

|1§T

— 0318
40175 072

Assembling date
Production date

Characteristic number

Brake size

Serial number

10 = Drum brake

12, 13, 16, 17, 18 = Spare part or repair kit
40 = Disc brake

VT = Spare part or repair kit

10 digit product number

PRI (product
responsibility identifier)

WABCO
L 25117 ] [

925 376 112 0

Production date

Type of device

Variant

l— Status digit

0 = Complete device

1 = New device (subassembly)
2 = Repair kit or subassembly
4 = Single component

7 = Exchange unit

R = Re-manufactured device

A second digit is there required when several similar
connections, e.g. multi-circuit systems, are available. The
relevance of the second digits is up to the manufacturers.
They should begin at 1 and be used consecutively, e.g. 21, 22,
23, etc. If a modular system is used, deviations from this are
permitted.

The following numbers are not available for free selection:

7.1 - anti-freeze supply

7.2 - anti-freeze discharge
8.1 - oil supply

8.2 - oil discharge

9.1 - cooling water supply
9.2 - cooling water discharge







Content

Advanced digital solutions

Telematics

Entry-level telematics . . ... ... 15
TRAXEE ™ L 15

Advanced telematiCs. . .. ... ... 16
TX-SKY 16
TX-GO 2. 16
TX-CONNECT (MP) . . . ottt 16
TX-SOC AL .ot 17
TXEC O o 17
TX-REPORTS .. 17
TX-DASHBOARDS . . . . 17
TXTANGO . o 17
TX-FLEX SOLO ..ot e e e 18
TX-DIAGNOSTIX (remote diagnoStiCS) . . . .o v v i e e 18

Trailer telematiCs . . . . .. 19
TX-TRAILERGUARD . . .o e e e e 19
TX-TRAILERPULSE. . . . o e 19
TX-GEO 2. . ot 19

TX-CONNECT (MP) . . oot e e 19




Telematics

Modern-day transport companies face a multitude of challenges in a world that is fast
changing, driven by higher customer expectations, more regulation and fast-paced
technological change. The advent of cloud technology, Big Data and the Internet of Things
(IoT) is having a significant impact on industries worldwide and is already delivering new levels
of safety and efficiency to transport operators globally.

WABCO offers a unique combination of advanced digital solutions, an extensive support
network and services designed to connect the many ecosystem players in transport today.
The company’s ever expanding and evolving telematics and cloud-based Fleet Management
Solutions (FMS) allows transport operators to continuously improve their connectivity across
the ecosystem enabling these to operate in an increasingly safer, greener and leaner manner.
This includes advanced and connected solutions to enable fuel savings, driver satisfaction,
event recording, regulatory compliance, intelligent cargo management, optimized planning,
administrative automation, and supply chain connectivity.

On the next pages you will find an extract of our FMS systems, platforms and functionalities.
Want to learn more? We invite you to visit www.wabco-solutioncentre.com or see
www.transics.com to review the full portfolio.

Entry-level telematics

TRAXEE™
m Description Fleet management assistant )
m Product number 446 297 002 2 TRAXEE Standard Pack
m Training E-learning: TRAXEE 200 300 117 0
Content TRAXEE Standard Pack
446 297 002 2

FMS connector kit 1x

Remote data download connector kit 1x

Tacho connector kit 1x

Hardware unit 1x

1st year subscription 1x

Quick start guide 1x

Safety instructions 1x

FMS CAN cable 1x

Power input/output cable 1x

Features Features

Driver identification Historical routes

Fleet position and status Text messaging

Tacho times ECO driving style analysis
Remaining driving and resting times GeoZones

Activity management Advanced reports and alarms

Automatic and remote tacho data download and archiving Truck-friendly route calculation, including toll costs




TELEMATICS

Accessory

Product number Accessory Application

DAF XF95 / XF105 / XF106

MAN TGX / TGA/ TGS/ TGM / TGL
Optional hardware |IVECO Stralis Euro4 ... 5

type 1 ScaniaP/R/T

Renault T/ K/ C (Euro 6)

Volvo FH / FM (Euro 6)

Mercedes Actros / Antos / Arocs / Atego / Axor
Optional hardware |lveco Hi-Way (>2016)

type 2 ScaniaR/S /G /P (Euro 6 >2018)

Volvo / Renault (Euro 5 and older)

446 297 100 2

446 297 101 2

Advanced telematics

TX-SKY

TX-SKY is a powerful on-board computer, touchscreen-operated and dashboard
mounted. It is fully integrated into Transics’ multifunctional TX-CONNECT back
office software and connects as standard to the vehicle’s CAN bus and tachograph.
It registers all driver and truck information as well as data from other sources, such
as temperature sensors and document scanners. As a secured gateway, TX-SKY
enables drivers and dispatchers to exchange information in real time.TX-GO 2

TX-GO 2

TX-GO 2 is an on-board computer without a display, designed for installation behind
the dashboard. It is connected to the truck’s digital tachograph, allowing real-time
tacho activity follow-up, automated activity management and remote download of
mass memory and driver cards. TX-GO 2 can also be connected to the CAN bus,
allowing fuel management, trend reporting and driver scoring. Integrated within the
powerful TX-CONNECT back office platform, TX-GO 2 is a secured gateway for fleet
data, and enables real-time fleet follow-up.

TX-CONNECT (MP)

This interactive platform for transport, logistics and distribution companies better
integrates fleet information, allowing improved functionality of daily communication
between planners, manager, subcontractors and customers. TX-CONNECT is the
beating heart of our solutions and can be strengthened via the integration of vehicle
peripherals and office software.




TX-SOCIAL

TX-SOCIAL is an intuitive software package for managing tacho read-outs
and social data. It helps drivers understand when to drive and rest, while
also managing and archiving their tacho data. The software provides activity
and expense reports, with an exporting function to share the information as
required. It can also be used to simplify payroll administration.

TX-ECO P
: Do

TX-ECO is a brand-independent program that objectively evaluates and = T

stimulates driver performance for economical and environmentally-friendly ﬂ”ﬂﬂ”u"”"uﬂu

driving. The program combines in-cabin driver tools, key performance i ‘

indicators, driver scores and trend reporting, using telemetry captured from E[;"“"|||m||[|||i][[ £

a truck’s CAN-bus. TX-ECO is fully integrated into the back-office software = =

TX-CONNECT. R | T R R
ey |
'I.é';f“_‘.:'.' i o KR L

TX-REPORTS

Charts fleet performance.

TX-REPORTS is part of TX-CONNECT and is a perfect basis for detailed :
reporting. As it records and charts the performance of the fleet, it can help fsn—==
find ways to optimise productivity and profitability. e —

BEELN 1M L EL R

Ener e

I Eiged

Transics*®

TX-DASHBOARDS

TX-DASHBOARDS is an assessment platform that helps fleet managers
identify and monitor strategic objectives. It translates fleet data into trend
reporting and measures that against company targets for vehicle efficiency,
driver performance, fuel consumption and customer service.

G

TX-TANGO

TX-TANGO is a web service platform offering quick integration capabilities
between Transics’ solution and a wide range of other popular back office
applications used by fleet managers.




TELEMATICS

TX-FLEX SOLO

Designed to simplify collaboration with freelance or subcontracted

drivers. TX-FLEX SOLO is a driver app that is compatible with Android
smartphones and tablets. The app allows back offices to track and trace
trucks, while allowing drivers to perform tasks such as messaging, planning,
pallet handling, barcode & document scanning, picture transfer, problem
tracking and so forth...

TX-DIAGNOSTIX (remote diagnostics)

TX-DIAGNOSTIX enables a detailed and remote assessment of the
technical health of any European truck brand. Co-developed with
WABCOWURTH, a reliable diagnostics specialist for commercial

vehicles, TX-DIAGNOSTIX reads out all fault codes, translates them into
understandable language, then goes on to describe the root cause of the
failure and even explains how the problem should be solved. The solution is
fully integrated in TX-CONNECT, your powerful FMS back office platform.

VEHICLE 1-ABC-234




Trailer telematics

TX-TRAILERGUARD

TX-TRAILERGUARD is a robust trailer telematics solution that optimizes trailer management. It includes track & trace and also
features EBS data, remote reefer management, connection to data loggers and peripherals such as door-lock or tire-pressure
monitoring systems. Designed to maximize connectivity, it can be used with any type of trailer and mixed fleets containing many

different types of trailer, including refrigerated, specialty, or high-security units. It features a rechargeable & long-lasting battery for
uninterrupted data availability.

TX-TRAILERPULSE

TX-TRAILERPULSE is a robust trailer telematics unit without battery. The device has been
specifically designed to capture a maximum of data on trailers with limited electronics,
such as curtain siders, box trailers or flatbed chassis trailers. On top of its Track &

Trace capabilities, TX-TRAILERPULSE captures and forwards EBS-data sourced from
multibrand EBS systems. The unit is also capable of relaying data from available WABCO
braking, stability, efficiency and safety systems to TX-CONNECT.

m Product number 3462910000 TX-TRAILERPULSE
3462920000 TX-TRAILERPULSE with battery
m Accessory 346 297 0004 TX-TRAILERPULSE bracket
m Training 200 300 1270 E-learning: TX-TRAILERPULSE 346 291 000 0
'E \; ,.._..,.,..“:J _\1 ," =
TX-GEO 2 LT R )}
S v R TI Rgy \‘ A
PRV AT
TX-GEO 2 is a robust tracking solution that pinpoints the location of powered ._i ‘\H,e_#?--?"" { T Vid i
or unpowered objects, such as trailers, containers or portable cabins. Fitted £ o S e T s
with an embedded motion sensor and advanced GPS technology, TX-GEO 2 N 3 a4 A
responds to the slightest movement and immediately sends precise position 5,\'3-,‘ £ ] { @
data to a TX-CONNECT back office software platform. A durable battery :\‘___i:....'ﬁ.Tm. _ &
ensures TX-GEO 2 remains operational for up to seven years. = = —

TX-CONNECT (MP)

This interactive platform for transport, logistics and distribution companies
better integrates fleet information, allowing improved functionality of daily
communication between planners, manager, subcontractors and customers.
TX-CONNECT is the beating heart of our solutions and can be strengthened
via the integration of vehicle peripherals and office software.




TRAJEE

your fleet management assistant

9 &

~E TRAXEE 45,9
¥ @
VEHICLE MONTORiNg

Hello!

I'm TRAXEE, your fleet management assistant, designed
to make your life easier.

| can tell you where your trucks and drivers are and how
they are doing at any moment at any device. This gives
you, your drivers and your customers peace of mind and
provides better insight into your overall productivity.

www.wabco-traxee.com WABco




- WABCO

.“. " i '.-_":‘.

. TRUCK & BUS




Content

Truck & bus

Air supply and processing

Brake actuators

AIr COMPIESSOr . « ottt 23
AirProCesSINg. . ..ottt e 32
Airdryercartridge. .. ... ... 60
Pressure limitingunit . .......... ... .. ... . ... ... 62
Air storage
AIrreSEIVOIN . . oo 63
Clampband ....... ... .. .. . 65
Drainvalve . ....... ... . . . 65
Conventional braking components
Footbrakevalve......... ... .. ... .. .. .. ... ... . ... 67
Relayvalve. ... ... .. 77
Pressure limitingvalve . .. ....... ... ... ... . ... .. ... 81
Loadsensingvalve. . ..., 85
Adaptingvalve ...... ... ... . ... 92
Pressureswitch . .......... ... .. ... . . 94
Directional controlvalve. . ......... .. ... .. ... .. ... 95
Quickreleasevalve ...... ... .. ... ... .. ... 100
Piston operating cylinder . .......... ... ... . ... .... 101
Silencer. . ... 104
Solenoid . ... .. 105
Solenoidvalve ...... ... ... ... . .. 106
Anti-lock braking system (ABS)
ABS electronic control unit (ECU) . ................. 111
ABS solenoid modulatorvalve . . ................... 112
ASR proportional valve. . .......... ... ... ... ... 114
ABS trailer controlvalve. . . ........ ... .. ... .. ... 114
Wheel speed sensor. . . ... i 117
Electronic braking system (EBS)
EBS truck electronic control unit (ECU). .. ........... 123
EBS truck Central Braking Unit (CBU)............... 124
EBS truck modulator . ........... ... ... .. 125
EBS trailercontrolvalve. . . ....................... 129
EBS brake signal transmitter . . .................... 130
EBS proportional relay valve . . .................... 132
EBS solenoidrelayvalve . .......... ... ... ... .... 133
Parkingbrake . ........ ... .. ... .. 134
Hydraulic brake systems
Conventional hydraulicbrake. ... .................. 143
Electro hydraulicbrake. . ......................... 149

Service brake chamber (UNISTOP™) . ... ........... 151
Spring brake actuator (TRISTOP™). . ............... 159

Air disc brakes

Tool setsfordiscbrakes. . ........................ 167
PAN™ range. . ... 168
MAXX™ raNge . . v et 174
ROtOr. . . 178

Hydraulic disc brakes

Floating caliper disc brakes .. ..................... 179

Fixed caliperdiscbrakes ......................... 182
Drum brakes

Servo/duoservodrumbrakes .................... 185

Simplex / duplexdrum brakes . .................... 187

Slack adjuster. . ...... ... ... . . . e 192
Suspension controls

Conventional air suspension control .. .............. 193

ECAS™ - electronically controlled air suspension. . . . .. 199
Driveline controls

Pneumatic automated manual transmission (AMT). .. .. 207

Hydraulic automated manual transmission (AMT). ... .. 213

Transmission acCesSories ... ... 216
Clutch control

Pedalunit . ....... ... . . 219

Pneumatic clutch actuator .. ..................... 220

Manual transmission ............. ... ... . 221
Bus systems

Modular doorcontrol . ........... ... ... . ... 231

Climate control . .. ........... .. . . ... 235
Retrofit solutions

OptiTire™ - tire pressure monitoring system ... ....... 237

TailGUARD™ . . 242

OnGuardACTIVE™ . .. . . e 244

OnLaneALERT™ . . . e 245




Alir supply and processing

Air compressor

m Port description

0 - intake connection
2 - energy delivery

8 - oil connection

9 - cooling water connection

Compressor - foot mounted (single cylinder)

Lubrication

Crankshaft thread

UD - Lubrication supplied from engine

M18x1.5

4110030110

4110345010

411 052 3000

8.1 - oil supply
8.2 - oil discharge

9.1 - cooling water supply
9.2 - cooling water discharge

411 140 0000

411 141 000 0

T (E] Cooling Max. pressure ClCE ] Swept volume Port
number speed

411 141 000 0 . . i , o .
411 141 000 R Air 10.0 bar 3000 1/min 159 cm 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
411 141001 0 Air 10.0 bar 3000 1/min 159 cm3 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
411 141 0020 . . 5 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
411 141 002 R Air 10.0 bar 3000 1/min 159 cm (closed)
411 141 008 0 . - 2 . e . .
411 141 008 R Air 10.0 bar 3000 1/min 159 cm 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
411 141 1030 . ) 0, 2: M26x1.5; 8.1, 8.3: M10x1,
411 141 103 R Air 8.5 bar 3000 1/min 159 ccm 82 closed

: . 0, 2: M26x1.5; 8.1: 2x M10x1, 1x closed;

2 0 : ] ]
411 141 503 0 Air 10.0 bar 3000 1/min 159 cm 8.2: 2x M22x1.5, 1x closed
411 141 507 0 Air 10.0 bar 3000 1/min 159 cm?3 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
4111415510 | Water/Oil 16.0 bar 3000 1/min grolen I il S
9.2: M22x1.5
411 141 6400 Air 18.0 bar 3000 1/min 159 cm3 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
411 141 703 0 Air 10.0 bar 3000 1/min 159 cm3 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5
4111426810 | Water/Oil 18.0 bar 3000 1/min 229 cme | & % M26x1.5;8.1: M10x1; 8.2, 9.1,
9.2: M22x1.5

411 143 805 0 Air 10.0 bar 3000 1/min 293 cm3 0, 2: M26x1.5; 8.1: M10x1
911 004 511 0 Air 17.0 bar 4000 1/min 76 cm3 0, 2: M22x1.5; 8.1: M10x1
912 970 064 0 Air 10.0 bar 3000 1/min 120 cm3 0, 2: M26x1.5; 8.1: M10x1; 8.2: M22x1.5




AIR SUPPLY AND PROCESSING

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

m 4111410000
411 141 000 R

m 4111410010

m 4111410020
411 141 002 R

m 4111410080
411 141 008 R

m 4111411030
411 141 103 R

m 4111415030

Compressor - flange mounted (single cylinder)

m Operating speed

m Lubrication

411 140 002 2

Bearing + cylinder
head gasket

411 1419232  Bearing
411 141 926 2 Cylinder head
411 141 9272  Piston + rod

411 140 002 2

411 141 923 2
411 141 927 2

411 140 002 2

Bearing + cylinder
head gasket
Bearing

Piston + rod

Bearing + cylinder
head gasket

411 1419232  Bearing

411 141926 2  Cylinder head
411 141 9272  Piston + rod
411 141 9272  Piston + rod

411 141 928 2

411 141 925 2
411 141 025 2
411 141 928 2

411 140 002 2

411 141 923 2
411 141 927 2

Cylinder head

Magnet
Clutch
Cylinder head

Bearing + cylinder
head gasket
Bearing

Piston + rod

3000 1/min
911 146 003 0: 2890 1/min
912 210 000 0: 3500 1/min

UD - Lubrication supplied from engine

m 411 1415070

m 4111415510

m 4111416400

m 4111417030

m 4111426810

m 4111438050

m 9110045110

411 140 002 2

411 141 923 2
411 141 927 2

411 140 003 2
411 141 923 2
411 141 927 2
411 145921 2

411 140 002 2
411 141 923 2

411 141 927 2
411 141 928 2

411 140 002 2
411 141 923 2

411 141 927 2
411 141 928 2

411 033 923 2
411 141 923 2
411 142 003 2

411 141 923 2
411 142 002 2

911 004 004 2

Bearing + cylinder
head gasket
Bearing

Piston + rod

Gasket
Bearing
Piston + rod
Cylinder head

Bearing + cylinder
head gasket
Bearing

Piston + rod
Cylinder head

Bearing + cylinder
head gasket
Bearing

Piston + rod
Cylinder head

Gasket
Bearing
Gasket

Bearing
Gasket

Valve plate

411 147 066 0 411 151 0090 411 153 502 0 411 154 004 0 412 352 020 0 412 352 027 0

Product Cooling Max. Swept Crankshaft Port

number pressure volume thread
411 144 0030 Air 14.0 bar 106 cm3 | M20x1.5 0, 2: M26x1.5; 8.1: M10x1
411 145 057 0 Water 12.5 bar 159 cm3 M20x1.5 0, 2: M26x1.5; 8.1: M10x1; 9.1, 9.2: M22x1.5
411 145507 0 Water 12.5 bar 203 cm? M20x1.5 LH |0, 2: M26x1.5; 8.1: M10x1,; 9.1, 9.2: M22x1.5
411 146 003 O Air 10.0 bar 229 cm® | M20x1.5 0, 2: M26x1.5; 8.1: M10x1
411 147 062 0 Water 12.5 bar 293 cm? | M20x1.5 0, 2: M26x1.5; 8.1: M10x1; 9.1, 9.2: M22x1.5
411 147 066 0 Water 10.0 bar 293 cm® [ M20x1.5 0, 2: M26x1.5; 8.1: M10x1; 9.1, 9.2: M22x1.5
411 1510000 Water 12.5 bar 238cm3® | M20x1.5LH |0, 2: M26x1.5; 8.1: @ 6 mm; 9.1, 9.2: M14x1.5
411 151 000 1 Water 12.5 bar 238cm3® | M20x1.5LH |0, 2: M26x1.5; 8.1: @ 6 mm; 9.1, 9.2: M14x1.5
ﬁll ilgll 8823 Water 12.5 bar 238cm® | M20%1.5 0, 2: M26x1.5;8.1: @ 10.2 mm; 9.1, 9.2: M14x1.5

24
[



Product . Max. Swept Crankshaft
Cooling Port
number pressure volume thread
411 151 009 0 0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
o 5 5 5
411 151 009 R Water 12.5 bar 238 cm M20x1.5 LH 9.1, 9.2: M14x15
0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
5 ; ; ;
411 151 0121 Water 12.5 bar 238 cm M20x1.5 LH 91, 9.2: M14x15
0: @ 30 mm; 2: M26x1.5; 4. M12x1.5; 8.1: @ 6 mm;
3 g g g g
411 153 502 0 Water 12.5 bar 318 cm M20x1.5 91, 9.2: M14x1.5
411 154 004 0 5 0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
411 154 004 R Water 12.5 bar 352 cm M20x1.5 LH 91, 9.2: M14xL5
411 154 005 0 . 0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
411 154 005 R Water 12.5 bar 352 cm M20x1.5 LH 91, 9.2: M14x15
0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
5 ; ; ;
411 1540051 Water 12.5 bar 352 cm M20x1.5 LH 9.1, 9.2: M14x1.5
412 352 0030 . . o @4l . .
412 352 003 R Water 12.5 bar 352 cm M20x1.5 0, 2: M26x1.5; 8.1: @ 10.2 mm; 9.1, 9.2: M14x1.5
412 3520200 5 0, 2: M26x1.5; 4: M12x1.5;8.1: @ 6 mm;
412 352 020 R Water 14.0 bar 352 cm M18x1.5 9.1, 9.2: M18x15
412 3520250 2 0: @ 30 mm; 2: M26x%1.5; 4: M12x1.5; 8.1: @ 6 mm;
412 352 025 R Water 12.5 bar 352 cm M20x1.5 LH 9.1, 9.2: M14x1.5
412 352026 0 3 0: M30x1.5; 21: M26x1.5 (closed); 22: M26x1.5;
M2352026R | Vater 12.5 bar 352cem® IM20xLSLH | 4 \M12x1.5:81: @ 4 mm: 9.1, 9.2: M16x1.5
0: M30x1.5; 21: M26x1.5 (closed); 22: M26x1.5;
3
412 352 026 1 Water 12.5 bar 352 cm M20x1.5 LH 4: M12x1.5: 8.1: @ 4 mm: 9.1, 9.2: M16x1.5
412 3520270 5 0: M30x1.5; 21: M26x1.5; 22: M26x1.5 (closed);
M2352027R | vater 12.5 bar 352cem?  IM20XLSLH | ) 11541581 @ 4 mm; 9.1, 9.2: M16x1.5
0: M30x1.5; 21: M26x1.5; 22: M26x1.5 (closed);
3
412 352 027 1 Water 12.5 bar 352 cm M20x1.5 LH 4 M12x15: 8.1 @ 4 mm: 9.1, 9.2: M16xL5
0: @ 34.9 mm; 2: M26x1.5; 4. M16x1.5; 8.1: M12x1.5;
5 ; ; ; ;
412 352 0290 Water 12.5 bar 352 cm M20x1.5 9.1, 9.2: M16%1.5
412 352 0300 . 0: @ 34.9 mm; 2: M26x1.5; 4: M12x1.5; 8.1: M12x1.5;
412 352 030 R Water 12.5 bar 352 cm M20x1.5 91, 9.2: M16xL5
8845035860 | Water 100bar | 318cme |M20xL5 | O 15A6-12UN; 2: 016 mm; 8.1: 7/16"-20 UNF-2A;
9: 2x @ 12.7 mm
0: @ 18 mm; 2: M26x1.5; 8.1: @ 6.8 mm;
o 5 5 5
911 145 060 0 Water 12.5 bar 159 cm M18x1.5 9.1, 9.2: M16xL5
911 1455600 5 ) o o e
911 145 560 R Water 12.5 bar 221 cm M18x1.5 0: @18 mm; 2: M26x1.5; 8.1: @ 6.8 mm; 9: 2x M16x1.5
0, 2: M26x1.5; 8.1: M10x1.5; 8.2: @ 10 mm;
2 : : g g
911 146 003 0 Water 11.0 bar 229 cm M20x1.5 9.1: %"-18 NPT: 9.2: %"-14 NPTF
9111530010 | Water 12.0 bar 318cm:  |Misx15 | 2 M26x1.5:8.1: @4 mm; 8.2: @15 mm;
9: 2x M14x1.5
0, 2: 3"-14 NPTF; 4: M10x1; 8.1: %&"-27 NPTF;
g ; ] : :
911 153548 0 Water 12.0 bar 318 cm M20x1.5 LH 9 2% 15"-14 NPTE
0, 2: 34"-14 NPTF; 4: M10x1; 8.1: &"-27 NPTF;
5 . ; ; ;
911 1535520 Water 10.0 bar 318 cm M20x1.5 LH 9 2% 1414 NPTF
911 153 553 0 Water 12.0 bar 318 cm3 |M20x1.5 0, 2: M26x1.5; 8.1: @ 13 mm; 9: 2x M16x1.5
0: @ 25.4 mm; 2: 3%"-14 NPTF; 4: M10x1;
5 ; ; ;
911 155001 0 Water 10.0 bar 318 cm M20x1.5 8.1: 7/16"-20 UNF-2A: 9.1, 9.2: @ 12.7 mm
0: 1.5/16"-12 UN; 2: @ 16 mm; 8.1: 7/16"-20 UNF-2A;
2 A : A
911 155 062 0 Water 10.0 bar 318 cm M20x1.5 9.1, 9.2 ¥"-SAE J2044
0: @ 19.05 mm; 2: @ 16 mm; 4: M10x1;
5 ; ; ;
911 155511 0 Water 10.0 bar 318 cm M20x1.5 8.1: 7/16"20 UNF-2A: 9.1, 9.2: @ 12.7 mm
911 155518 0 Water 10.0 bar 318 cm3 |M20x1.5 0, 2: M22x1.5; 8.1: %"-27 NPTF; 9: 2x M20x1.5
0, 2: 34"-14 NPTF; 4. M10x1; 8.1: %"-27 NPTF;
5 , ; ; ;
911 1555190 Water 10.0 bar 318 cm M20x1.5 9 2% 1"14 NPTE
0: M30x1.5; 2: M26x1.5; 8.1: &"-27 NPTF;
3 : ] ]
911 155521 0 Water 10.0 bar 318 cm M20x1.5 9.1, 9.2: M16%1.5
912 112 002 0 Water 14.0 bar 318 cm? M20x1.5 0: @ 34.9 mm; 2: M26x1.5; 4: M16x1.5; 8.1: M12x1.5;

9.1, 9.2: M16x1.5

25



AIR SUPPLY AND PROCESSING

Product . Max. Swept Crankshaft
Cooling Port
number pressure volume thread
912 116 000 O . , o ) )
912 116 000 R Water 12.5 bar 238 cm M18x1.5 0, 2: M26x1.5; 8.1: @ 10.2 mm; 9.1, 9.2: M14x1.5
912 116 001 0 5 . . . .0
912 116 001 R Water 12.5 bar 238 cm M18x1.5 0, 2: M26x1.5; 8.1: @ 10.2 mm; 9: M14x1.5
912 117 000 O Water 12.5 bar 352 cm?3 M18x1.5 0, 2: M26x1.5; 8.1: @ 10.2 mm; 9.1, 9.2: M14x1.5
912 124 000 0O . . . -
912 124 000 R Air 10.0 bar 238 cm M20x1.5 0, 2: M26x1.5; 8.1: M10x1
912 125 000 0 Water 12.0 bar 238 cm3 | M18x1.5 0, 2: ¥"-14 NPTF; 8.1: M10x1; 9: 2x ¥2"-14 NPTF
912 126 002 0 Air 10.0 bar 238 cm3 | M20x1.5 0, 2: M26x1.5; 8.1: M10x1
912 126 004 0 3 . . o . . . .
912 126 004 R Water 8.5 bar 318 cm M20x1.5 LH | 0: @ 30 mm; 2: M26x1.5; 8.1: M10x1; 9.1, 9.2: M14x1.5
0, 2: 9"-14 NPTF; 4. M10x1; 8.1: @ 14.1 mm;
5 . ; ; ;
912 140 006 0 Water 10.0 bar 238 cm M20x1.5 LH 9.1, 9.2: ¥5"-14 NPTF
0: M30x1.5; 2: M26x1.5; 4: M12x1.5; 8.1: M10x1;
2 5 5 5 5
912 140011 0 Water 10.0 bar 318 cm M20x1.5 LH 9.1, 9.2: M16xL5
0: 94"-14 NPTF; 2: M26x1.5; 4: 10x1; 8.1: @ 4 mm;
5 ; ; ; ;
912 1400150 Water 14.0 bar 318 cm M20x1.5 LH 9 2% 1"-14 NPTE
912 150 001 0 Water 10.0 bar 238 cm3 M20x1.5 0: @ 25 mm; 2: M24x1.5; 8.1: M10x1.5; 9: 2x M18x1.5
0: @ 34.9 mm; 2: M26x1.5; 8.1: M12x1.5;
5 ; ; ;
912 1510010 Water 14.0 bar 318 cm M20x1.5 9.1, 9.2: M16XL5
912 160 002 O Water 12.5 bar 318 cm?3 M20x1.5 0: M28x1.5; 2: M26x%1.5; 8.1: M10x1; 9.1, 9.2: M16x1.5
0: @ 34.9 mm; 2: M26x1.5; 4: M12x1.5 (closed);
3
912 210 000 0 Water 12.5 bar 393 cm M20x1.5 LH 81 @5mm: 9.1, 9.2: MI8xL5
0: @ 30 mm; 2: M26x%1.5; 8.1: @ 6 mm;
. : 5 ;
912 210 002 0 Water 12.5 bar 393 cm M20x1.5 LH 9.1, 9.2: M14x1.5
9129700010 Air 8.0 bar 160 cm3  |M18x1.5LH |0, 2: M22x1.5; 8.1: @ 4 mm
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 411 1440030 411 1419262 Cylinder head m 4111540040 4111519232 Gasket
411 144 002 2  Gasket 411 154004 R 411 1519252 Valve plate
m 4111450570 4111450002 Valve plate 4111540022 Cylinder head
411145921 2 Cvlinder head 411 154 003 2  Valve plate
ylinder hea 4123529282  Piston + rod
m 4111455070 4111450002 Valve plate 412 3529292  Piston + rod
4111459212 Cylinder head m 4111540050 4111519262  Piston + rod
m 4111460030 4111460002 Gasket 411 154005 R 4111540022 Cylinder head
411 146 003 R 411 146 921 2 Cylinder head 411 154 0032  Valve plate
412 352928 2  Piston + rod
m 4111470660 4111420032 Gasket 412 352 9292 Piston + rod
m 4111510000 4111519212  Valve plate w 4123520030 4123520012 Gasket
411151 000R 4111519272  Crankshaft 412352003 R 4123529242  Cylinder head
4111530002  Gasket 4123529282  Piston + rod
412 352928 2  Piston + rod
m 4123520200 4123520052 Cylinder head
m 4111510040 4111510002  Valve plate 412352020 R 4123529282  Piston + rod
411 151 004 R 411 1519202 Cylinder head
412 352928 2  Piston + rod m 4123520250 4123520062 Valve plate
412 352 025 R 4123529292  Piston + rod
m 4111510090 4111519232  Gasket 912510927 2 Piston + rod
411 151 009 R 411 1519252 Valve plate
411 151 927 2 Crankshaft m 4123520260 4123520022 Valve plate
411 151 929 2 Piston + rod 412 352 026 R 412352922 2  Cylinder head
411 154 002 2  Cylinder head 412 3529232  Gasket
411 154 003 2  Valve plate 412 352 9252  Piston + rod
412 352 927 2 Crankshaft
m 4111535020 9111539252 Flange 412 352 9292 Piston + rod




912 970 922 2

=
Product number  Repair kit Content Product number  Repair kit Content
m 4123520270 4123520022 Valve plate m 9121120020 4123529202 Cylinder head
412352027 R 4123529222  Cylinder head 912112002 R 9121129212  Crankshaft
4123529232  Gasket 9125189242  Piston + rod
4123529252 Piston +rod 9121160000 4111519282  Piston + rod
4123529272  Crankshaft
119 305 999 5 Bron b o 912116 000 R 4123520012 Gasket
412 352 9242  Cylinder head
ﬂ; gg; 838 g 4127049432 Piston +rod 9121160010 4111519282  Piston + rod
912 116 001 R
f&; gg; 828 g 4127049432 Piston +rod 9121170000 4123520012 Gasket
912 117000 R 4123529242  Cylinder head
8845035860 9111559202 Valve plate 4123529282  Piston + rod
gﬁ 122 ggj 2 Eggg} ;?td 9121250000 4111519262  Piston + rod
912 1259202  Gasket
9111530010 4111519212  Valve plate 019 1960090 912 196920 2 Cacker
9111539412 Cylinder head 912126 002 R 9121269212  Cylinder head
9125129292  Piston + rod ylinde
9121260040 9111539252 Flange
9111535480 9111559202 Valve plate .
11 105 996 5 Pieton trod 912126 004R 9125129292  Piston + rod
9111535520 9111559202  Valve plate 9121400110 ﬁg ggg ggg g \G’a';’l'fe'i"ate
911 155926 2  Piston + rod a
9111535530 911 155926 2  Piston + rod 9121400150 9121400512  Cylinder head
. 9121500010 4123529282  Piston + rod
9111550010 9111559262 Piston + rod Bt
9111550620 9111559202 Valve plate 9125189242  Piston + rod
911 155923 2  Piston + rod .
11 105 000 5 Cramken 9121600020 9125129392  Piston + rod
. 9122100000 9122109222  Piston + rod
GLLIS5 5110 9111559262 Piston +rod 912210 000R 9122109232  Cylinder head
9111555180 9111559262  Piston + rod 9122109242  Valve plate
9111555190 9111559212 Valve plate 9122100020 9122109202  Cylinder head
911 1559252  Crankshaft 9122109212  Valve plate
911 155926 2  Piston + rod 912 210922 2  Piston + rod
9111555210 9111559232  Piston + rod 9129700010 9129709202 Crankshaft
911 155924 2  Crankshaft 9129709212  Connecting rod

Gasket




AIR SUPPLY AND PROCESSING

Compressor - flange mounted (twin cylinder)

m Cooling
m Lubrication

Water
UD - Lubrication supplied from engine

412 442 0000 412 704 027 0 911 504 506 0 912 510104 0 912 514 0090
eI Max. pressure QIR Swept volume ST SIE! Port
number speed thread
. 0, 2: M26x1.5; 4: M12x1.5; 8.1: @ 6 mm;
5 , ; ; ;
412 442 000 0 12.5 bar 3000 1/min 442 cm M20x1.5 9.1, 9.2: M14xL.5
. 0, 2: M26x1.5; 4: M12x1.5;
g ] : :
412 442 001 0 12.5 bar 3000 1/min 442 cm M24x1.5 8.1 @ 1116 mm: 9.1, 9.2: M14x1.5
412 704 008 0 . 0: @ 34.9 mm; 2: M26x1.5;
3 ; ;
412 704 008 R 14.0 bar 3000 H/min 704.¢m M20xL.5 4,8.1: M12x1.5: 9.1, 9.2: M16x1.5
. 0: @ 34.9 mm; 2: M26x1.5;
) ’ [
412 704 009 0 14.0 bar 3000 1/min 704 cm M20x1.5 4,81 M12x1.5: 9.1, 9.2: M16x15
412 704 013 0 . 5 0: @ 34.9 mm; 2: M26x1.5;
412 704 013 R 14.0 bar 3000 1/min 704 cm M20x1.5 4,81: M12x15: 9.1, 9.2: M16x1.5
. 0: @ 34.9 mm; 2: M26x1.5;
g ; ;
412 704 014 0 14.0 bar 3000 1/min 704 cm M20x1.5 491 9.2: M16%L.5: 8.1: M12xL.5
. 0: @ 34.9 mm; 2: M26x1.5;
5 ; ;
412 704 0190 14.0 bar 3000 1/min 704 cm M20x1.5 4. 8.1: M12x1.5: 9.1, 9.2: M16xL5
412 704 024 0 . . 0: @ 34.9 mm; 2: M26x1.5;
412 704 024 R D 2T SILIBIO [Cattl e 4,91, 9.2: M16x1.5; 8.1: M12x1.5
412 704 027 0 . 5 0: @ 34.9 mm; 2: M26x1.5; 4: M16x1.5
412 704 027 R 14.0 bar 3000 4/min /04cm M20%L5 (closed); 8.1: M12x1.5; 9.1, 9.2: M16x1.5
0: M30x1.5; 21: M26x1.5; 22: M26x1.5
886 902 519 0 12.5 bar 3000 1/min 636 cm3 M20x1.5 LH (closed); 4: M12x1.5; 8.1: @ 4 mm; 9:
M12x1.5 (closed); 9.1, 9.2: M16x1.5
911 504 506 0 . 5 0, 2: M26x1.5; 8.1: M10x1,
911 504 506 R 12.5 bar 3000 1/min 442 cm M12 9.1, 9.2: M14x1.5
911 505 150 0 . g 0, 2: M26x1.5; 8.1: M10x1,
911 505 150 R 12.5 bar 2400 1/min 704 cm M20x1.5 9.1, 9.2: M16xL5
911 506 054 0 12.5 bar 3000 1/min 442 cm3 | M18x15 0:@ 24 mm; 2: & 16 mm; 8.1: & 6.8 mm;
9: 2x @16 mm
911 506 505 0 12.5 bar 3000 1/min 442 cm3 | M18x15 OFS2I28 (511115 2 L DT 25 L) Tl
9: 2x @ 16 mm
0: M30x1.5; 2: M26x1.5; 4: M12x1.5;
911 553 007 0 12.5 bar 3000 1/min 636 cm3 M20x1.5 LH 8.1: @ 4 mm; 9: M12x1.5 (closed);
9.1, 9.2: M16x1.5
912 510001 0 . 5 0: @ 30 mm; 2: M26x1.5; 4: M12x1.5;
912 510 001 R 12.5 bar 3000 1/min 636 cm M20x1.5 LH 81 @6 mm: 9.1 9.2: M14xL5
9125100030 . 5 0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
912 510 003 R 12.5 bar 3000 1/min 636 cm M20x1.5 LH 9.1, 9.2: M14x15
912 510 0050 . 5 0: @ 30 mm; 2: M26x1.5; 8.1: @ 6 mm;
912 510 005 R 12.5 bar 3000 1/min 636 cm M20x1.5 LH 9.1, 9.2: M14x1.5
912 510 005 1 12.5 bar 3000 1/min 636cm®  |M20x15LH |2 M26xL5 8.1 6 mm;

9.1, 9.2: M14x1.5




el Max. pressure Clpiereiling Swept volume Crem et Port
number speed thread
912 510 103 0 _ 0: M3OX1.5; 21 M26><1.5_(c|o.sed); _
912 510 103 R 12.5 bar 3000 1/min 636 cm3 M20x1.5 LH 22: M26x1.5; 4. M12x1.5; 8.1: @ 4 mm;
8.2: @ 15.5 mm; 9.1, 9.2: M16x1.5
0: M30x1.5; 21: M26x1.5; 22: M26x1.5
33 2118 igjg 12.5 bar 3000 1/min 636 cm3 M20x1.5 LH (closed); 4: M12x1.5; 8.1: @ 4 mm;
8.2: @ 15.5 mm; 9.1, 9.2: M16x1.5
912 510 200 0 0: M30x1.5; 21: M26x1.5 (closed);
912 510 200 R 12.5 bar 3000 1/min 636 cm?3 M20x1.5 LH 22: M26x1.5; 4: M12x1.5; 8.1: @ 4 mm;
8.2: @ 15.5 mm; 9.1, 9.2: M16x1.5
912 510 201 0 _ 0: M30><_1.§; 21: M2§X1.§; 22: M2§X1.5
912 510 201 R 12.5 bar 3000 1/min 636 cm3 M20x1.5 LH (closed); 4: M12x1.5; 8.1: @ 4 mm;
8.2: @ 15.5mm; 9.1, 9.2: M16x1.5
0: M30x1.5; 21: M26x1.5; 22: M26x1.5
912 510 201 1 12.5 bar 3000 1/min 636 cm? M20x1.5 LH (closed); 8.1: @ 4 mm; 8.2: @ 15.5 mm;
9.1, 9.2: M16x1.5
912 512 006 0 . 5 0: @ 34.9 mm; 2: M26x1.5; 4: M16x1.5;
912 512 006 R 14.0 bar 3000 Lmin 636cm M20xL.5 8.1: M12x1.5: 9: 2x M16x1.5
. 0: @ 34.9 mm; 2: M26x1.5; 4: M16x1.5;
3 ’ 1 3
912 512 007 0 14.0 bar 3000 1/min 636 cm M20x1.5 8.1: M12xL5: 9: 2x M16x15
9125120150 . 5 0: @ 34.9 mm; 2: M26x1.5; 4, 8.1:
912 512 015 R 14.0 bar 3000 4/min 636 cm M20x1.5 M12x15: 9.1, 9.2, 9.3, 9.4: M16x1.5
912 512 029 0 ) 5 0: @ 34.9 mm; 2: M26x1.5;
912 512 029 R AV LETT IO il S PARS ) 4,91, 9.2: M16x1.5; 8.1: M12x1.5
912 512 0330 . 3 0: @ 34.9 mm; 2: M26x1.5;
912 512 033 R 14.0 bar 3000 1/min 636 cm M6 4,91, 9.2: M16x1.5: 8.1: M12x1.5
. 0: @ 34.9 mm; 2: M26x1.5;
3 ; 5
912 514 009 0 14.0 bar 3000 1/min 636 cm M20x1.5 491, 9.2 M16xL5: 8.1: M12x15
. 0: @ 34.9 mm; 2: M26x1.5;
5 ; ;
912 514 013 0 14.0 bar 3000 1/min 636 cm M16x1 4,91, 9.2 M16xL5: 8.1: M12x15
. 0: M30x1.5; 2: M27x2 [ M26x%1.5;
2 5 5
912 518 206 0 12.5 bar 3000 1/min 476 cm M16 4 8.1 M12x15: 9.1, 9.2: M16%L5
. 0: M30x1.5; 2: M26x1.5; 4, 8.1: M12x1.5;
5 ; 4, ;
912 518 207 0 12.5 bar 3000 1/min 636 cm M16 91, 9.2: M16xL5
. 0: @30 mm; 2: @ 21.75 mm; 4: M10x1;
3 ; g ;
912 522 002 0 14.0 bar 3000 1/min 636 cm M16x1 81: @6 mm: 9: 2x @ 19.8 mm
. 0: @ 30 mm; 2: M26x1.5; 4: M12x1.5;
3 ; ; ;
912 526 000 R 12.5 bar 3000 1/min 636 cm M20x1.5 LH 8.1: M10x1: 9.1, 9.2: M14xL15
. 0, 2: M26x1.5; 4: M12x1.5;
3 : ; -
912 540 003 0 12.5 bar 3000 1/min 636 cm M20x1.5 LH 81 @ 13.86 mm: 9.1, 9.2: M18xL5
. 0: @ 34.9 mm; 2: M26x1.5; 4, 9.1, 9.2:
5 ; 74,91,
912 542 007 0 14.0 bar 3000 1/min 636 cm M20x1.5 M16%1.5: 8.1: M12x1.5
912 550 003 0 10.0 bar 3000 1/min 636cm3 | M24x15 eI L P B RO
9: 2x M18x1.5
) 0, 2: M26x1.5; 4: M12x1.5; 8.1: @ 5 mm;
5 ) ; ; ;
912 551 003 0 12.5 bar 3000 1/min 476 cm M20x1.5 8.2: @10 mm: 9.1, 9.2: M16xL5
. 0, 2: M26x1.5; 8.1: M10x1;
2 . ; ;
912 560 003 0 10.0 bar 3000 1/min 476 cm M20x1.5 91, 9.2: M14x15
912 560 007 0 . 5 0, 2: M26x1.5; 8.1: M10x1;
912 560 007 R 10.0 bar 1250 1/min 636 cm M24x1.5 91, 9.2: M14x1.5
. 0, 2: M26x1.5; 8.1: M10x1;
g ; ; ;
912 560 008 0 10.0 bar 1250 1/min 636 cm M24x1.5 9.1, 9.2: M14xL5
. 0, 2: M26x1.5; 8.1: M10x1,
B ) ; ;
912 561 0000 10.0 bar 3000 1/min 476 cm M20x2.5 91, 9.2: M14xL5
912 562 000 0 12.5 bar 3000 1/min 636 cm3 | M20x15 O 220 PSS E () B il

9: 2x M14x1.5




AIR SUPPLY AND PROCESSING

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

m 412 4420000

m 4124420010

m 412704 008 0
412 704 008 R

m 4127040130
412 704 013 R

m 4127040140

m 4127040190

m 412704 0270
412 704 027 R

m 9115045060
911 504 506 R

m 9115051500
911 505 150 R

m 9115060540
m 9115065050

m 9115530070

m 9125100010
912 510 001 R

m 9125100030
912 510 003 R

m 9125100050
912510 005 R

m 9125101030
912510 103 R

m 9125101040
912510 104 R

30

412 442 000 2
9115039212
911 504 925 2
911 504 932 2

412 442 000 2
9115039212
911 504 925 2
911 504 932 2

412 704 932 2
412 704 942 2

412 704 934 2
412 704 936 2
412 704 939 2
412 704 942 2

412 704 933 2
412 704 939 2
412 704 942 2

412 704 937 2
412 704 938 2
412 704 943 2

412 352 925 2
912 512 935 2
912 512 936 2

911503921 2
911 504 922 2
911 504 925 2
911 504 932 2

412 704 942 2
911505001 2
911 505920 2

911 506 927 2

911 506 926 2
911 506 928 2

9115539212

411 553924 2
912 510 922 2

411 553 924 2
912 510 934 2
912 510 935 2

411 553 924 2
912 510 923 2
912 510 934 2
912 510 935 2

412 352 929 2
912 510 920 2
912 510 927 2
912 510 928 2
912 510 929 2

412 352 929 2
912 510 920 2
912 510 927 2
912 510 928 2
912 510 929 2
912 510 933 2

Cylinder head
Piston

Gasket

Piston + rod

Cylinder head
Piston

Gasket

Piston + rod

Cylinder head
Piston + rod

Cylinder head
Gasket

Valve plate
Piston + rod

Cylinder head
Valve plate
Piston + rod

Cylinder head
Valve plate
Piston + rod

Piston + rod
Cylinder head
Valve plate

Piston
Cylinder head
Gasket

Piston + rod

Piston + rod
Gasket
Cylinder head

Cylinder head

Cylinder head
Valve plate

Cylinder head

Crankshaft
Cylinder head

Crankshaft
Cylinder head
Valve plate

Crankshaft
Leaf

Cylinder head
Valve plate

Piston + rod
Cylinder head
Piston + rod
Crankshaft
Valve plate

Piston + rod
Cylinder head
Piston + rod
Crankshaft
Valve plate
Screws

m 9125102000
912 510 200 R

m 9125102010
912510201 R

m 9125102011

m 9125120060
912 512 006 R

m 9125120070

m 9125120150
912512 015R

m 9125120290
912512 029 R

m 9125120330
912512033 R

m 9125140090
912 514 009 R

m 9125140130
912514 013 R

m 912518 2060

m 9125182070

m 9125220020
912 522 002 R

m 9125420070
912 542 007 R

m 9125500030

m 9125600070
912 560 007 R

m 9125600080
912 560 008 R

412 352 929 2
912 510 930 2
912 510 931 2

412 352 929 2
912 510 928 2
912 510 930 2
912510931 2

412 352 929 2
912 510 930 2
912510931 2

912 512 925 2
912 512 927 2

912 512 925 2
912 512 927 2

412 704 938 2
912 512 928 2
912 512 930 2
912 518 924 2

912512 9352
912 512 936 2
912 518 924 2

912 512 043 2
912 512 900 2
912 512 937 2
912 512 940 2
912512 941 2

912512 9352
912 512 936 2
912 518 924 2

412 704 938 2
912 512 043 2
912 512 937 2
912 512 938 2
912 512 940 2
912 527 921 2

912 510 929 2
912 518 922 2

912 510 929 2
912 518 922 2

9125229212
912 522 922 2
912 522 925 2
912 522 926 2

912512 9352
912 512 936 2
912 518 924 2

412 352 928 2
912 510 927 2
912 512 929 2
912 550 924 2
912 560 922 2

912 560 921 2

912 560 921 2

Piston + rod
Cylinder head
Valve plate

Piston + rod
Crankshaft
Cylinder head
Valve plate

Piston + rod
Cylinder head
Valve plate

Cylinder head
Gasket

Cylinder head
Gasket

Valve plate
Valve plate
Crankshaft
Piston + rod

Cylinder head
Valve plate
Piston + rod

Valve plate
Piston + rod
Cylinder head
Clutch
Actuation unit

Cylinder head
Valve plate
Piston + rod

Valve plate
Valve plate
Cylinder head
Valve plate
Clutch

Valve plate

Valve plate
Cylinder head

Valve plate
Cylinder head

Valve plate
Clutch
Valve plate
Clutch

Cylinder head
Valve plate
Piston + rod

Piston + rod
Piston + rod
Piston + rod
Cylinder head
Cylinder head

Gasket

Gasket



Product number  Repair kit Content Product number  Repair kit Content

m 9125610000 9125609222 Cylinder head m 4127040240 4127049332 Cylinder head

m 9125620000 9125129392 Piston + rod 270 0zaR ﬁg ;83 gig é \P/ﬁs,l;/;nplartsd
9125189242  Piston + rod

Compressor - flange mounted (special cylinder)

m Cooling Water
m Lubrication UD - Lubrication supplied from engine
m Operating speed 3000 1/min 912 518 004 0
Product Crankshaft
number Type Max. pressure | Swept volume thread Port
0, 2: M26x1.5; 8.1: M10x1; 8.2: M26x1.5;
. 3 , ; ; ;
911 514 002 0 | V-Compressor 12.0 bar 568 cm M20x1.5 9.1, 9.2: M14x1.5
0: @ 25; 2: M26x1.5; 4: M10x1.5;
35 gi(()) 2823 Triple cylinder 12.5 bar 636/210 cm?3 M20x1.5LH [8.1: @4 mm;8.2: @ 15.5 mm;
9.1, 9.2: M16x1.5
912 518 004 0 : : 5 0: M33x2; 2, 8.1: M22x1.5; 4: M14x1.5;
912 518 004 R Twin cylinder 12.5 bar 352/119 cm M20x1.5 9.1, 9.2: M16x15
912 518 006 0 : : 5 0: M33x2; 2, 8.1: M22x1.5; 4: M14x1.5;
912 518 006 R Twin cylinder 12.5 bar 352/119 cm M20x1.5 9.1, 9.2: M16xL5
. . 0: @25 mm; 2: @ 20 mm; 4: M14x1.5;
5 ; ; ;
912 718 000 0 | Twin cylinder 14.0 bar 440/124 cm M20x1.5 8.1: M22x1.5: 9.1, 9.2: M16xL5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 9115140020 9115140002 Gasket m 9125180060 9125189232  Valve Plate

m 9125103030

912 510 925 2
912 510 924 2

912 518 006 R

Cylinder head
Cylinder head

9125189252  Cylinder head

912510303 R 912510926 2 Gasket
Compressor - stand alone
= Mounting Stand alone 415 404 001 0 913 500 002 0 913 500 003 0
i Type Cooling Max. Operating Swept volume Port
number pressure speed
415 404 001 O | Air supply unit 6.1 bar
Twin cylinder with . 5 0: @ 39 mm; 2: M26x1.5;
913 500 002 0 E-Motor Water 12.5 bar 2000 1/min 476 cm 4,91 9.2: M16X1.5
Twin cylinder with . 5 0: @ 39 mm; 2: M26x1.5;
9135000030 E-Motor Water 12.5 bar 2000 1/min 476 cm 491, 9.2 M16x15

31



AIR SUPPLY AND PROCESSING

Repair solutions

Product number  Repair kit Content

m 9135000030 9135009212 Cylinder head
m 9135000020 9135009202 Damper

Air processing

Air Processing Unit (APU)

m Description Air dryer with multi circuit protection valve

m Notes 9 MCPV: Multi circuit protection valve
2 Silencer 432 407 012 0 retrofittable
3 Silencer 432 407 015 O retrofittable
4 Elbow for PA tube connection

m Electrical MCPV?Y Pressure sensor: DIN bayonet 72585, 7-pin
connection Heater® Heating connection:
Kostal: M27x1
Bayonet: DIN 72585-A1-2.1-1-Sn/K2

m Accessories 432 407 0120  Silencer
432 407 0150  Silencer
4324109322  Heater kit (Bayonet)
4324209202 Heater kit (Kostal)
894590 151 2 Cable for heater (Bayonet)
894 6004512 Cable for heater (Kostal)

Air Dryer Pressure MCPV Y

I;ch]jgg: MCPV?Y ] Voltage | Temperature | pressure Heater® Silencer
Solenoid valve | Working | Cut-out sensor

932 400 003 0
932500003 0| 9347050020 13 bar 10.0 bar - —40 ... +65 °C - - 432 4070120

932 400 003 0
932 500 008 0| 934 705002 0 13 bar 10.0 bar 12V |-40...+65°C - - 432 407 012 0
884 501 634 0

932 400 003 0
932500009 0| 9347050020 13 bar 10.0 bar 12V |-40...+65°C - - -2
884 501 634 0

932 400 003 0
9325000120 | 934 7050020 13 bar 10.0 bar 24V [-40... +65°C - - 432 407 0120
8845019400

932 400 024 0
9325000150 | 9347050030 13 bar 12.0 bar 24V | -40...+65°C (4 Bayonet® -3

932 400 013 0
932500016 0 | 934 705 005 0 13 bar 12.0 bar 24V |-40... +65°C (4 Bayonet® -3

9324000140
932500021 0| 9347050080 13 bar 11.5 bar 24V | -40 ... +65°C (4 Bayonet® -3

932 400 003 0
932 500 027 0| 934 705002 0 13 bar 10.0 bar 24V |40 ... +65°C - - 432 407 012 0
884 501 837 0

932 400 007 0
932500028 0| 934 7050020 13 bar 10.0 bar 24V |-40...+80°C - - 432 407 0120
884501 8370

932 400 003 0
932 500 0300 | 934 7050020 13 bar 10.0 bar — —40 ... +80 °C — — 432 407 0120

32
[



Product Air Dryer Pressure MCPV D
number MCPV?Y ) Voltage | Temperature | pressure Heater® Silencer
Solenoid valve | Working | Cut-out sensor
432 415904 0
9325000350| 9347141510 10 bar 8.5 bar 24V —-40 ... +65°C - Kostal® | 432407 0150
932 400 017 O
9325000390 9347050050 13 bar 12.0 bar — —40 ... +65 °C v - -9
9324000180
9325000400 (| 9347050050 13 bar 12.0 bar 24V —40 ... +65 °C (4 Bayonet® -9
432 4150500
9325000440| 9347141100 13 bar 11.0 bar 24V | -40 ... +65°C - Kostal® |432 407 012 0
432 415051 0
932500047 0| 9347141520 10 bar 9.5 bar 24V |[-40 ... +65°C - Bayonet® -9
432 415051 0
9325000520 | 9347141520 10 bar 9.5 bar 24V | -40 ... +65°C - Bayonet® -9
432 415 052 0
9325000540 | 9347141510 13 bar 9.3 bar 24V —-40 ... +65°C - Bayonet® -9
932 400 021 0
9325000550 (| 934 7050090 13 bar 12.5 bar 24V —-40 ... +80 °C v Bayonet® | 432 407 015 0
432 415 054 0
932500056 0| 9347050100 13 bar 10.0 bar 24V —40 ... +65 °C - Bayonet® | 432 407 0150
432 4150550
9325000570 | 9347050100 13 bar 10.0 bar - —40 ... +65 °C - - 432 407 0150
432 415 060 0
9325000600| 9347141610 13 bar 8.5 bar 24V |[-40 ... +65°C - Bayonet® -9
432 415 056 0
932500061 0| 9347140310 13 bar 8.5 bar 24V | -40 ... +65°C - Bayonet® | 432 407 0150
432 415 057 0
9325000620 9347141610 13 bar 10.0 bar 24V —-40 ... +65°C - Bayonet® | 432 407 0150
432 415 058 0
932500063 0| 9347050130 13 bar 9.3 bar 24V —40 ... +80 °C v Bayonet® | 432 407 015 0
432 415 061 0
932500064 0| 9347141530 10 bar 9.5 bar 24V —40 ... +65 °C - Bayonet® | 432 407 0120
932 400 016 O
932 500 068 0| 934 705 008 0 13 bar 11.5 bar 24V [-40...+80°C (4 Bayonet® -9
432 4130700
9325000800 9347141610 13 bar 8.5 bar 24V |-40 ... +65°C - Bayonet® -9
432 4130710
932500081 0| 9347141610 13 bar 8.5 bar 24\ | -40 ... +65°C - Bayonet® | 432 407 0150
432 413 0720
9325000820 9347141610 13 bar 10.0 bar 24V -40 ... +65°C - Bayonet® | 432 407 0150
432 415 062 0
9325000870 | 9347141100 13 bar 11.0 bar 24V —40 ... +65 °C - Kostal® |432 407 0150

33



AIR SUPPLY AND PROCESSING

Product Air Dryer Pressure MCPV D
number MCPV?Y ) Voltage | Temperature | pressure Heater® Silencer
Solenoid valve | Working | Cut-out sensor
432 415906 0
9325000890| 9347141610 13 bar 10.0 bar 24V —-40 ... +65°C - Kostal® | 432407 0150
432 415 065 0
932500098 0| 9347141540 13 bar 10.6 bar 24 V —40 ... +65 °C — Kostal® | 432407 0150
432 415 066 0
9325000990 9347141510 13 bar 8.5 bar 24V —40 ... +65 °C - Bayonet® | 432 407 0150
432 416 001 0
932500101 0| 9347050210 13 bar 11.0 bar 24\ | -40 ... +80°C (4 Bayonet® -4
432 416 002 0
9325001020| 9347050220 13 bar 10.5 bar 24V | -40...+80°C v Bayonet® -9
432 416 003 0
932 500 1030 | 934 7050230 13 bar 12.5 bar 24V | -40 ... +80°C v Bayonet® -9
432 416 004 0
9325001040 9347050210 13 bar 11.0 bar - —-40 ... 480 °C (4 — -9
432 415 063 0
932500 1050| 9347141700 13 bar 9.5 bar - —40 ... +65 °C — — -9
9324000550
9325001070 | 9347050140 13 bar 10.0 bar 24V —-40 ... 480 °C (74 Bayonet® | 432 407 0150
432 415 068 0
9325001090 | 9347050100 13 bar 10.0 bar - —-40 ... +65 °C - - -9
932400 024 0
9325001100 | 9347050050 13 bar 12.0 bar 24V | -40...+80°C 4 Bayonet® -3
932 400033 0
932500 111 0| 934 705004 0 13 bar 10.0 bar 24 V —40 ... +65 °C v Bayonet® | 432 407 0150
432 421 058 0
9325001120 | 9347141610 13 bar 9.3 bar 24V —-40 ... +65°C - Bayonet® -9
432 421 059 0
932500 1130 | 9347141610 13 bar 9.3 bar 24V —40 ... +65 °C - Bayonet® -9
432 421 060 0
9325001140 | 9347141610 13 bar 10.0 bar 24V —-40 ... +65 °C - Kostal® | 432407 0150
432 415 067 O
9325001150 | 9347141510 10 bar 8.8 bar 24V —40 ... +65 °C - Kostal® | 432 407 0150
432 4150700
9325001180 | 9347141610 10 bar 10.0 bar 24V —-40 ... +65 °C — Bayonet® | 432 407 0150
432 4150710
9325001190 | 9347141610 13 bar 8.5 bar 24V —40 ... +65 °C - Kostal® | 432407 0150
432 4150750
9325001230 | 9347141600 13 bar 9.1 bar - —-40 ... +65°C - — 432 407 0150
432 415 160 0
9325001600| 9347141610 13 bar 8.5 bar 24V —40 ... +65 °C - Bayonet® -9

34




Product Air Dryer Pressure MCPV D
number MCPV?Y ) Voltage | Temperature | pressure Heater® Silencer

Solenoid valve | Working | Cut-out sensor
432 4131700

9325001800 | 9347141610 13 bar 9.3 bar 24V -40 ... +65 °C - Bayonet® -9
432 413 069 0

9325002690 9347141610 13 bar 10.8 bar 24V —40 ... +65 °C - Bayonet® -9
432 413 3700

9325003800 | 9347141610 13 bar 8.5 bar 24V -40 ... +65 °C - Bayonet® -9
432 413 470 0

9325004800 | 9347141610 13 bar 8.5 bar 24V |[-40 ... +65 °C - Bayonet® -9
432 417 101 2

932507001 0| 9347070010 13 bar 10.5 bar - —-40 ... +65°C - - 432 407 070 0
432 417 102 2

932507 002 0| 934 707 001 0 13 bar 11.1 bar - —40 ... +65 °C - - 432 407 070 O
432 417 103 2

9325070030 9347070010 13 bar 10.7 bar - —-40 ... +65 °C - - 432 407 0700

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 9325000080 9324009202 Test port m 9325000810 9324009202 Test port

m 9325000090 9324009202 Test port 932500 154 2 Protection valve

m 9325000820 9324009202 Test port
m 9325000120 9324009202 Test port 932500154 2  Protection valve
m 9325000150 9324009202 Test port

932500016 0

9325000210
932 500 027 0
9325000300
9325000390

932 500 040 0

9325000540
932 500 0550
932 500 060 0

932 500 061 0
932 500 062 0

932 500 063 0
932 500 064 0

932 500 068 0
932 500 080 0

932 505 000 2
932400920 2

932400920 2
932400920 2
932400920 2

932400920 2
932505 000 2

932 505 000 2
932400920 2

932 400 920 2
932 400 920 2

932 500 154 2
932 400 920 2

932 400 920 2

932 400 920 2
932 500 154 2

932 505 000 2

432 415923 2
432 410 002 2

932 400 920 2
932 500 154 2

Pressure sensor module
Test port

Test port
Test port
Test port

Test port
Pressure sensor module

Pressure sensor module
Test port

Test port
Test port

Protection valve
Test port

Test port

Test port
Protection valve

Pressure sensor module

Exhaust valve
Valve

Test port

Protection valve

932 500 098 0
9325001010

932 500 102 0

932 500 103 0

932500104 0

9325001100

9325001110
9325001120
9325001140
9325001190
9325001600
932 500 269 0
932507 001 0

932 507 002 0

432 410 002 2

932 505 000 2
432 4109352

432 4109352
932 505 000 2

432 4109352
932 505 000 2

932 505 000 2
4324109352

932 505 000 2
932 400 920 2

932 400 920 2
932 400 920 2
932 400 920 2
932 400 920 2
932 500 154 2
932 500 154 2

432 410924 2
934705921 2
932 400 920 2

934705921 2
932501 922 2
432 410924 2
932 400 920 2

Valve

Pressure sensor module
Valve body

Valve body
Pressure sensor module

Valve body
Pressure sensor module

Pressure sensor module
Valve body

Pressure sensor module
Test port

Test port
Test port
Test port
Test port
Protection valve
Protection valve

Valve piston
Valve body + spring
Test port

Valve body + spring
Valve

Valve piston

Test port

35



AIR SUPPLY AND PROCESSING

Product number

Repair kit

Content

m 9325070030

432 410924 2
934 705921 2
932 400 920 2
932 501 922 2

Valve piston

Valve body + spring
Test port

Valve

Electronic Air Processing Unit (EAPU) - FuelGuard™

m Training
m Diagnostics

E-learning: APS-EAPU 200 300 301 0
Diagnostic software “APS-EAPU"

Product number Working pressure Silencer Temperature
932 510009 0 .
932 510 009 R 12.5 bar 432 407 0700 -40 ... +65 °C
Repair solutions
Product number  Repair kit Content
m 9325100090 4329012282 Cartridge
9325109522  Solenoid valve
9325109532  Exhaust

Unloader

m Temperature

m  Working pressure

932 510 954 2
932 510 955 2
932 510 956 2
932 510 957 2
932 510 958 2
932 510 959 2
932 510 960 2
932 510 964 2
932 510 965 2

Non-return valve

Safety valve

Air dryer repair unit
Gasket kit

Protection valve repair unit
Manifold block repair unit
Gasket kit

Air dryer repair kit
Protection valve repair kit

—40 ... +100 °C (975 300 111 / 113/ 114 0: —40 ... +150 °C)

25 bar (975 300 111 / 113/ 114 0: 15 bar)

m Notes Port 1-2: Tire inflation port
* Tire inflation port 1-2 closed: 975 303 920 2 retrofit kit

Product Pressure One-way EN-

number Cut-out Opening valve
9753001110 7.3 bar — (4 1, 21: M22x1.5; 1-2: ¢/; 3: Union @ 15 mm
975 300 113 0 8.1 bar — (4 1, 21: M22x1.5; 1-2: ¢/; 3: Union @ 15 mm
9753001140 8.1 bar - (4 1, 21: M22x1.5; 1-2: closed (M22x1.5); 3: Union @ 15 mm
975 303 000 0 5.3 bar 10.0 bar v 1, 21: M22x1.5; 1-2: closed*; 22: M12x1.5; 3: Union @ 20 mm
9753030010 8.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 22: M12x1.5; 3: Union @ 20 mm
975 303 003 0 7.0 bar 15.0 bar v 1, 21: M22x1.5; 1-2: —; 3: Union @ 20 mm; 4: M12x1.5
9753030400 7.3 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 3: Union @ 20 mm
975 303 060 0 8.1 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 22: M12x1.5; 3: Union @ 20 mm
9753030610 8.1 bar 12.0 bar - 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm

36




Product Pressure One-way S
number Cut-out Opening valve

975 303063 0 8.1 bar 12.0 bar (4 1, 21: %4"-14 NPTF; 1-2: closed*; 3: Union @ 20 mm
975 303 068 0 8.0 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 3: Union @ 20 mm
9753030710 8.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: —; 22, 4: M12x1.5; 3: Union @ 20 mm
9753030720 8.5 bar 12.0 bar (4 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
975 303 0750 8.7 bar 12.0 bar v 1, 21: M22x1.5; 1-2: —; 3: Union @ 20 mm; 4: M12x1,5
975 303 080 0 9.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 3: Union @ 20 mm
975303081 0 9.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: closed*; 23: M12x1.5; 3: Union @ 20 mm
9753030820 9.8 bar 12.0 bar (4 1, 21: M22x1.5; 1-2: closed*; 23: M12x1.5; 3: Union @ 20 mm
975 303 084 0 9.5 bar 12.0 bar (4 1, 21: M22x1.5; 1-2: closed*; 23: M12x1.5; 3: Union @ 20 mm
9753030880 9.5 bar 12.0 bar - 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
975 303 089 0 9.5 bar 14.0 bar v 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
9753030910 9.5 bar 12.0 bar (4 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
975 303 1200 11.0 bar 15.5 bar (4 1, 21: M22x1.5; 1-2: —; 23: M12x1.5; 3: Union @ 20 mm
9753031210 11.0 bar 12.0 bar - 1, 21: M22x1.5; 1-2: —; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
975 303 1400 12.5 bar 15.0 bar (4 1, 21: M22x1.5; 1-2: closed*; 22: M12x1.5; 3: Union @ 20 mm
9753031410 12.5 bar 17.0 bar (4 1, 21: M22x1.5; 1-2: closed*; 23: M12x1.5; 3: Union @ 20 mm
9753032200 16.0 bar 20.0 bar (4 1, 21: M22x1.5; 1-2: closed*; 3: Union @ 20 mm
975 303 2220 16.5 bar 20.0 bar v 1, 21: M22x1.5; 1-2: closed*; 3: Union @ 20 mm
975303441 0 7.8 bar 12.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
9753034420 7.3 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 23, 4: M12x1.5; 3: Union @ 20 mm
975 303 4430 7.8 bar 12.0 bar 4 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975303446 0 7.8 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
975 303 447 0 7.3 bar 12.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
9753034490 7.3 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
975 303 463 0 8.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 464 0 8.1 bar 10.0 bar 4 1, 21: M22x1.5; 1-2: ¢/; 3: Union @ 20 mm
975 303 465 0 8.1 bar 12.0 bar 4 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 469 0 8.5 bar 12.0 bar 4 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 472 0 8.5 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
975 303 4730 8.1 bar 12.0 bar 4 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 474 0 8.1 bar 12.0 bar — 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
9753034750 8.1 bar 12.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 478 0 8.1 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
9753034800 9.5 bar 12.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
9753034910 8.5 bar 12.0 bar - 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
9753035030 10.0 bar 14.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 303 504 0 10.0 bar 14.0 bar — 1, 21: M22x1.5; 1-2: ¢/; 22, 4: M12x1.5; 3: Union @ 20 mm
9753035800 14.0 bar 20.0 bar v 1, 21: M22x1.5; 1-2: ¢/; 22: M12x1.5; 3: Union @ 20 mm
975 400 083 0 8.5 bar — - 1, 21: %"-27 NPTF; 3: exhaust

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 9753001110 9753000002 Valve 9753030680 9753030002 Valve

m 9753030000 9753030002 Valve 9753030710 9753030002 Valve

m 9753030400 9753030002 Valve 9753030720 9753030002 Valve

m 9753030600 9753030002 Valve 9753030750 9753030002 Valve

m 9753030610 9753030002 Valve 9753030800 9753030002 Valve

m 9753030630 9753030002 Valve 9753030810 9753030002 Valve

37



AIR SUPPLY AND PROCESSING

Product number  Repair kit Content Product number  Repair kit Content

m 9753030820 9753030002 Valve m 9753034490 9753030012 Valve

m 9753030840 9753030002 Valve m 9753034630 9753030012 Valve

m 9753030880 9753030002 Valve m 9753034640 9753030012 Valve

m 9753030890 9753030002 Valve m 9753034650 9753030012 Valve

m 9753031200 9753030002 Valve m 9753034690 9753030012 Valve

m 9753031210 9753030002 Valve m 9753034720 9753030012 Valve

m 9753031400 9753030002 Valve m 9753034730 9753030012 Valve

m 9753031410 9753030002 Valve m 9753034740 9753030012 Valve

m 9753032200 9753030002 Valve m 9753034750 9753030012 Valve

m 9753032220 9753030002 Valve m 9753034780 9753030012 Valve

m 9753034410 9753030012 Valve m 9753034800 9753030012 Valve

m 9753034420 9753030012 Valve m 9753034910 9753030012 Valve

m 9753034430 9753030012 Valve m 9753035030 9753030012 Valve

m 9753034460 9753030012 Valve m 9753035040 9753030012 Valve

m 9753034470 9753030012 Valve m 9753035800 9753030012 Valve

Charging valve

m Temperature -40 ... +80 °C

Pressure Port
FIEE LE] Return flow - - Nominal @
number Charging Working 1 2
434 100 020 0 (4 3.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 021 0 v 3.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 022 0 v 4.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 023 0 v 5.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100024 0 v 6.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 025 0 (74 6.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 026 0 v 1.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 027 O v 0.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 028 0 v 5.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341000320 v 10.5 bar 13.0 bar 1'2:, Sl M22x1.5 M22x1.5
2-1: 8 mm

4341000330 v 7.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 034 0 (74 6.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341000370 v 1.6 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 038 0 v 7.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341000390 v 8.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 043 0 v 5.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 047 0 v 10.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 048 0 v 8.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341000490 v 9.2 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 051 0 v 10.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 080 0 v 4.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5

38




PTEE D Return flow . Pressure : Nominal @ Port
number Charging Working 1 2
434 100 082 0 v 4.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341000830 (4 4.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 122 0 - 4.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1230 - 5.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 124 0 - 5.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1250 - 6.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 126 0 — 6.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 127 0 - 6.7 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 128 0 - 5.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1300 - 7.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1310 - 7.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1330 - 7.6 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 136 0 - 10.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341001390 - 8.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 143 0 - 9.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1440 - 10.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 150 0 - 6.1 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 1530 - 7.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002020 limited 6.2 bar 10.0 bar 5 mm M22x1.5 M22x1.5
4341002030 limited 4.0 bar 10.0 bar 5 mm M22x1.5 M22x1.5
434 100 220 0 limited 4.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002210 limited 5.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 1002220 limited 6.2 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002230 limited 4.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002240 limited 1.7 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002250 limited 6.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 226 0 limited 5.3 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002270 limited 5.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 228 0 limited 6.4 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002290 limited - 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 2300 limited - 13.0 bar 8 mm M22x1.5 M22x1.5
4341002310 limited - 13.0 bar 8 mm M22x1.5 M22x1.5
4341002320 limited 8.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002330 limited 7.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434100 234 0 limited 8.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002350 limited 4.2 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 236 0 limited 1.1 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002440 limited 7.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 249 0 limited 10.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002510 limited 0.8 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 1002530 limited 6.1 bar 13.0 bar 8 mm M22x1.5 M22x1.5
4341002570 limited 5.6 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 260 0 limited - 13.0 bar 8 mm M22x1.5 M22x1.5
4341002620 limited - 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 3100 v 8.2 bar 8.3 bar 8 mm female %2"-14 NPTF| male %4"-14 NPTF
434 100504 0 limited - 10.0 bar 7 mm M16x1.5 M16x1.5
434 100 505 0 limited - 13.0 bar 7 mm M16x1.5 M16x1.5
434 100 600 0 - 8.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 602 0 - 10.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 603 0 - 2.0 bar 13.0 bar 8 mm M22x1.5 M22x1.5
434 100 604 0 - 7.5 bar 13.0 bar 8 mm M22x1.5 M22x1.5

39



AIR SUPPLY AND PROCESSING

Protection valve

Circuit 1: 5.2 bar
Circuit 2: 6.0 bar

m Opening pressure

Product number Working pressure Temperature Port
434 700 003 0 10.0 bar -40 ... +80°C 1,21, 22: M22x1.5
934 700 040 0 20.0 bar —40 ... +90 °C 1: M22x1.5; 21, 22: M16x1.5
Repair solutions
Product number  Repair kit Content
m 9347000400 9347000002 Diaphragm + valve
Triple protection valve
m Temperature —-40 ... +90 °C
m Working pressure 20 bar
Opening pressure
Product number — — — Port
Circuit 1 Circuit 2 Circuit 3
934 7010000 5.7 bar 5.7 bar 5.2 bar 1: M22x1.5; 21, 22, 23: M16x1.5
934 701 001 0 6.0 bar 6.0 bar 5.5 bar 1: M22x1.5; 21, 22, 23: M16x1.5
934 701 005 0 5.4 bar 5.4 bar 4.9 bar 1: M22x1.5; 21, 22, 23: M16x1.5
934 701 040 0 6.0 bar 6.0 bar 5.5 bar 1: M22x1.5; 21, 22, 23: M16x1.5
9347010410 7.0 bar 7.0 bar 6.5 bar 1: M22x1.5; 21, 22, 23: M16x1.5
934 701 1100 7.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23: M16x1.5

Quadruple circuit protection valve -
flange mounted

—40 ... +90 °C
H —40 ... +65°C
3 —40...+90 °C

* electrical connection
DIN bayonet 72585, 7-pin

Port 1 flange mounted at air dryer

m Temperature

m Pressure
sensor

= Mounting

8845031440 934 705008 0 934714 152 0
) Pressure limiting Opening pressure
Product Working — — — — Pressure Port
number pressure Circuit Circuit Circuit Circuit sensor*
1/2 3/4 1/2 3/4
1: thread M8; 21, 22, 23, 24, 25,
884 503 144 0 13.0 bar - 8.5 bar 9.0 bar 7.5 bar v 26 M22x1.5
1: 2 bolts M8; 21, 22, 23, 24:
934 702 0730 | 13.0 bar - - 8.0 bar 8.4 bar - M22x1.5 JED-388

40




) Pressure limiting Opening pressure
Product Working — — — — Pressure
number pressure | Circuit Circuit Circuit Circuit —— Port
1/2 3/4 1/2 3/4
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 705 002 0 13.0 bar - 8.5 bar 9.0 bar 7.5 bar - 26 M22x15
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 7050030 | 13.0 bar 10.0 bar 8.5 bar 9.0 bar 7.5 bar v 26: M22x1.5: 27, 28 M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 705004 0 10.2 bar - 8.5 bar 8.6 bar 7.5 bar - 26: M22x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 7050050 | 13.0 bar 10.0 bar 8.5 bar 9.0 bar 7.5 bar v 26: M22x1.5: 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 705008 0 | 13.0 bar 10.6 bar 8.6 bar 9.0 bar 7.5 bar v 26: M22x1.5: 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
9347050090 | 13.0 bar 10.0 bar - 9.0 bar 7.5 bar v 26: M22x1.5; 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
9347050100 | 13.0 bar - 8.5 bar 6.5bar | 6.0/7.5bar - 26 M22x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 705011 0 13.0 bar — 10.0 bar 9.0 bar 7.5 bar v 26: M22x1.5: 27, 28 M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 7050130 13.0 bar — - 6.9 bar 7.3/6.9 bar v 26: M22x1.5: 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
934 705 014 0 10.2 bar - 9.0 bar 8.6 bar 7.5 bar v 26: M22x1.5: 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25,
9347050150 13.0 bar - 8.5 bar 6.5 bar 6.0 bar v 26: M22x1.5: 27, 28: M12x1.5
5.35+75/ 1: 2 bolts M8; 21, 22, 23, 24, 26:
934 705 021 0 13.0 bar 8.5 bar 8.5 bar 7.5 bar 75 bar v M22x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25
1) _ _ 1 ’ ’ ’ ’ ’
934 707 0100 13.0 bar 8.5 bar 9.0 bar 7.5 bar 26: M22x1.5: 27, 28: M12x1.5
1: 2 bolts M8; 21, 22, 23, 24, 25
1) o o 1 ’ ’ ’ ’ ,
934 707 011 0 13.0 bar 8.5 bar 9.0 bar 7.5 bar 26: M22x1.5: 27, 28: M12x1.5
934714 151 09 | 13.0 bar - - 6.5bar |7.5/6.5 bar . L. 2 bolts M8; 21, 22, 23, 24:
M16x1.5
1: 2 bolts M8; 21, 22, 23, 24:
2) . _ . 1 L L 1
934 714 152 0 13.0 bar 6.0 bar 7.0/ 6.0 bar 34" 18 PTF
934714160 02 | 13.0 bar - - 6.5 bar 7.2 bar - L: 2 bolts M8; 21, 22, 23, 24:
M16x1.5
Temperature: ¥ —40 ... +65 °C; ? —40 ... +90 °C
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 9347050020 9347050012 Valve m 9347050110 9347059202 Valve body
934 7059202 Valve body 9347059212 Valve body + spring

934705921 2

934 705920 2
934705921 2

934 705920 2
934705921 2

Valve body + spring

m 9347050030 Valve body

Valve body + spring

m 9347050050 Valve body

Valve body + spring

m 9347050210

m 9347141520
m 9347141600

934705921 2
934 705923 2

934714 920 2

934714 920 2
934714922 2
934714 925 2

Valve body + spring
Valve

Diaphragm

Diaphragm
Diaphragm + valve
Diaphragm + valve




AIR SUPPLY AND PROCESSING

Quadruple circuit protection valve

9347020400

9347022100

934 702 2600

934 7144000

9347147400

Product Working Opening pressure
Temperature — — Port

number pressure Circuit1/2 | Circuit3/4
9347020000 | —40 ... +90°C 10.0 bar 6.0 bar 5.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 0020 | —40 ... +90°C 10.0 bar 6.3 bar 6.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347020050 | —40 ... +90°C 10.0 bar 6.3 bar 6.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 0400 | —40 ... +90°C 10.0 bar 6.0 bar 5.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347020410 | —-40 ... +90°C 10.0 bar 7.0 bar 6.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7020420 | —-40 ... +90°C 10.0 bar 5.4 bar 4.9 bar 1. M22x1.5; 21, 22, 23, 24: M16x1.5
934 7020450 | —40 ... +90°C 10.0 bar 6.5 bar 6.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 047 0 | —40 ... +90°C 10.0 bar 6.3 bar 5.8 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347020820 | —40 ... +90°C 20.0 bar 7.9 bar 7.9 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 1000 | —40 ... +90°C 10.0 bar 7.0 bar 6.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347021010 | —-40... +90°C 10.0 bar 6.1 bar 4.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7021100 | —40 ... +90°C 10.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347021200 | —40 ... +90°C 10.0 bar 6.0 bar 5.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7021220 | —40 ... +90°C 13.0 bar 9.3 bar 7.3/6.3bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347021910 | —-40... +90°C 10.0 bar 7.9 bar 7.9 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7021920 | —-40 ... +90°C 10.0 bar 7.5 bar 7.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7022100 | —40 ... +90°C 10.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
934 7022200 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
934 7022210 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
934 702 2230 | —40 ... +90°C 20.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
9347022400 | —40 ... +90°C 10.0 bar 7.0 bar 6.5 bar 1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
934 702 2500 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347022510 | —40 ... +90°C 20.0 bar 6.5 bar 6.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 252 0 | —40 ... +90°C 20.0 bar 7.0 bar 7.7 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347022600 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1, 21, 22, 23, 24: M22x1.5
934 7022610 | —40 ... +90°C 20.0 bar 7.0 bar 7.7 bar 1,21, 22, 23, 24: M22x1.5
9347022700 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1,11, 12, 21, 22, 23, 24: M22x1.5
934 7022710 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1,11, 12, 21, 22, 23, 24: M22x1.5
9347023000 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 702 3020 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023040 | —40 ... +90°C 10.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7023200 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023220 | —40 ... +90°C 20.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7023230 | —40 ... +90°C 20.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023240 | —40 ... +90°C 20.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7023300 | —40 ... +90°C 10.0 bar 6.3 bar 5.5/5.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023400 | —40 ... +90°C 10.0 bar 7.0 bar 7.0 bar 1. M22x1.5; 21, 22, 23, 24: M16x1.5
934 7023420 | —40 ... +90°C 10.0 bar 6.5 bar 6.7 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023800 | —40 ... +90°C 20.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023810 | —40... +90°C 20.0 bar 6.5 bar 6.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023870 | —40 ... +90°C 10.0 bar 6.5 bar 7.5/6.5bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5

42




Product Temperature Working . O-pening pre.ssu.re Port
number pressure Circuit1/2 | Circuit3/4
934 7023880 | —40 ... +90°C 20.0 bar 7.0 bar 7.4/17.0bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023900 | —40 ... +90°C 10.0 bar 7.0 bar 6.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347023910 | —40 ... +90°C 10.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7140010 | -40 ... +90°C 13.0 bar 6.4 bar 5.9 bar 1: 15"-14 PTF; 21, 22, 23, 24: %"-18 PTF
934 714 0030 | —40 ... +90°C 13.0 bar 6.9 bar 6.9 bar 1: ¥5"-14 PTF; 21, 22, 23, 24: %"-18 PTF
934 7140040 | —40 ... +90°C 13.0 bar 7.5 bar 7.5 bar 1. ¥2"-14 PTF; 21, 22, 23, 24: %"-18 PTF
9347140060 | —40 ... +90°C 13.0 bar 7.2 bar 5.7 bar 1: ¥2"-14 PTF; 21, 22, 23, 24: %"-18 PTF
9347140100 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347140110 | —-40 ... +90°C 13.0 bar 7.2 bar 7.7 /7.3 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347140140 | —-40 ... +90°C 13.0 bar 6.7 bar 6.7 bar 1: ¥."-14 PTF; 21, 22, 23, 24: %"-18 PTF
934 714016 0 | —40 ... +90°C 13.0 bar 7.5 bar 7.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347140190 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7140300 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347141090 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7141100 | —40 ... +90°C 13.0 bar 7.5 bar 7.5 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347141110 | —-40... +90°C 13.0 bar 6.9 bar 7.2 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7141190 | —45 ... +90°C 13.0 bar 6.5 bar 6.7 /6.5 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347141230 | —40 ... +90°C 13.0 bar 8.0 bar 8.5/8.0 bar |1 M22x1.5; 21, 22, 23, 24: M16x1.5
934 714 1240 | —-40 ... +90°C 13.0 bar 6.5 bar 7.4 /6.5 bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7141250 | —-40 ... +90°C 13.0 bar 6.2 bar 6.2 bar 1: 15"-14 PTF; 21, 22, 23, 24: %"-18 PTF
934 714 126 0 | —45 ... +90°C 13.0 bar 6.5 bar 7.2/6.5bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7141370 | —40 ... +90°C 13.0 bar 6.2 bar 6.2 bar 1. ¥2"-14 PTF; 21, 22, 23, 24: %"-18 PTF
934 714 1450 | —-45 ... +90°C 13.0 bar 6.5 bar 7.2/6.5bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
9347142110 | —40 ... +90°C 13.0 bar 6.5 bar 7.416.5bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 714 3020 | —40 ... +90°C 13.0 bar 7.0 bar 7.0 bar 1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7143200 | —-40 ... +90°C 13.0 bar 7.9 bar 8.3/7.9bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7144000 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9bar (1,21, 22,23, 24: M22x1.5 JED-388
9347144010 | -40... +90°C 13.0 bar 6.9 bar 7.0/6.9bar |1,21, 22,23, 24: M22x1.5 JED-388
934 7144030 | —40 ... +90°C 13.0 bar 6.9 bar 7.0/6.9 bar |1,21, 22, 23, 24: M22x1.5 JED-388
934 714 4040 | —-40 ... +90°C 13.0 bar 6.7 /6.6 bar 5.8 bar 1, 21, 22, 23, 24: M22x1.5 JED-388
9347147300 | —40 ... +90°C 13.0 bar 7.0 bar 75/70bar |1,21,22,23: M22x1.5; 24: M16x1.5
9347147320 | —-40 ... +90°C 13.0 bar 7.5 bar 8.5/7.5bar |1: M22x1.5; 21, 22, 23, 24: M16x1.5
934 7147400 | —45 ... +90°C 13.0 bar 6.3 bar 5.8 bar 1: M22x1.5; 11, 12, 21, 22, 23, 24: M16x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

934 702 000 0
934 702 002 0
934 702 0050
934 702 0400
934 702 041 0
934 702 0420
934 702 0450
934 702 0470
934 702 082 0
934 7021000
934702101 0
9347021100

934 702 000 2
934 702 000 2
934 702 000 2
934 702 000 2
934 702 000 2
934 702 000 2
934 702 000 2
934 702 000 2
934 702 008 2
934702001 2
934702 001 2
934702 001 2

Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve

Diaphragm + valve

9347021200
9347021910
9347021920
9347022100
9347022200
9347022210
934702 2230
9347022500
934 702 252 0
934702 2600
934702 2610
934702 2700

934 901 002 2
934 901 005 2
934 901 005 2
934 702 005 2
934 702 005 2
934 702 009 2
934 702 900 2
934 901 005 2
934702901 2
934 901 005 2
934702901 2
934 702 009 2

Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve

Diaphragm + valve

43




AIR SUPPLY AND PROCESSING

Product number

Repair kit

Content

Product number

Repair kit

Content

m 9347023000
m 9347023020
m 9347023040
m 9347023200
m 9347023220
m 9347023230
m 9347023300
m 9347023400
m 9347023420
m 9347023800
m 9347023810
m 9347023870
m 9347023900
m 9347023910
m 9347140010
m 9347140040

Safety valve

934 702 004 2
934 702 004 2
934 702 004 2
934 702 001 2
934 702 900 2
934 702 900 2
934 702 000 2
934 901 002 2
934 901 002 2
934 702 006 2
934 702 006 2
934 702 902 2
934 901 005 2

Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve

Diaphragm + valve

934 901 005 2
934 714 921 2
934 714 921 2

Diaphragm + valve
Diaphragm + valve

Diaphragm + valve

m 9347140060
m 9347140110

m 9347140160
m 9347140300
m 9347141090
m 9347141190
m 9347141230
m 9347141240
m 9347141370
m 9347143020
m 9347144030

m 9347147320

434608 204 0

934 714 921 2
934 714 922 2

934 714 925 2
934 714 921 2
934 714 921 2
934 714 924 2
934 714 923 2
934 714 923 2
934 714 920 2
934 714 921 2
934 714 921 2

934 714 920 2
934 714 922 2

934 714 925 2
934 714 925 2

434608 2200

Diaphragm + valve

Diaphragm + non
return valve
Diaphragm + valve

Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm + valve
Diaphragm

Diaphragm + valve
Diaphragm + valve

Diaphragm
Diaphragm + non
return valve
Diaphragm + valve

Diaphragm + valve

4346120040

Product number Temperature Opening pressure Port 1 Wrench size Length
434 608 202 0 -40 ... +80 °C 10.7 bar M16x1.5 19 mm 97.0 mm
434 608 204 0 —40 ... +80 °C 15.5 bar M14x1.5 19 mm 97.0 mm
434 608 207 0 —-40 ... +80 °C 10.8 bar Y:"-18 NPTF ¥ 72.0 mm
434 608 208 0 —40 ... +100 °C 9.7 bar M16x1.5 22 mm 74.0 mm
434 608 209 0 —40 ... +80 °C 10.4 bar M16x1.5 19 mm 97.0 mm
434 608 220 0 —40 ... +80 °C 10.0 bar M16x1.5 22 mm 59.0 mm
434608 221 0 -40 ... +80°C 9.0 bar M16x1.5 22 mm 59.0 mm
434 608 226 0 —40 ... +80 °C 15.0 bar M16x1.5 22 mm 59.0 mm
434 612 001 0 —40 ... +80 °C 9.0 bar M22x1.5 24 mm 72.0 mm
434 612 002 0 —40 ... +80 °C 10.0 bar M22x1.5 24 mm 72.0 mm
434 612 0030 —40 ... +80 °C 11.0 bar M22x1.5 24 mm 72.0 mm
434 612 004 0 —40 ... +80 °C 13.0 bar M22x1.5 24 mm 72.0 mm
434 612 0050 —40 ... +80°C 13.8 bar M22x1.5 24 mm 72.0 mm
434 612 014 0 —40 ... +80 °C 7.5 bar M22x1.5 24 mm 72.0 mm
434612 0150 —40 ... +80 °C 8.0 bar M22x1.5 24 mm 72.0 mm
434 612 016 0 —40 ... +80 °C 8.5 bar M22x1.5 24 mm 72.0 mm
434 6120170 —40 ... +80 °C 10.5 bar M22x1.5 24 mm 72.0 mm
434 612 018 0 —40 ... +80 °C 12.0 bar M22x1.5 24 mm 72.0 mm
434 612 054 0 —40 ... +80 °C 13.0 bar M16x1.5 24 mm 72.0 mm
434 612 0550 —40 ... +80 °C 14.5 bar M16x1.5 24 mm 72.0 mm

44



Product number Temperature Opening pressure Port 1 Wrench size Length
434 612 064 0 —40 ... +80 °C 12.0 bar M16x1.5 24 mm 72.0 mm
434 612 065 0 —40 ... +80 °C 14.0 bar M16x1.5 24 mm 72.0 mm
434 612 066 0 -40 ... +80 °C 15.0 bar M16x1.5 24 mm 72.0 mm
434 612 100 0 —40 ... +80 °C 13.0 bar M22x1.5 24 mm 72.0 mm
884 502 074 0 -40 ... +80°C 19.0 bar M22x1.5 27 mm 53.0 mm
934 602 001 0 —40 ... +100 °C 10.5 bar GY4" (NFE 003 005) 24 mm 41.5 mm
934 602 150 0 —40 ... +100 °C 10.0 bar M14x1.5 24 mm 43.5 mm

Air dryer - single chamber (Standard cartridge)

—40 ... +65 °C
Bayonet DIN = DIN 72585-A1-2.1-1-Sn/K2

m Temperature
m Heating connection

m Airreg. Air regeneration reservoir port (if no
regeneration valve)
1) - -2 - - 3) -
m Port JED-388; 2 JED-152; ¥ JED-464 432 410 023 0 432 410 083 0
Product Cartridge Voltage Max. Heating Cut-out Air Port
number port pressure pressure | reg.

432 410 000 0 M39 24V 13 bar Kostal M27x1 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 003 0 M39 12V 13 bar Kostal M27x1 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5

4324100050 |  M39 - 13bar | retrofittable | 10.0bar | o |- 2k M22xL5; 22, control port:
M12x1.5

432 410 007 0 M39 24V 13bar | KostalM27x1 | 85bar | ¢ ,%/]1221;1'\/'522”'5; 22, control port:

432 410 020 0 M39 - 13 bar Kostal M27x1 9.5 bar v |1, 21: M22x1.5; 22: M12x1.5

432 4100210 M39 — 13 bar retrofittable 9.5 bar v |1, 21: M22x1.5; 22: M12x1.5
1, 21: M22x1.5; 22: M12x1.5;

432 410 022 0 M39 24V 13 bar Kostal M27x1 9.5 bar (4 control port: M12x1.5 (closed)

432 410 0230 M39 - 13 bar retrofittable WG || f ||ea ok s 22, SO el [oIehiE
M12x1.5

432 410 026 0 M39 24V 13 bar Kostal M27x1 9.8 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 027 0 M39 24V 13 bar Kostal M27x1 10.0 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 028 0 M39 24V 13 bar Kostal M27x1 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5

432 4100310 M39 - 13 bar retrofittable 7.8 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 0330 M39 - 13 bar retrofittable 12.5 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 0340 M39 24V 13 bar BayonetDIN | 125bar | v ,%/’Ilzzllewézle'a 22, control port:

432 410 035 0 M39 24V 13bar | BayonetDIN | 11.0bar | ¢ :I\L/’I1221>21M522X1.5; 22, control port:

432 410 036 0 M39 24V 13 bar Kostal M27x1 7.3 bar v |1, 21: M22x1.5; 22: M12x1.5

4324100410 M39 24V 13 bar Kostal M27x1 8.5 bar v |1, 21: M22x1.5; 22: M12x1.5

432 410 042 0 M39 24V 13 bar Kostal M27x1 8.5 bar v |1, 21: M22x1.59; 22: M16x1.5Y

432 410066 0 M39 - 13 bar retrofittable 8.5 bar v |1, 21 M22x1.5Y; 22: M16x1.59

432 410 067 0 M39 24V 13 bar Kostal M27x1 8.5 bar v |1,21: M22x1.59; 22: M16x1.5Y

432 4100690 M39 24V 13 bar Kostal M27x1 10.0 bar v |1, 21 M22x1.59; 22: M16x1.5Y

4324100730 |  M39 - 13bar | retrofitable | 110bar | v |- 2k M22xL5; 22, control port:
M12x1.5

4324100740 |  M39 - 13 bar retrofittable | 12.5bar | v | 1 2L M22X15: 22, control port

45




AIR SUPPLY AND PROCESSING

Product Cartridge Max. ) Cut-out Air
Voltage Heating Port
number port pressure pressure | reg.
432 410 075 0 M39 - 13bar | BayonetDIN | 11.0bar | v |&2% M22x1.5,22, control port:
M12x1.5
432 410 076 0 M39 - 13bar | BayonetDIN | 125bar | ¢ |= 2% M22x1.5;22, control port:
M12x1.5
432 410 079 0 M39 24V 13 bar Kostal M27x1 | 8.5 bar v ;/]1261;1'\/'522)(1.5; 22, COmITE A
432 410 080 0 M39 24V 13 bar Kostal M27x1 | 9.8 bar v | L 21 M22x1.5; 22, control port:
M12x1.5
G1v4" | D.T.06-2S- 1, 21: M22x1.5; 22, control port:
432 410 083 0 SW30 — 13 bar CEO1 9.3 bar v M12x15
1, 21: M22x1.5; 22: M12x1.5;
432 4100870 M39 — 13 bar HDSCS 2-Pole 12.0 bar (4 control port: M12xL5 (closed)
432 410 088 0 M39 - 13bar | KostalM27x1 | 12.0bar | v |& 2% M22x15;22, control port:
M12x1.5
432 410 094 0 M39 24V 10bar | KostalM27x1 | 81bar | ¢ 'Z\L/,llZZl;ll\/EIBZZXLS; 22, control port:
. 1, 21: M22x1.59; 22: M16x1.59;
432 410 096 0 M39 - 13 bar retrofittable 9.0 bar v control port: M12x1.5? (closed)
. 1, 21: M22x1.59; 22: M16x1.5Y;
432 410097 0 M39 - 13 bar retrofittable 10.0 bar v control port: M12x1.5? (closed)
. 1, 21: M22x1.59; 22: M16x1.5Y;
432 410 098 0 M39 - 13 bar retrofittable 8.4 bar v control port: M12x1.5? (closed)
. 1, 21: M22x1.59; 22: M16x1.5%;
432 410099 0 M39 - 13 bar retrofittable 9.0 bar v control port: M12x1.52 (closed)
432 410 102 0 M39 24V 13 bar Kostal M27x1 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5
1, 21: M22x1.5; 22: M12x1.5;
4324101040 M39 24V 13 bar Kostal M27x1 8.1 bar v control port: M12x1.5 (closed)
4324101110 M39 — 13 bar retrofittable 12.5 bar v |1, 21: M22x1.5; 22: M12x1.5
432 4101120 M39 24V 13 bar Bayonet DIN 12.5 bar v |1, 21: M22x1.59; 22: M16x1.5Y
432 410 1130 M39 - 13 bar retrofittable 12.5 bar v |1, 21: M22x1.59; 22: M16x1.59
4324101140 M39 24V 13 bar Bayonet DIN 8.5 bar v |1, 21: M22x1.59; 22: M16x1.59
432 4101150 M39 - 13 bar retrofittable 8.5 bar v |1,21: M22x1.59; 22: M16x1.59
432 410 116 0 M39 24V 13 bar Bayonet DIN 10.0 bar v |1,21: M22x1.5Y; 22: M16x1.5Y
432 410117 0 M39 - 13 bar retrofittable 10.0 bar v |1,21: M22x1.59; 22: M16x1.59
1, 21: M22x1.5; 22: M12x1.5;
432 4101180 M39 24V 13 bar Kostal M27x1 8.8 bar v control port: M12x1.5 (closed)
432 410 122 0 M39 24V 13 bar Kostal M27x1 | 125bar | v &,‘Ilzzl;l'\’gle'fs; 22 e [
1, 21: M22x1.5; 22: M12x1.5;
432 410 1270 M39 12V 13 bar Kostal M27x1 8.1 bar v control port: M12x1.5 (closed)
432 410 1290 M39 24V 10 bar Kostal M27x1 8.1 bar v |1, 21, 22: M22x1.5
1, 21: M22x1.59; 22, control
4324101340 M39 24V 13 bar Bayonet DIN 12.5 bar v port: M16x1.59
. 1, 21: M22x1.59; 22: M16x1.5Y;
432 4101380 M39 - 13 bar retrofittable 10.0 bar v control port: M12x1.5? (closed)
4324101400 M39 24V 10 bar Bayonet DIN 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5
432 410152 0 M39 24V 10bar | KostalM27x1 | 85bar | ¢ ;/11221;1I\/I522><1.5; 2 el
1, 21: M22x1.52; 22: M12x1.52;
432 4101620 M39 12V 13 bar Bayonet DIN 8.5 bar 4 control port: M12x1.5
Bayonet
432 410 200 0 M39 24V 13 bar (Schlemmer) 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5
3-pin
4324102010 M39 — 13 bar retrofittable 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5
432 410 202 0 M39 — 13 bar retrofittable 8.1 bar v |1, 21: M22x1.5; 22: M12x1.5
. . . 1)-
432 410 204 0 M39 — 13 bar retrofittable 10.0 bar v L M22x1.5; 21: M22x1.5%; 22,

46

control port: M16x1.59



Product Cartridge Max. . Cut-out Air
Voltage Heating Port
number port pressure pressure | reg.
432 4102210 M39 122V 13 bar Bayonet DIN 8.1 bar v |1, 21: M22x1.52; 22: M12x1.5?
432 410 250 0 M39 24V 13 bar Kostal M27x1 | 10.0bar | ¢ |1, 21, 22: M22x1.5
432 410 262 0 M39 12V 13bar | BayonetDIN | 12.5bar | o 31221;1'\"522"1'5; 22, control port:
Bayonet
432 411 167 0 M39 24V 13 bar (Schlemmer) | 12.5bar | ¢ |1,21: M22xL5; 22: M12x1.5
3-pin
432 411 168 0 M39 24V 13 bar Kostal M27x1 | 8. bar v |1, 21: M22x1.5; 22: M12x1.5
432 412 002 0 M39 12V 13 bar Kostal M27x1 7.5 bar _ | L 21 M22x1.5; control port:
M12x1.5
Delphi metri 1, 21: ¥."-14 NPTF; control port:
432 4130020 M39 24V 10 bar cark 280 | 79--90bar| — | S0 OO
Delphi metri 1, 21: ¥2"-14 NPTF; control port:
432 413003 0 M39 12V 10 bar Sack 280 | 79--90bar | — |50 O
Delphi metri 1, 21: 5"-14 NPTF; control port:
432 413007 0 M39 12V 10 bar cack280 | 79--00bar| — | oS0 ot
432 415000 0 M39 24V 13 bar Kostal M27x1 | 8.0 bar — |1: M22x1.5: 21: M22x1.59
432 415003 0 M39 24V 13 bar Kostal M27x1 | 8.0 bar — |1: M22x1.5; 21: M22x1.59
432 415005 0 M39 24V 13 bar Kostal M27x1 | 9.0 bar — |1: M22x1.5: 21: M22x1.59
432 415006 0 M39 24V 13 bar Kostal M27x1 8.5 bar — | 1: M22x1.5; 21: M22x1.59
. . . 3).
432 415013 0 M39 24V 13 bar Kostal M27x1 | 8.3 bar _ |k M22xL.5; 21 M22x1.5%;
control port: M12x1.5
432 415 015 0 M39 24V 13 bar retrofittable | 11.0bar | - |% 2% M22xL5; control port:
M12x1.5
. . . 3).
432 415 016 0 M39 24V 13 bar Kostal M27x1 | 11.0 bar _ | % M22xL.5; 21 M22x1.5%;
control port: M12x1.5
. . . 3).
432 415 019 0 M39 24V 13 bar Kostal M27x1 | 125bar | — |% M22xL5; 21 M22x1.5%
control port: M12x1.5
. . . 3).
432 415 0220 M39 24V 13 bar Kostal M27x1 | 9.8 bar _ |1 M22xL5; 21 M22x1.59;
control port: M12x1.5
432 415 027 0 M39 24V 13 bar Kostal M27x1 10.0 bar — | 1: M22x1.5; 21: M22x1.59
432 4150280 M39 24V 13 bar Kostal M27x1 8.0 bar — |1: M22x1.5; 21: M22x1.5Y
. . . 3).
432 4150300 M39 24V 13 bar Kostal M27x1 | 8.3 bar B
control port: M12x1.5
. . . 3).
432 4150320 M39 12V 13 bar Kostal M27x1 | 8.3 bar _ | M22xL.5; 21 M22x1.5%;
control port: M12x1.5
432 4150330 M39 24V 13 bar Kostal M27x1 | 10.5 bar — |1: M22x1.59; 21: M22x1.59
. . . 3).
432 4150370 M39 24V 13 bar Bayonet DIN 8.3 bar _ |1 M22x1.5; 21 M22x1.5%;
control port: M12x1.5
. 2 .
432 415059 0 M39 12V 13 bar Kostal M27x1 | 11.0 bar _ |- 2 erlestee e per:
M12x1.5
432 415 124 0 M39 - 13 bar - 12.5 bar — |1, 21: M22x1.59
432 415 138 0 G1Y4" - 13 bar retrofittable 10.0 bar — | 1: M22x1.59; 21: M22x1.5%
432 415921 0 M39 12V 13 bar Kostal M27x1 | 8.3 bar — |1, 21: M22x1.59
432 420 000 0 M39 24V 13bar | Kostal M27x1 | 13.0bar | &,}1221;1'\"522"1'5; 22, CEITEL s
432 420 002 0 M39 - 13 bar retrofittable | 13.0bar | ¢ | & 2% M22x1.5,22, control port:
M12x1.5
432 420 003 0 M39 12V 13 bar Kostal M27x1 | 13.0bar | v :/]1221;1'\’5'32”1'5; 22, CEIEL (2l
432 420008 0 M39 24V 13 bar Kostal M27x1 | 13.0bar | v &/]1221;1'\/1522”.5; 22, control port:
1, 21: M22x1.59; 22, control
432 421 0000 M39 24V 13 bar Kostal M27x1 13.0 bar v port: M16x1.5Y
. 1).
432 421002 0 M39 - 13 bar retrofittable | 13.0bar | o |© 2% M22x1.5%:22, control

port: M16x1.5%

a7



AIR SUPPLY AND PROCESSING

Product Cartridge Max. ) Cut-out Air
Voltage Heating Port
number port pressure pressure | reg.
1, 21: M22x1.52; 22, control
432 421 0030 M39 24V 13 bar Kostal M27x1 | 7.5...13 bar | ¢ port: M12x1.5?
1, 21: M22x1.5%9; 22, control
432 421 007 0 M39 24V 13 bar Kostal M27x1 13.0 bar v port: M16x1.59
; 1, 21: M22x1.59; 22, control
432 4210080 M39 - 13 bar retrofittable 13.0 bar v port: M16x1.5
Delphi metri 1, 21: ¥2"-14 NPTF; 22, control
432 421 009 0 M39 12V 13 bar pack 280 79..90bar| ¢ port: %18 NPTE
432 421 012 0 M39 24V 10bar | KostalM27x1 | 10.0bar | ¢ i/’llzzl;lh/ISZZXLS; 22, control port:
432 4210140 M39 - 10 bar retrofittable | 10.0bar | ¢ |& 2L M22x1.5/22, control port:
M12x1.5
4324210280 |  M39 24V 10bar | KostalM27x1 | 8ibar | v |20 Me25i22 control port:
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

48

432 4100000

432 410003 0

432 4100050

432 410 007 0

432 4100200

4324100210

432 410 022 0

432 410 0230

432 410 000 2

432 410001 2
432 410 002 2
432 410 005 2

432 410 000 2

432 410001 2
432 410002 2
432 410 005 2
432 420921 2

432 410 000 2

432 410001 2
432 410 002 2
432 410 005 2

432410001 2
432 410 002 2
432 4100052
432 420920 2

432 410 000 2
432410001 2

432 410 002 2
432 410005 2

432 410 000 2
432410001 2

432 410 002 2
432 410005 2

432 410 000 2

432 410001 2
432 410 002 2

432410001 2
432 410 002 2

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Heater

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve
Valve set
Heater

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

432 410 026 0

432 410 027 0

432 410028 0

4324100310

4324100330

432410034 0

4324100350

432 410 036 0

4324100410

4324100420

432 410 000 2

432410001 2
432 410 002 2
432 410 005 2

432 410 000 2

432410001 2
432 410 002 2
432 410005 2

432 410 000 2

432410001 2
432 410 002 2
432 410 005 2

432 410 000 2

432410001 2
432 410 002 2
432 410005 2

432410001 2
432 410 002 2

432410001 2
432 410 002 2

432410001 2
432 410 002 2

432 410 000 2

432410001 2
432 410 002 2
432 410 005 2

432 410 000 2

432410001 2
432 410 002 2
432 410 005 2

432410001 2
432 410 002 2
432 410 005 2

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve
Valve set



Product number

Repair kit

Content

Product number

Repair kit

Content

m 4324100660

m 4324100670

m 4324100690

m 4324100730

m 4324100740

m 4324100750

m 4324100760

m 4324100790

m 4324100800

m 4324100830

m 4324100870

m 4324100880

m 4324100940

m 4324100960

m 4324100970
m 4324100980

m 4324101020

m 4324101040

m 4324101110

432410001 2
432 410 002 2

432410001 2
432 410002 2

432410001 2
432 410002 2

432410001 2
432 410 002 2

432 410001 2
432 410 002 2

432 410 000 2

432410001 2
432 410 002 2
432 410932 2

432410001 2
432 410 002 2
432410932 2

432 410001 2
432 410002 2
432 410005 2

432 410 000 2
432410001 2

432 410002 2
432 410005 2

432410001 2
432 410002 2

432 410001 2
432 410 002 2
432 410935 2

432 410005 2

432 410 002 2
432 410005 2

432 410 924 2
932 400 002 2

932 400 002 2

432 410 924 2
932 400 002 2

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 420 920 2

432 410 000 2
432 410001 2

432 410002 2
432 410005 2

432 410 000 2
432 410001 2

432 410 002 2
432 410005 2

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Heater

Unloader valve
Exhaust valve
Heater

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve
Valve body

Valve set

Exhaust valve
Valve set

Valve piston
Valve set

Valve set

Valve piston
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Heater

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

m 4324101120

m 4324101130

m 4324101140

m 4324101150

m 4324101160

m 4324101170

m 4324101180

m 4324101220
m 4324101270
m 4324101290
m 4324101340

m 4324101380
m 4324101400

m 4324101520

m 4324101620

m 4324102000

m 4324102010

m 4324102020

m 4324102040

432 410001 2
432 410 002 2
432 410932 2

432 410001 2
432 410 002 2

432 410001 2
432 410 002 2
432 410005 2
432410932 2

432 410001 2
432 410 002 2
432 410005 2

432 410001 2
432 410 002 2
432 410932 2

432 410001 2
432 410 002 2

432 410 000 2
432 410001 2

432 410 002 2
432 410 005 2

432 410 005 2
432 410 005 2
432 410 005 2

432 410001 2
432 410002 2
432 410932 2

432 410002 2

432 410 002 2
432 410 005 2
432 410932 2

432 410001 2
432 410002 2
432 410 005 2

432 410924 2
432 415923 2

432 410 000 2
432 410001 2

432 410002 2
432 410 005 2

432 410 000 2

432 410 005 2
432 410 000 2
432 410001 2

432 410 002 2
432 410 005 2

432 410001 2
432 410 002 2

Unloader valve
Exhaust valve
Heater

Unloader valve
Exhaust valve

Unloader valve
Exhaust valve
Valve set
Heater

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve
Heater

Unloader valve
Exhaust valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Valve set
Valve set
Valve set

Unloader valve
Exhaust valve
Heater

Exhaust valve

Exhaust valve
Valve set
Heater

Unloader valve
Exhaust valve
Valve set

Valve piston
Exhaust valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve
Valve set

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Unloader valve
Exhaust valve

49



AIR SUPPLY AND PROCESSING

Product number

Repair kit

Content

Product number

Repair kit

Content

m 4324102210

m 4324102500

m 4324102620

m 4324111680

m 4324130020

m 4324130030

m 4324130070

m 4324150000

m 4324150030

m 4324150050

m 4324150060

432410001 2
432 410002 2
432 4100052
432 4109402

432 410 000 2

432 410001 2
432 410002 2
432 410005 2

432 415923 2
432 425927 2

432 410 000 2

432410001 2
432 410 002 2

432 413 075 2
432 413 924 2
432 413 929 2
432 413 930 2
432 413933 2
432413934 2

432 413 075 2
432 413 925 2
432 413 930 2
432 413934 2

432 413 075 2
432 413 923 2
432 413 925 2
432 413929 2
432 413 930 2
432 413934 2

432 410 000 2

432 410001 2
432 410002 2
432 410005 2
432 413 075 2
432 415000 2

432 410 000 2

432410001 2
432 410002 2
432 410005 2
432 415000 2

432 410 000 2

432 410001 2
432 410002 2
432 410005 2
432 415000 2

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 415000 2

Unloader valve
Exhaust valve
Valve set

Exhaust + charging
valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Exhaust valve
Exhaust valve

Exhaust + charging
valve

Unloader valve
Exhaust valve

Valve piston
Heater

Valve + exhaust
Diaphragm + filter
Valve set

Valve body

Valve piston
Valve body
Diaphragm + filter
Valve body

Valve piston
Heater

Valve body

Valve + exhaust
Diaphragm + filter
Valve body

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Valve piston
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

m 4324150130

m 4324150150

m 4324150160

m 4324150190

m 4324150220

m 4324150270

m 4324150280

m 4324150300

m 4324150320

m 4324150330

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 415000 2

432 410 000 2

432 410001 2
432 410002 2
432 415000 2

432 410 000 2

432410001 2
432 410002 2
432 415000 2

432 410 000 2

432410001 2
432 410002 2
432 410005 2
432 415000 2

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 415000 2
932 500 235 2

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 415000 2
932 500 235 2

432 410 000 2

432 410001 2
432 410 002 2
432 410 005 2
432 415000 2
932 500 235 2

432 410 000 2

432410001 2
432 410 002 2
432 410005 2
432 415000 2
432420921 2

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432 415000 2
432 420921 2

432 410005 2
932 500 235 2

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm
Regeneration valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm
Regeneration valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm
Regeneration valve

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Heater

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set
Diaphragm

Heater

Valve set
Regeneration valve




Product number

Repair kit

Content

Product number

Repair kit

Content

m 4324150370

m 4324151380

m 4324159210
m 4324200000

m 4324200020

m 4324200030

m 4324200080

432 410 000 2

432 410001 2
432 410 002 2
432 410005 2
432410932 2
432 415000 2

432410001 2
432 410002 2
932 500 235 2

432 410005 2
432 410 000 2

432 410 002 2
432 413 075 2
432 410 000 2
432 410 002 2
432 413 075 2
432 410 000 2
432 410002 2

432 413 075 2
432420921 2

432 410 000 2

432 410 002 2
432 413 075 2

Exhaust + charging
valve

Unloader valve
Exhaust valve
Valve set

Heater

Diaphragm

Unloader valve
Exhaust valve
Regeneration valve

Valve set

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust + charging
valve

Exhaust valve
Valve piston
Heater

Exhaust + charging
valve

Exhaust valve
Valve piston

m 4324210000

m 4324210020

m 4324210030

m 4324210070

m 4324210080

m 4324210090

m 4324210120

m 4324210280

Air dryer - single chamber (Air System Protector)

m Temperature

m Heating connection

—40 ... +65 °C

Bayonet DIN = DIN 72585-A1-2.1-1-Sn/K2

432 410 000 2

432 410002 2
432 413 075 2

432 410 000 2

432 410002 2
432 413 075 2

432 421 000 2
432 413 075 2

432 410 000 2

432 410002 2
432 413 075 2

432 410 000 2

432 410002 2
432 413 075 2

432 410 002 2
432 413 075 2
432 413 923 2
432 413 929 2
432 413934 2

432 410005 2
432 413 075 2
432 413934 2
432 420920 2

432 410001 2
432 410 002 2
432 413934 2

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust valve
Valve piston

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust + charging
valve

Exhaust valve
Valve piston

Exhaust valve
Valve piston
Heater

Valve + exhaust
Valve body

Valve set
Valve piston
Valve body
Heater

Unloader valve
Exhaust valve
Valve body

m Airreg. Air regeneration reservoir port (if no regeneration valve) 432 410 023 0
Product Cartridge Voltage Max. Heating Cut-out Air Port
number port pressure pressure | reg.
432 410 144 0 C;\}J/s“ol 24V 13 bar D.Té?z%lzs- 93bar | v &/]1221;15/'52%1'5; 22, control port:
4324100140 |  M39 13 bar retrofittable | 9.0bar | ¢ ioﬁrsfﬁﬁf_’Mi;l\"Slz(;tfe a3
4324100160 |  M39 13 bar retrofittable | 10.0bar | ¢ ioﬁrg\fﬁﬁk_’,\ﬁgxl\’gz@ﬁti 0
432 410017 0 M39 13 bar retrofittable 9.2bar | v ioﬁrévlli)%ﬁSMigxy;z(:Itge 0
432 410 064 0 M39 13 bar retrofittable g2bar | v ioﬁrc’:ﬁi’ﬁg’hﬂgxi\’gz@é; 0
432 4101300 M39 24V 13bar | Kostal M27x1 | 8.5 bar v ;jf;ﬂzans; Rk Uil
432 410 169 0 M39 24V 13bar | KostalM27x1 | 95bar | ¢ blzzﬁl'f’ézle'a 22, control port:

51



AIR SUPPLY AND PROCESSING

Product Cartridge Max. . Cut-out Air
Voltage Heating Port
number port pressure pressure | reg.
1, 21: M22x1.5 JED-152; 22,
4324101910 M39 24V 13 bar Bayonet DIN 12.0 bar (4 control port: M12x1.5 JED-152
1, 21: M22x1.5 JED-152; 22,
432 4101920 M39 24V 13 bar Bayonet DIN 8.5 bar 4 control port: M12x1.5 JED-152
: 1: M22x1.5; 21: M22x1.5
432 4107200 M39 - 13 bar retrofittable 12.5 bar v JED-388: 22: M16x1.5 JED-388
1, 21: M22x1.5; 22: M16x1.5;
4324107350 M39 24V 13 bar Bayonet DIN 12.5 bar (4 control port: M12x1.5 (closed)
432 410 907 0 M39 24V 13bar | KostalM27x1 | 9.8 bar ) || e e I
M12x1.5
1: M22x1.5 JED-152;
4324150510 M39 24V 10 bar Bayonet DIN 9.5 bar — |21: M22x1.5; control port:
M12x1.5 JED-152 (closed)
432 415 061 0 M39 24V 10 bar Bayonet DIN 9.5 bar L | s R GO e
M12x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4324100140 9324000022 Valve set m 4324101920 4324100022 Exhaustvalve
4324100052 Valve set 432 4109322  Heater
4324109352 Valve body
m 4324100160 9324000022 Valve set 4324209202 Heater
m 4324100170 9324000022 Valve set
432 410 0052  Valve set 4324107350 4324109322 Heater
m 4324100640 4324100012 Unloader valve 4324109070 4324100052 valve set
432410002 2 Exhaust valve 4324150510 4324100052 Valve set
4324100052 Valve set 432 4109322  Heater
9324000022 Valve set 9325002352 Regeneration valve
m 4324101300 4324100052 Valve set m 4324150610 4324109322 Heater
4324159222  Valve set

m 4324101910 4324100022 Exhaustvalve

432 415923 2  Exhaust valve

4324109322  Heater :
4324109352  Valve body 9325002352 Regeneration valve
4324209202 Heater

Air dryer - single chamber (Air System Protector Plus)

—40 ... +65°C
M39
Bayonet DIN = DIN 72585-A1-2.1-1-Sn/K2

Temperature
Cartridge port

Heating connection

Air reg. Air regeneration reservoir port 432 410 166 0
e Voltage Max. Heating Cut-out Air reg. Port
number pressure pressure
4324101660 | 24V 13 bar BayonetDIN | 12.5 bar v |%2L M22x1.5 JED-388; 22: MI16x1.5
JED-388
432 410 167 O 24V 13 bar Kostal M27x1 9.5 bar (4 1, 21: M22x1.5; 22: M12x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4324101660 4324109322 Heater m 4324101670 4324100052 Valve set

52
[



Air dryer - single chamber with external filling port
(Standard cartridge)

m Temperature -40 ... +65 °C

m Cartridge port M39

m Max. pressure 13 bar

m Heating connection  Bayonet DIN = DIN 72585-A1-2.1-1-Sn/K2

m Airreg. Air regeneration reservoir port (if no regeneration valve) 932 400 014 0
Rl Voltage Heating Cut-out Air reg. Port
number pressure

11, 21: M22x1.5; 12: M16x1.5 (closed);

432 413 0710 24V Bayonet DIN 8.5 bar - 22: Tire inflation device M16x1.5;

control port: M12x1.5

11, 21: M22x1.5; 12: M12x1.5 (closed); 22: M16x1.5
JED-388; 23: Tire inflation device M16x1.5

11, 21: M22x1.5; 12: M12x1.5; 22: M16x1.5 JED-388;
9324000140 24V Bayonet DIN 11.5 bar (4 23: Tire inflation device M16x1,5; 24: M22x1.5 JED-388;
control port: M10x1.5 JED-388

932 400 003 0 - retrofittable 10.0 bar v

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4324130710 4324100052 Valve set m 9324000030 4324100012 Unloader valve
432 4109322  Heater 9324000002 Valve set
432 4139342  Valve body 9324000012 Valve set
9324009202 Test port 9324009202 Test port

9325002352  Regeneration valve m 9324000140 4324100012 Unloader valve

9324000002 Valve set
9324009202 Test port

Air dryer - single chamber with external filling port
(Air System Protector)

m Temperature —40 ... +65 °C
m Cartridge port M39
m  Max. pressure 13 bar
m Heating connection  Bayonet DIN = DIN 72585-A1-2.1-1-Sn/K2
m Airreg. Air regeneration reservoir port (if no regeneration valve)
1 -388: 2 B,
m Port JED-388; 2 JED-152 932 400 024 0
e Voltage Heating SIEelly il Port
number pressure | reg.
432 416 004 0 - retrofittable 11.0 bar - 1,12, 21: M22x1.5; 25, control port: M16x1.5; 26: Tire

inflation port M22x1.5

11, 21: M22x1.5; 12: M12x1.5; 22: M16x1.59; 23: Tire inflation
device M16x1.5; 24: M22x1.5Y; control port: M10x1.5%

11, 21: M22x1.52; 12: M12x1.52; 22: M16x1.59; 23: Tire
932 4000170 - retrofittable 12.0 bar v/ |inflation device M16x1.5; 24: M22x1.5%; control port:
M10x1.5Y

11, 21: M22x1.57; 12: M12x1.5%; 22: M16x1.59; 23: Tire
932 400 018 0 24V Bayonet DIN 12.0 bar v |inflation device M16x1.5; 24: M22x1.5%; control port:
M10x1.5%

932 400 016 0 24V Bayonet DIN 11.5 bar v

53



AIR SUPPLY AND PROCESSING

PrEEnEs Voltage Heating Gl (A Port
number pressure | reg.
11, 21: M22x1.52; 12: M12x1.52; 22: M16x1.59; 23: Tire
9324000210 24V Bayonet DIN 12.5 bar v/ |inflation device M16x1.5; 24: M22x1.5%; control port:
M10x1.5Y
11, 21: M22x1.5; 12: M12x1.5; 22: M16x1.59; 23: Tire inflation
932 400 024 0 24\ Bayonet DIN 12.0 bar v/ |device M16x1.5; 24: M22x1.5Y; control port: M10x1.5%
(closed)
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

m 4324160040 4324159222 Valve set m 9324000180 4324100012 Unloader valve
m 9324000160 4324100012 Unloader valve ggg jgg 828 5 \T/Z‘;‘:epzftt
432 410932 2 Heater
4324139252  Valve body m 9324000210 9324009202 Test port
24 2 val
822 488 ggg ; T:S‘:epzftt m 9324000240 4324109322 Heater
9324000002 Valve set
9324009202 Test port

Air dryer - twin chamber with unloader (Standard cartridge)

m Temperature —40 ... +65 °C
m Cartridge port M39
m Max. pressure 13 bar
m \Voltage 24V
m Heating connection Y Bayonet (Schlemmer) 3-pin
2 Bayonet DIN 72585-A1-2.1-1-Sn/K2
m Solenoid connection  Bayonet DIN 72585-A1-2.1-1-Sn/K1
m Port 4 JED-388; ® JED-388-1; ©® JED-388-3; " JED-388-4
m Silencer Not equipped, retrofittable: 432 407 012 0

432 407 060 0: 432 432 008 0

4324332060

E[ﬁ:g;: Heating Solenoid pcr:g;-souurte Port
4324320000 Bayonet? Kostal M24x1 12.5 bar 1, 21: M22x1.5
432 432 001 0 | Kostal M27x1 Kostal M24x1 8.1 bar 1, 21: M22x1.5
432 432 0020 Bayonet? Kostal M24x1 10.0 bar 1, 21: M22x1.5
432 432 005 0 Bayonet? Kostal M24x1 8.1 bar 1, 21: M22x1.5
432 432 007 0 | Bayonet DIN? | Kostal M24x1 11.0 bar 1, 21: M22x1.5
432 432 008 0 | Kostal M27x1 Kostal M24x1 10.0 bar 1, 21: M22x1.5
432 432 0170 | Kostal M27x1 Kostal M24x1 10.0 bar 1, 21: M22x1.5; control port: M16x1.5
432 432 018 O retrofittable Kostal M24x1 12.5 bar 1, 21: M22x1.5
432 4320190 | Bayonet DIN? Kostal M24x1 12.5 bar 1, 21: M22x1.5
432 432 0210 Kostal M27x1 Bayonet DIN® 10.0 bar 1, 21: M22x1.5
432 432 024 0 | Bayonet DIN? | Bayonet DIN® 8.1 bar 1, 21: M22x1.5
432 4321990 | Kostal M27x1 Kostal M24x1 10.0 bar 1, 21: M22x1.5
432 4330050 | Bayonet DIN? | Bayonet DIN® 12.0 bar iﬂll’:xll:_g/!izoxnlt'rsgi; ;srtM,\zﬂzlzif;s)z fire infiation device
432 433 2000 Bayonet? Kostal M24x1 12.5 bar iﬁ’nzti;|Mp202r>;:1'3;123125?(:;?2223)” device MIGHLS:
432 433 2020 Bayonet? Kostal M24x1 10.0 bar ii’nzt?;|Mp202;:1'5;125:125?('53223; device MIGXLS:




Rl Heating Solenoid STl Port
number pressure
11, 21: M22x1.5; 22: Tire inflation device M16x1.5;
1) Ll Ll 1
4324332050 Bayonet Kostal M24x1 8.1 bar control port: M16x1.57 (closed)
11: M22x1.5; 21: M22x1.59); 22: Tire inflation device
2) 3) ’ ’
432 433 206 0 | Bayonet DIN Bayonet DIN 12.0 bar M16x1.5; control port: M16x1.57 (closed)
4324332170 | Kostal M27x1 Kostal M24x1 10.0 bar 11, 21: M22><.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
4324332180 | retrofittable | Kostal M24x1 125bar | b 21 M22x1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.57 (closed)
11, 21: M22x1.5; 22: Tire inflation device M16x1.5;
1) 1 1 1
432 433278 0 Bayonet Kostal M24x1 8.1 bar control port: M16x1.57 (closed)
11, 21: M22x1.5; 22: Tire inflation device M16x1.5;
1) ’ ’ ’
4324332790 Bayonet Kostal M24x1 10.0 bar control port: M16x1.57 (closed)
432 4332990 | Kostal M27x1 Kostal M24x1 10.0 bar 11, 21: M22x1.5; 22: Tire inflation device M16x1.5;

control port: M16x1.57 (closed)

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

432 4320000

4324320010

432 4320020

432 4320050

432 4320070

432 4320170

4324320180

4324320190

432 4320240

4324321990

4324330050

4324332000

432 410001 2
432 432000 2

432 410001 2
432 432000 2

432 410001 2
432 432000 2

432 410001 2

432 410001 2
432 410932 2
432 432 000 2

432 410001 2
432 432000 2

432 410001 2
432 432 000 2

432 410001 2
432 410932 2
432 432 000 2

432 410932 2

432 410001 2
432 432000 2

432 410932 2
432 433921 2
932400920 2

4324339212
432 4339252
932 400 920 2

Unloader valve

Valve + solenoid

Unloader valve

Valve + solenoid

Unloader valve

Valve + solenoid

Unloader valve

Unloader valve
Heater

Valve + solenoid

Unloader valve

Valve + solenoid

Unloader valve

Valve + solenoid

Unloader valve
Heater

Valve + solenoid

Heater

Unloader valve

Valve + solenoid

Heater
Outlet valve
Test port

Outlet valve
Solenoid
Test port

432 4332020

4324332050

432 433 206 0

4324332170

4324332180

4324332780

4324332790

4324332990

432 433921 2
432 433 925 2
932400920 2

432 433921 2
932400920 2

432 410932 2
432 433920 2
4324339212
932 400 920 2

432433921 2
432 433924 2
432 433925 2
932 400 920 2

4324339212
432 433925 2
932 400 920 2

432 410 924 2
4324339212
432 433925 2
432 433 926 2
932 400 920 2

432433921 2
432 433925 2
932 400 920 2

432433921 2
432 433924 2
432 433925 2
932 400 920 2

Outlet valve
Solenoid
Test port

Outlet valve
Test port

Heater
Valve body
Outlet valve
Test port

Outlet valve
Valve body
Solenoid
Test port

Outlet valve
Solenoid
Test port

Valve piston
Outlet valve
Solenoid

Valve + exhaust
Test port

Outlet valve
Solenoid
Test port

Outlet valve
Valve body
Solenoid
Test port




AIR SUPPLY AND PROCESSING

Air dryer - twin chamber with unloader (Air System Protector)

m Temperature —40 ... +65 °C
m Cartridge port M39
m Max. pressure 13 bar
m \oltage 24V
m Heating connection Y Bayonet (Schlemmer) 3-pin
2 Bayonet DIN 72585-A1-2.1-1-Sn/K2
m Solenoid connection ¥ Bayonet DIN 72585-A1-2.1-1-Sn/K1
Port 4 JED-388-1; ® JED-388-3; © JED-388-4
m Silencer Not equipped, retrofittable: 432 407 012 0 432 433 062 0
FIEELE] Heating Solenoid CEEUE Port
number pressure
432 432 0230 | Kostal M27x1 Kostal M24x1 10.0 bar 1, 21: M22x1.5; control port: M16x1.5
11, 21: M22x1.5%; 12: M22x1.5; 22: Tire inflation device
2) 3) 1 ) g
432 433 062 0 | Bayonet DIN Bayonet DIN 12.0 bar M16x1.5; control port: M10x1.59
4324332010 | Kostal M27x1 | Kostal M24x1 100bar | ML 21 M22x1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.59 (closed)
4324332190 | Bayonet DIN? Kostal M24x1 12 5 bar 11, 21: M22><.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
4324332230 | Kostal M27x1 | Kostal M24x1 100bar | b 21 M22xL5; 22: Tire inflation device M16xL5;
control port: M16x1.5
432 433 296 0 | Bayonet DIN? | Bayonet DIN® 12.5 bar 11, 21: M22><.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
432 433 298 0 Bayonet? Kostal M24x1 8.5 bar 11, 21: M22><_1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4324330620 4324100012 Unloader valve m 4324332230 4324339212 Outlet valve
432 4109322  Heater 4324339252 Solenoid
4324339212 Outlet valve 9324009202 Test port
9324009202 Test port m 4324332960 4324332042 Solenoid

m 4324332010 4324109242 Valve piston 4324339212 Outlet valve
4324209202 Heater 432 4339222 Valve body
4324339212 Outlet valve 9324009202 Test port
jgg 222 ggg ; \S/O'eno'd m 4324332080 4324339212 Outlet valve

alve + exhaust
9324009202 Test port 4824339242  Valve body
4324339252  Solenoid

m 4324332190 4324109322 Heater 432 433926 2 Valve + exhaust
4324339212 Outlet valve 9324009202 Test port
4324339252  Solenoid

932 400 920 2

Test port




Air dryer - twin chamber without unloader

Cartridge type

Standard Cartridge (M39)
Air System Protector (M39): 432 433 191 0
Air System Protector Plus (M39): 432 433 282 0

m Temperature —-40 ... +65 °C
m Voltage 24V
m Silencer Not equipped, retrofittable: 432 407 012 0 432 433 209 0
FoeE] Heating Solenoid Max. pressure Port
number
432 431 010 0 | HDSCS 2-Pole | HDSCS 2-Pole 13 bar 1, 21: M22x1.5; control port: M16x1.5
432 431199 0 | Kostal M27x1 Kostal M24x1 13 bar 1, 21: M22x1.5; control port: M16x1.5
432 433108 0 | HDSCS 2-Pole | HDSCS 2-Pole 13 bar 11, 21; M22><_1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
432 433191 0 | HDSCS 2-Pole | HDSCS 2-Pole 13 bar 11, 21: M22><.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
11, 21: M22x1.5; 22: Tire inflation device M16x1.5;
432 4332090 | Kostal M27x1 Kostal M24x1 10 bar control port: M16x1.5 JED-388-4
432 4332730 | Kostal M27x1 Kostal M24x1 13 bar 11, 21: M22><.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
432 433 274 0 Kostal M27x1 Kostal M24x1 13 bar 11, 21: M22><'1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
11, 21: M22x1.5; 22: Tire inflation device M16x1.5;
432 433 2800 | Kostal M27x1 Kostal M24x1 10 bar control port: M16x1.5 JED-388-4
432 433 281 0 Kostal M27x1 Kostal M24x1 13 bar 11, 21: M22><_1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5
4324332820 | Kostal M27x1 Kostal M24x1 13 bar 11, 21: M22x.1.5; 22: Tire inflation device M16x1.5;
control port: M16x1.5

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content
m 4324310100 4324310022 Valve + exhaust m 4324332730 4324339212 Outlet valve
m 4324311990 4324209202 Heater gg’; jgg ggg 2 ?gg”%’g
4324310002 Valve + solenoid P
m 4324331080 4324339212 Outlet valve m 4324332740 4324339212 Outlet valve
432 4339242 Valve body
432 4339242 Valve body :
932 400920 2 Test A 432 4339252 Solenoid
estpor 9324009202 Test port
m 4324331910 4324339212 Outlet valve W 4324332800 4324309262  Heater
4324339242 Valve body .
932 400920 2 Test A 432 4319332 Solenoid
estpor 4324339212 Outlet valve
m 4324332090 4324339212 Outlet valve m 4324332810 4324339212 Outlet valve
432 4339252 Solenoid
932 400920 2 Test " 4324339232 Valve body
estpor 4324339252  Solenoid

932 400 920 2

Test port




AIR SUPPLY AND PROCESSING

Air dryer - electrically controlled (ECAD)

N errrg

m Cartridge type Air System Protector (M39)
Standard Cartridge (M39): 432 425 010 0
m Temperature —40 ... +65 °C
m Max. pressure 13 bar
m Heating connection  Bayonet DIN = Bayonet DIN 72585-A1-2.1-1-Sn/K2
m Solenoid connection Bayonet DIN 72585-A1-2.1-1-Sn/K1 432 495 101 0
e Voltage Heating Silencer Port
number
432 425 010 0 12V Bayonet DIN (432 407 060 0 11, 21: M22x1.5 JED-388-4; 12: M16x1.5; control port:
. M12x1.5
retrofittable)
432 425 101 0 Ry Bayonet DIN 432 407 060 0 i/lll,22x11: 2/I22><1.5 JED-388-4; 12: M16x1.5; control port:
432 4251050 24V retrofittable 432 407 060 0 |11, 21: M22x1.5; 12: M16x1.5; control port: M12x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4324251010 4324100022 Exhaustvalve m 4324251050 4324109352 Valve body
4324109322 Heater 4324259202 Solenoid
4324109352  Valve body 432 4259222 Exhaust valve
4324259202 Solenoid 432 4259272 Exhaust valve
432 4259222 Exhaust valve 432 4259282 Exhaust valve
Heater
Temperature
Product number Voltage Connector :
Cutin Cut out
894 260 040 2 24V M27x1, 2-pin 7.0 °C 29.5°C
894 260 043 2 24V HDSCS 2-pole 7.0°C 29.5°C
894 260 045 2 24V Bayonet plug (Schlemmer) 3-pin 7.0°C 29.5°C
894 260 046 2 12V Delphi metri pack 280 7.0°C 29.5°C
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 8942600402 4324209202 Heater, accessories m 8942600452 4324109322 Heater, accessories
894 260 067 2  Cartridge heater 894 260 067 2  Cartridge heater
m 8942600432 4324309262 Heater, accessories m 8942600462 4324139232 Heater, accessories

894 260 067 2  Cartridge heater




Pressure limiting valve (475 009 ... 0)

m  Supply Nominal @: 4 mm 475 009 008 0
Pressure
Product number - - Temperature Port
Max. working Delivered

4750090000 10 bar 5.5 bar at p1 = 8.0 bar -40 ... +80°C 1, 2: M12x1.5
475009 004 0 10 bar 0.4 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M12x1.5
475 009 005 0 10 bar 0.3 bar at p1 = 8.0 bar -40 ... +80 °C 1, 2: M12x1.5
475 009 007 O 10 bar 0.5 bar at p1 = 9.5 bar -40 ... +80 °C 1, 2: M12x1.5
475 009 008 0 10 bar 0.7 bar at p1 = 8.0 bar —-40 ... 480 °C 1, 2: M12x1.5
475 009 009 0 10 bar 2.5 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M12x1.5
4750090100 10 bar 3.5 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M12x1.5
475009 012 0 12 bar 0.3 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M12x1.5
4750090130 10 bar 0.45 bar at p1 = 9.5 bar —-40 ... +80 °C 1, 2: M12x1.5
475009 014 0 12 bar 0.5 bar at p1 = 10.0 bar —-40 ... +80 °C 1, 2: M12x1.5
4750090150 10 bar 4.8 bar at p1 = 8.0 bar —-40 ... +80 °C 1, 2: M12x1.5
475009 021 0 10 bar 1.2 bar at p1 = 2.0 bar —40 ... +80 °C 1, 2: M12x1.5
4750090220 10 bar 2.0 bar at p1 = 3.0 bar -40 ... +80 °C 1, 2: M12x1.5
475 009 026 O 10 bar 3.0 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M12x1.5
475 009 027 0 12 bar 2.5 bar at p1 = 8.0 bar —40 ... 480 °C 1, 2: M12x1.5
475 009031 0 10 bar 2.2 bar at pl = 4.5 bar —40 ... +80 °C 1, 2: M12x1.5
4750090320 10 bar 1.7 bar at p1 = 2.0 bar —40 ... +80 °C 1, 2: M12x1.5
475 009 152 0 12 bar 0.5 bar at p1 = 8.5 bar -30... +70 °C 1, 2: M16x1.5 JED-388-3

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4750090000
m 4750090040
m 4750090050
m 4750090070
m 475009 008 0
m 4750090090
m 4750090100
m 4750090120

475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2

Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm

Valve + diaphragm

Valve + diaphragm

m 4750090130
m 4750090140
m 4750090210
m 4750090220
m 475009026 0
m 4750090270
m 4750090310

475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2
475 009 000 2

Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm

Valve + diaphragm




AIR SUPPLY AND PROCESSING

Air dryer cartridge

Essential cartridge

m Recommended service interval Up to one year system protection
m Vehicle air consumption Low
m Accessory 8977887204  O-ring ISO 3601-33x5
Product number Working pressure Port Colour
432 4102227 14 bar M39x1.5 white
432 415 220 7 14 bar Gl1Ya white

Standard cartridge

m Recommended service interval Up to two years system protection
m Vehicle air consumption Low
m Accessory 8977887204  O-ring ISO 3601-33x5
Product number Working pressure Port Colour Comment
432 410 020 2 14 bar M39x1.5 black
432 410 080 2 10 bar M39x1.5 black
432 410 120 2 14 bar M39x1.5 black
432 410 220 2 20 bar M42x1.5 black
432410226 1 14 bar G1¥% black Wrench size: Hexagon SW 30
432 410 229 2 14 bar M39x1.5 black
432410241 2 10 bar M39x1.5 black
432 410 868 2* 13 bar M39x1.5 blue
432 410 927 2 14 bar G1Y black Wrench size: Hexagon SW 30

* Recommended service interval: up to 6 months system protection, vehicle air consumption: extra low




Air System Protector

m Recommended service interval Up to two years system protection
m Vehicle air consumption Medium
m Filter type Coalencence filter
m Accessory 8977887204  O-ring ISO 3601-33x5
Product number Working pressure Port Colour Comments
432 901 223 2 14 bar M39x1.5 silver
432 901 228 2 14 bar G1% silver Wrench size: hexagon SW 30
4329012452 14 bar M39x1.5 LH silver
432 901 246 2 14 bar M41x1.5 silver
432901 247 2 14 bar M39x1.5 silver
432 901 251 2 14 bar M41x2.0 silver
432 901 252 2 14 bar M39x1.5 LH silver
432 901 253 2 14 bar M39x1.5 silver Zﬁféﬁ?ﬁéiﬁngeﬁfgﬁliw 30,
432901 500 2 15 bar - - Air System Protector 'NSERT

Air System Protector Plus

m Recommended service interval Up to three years system protection
m Vehicle air consumption High
m Filter type Coalencence filter
m Accessory 8977887204  O-ring ISO 3601-33x5
Product number Working pressure Port Colour Comments
432 410 244 2 14 bar M39x1.5 gold
432 911 228 2 14 bar G1Y gold Wrench size: hexagon SW 30
432 911 245 2 14 bar M39x1.5 LH gold
432 911 246 2 14 bar M41x1.5 gold




AIR SUPPLY AND PROCESSING

Pressure limiting unit

m Temperature -40 ... +80 °C
m \Voltage 24V
m Nominal flow rate 0.025 (m3/min)
m Electrical connection Bayonet DIN 72585 Al1-2.1-Sn/K2 975 009 001 0
Product Type Pressure Nominal .
number Max. working Delivered diameter
975 009 001 0 Air control unit 13 bar 5.5 bar at pl 18mm |2 M16x1.5JED-388-3;
= 8.5 bar 3: exhaust
975009 003 0 | Pressure limiting unit 13 bar 5'5_3 bar at p1 1.8 mm 1j 2: M16x1.5 JED-388-3;
= 8.5 bar 3: exhaust
N ) 5.5 bar at p1 1.2, 2: M16x1.5
975009 211 0 | Pressure limiting unit 10 bar — 9 bar 1.0 mm JED-388-3: 3: exhaust




Alr storage

Air reservoir

m  Material Steel
*) Aluminum
m Colour Black
Grey: 950 020 011 0, 950 020 013 0

Non-painted: 950 530 903 0, 950 740 904 0,
950 960 002 0

m Temperature =50 ... +100 °C
**) —50 ... +200 °C

Port

Product number | Capacity (/] Length Working pressure
Thread Number

950 001 003 0** 061 102mm | 129.0 mm 15.5 bar 14"-14 NPSI (® -@]:ﬂ) (®

950 020 000 0 10.0 | 206 mm | 371.0 mm 15.5 bar M22x1.5 @ ED- @
950 020 001 0 401 144mm | 321.0 mm 15.5 bar M22x1.5 OLINIIO
950 020 002 0 2501 246 mm | 606.5mm 15.5 bar M22x1.5 Q U @
950 020 004 0 250 276 mm | 494.5 mm 15.5 bar M22x1.5 Q m @
950 020 005 0 3501 276 mm | 662.5mm 15.5 bar M22x1.5 Q U @
950 020 006 0 2001 246 mm | 496.5mm 15.5 bar M22x1.5 Q m @
950 020 007 0 2501 246 mm | 604.5mm 15.5 bar M22x1.5 Q U @
950 020 008 0 4.01 154 mm 273.0 mm 12.5 bar M22x1.5 @ G’:ﬂ) Q
950 020 010 0 4001 310mm | 604.0 mm 12.5 bar M22x1.5 Q U @
950 020 011 0 30.01 276 mm | 568.0 mm 14.5 bar M22x1.5 @ (I:D @
950 020 012 0 3601 300mm | 609.0 mm 12.5 bar M22x1.5 -@ -@Eﬂ) @-
950 020 013 0 3001 250 mm | 705.0 mm 13.0 bar M22x1.5 @ @ @
950 060 003 0 6001 310mm | 893.0 mm 12.5 bar M22x1.5 @ IG]:\D @
950 060 004 0 60.01 396 mm | 580.0 mm 10.0 bar M22x1.5 @ l@]:\[} @
950 080 002 0 8001 396mm | 750.0 mm 10.0 bar M22x1.5 @ IG]:\D @
950 100 002 0 100.0 | 396mm | 915.0 mm 10.0 bar M22x1.5 @ l@]:\[} @
950 105 001 0 501 154 mm | 341.0 mm 20.0 bar M22x1.5 -@ @ @-
950 108 002 0 771 154mm | 486.0 mm 15.5 bar M22x1.5 @ D @
950 110 002 0 10.0 | 154mm | 615.0 mm 20.0 bar M22x1.5 @ l(]]:ﬂ) @
950 310 001 0 1001 206 mm | 386.0 mm 15.5 bar 15"-14 NPS| @ H @
950 405 001 0 45] 206 mm | 185.0 mm 15.5 bar M22x1.5 @ l@]:ﬂ} @

63



AIR STORAGE

Product number | Capacity (/] Length Working pressure Port
Thread Number
950 406 001 0 601 | 206mm | 241.0mm 15.5 bar M22x1.5 ol _PF®
950 410 004 0 1001 | 206mm | 368.0mm 15.5 bar M22x1.5 o _r(®
950 410 902 0 1001 | 206mm | 355.0mm 15.5 bar M22x1.5 ol _ P ®
950 415 005 0 1501 | 206mm | 527.0mm 15.5 bar M22x1.5 o _p(®
950 420 003 0 2001 | 206mm | 691.0mm 15.5 bar M22x1.5 ol _ P ®
950 430 001 0 3001 | 206mm | 992.0mm 15.5 bar M22x1.5 ol _p(®
950 515 003 0 1501 | 246mm | 380.0mm 15.5 bar M22x1.5 ol _ P ®
950 516 004 0 1601 | 246mm | 41.0mm 15.5 bar M22x1.5 o _[r (o
950 520 003 0 2001 | 246mm | 495.0mm 15.5 bar M22x1.5 ol _P®
950 525 001 0 2501 | 246mm | 601.0mm 15.5 bar M22x1.5 o _[r (o
9505270050 2701 246 mm 645.0 mm 15.5 bar M22x1.5 @ H @
950 530 002 0 3001 | 246mm | 709.0mm 15.5 bar M22x1.5 o Iy (o
950 530 903 0* 3001 | 246mm | 729.5mm 12.5 bar M22x1.5 ol _ P
950 540 001 0 4001 | 246mm | 927.0 mm 15.5 bar M22x1.5 o Iy (o
950 560 002 0 6001 | 246mm | 1365.0 mm 15.5 bar M22x1.5 ol _ P ®
950 620 005 0 2001 | 246mm | 503.0mm 15.5 bar M22x1.5 OLEN IO,
950 620 006 0 2001 | 246mm | 487.0 mm 15.5 bar M22x15 O P ©
950 630 002 0 3001 | 246mm | 708.0mm 12.5 bar waanest | (A" o)
950 630 005 0 3001 | 246mm | 718.0mm 15.5 bar M22x1.5 IOX (IO,
950 630 006 0 3001 | 246mm | 718.0 mm 15.5 bar M22x1.5 OLEN IO,
950 720 005 0 2001 | 276mm | 414.0 mm 14.5 bar M22x1.5 ol _P®
950 722 002 0 2201 | 276mm | 452.0mm 14.5 bar M22x1.5 o Iy
950 730 006 0 30,01 276 mm | 590.5mm 14.5 bar M22x1.5 OX(IIXG
950 730 007 0 3001 | 276mm | 583.0mm 14.5 bar M22x1.5 o Iy (o
950 740 002 0 4001 | 276mm | 758.0mm 14.5 bar M22x1.5 ol _ P ®
950 740 904 0* 4001 | 276mm | 766.0mm 15.5 bar M22x1.5 o [y (o
950 740 906 0 40.01 310 mm 618.0 mm 12.5 bar M22x1.5 @ @ @
950 760 002 0 6001 | 276mm | 1108.0mm 14.5 bar M22x1.5 o [(®
950 820 001 0 2001 | 300mm | 381.0mm 12.5 bar M22x1.5 OXENIO;
950 830 004 0 3001 | 300mm | 528.0mm 12.5 bar M22x1.5 OLENXO,
950 836 001 0 36.01 300mm | 603.0 mm 12.5 bar M22x1.5 -@ @ @




Port
Product number | Capacity (/] Length Working pressure
Thread Number
950 845 001 0 45.01 300 mm 743.0 mm 12.5 bar M22x1.5 '@ @ @
950 845 002 0 4501 300 mm 743.0 mm 12.5 bar M22x1.5 @ @ @
950 860 004 0 6001 | 300mm | 942.0mm 12.5 bar M22x1.5 OXENIO;
950 960 002 O* 60.0 | 310 mm 902.0 mm 11.0 bar M22x1.5 @ @ @
951 002 133 0 401 206 mm | 192.0 mm 12.5 bar M22x1.5 @ @D- @
951 002 157 0 4.251 206 mm | 192.0 mm 15.5 bar M22x1.5 OO
951 002 158 0 401 154mm | 278.0 mm 15.5 bar M22x1.5 OC_D®
951 005 010 0** 101 102 mm 170.0 mm 15.5 bar M22x1.5 Q U @
Clamp band
m Colour black
m Wrench size 19 mm
= Mounting 2x @ 11.0 mm Version 1-part Version 2-parts
Product number Version Distance between holes Length Nominal @
451 999 206 2 1-part 124 mm 225 mm 206 mm
451 999 246 2 1-part 164 mm 265 mm 246 mm
451 999 276 2 1-part 194 mm 295 mm 276 mm
451 999 310 2 1-part 229 mm 330 mm 310 mm
451 999 396 2 1-part 309 mm 410 mm 396 mm
950 001 351 2 2-parts 262 mm 410 mm 396 mm
950405 351 2 2-parts 77 mm 225 mm 206 mm
950 515 351 2 2-parts 117 mm 265 mm 246 mm
950 720 351 2 2-parts 147 mm 295 mm 276 mm
950 949 351 2 2-parts 182 mm 330 mm 310 mm
Drain valve
Drain valve - manually operated
m Working pressure 20.0 bar (434 300 009 0: 12.5 bar)
m Temperature —40 ... +80 °C (934 300 041 /042 0: —40 ... +100 °C)
Product number Ring | Port | Sealing Wrench size
4343000090 v Male M22x1.5 v 27 mm
934 300 001 0 - Male M22x1.5 - 27 mm
934 300 002 0 - Male G¥%2" v 28 mm

65




AIR STORAGE

Product number Ring Port Sealing Wrench size

934 300 003 O 4 Male M22x1.5 — 27 mm
934 300 0050 4 Male M22x1.5 - 27 mm
934 300 006 O 4 Male %2"-14 PTF-SAE short — 22 mm
934 300 007 O 4 Male ¥2"-14 PTF-SAE short - 22 mm
934 300 009 O 4 Male M22x1.5 — 27 mm
934 300016 0 - Male M22x1.5 - 27 mm
934 300 023 0 v Male 2x %4"-14 PTF-SAE short - 27 mm
9343000240 v Male %2"-14 PTF-SAE short - 27 mm
934 300 025 0 v Male M22x1.5 - 27 mm
9343000380 4 Male M22x1.5 4 28 mm
934 300 041 0 v Male 2x M22x1.5 - 27 mm
934300042 0 ("4 Male 2x M22x1.5 - 27 mm

Drain valve - automatic with control port

m Working pressure 10.0 bar

m Temperature —-40 ... +80 °C

Product number Port Sealing
434 3000000 Female 2x M12x1.5 -
434 300 003 0 Female 2x M12x1.5 —

Repair solutions

Product number  Repair kit Content

m 4343000000 4343000002 Piston

m 4343000030 4343000002 Piston

Drain valve - automatic

m Temperature -30...+80°C B

m Port Male M22x1.5 |

m Wrench size 27 mm i

Product number Working pressure Drain function
934 301 000 0 20.0 bar Ap < 0.4 bar
934 301 003 0 20.0 bar 0.3 <Ap <0.7 bar
934 3010050 10.0 bar Ap > 0.6 bar
Repair solutions
Product number  Repair kit Content

m 9343010000
m 9343010030

934 301 000 2
934 301 000 2

Diaphragm + filter

Diaphragm + filter




Conventional braking components

Foot brake valve

Foot brake valve (without actuation)

m Accessory 4338010200 Treadle

461 315008 0 461 3150770 461 3151800 461 315 2630 461 315 2640

';Lc::g:: Max. pressure | Predominance | Temperature Port
461 111 002 0 8.5 bar - —40 ... +80 °C |11, 21: M16x%1.5; 3: union
461 307 4390 8.0 bar 0.25 bar —40 ... +80 °C (11, 12, 21, 22: M16x1.5; 3: flap
461 307 458 0 8.0 bar 0.25 bar -40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: flap
461 307 4790 8.0 bar 0.25 bar —40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: flap
461 3150040 10.0 bar 0.3 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 3150080 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M16x1.5; 3: union
461 3150120 10.0 bar 0.3 bar -40 ... +80°C |11, 12, 21, 22: M16x1.5; 3: flap
461 3150190 10.0 bar 0.0 bar —40 ... 480 °C |11, 12, 21, 22: M16x1.5; 3: snap-on contour
461 3150360 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M16x1.5; 3: flap
461 3150380 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M16x1.5; 3: flap
461 3150400 8.5 bar 0.3 bar -40 ... +80°C |11, 12, 21, 22: M16x1.5; 3: flap
461 3150420 10.0 bar 0.0 bar —-40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 3150570 10.0 bar 0.3 bar -35...+80°C |11, 12: M16x1.5 + ¥,"-18 NPT; 21, 22: M16x1.5; 3: union
461 315061 0 8.5 bar 0.3 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 315064 0 8.5 bar 0.3 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 315 0650 8.5 bar 0.3 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 3150690 10.0 bar 0.3 bar —40 ... +80°C |11, 12, 21, 22: M16%1.5; 3: snap-on contour
461 315077 0 10.0 bar 0.3 bar —-40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 3150820 10.0 bar 0.0 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: M22x1.5
461 315086 0 10.0 bar 0.0 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: M22x1.5
461 315100 0 10.0 bar 0.3 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 315 150 0 10.0 bar 0.0 bar —40 ... +80 °C |11, 12, 21, 22: M16x1.5; 3: union
461 315156 0 10.0 bar 0.3 bar -35...+80°C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 315 157 0 10.0 bar 0.3 bar -35... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: union
461 315162 0 10.0 bar 0.3 bar -35...+80°C |11, 12, 21, 22: %"-18 NPTF; 3: union
461 315170 0 10.0 bar 0.3 bar —40 ... +80 °C |11, 12: M22x1.5 + M16x1.5; 21, 22: M22x1.5; 3: union
461 3151800 9.0 bar 0.0 bar —40 ... +80 °C |11, 12, 21, 22: flange 12 mm; 3: silencer
461 315 240 0 10.0 bar 0.0 bar -40 ... +80°C |11, 12, 21, 22, 3: M22x1.5
461 3152450 10.2 bar 0.0 bar -40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: union
461 315246 0 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: union
461 315 2470 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: union
461 315 248 0 10.0 bar 0.3 bar —40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: union

67



CONVENTIONAL BRAKING COMPONENTS

el Max. pressure | Predominance | Temperature Port
number
461 3152500 10.0 bar 0.3 bar —-40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: union
461 315 254 0 9.5 bar 0.5 bar —40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: union
461 3152550 9.5 bar 0.3 bar =35 ... +80°C |11, 12, 21, 22: M22x1.5; 3: union
461 3152580 10.2 bar 0.4 bar —40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: union
461 3152590 10.0 bar 0.2 bar —-40 ... 4+80°C |11, 12, 21, 22, 3: M22x1.5
461 315261 0 10.2 bar 0.4 bar —-40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: union
461 3152630 10.2 bar 0.5 bar —-40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: silencer
461 315 264 0 10.2 bar 0.5 bar —40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: silencer
461 3152650 10.2 bar 0.5 bar -40 ... +80°C |11, 12, 21, 22: M22x1.5; 3: silencer
461 315 267 0 10.2 bar 0.5 bar —-40 ... 480 °C |11, 12, 21, 22: M22x1.5; 3: union
461 3152690 10.2 bar 0.5 bar —-40 ... 480°C |1, 12, 21, 22: M22x1.5/Voss 230 NG 12; 3: silencer
461 315 459 0 10.0 bar 0.0 bar _40 .. +80 °C 11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: snap-on
contour
461 3154790 10.0 bar 0.0 bar —40 ... +80 °C |11, 12, 21, 22: M16x1.5; 3: snap-on contour
461 3154820 8.5 bar 0.0 bar —40 ... +80 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 315 489 0 8.5 bar 0.3 bar _40 . +80 °C 11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: snap-on
contour
461 3154900 8.5 bar 0.3 bar —40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 3154910 9.5 bar 0.5 bar —-40 ... 480 °C |11, 12, 21, 22: M16x%1.5; 3: union
461 315495 0 10.0 bar 0.3 bar —-40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: M22x1.5
461 3154970 10.0 bar 0.3 bar —40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: flap
461 3155000 10.0 bar 0.0 bar —40 ... +80 °C |11, 12, 21, 22: M22x1.5; 3: snap-on contour
461 316 002 0 10.0 bar 0.0 bar —40 ... 480 °C |11, 12: M16x1.5 + M12x1.5; 21, 22: M16x1.5; 3: M22x1.5
461 323014 0 20.0 bar — —40 ... +80 °C |11, 12, 21, 22: 2x M20x1.5; 3: flap
VAR VAL . YA .
8845031240 |  10.0 bar 0.3bar | —40... +80°c |11 2 %18 NPTF +%"18 NPTF; 21, 22: %18 NPTF;
3: union
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4611110020 4611060002 Valve ring m 4613150690 4613150052 Valve
m 4613074390 4613070022 Valve ring 46L3s1s 9152 valve
. m 4613150770 4613150052 Valve
m 4613074790 4613070022 Valve ring 461 315 915 2 valve
= 4613150040 321 gig 8?;’22 xa:"e m 4613150820 4613150052 Valve
aive 4613159152 Valve
= 4613150080 221 gig 8?5522 xa:"e m 4613150860 4613150052 Valve
aive 4613159152 Valve
= 4613150120 4613159162 Valve m 4613151000 4613159342 Valve
m 4613150190 4613159182 Valve a 4613151500 4613150052 Valve
m 4613150360 4613159152 Valve 461 315915 2 Valve
m 4613150380 4613159152 Valve m 4613151560 4613159282 Valve
461 3159302 Valve
m 4613150400 4613159152 Valve
m 4613151570 4613159282 Valve
m 4613150420 4613159172 Valve 4613159302  Valve
= 4613150610 4613159062 valve m 4613151800 4613159072 Valve
461 3159232 Valve 461315924 2  Valve
m 4613150640 4613159062 Valve m 4613152400 4613159022 Valve
461 3159232 Valve 4613159202 Valve
= 4613150650 4613150052 valve m 4613152450 4613159282 Valve
461 315915 2 Valve 461315004 2 Valve




Product number  Repair kit Content Product number  Repair kit Content
m 4613152500 4613159282 Valve m 4613154500 4613150052 Valve
4613150042 Valve 4613159152 Valve
m 4613152540 4613159282 Valve 4613154790 4613159172 Valve
4613150042 Valve 4613154820 4613159162 Valve
461 315 2 4613159282 Val
m 4613152550 421 212 goi 5 VZ|§§ 4613154890 4613150052 Valve
4613159152  Valve
461 315 2 4613159022 Val
m 4613152580 421 212 ggo 5 VZ|§§ 4613154900 4613150052 Valve
4613159152 Valve
461 315 2 4613159022 Val
m 4613152590 421 212 ggo 5 Vzlz: 4613154910 4613150052 Valve
4613159152 Valve
4613152610 46131 2 val
m 4613152610 421 212 ggg 5 VZIX: 4613154950 4613150052 Valve
4613159152  Valve
461 315 2 461 31 2 val
m 4613152630 421 212 ggg 5 VZIX: 4613154970 4613150052 Valve
4613159152  Valve
m 4613152640 4613159272 Valve
e 31m o1h 5 Vel 4613155000 4613159042 Valve
4613160020 4613150052 Valve
m 4613152670 4613159272 Valve oo
m 4613152690 4613159272 Valve

Foot brake valve (with actuation)

m Temperature -40 ... +80 °C

m Accessories 461 314 790 2  Actuation
461 314791 2  Actuation
461 314 793 2  Actuation
461 317 784 2  Actuation
461 317 790 2  Actuation
4338010200 Treadle

461 113 001 0

461 3170000 461 3170210 4614820950 461 4911020 461 499 0050

Product Basic valve Actuator Pedal angle Max. Predomi- Port
number pressure nance
461 106 1000 | 4611064780 | 461 314 7902 35° 8.0 bar - 11, 21: M22x1.5; 3: flap
461 106 102 0 | 461 106 4780 | 461 314 790 2 35° 8.0 bar - 11, 21: M22x1.5; 3: flap
461 106 106 0 | 4611064780 | 461 314791 2 20° 8.0 bar - 11, 21: M22x1.5; 3: flap
461 113001 0 461 111 002 0 v 45° 8.5 bar — 11, 21: M16x1.5; 3: union
461 307 2020 | 461 3074790 | 461 314 790 2 35° 8.0 bar 0.25 bar 11, 12, 21, 22: M22x1.5; 3: flap
461 307 3990 (4 v - 8.0 bar 0.25 bar 11, 12, 21, 22: M22x1.5; 3: flap
461 3075210 | 4613074790 | 4613147932 30° 8.0 bar 0.25 bar 1,12, 21, 22: M22x1.5/Voss 230
NG 12; 3: flap
5 11, 12: M16x1.5 + M12x1.5;
461 3170000 | 4613150040 | 461 317 790 2 35 10.0 bar 0.30 bar 21, 22: M16xL.5; 3: union
461 317 001 0 v 461 317 790 2 35° 8.5 bar 0.00 bar | 1% 12,21, 22 M16x15;
3: silencer

69



CONVENTIONAL BRAKING COMPONENTS

Rlices Basic valve Actuator Pedal angle M e EIIE Port
number pressure nance
461 317 002 0 v v 30° 8.5 bar 0.30 bar |1 12 21, 22: M16x1.5; 3: snap-
on contour
461317 006 0 | 4613150430 | 461 317 784 2 30° 100bar | 0.00bar |b12 21,22 M16x1.5;3: snap-
on contour
. 11, 12: M16x1.5 + M12x1.5;
461 317 0080 | 461 3150040 v 30 10.0 bar 0.30 bar 21 22 M16xL5: 3: union
461 3170190 v v 45° 8.5 bar 0.30 bar 11, 12, 21, 22: M16x1.5; 3: flap
461 3170210 | 4613150120 v 45° 10.0 bar 0.30 bar 11, 12, 21, 22: M16x1.5; 3: flap
461317 029 0 v v 30° 100bar | 0.00bar | b 12 21,22 M16x15; 3: snap-
on contour
11, 12: M16x1.5 + M12x1.5;
461 317 050 0 v v 25° 10.0 bar 0.30 bar |21, 22: M16x%1.5; 3: with fording
ability
. 11, 12: M16x1.5 + M12x1.5;
461 317 0530 (74 (4 25 10.0 bar 0.00 bar 21, 22: M16xL5; 3: silencer
. 11, 12: M16x1.5 + M12x1.5;
461 317 054 0 (4 v 25 10.0 bar 0.30 bar 21 22: M16%15: 3: silencer
461 482 011 0 v v - 10.0 bar 0.20bar | 1% 12 21, 22 M16x1.5; 3: snap-
on contour
461 482 095 0 v v — 10.0 bar 0.30 bar |11, 12, 21, 22: M16x1.5; 3: flap
4614911020 | 4613074790 v - 8.0 bar 0.25 bar 11, 12, 21, 22: M22x1.5; 3: flap
461 499 005 0 v v — 7.5 bar 0.25 bar |11, 12, 21, 22: M22x1.5; 3: flap
961 317 0000 v v 40° 9.5 bar 0.20 bar |11, 12, 21, 22: %" NPTF; 3: union
Repair solutions
Product number Repair kit Content Product number Repair kit Content
m 4611061000 4611060002 Valve ring m 4613170080 4613189202 Pedal cover
461 318 9242  Pedal mounting piece 461 318 9242  Pedal mounting piece
m 4611061020 4611060002 Valve ring m 4613170210 4613189242 Pedal mounting piece
m 4611061060 4611060002 Valve ring m 4613170500 4613189202 Pedal cover
m 4611130010 4613189202 Pedal cover 4613189242 Pedal mounting piece

461 307 202 0
461 307 399 0
461 317 000 O

461 3170010
461 317 002 0

461 317 006 0

461 318 924 2
461 111 000 2

461 307 002 2
461 307 002 2

461 315005 2
461 315915 2

461 318 920 2

461 315005 2
461 315915 2

461 318 920 2
461 318 924 2
461 315917 2

Pedal mounting piece
Valve

Valve ring
Valve ring

Valve
Valve

Pedal cover

Valve
Valve

Pedal cover
Pedal mounting piece
Valve

461 317 053 0

461 317 054 0

4614820110
461 482 0950

461 491 102 0
461 499 005 0

461 315005 2
461 315915 2

461 318 920 2
461 318 924 2
461 315915 2

461 318 920 2
461 318 924 2
461 315005 2
461 315915 2

461 315917 2

461 315005 2
461 315915 2

461 307 002 2
461 499 000 2

Valve
Valve

Pedal cover
Pedal mounting piece
Valve

Pedal cover

Pedal mounting piece
Valve

Valve

Valve

Valve
Valve

Valve ring

Actuation boot




m Temperature

4613192500

—40 ... +80°C

461 319 264 0

Foot brake valve with empty load function (461 319 ..

. 0)

4613192730

461 319 2740

Product number Max. pressure Predominance Port
461 319 008 0 8.5 bar 0.3 bar 1, 12, 21, 22: M16x1.5; 3: union
461 319011 0 10.0 bar 0.3 bar 1, 12, 21, 22: M16x1.5; 3: silencer
461 319 018 0 10.0 bar 0.3 bar 1,12, 21, 22: M16x1.5; 3: union
461 319 082 0 8.5 bar 0.0 bar 1, 12, 21, 22: M16x1.5; 3: M22x1.5 JED-463
4613190880 8.5 bar 0.3 bar 1, 12, 21, 22: M16x1.5; 3: M22x1.5 JED-463
461 319 0900 8.5 bar 0.0 bar 1, 12, 21, 22: M16x1.5; 3: union
461 319 2500 10.0 bar 0.4 bar 1, 12, 21, 22: M22x1.5; 3: union
461 319 260 0 10.0 bar 0.4 bar 1, 12, 21, 22: M22x1.5; 3: union
461 319 2620 10.2 bar 0.3 bar 1, 12, 21, 22: M22x1.5; 3: union
461 319 263 0 10.2 bar 0.3 bar 1,12, 21, 22: M22x1.5; 3: silencer
461 319264 0 10.2 bar 0.3 bar 1, 12, 21, 22: M22x1.5; 3: silencer
461 3192700 10.0 bar 0.3 bar 1, 12, 21, 22: M22x1.5; 3: union
461 3192710 10.0 bar 0.4 bar 1, 12, 21, 22: M22x1.5; 3: union
461 319 2720 10.2 bar 0.5 bar 1, 12, 21, 22: M22x1.5; 3: union
461 319 2730 10.2 bar 0.5 bar 1,12, 21, 22: M22x1.5; 3: silencer
461 319 274 0 10.2 bar 0.5 bar 1,12, 21, 22: M22x1.5; 3: silencer
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4613190080 4613190072 Valve m 4613192640 4613199002 Valve
4613199082 Valve 4613199112 Valve
m 4613190180 4613190072 Valve m 4613192700 4613190022 Valve
461 3199082 Valve 461 3199032 Valve
m 4613190820 4613190052 Valve m 4613192710 4613190062 Valve
m 4613190880 4613190052 Valve 4613199072 valve
m 4613190900 4613190052 Valve m 4013192720 321 gig 8(1)3 5 xz:x:
m 4613192500 jgi gig 88‘5‘ g xz::: m 4613192730 4613159302 Valve
4613199012 Valve
m 4613192600 4613190022 Valve 4613199122  Valve
4613199032 Valve m 4613192740 4613159302 Valve
m 4613192620 4613190082 Valve 4613199012 \Valve
4613199122 Valve
m 4613192630 4613199002 Valve
4613199112 Valve




CONVENTIONAL BRAKING COMPONENTS

Foot brake valve with retarder control

m Temperature

"\ .
461318026 0

—40 ... +80°C

4613180590

461 318 604 0

461 318 609 0

461 3245200 461 478 000 0

Product . Pedal Max. Predomi-

number Basic valve Actuator angle pressure nance Port
461 310 550 0 v v 20° 80bar | 0.25bar |11,12, 21,22, 3: M22x1.5
461 318 000 0 v v 20° | 100bar | 03bar |75 mgillss"?s'\";f;;gn I
wamino| v | v | | es | omw [BEMEIEs
461 318 002 0 v v 20° 100bar | 0.3bar i o ',\\"Aigill'_g;+3':\/'f}§;1'5;
4613180030 | 4613150860 | 4619047982 | 25° 10.0 bar 0.0 bar i 222:: mllgzllzg'\",\lﬂzzlexfs
4613180050 | 4613154790 | 4613187982 | 30° 10.0 bar 0.0 bar (l:in tlozl'”m’ 22: M16x1.5; 3: snap-on
461 318 006 0 v v 35° 100bar | 0.3bar i b '?\AA112§112+3M,\1A2;21X§5
4613180090 | 461 315 482 0 v 250 85bar | 00bar ;15 ',\\"Aig’ill?g'\"slfax;in I
461318 014 0 v v 25° 8.5bar | 0.3bar i b mllg’;1155’+3'\"51§;;gn Contour
461 318 019 0 % v 25° 10.0 bar 0.3 bar i g: 'l\\/l/ligilll.if?,':\ﬂf}az;lls;
461318 0220 v 4613187982 | 30° 85bar | 0.3bar i o ',\\"Allgxxll'.g;+3':\"slr?;;;g;n Contour
4613180250 | 461315 459 0 v 200 | 100bar | 0Obar |57 55 m%xxllffaMif;Sin I
461 318 026 0 v v 25° 100bar | 0.0 bar i b '?\"Allgxxll'.g;+3':v'51”2exnlc'gr
461 318 028 0 v 4619047982 | 25° 10.0 bar 0.3 bar i 222:: '\,\"ﬁg’;ll';)r?)':\"sl”zexnléz
4613180350 | 4613150860 | 4619047982 | 25° 10.0 bar 0.0 bar i ;22:: I\|\/|/|112>:<112+3M|\1/|22x21xi)5
461 318 036 0 v v 45° 8.5 bar 0.3bar |11, 12, 21, 22: M16xL5; 3: flap
461 318 040 0 v % 35° 10.0 bar 0.3 bar i 51 ',\\"Allgill';fg':\";lze"nlégr
461 318 047 0 v v 35° 8.5 bar 0.3 bar i %: ':\AA112§112+3M§§;;§)“ ontour
461 318 049 0 v v 45° 8 0.3 bar i b '\lclllgillf_);"s':\"jﬁ;f;
461 318 050 0 v v 20° 85bar | 0.3bar 5 o “&ﬁﬁ'@fg?ﬂl}fﬁ%oo
461 318 051 0 v v 45° 8.5 bar 0.3 bar i ;22:: '\,\2112111?3'\/';5;;?,” contour
461 318 053 0 v v 45° 8.5 bar 0.3bar |11 120 MI6XL5 + MI2x1.5;

21, 22: M16x1.5; 3: snap-on contour




Product . Pedal Max. Predomi-
Basic valve Actuator Port
number angle pressure nance
. 11, 12: M16x1.5 + M12x1.5;
461 318 056 0 v v 35 8.5 bar 0.3 bar 21, 22 M16x15: 3: snap-on contour
. 11, 12: M16x1.5 + M12x1.5;
461 318 057 0 v v 35 10.0 bar 0.3 bar 21 22: M16%15: 3: silencer
. 11, 12: M16x1.5 + M12x1.5;
461 318 059 0 4 4 20 10.0 bar 0.0 bar 21, 22: M16xL.5: 3: union
461 3180700 | 461 3152400 v 43° 10.0 bar 0.0 bar 11, 12, 21, 22, 3: M22x1.5
. 11, 12: M16x1.5 + M12x1.5;
4613180710 | 461 3150860 v 43 10.0 bar 0.0 bar 21, 22: M16xL5: 3: M22x1.5
. 11, 12: M16x1.5 + M12x1.5;
461 318 495 0 v (4 25 10.0 bar 0.0 bar 21, 22: M16xL5; 3: M22x1.5
461 318551 0 (4 (4 43° 8.5 bar 0.3 bar 11, 12, 21, 22: M22x1.5; 3: union 90°
. 11, 12: M16x1.5 + M12x1.5;
461 318 6010 | 4613154590 v 25 10.0 bar 0.0 bar 21, 22: M16x1.5: 3: snap-on contour
461 318 603 0 v v 43° 100bar | 00bar |t 12 21,220 MI6XLS; 3: shap-on
contour
461 318 604 0 v v 43° 10.0 bar 0.0bar |1% 12 21,22 M16x15; 3: snap-on
contour
. 11, 12: M16x1.5 + M12x1.5;
461 318 6050 | 4613154590 v 25 10.0 bar 0.0 bar 21, 22: M16x1.5; 3: snap-on contour
. 11, 12: M16x1.5 + M12x1.5;
461 318 606 0 v v 25 10.0 bar 0.3 bar 21, 22: M16x1.5; 3: snap-on contour
461 318 609 0 v v 45° 10.0 bar 0.0bar | 1L 12,21, 22 M16x15; 3: snap-on
contour
. 11, 12: M16x1.5 + M12x1.5;
461 318 611 0 v v 30 10.0 bar 0.0 bar 21, 22: M16x15; 3: snap-on contour
. 11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 001 0 v 461 324 790 2 20 8.5 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: flap
. 11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 006 0 (4 461 324 791 2 25 10.0 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: flap
11, 12: M16x1.5 + M12x1.5; 13,
461 324 008 0 4 461 324 790 2 20° 10.0 bar 0.3 bar 23: M12x1.5; 21, 22: M16x1.5;
3: M22x1.5
11, 12: M16x1.5 + M12x1.5; 13,
461 324 009 0 (4 461 324 791 2 25 10.0 bar 0.0 bar 23: M12x1.5; 21, 22: M16x%1.5;
3: M22x1.5
11, 12: M16x1.5 + M12x1.5; 13, 23:
461 3240120 | 4613154890 4 35° 8.5 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: snap-
on contour
. 11, 12, 21, 22: M16x%1.5; 13, 23:
461 3240180 | 461 3154790 4 30 10.0 bar 0.0 bar M12x1.5; 3: snap-on contour
. 11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 022 0 (4 v 20 8.5 bar 0.3 bar M12x1.5: 21, 22: M16x1.5: 3: union
11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 027 0 (4 461 324 797 2 25° 8.5 bar 0.0 bar M12x1.5; 21, 22: M16x1.5; 3: snap-
on contour
o 11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 034 0 v 461 324 791 2 25 10.0 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: flap
11, 12: M16x1.5 + M12x1.5; 13,
461 324 039 0 v 461 324 791 2 25° 8.0 bar 0.0 bar 23: M12x1.5; 21, 22: M16x%1.5;
3: M22x1.5
11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324 0400 4 461 324 792 2 30° 8.5 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: snap-
on contour
11, 12: M16x1.5 + M12x1.5; 13, 23:
461 324041 0 v 461 324 797 2 25° 8.5 bar 0.3 bar M12x1.5; 21, 22: M16x1.5; 3: snap-

on contour




CONVENTIONAL BRAKING COMPONENTS

Product . Pedal Max. Predomi-
Basic valve Actuator Port
number angle pressure nance
11, 12, 21, 22: M16x1.5:
4613240420 | 4613154790 v 30° 8.5 bar 0.0bar |13: 2x M12x1.5; 23: M12x1.5:
3: shap-on contour
11, 12: M16%1.5 + M12x1.5: 13, 23
461 324 043 0 v 4613247922 | 30° 8.5 bar 0.3bar |M12x1.5; 21, 22: M16x1.5; 3: snap-
on contour
11, 12: M16x1.5 + M12x1.5; 13, 23:
4613240460 | 4613154590 | 4613247902 | 20° 10.0 bar 0.0bar |M12x1.5; 21, 22: M16x1.5; 3: snap-
on contour
461 324 520 0 . - . 10.0 bar . 13, 23: M12x1.5
461 324 522 0 - . - 8.5 bar . 13, 23: M12x1.5
11, 12: M16x1.5 + M12x1.5; 13, 23:
461 478 000 0 v v - 10.0 bar 0.3bar |\t 6 21, 32: M16XLE: 3: flap
11, 12: M16%1.5 + M12x1.5: 13, 23
461 478 007 0 v v - 8.5 bar 0.3 bar M12x1.5: 21, 22: M16x1.5; 3: flap
461494 707 0 v v 25° 12.5 bar 0.45bar |11, 12, 21, 22: M16x1.5; 3: silencer
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4613105500 4613100002 Pedal cover m 4613180500 4613150052 Valve
4613189202 Pedal cover 4613159152 Valve
4613070022 Valvering m 4613180510 4613150052 Valve
m 4613180000 4613150052 Valve 4613159152 Valve
4613159152 Valve m 4613180530 4613150052 Valve
m 4613180010 4613150052 Valve 4613159152 Valve
4613159152 Valve m 4613180560 4613150052 Valve
m 4613180020 4613150052 Valve 4613159152 Valve
4613159152 Valve m 4613180570 4613189242 Pedal cover
m 4613180030 4613150052 Valve 4613159152 Valve
4613159152 Valve m 4613180700 4613159022 Valve
m 4613180050 4613159172 Valve 4613159202 Valve
m 4613180060 4613150052 Valve m 4613184950 4613189202 Pedal cover
4613159152 Valve 4613150052 Valve
4613159152 Valve
m 4613180090 4613159162 Valve 461 318924 2 Pedal mounting piece
m 4613180140 4613159162 Valve m 4613185510 4613159042 Valve
= 4613180190 jgi gig 82555 xa:"e m 4613186010 4613189242 Pedal mounting piece
aive 4613189252  Electrical cover
= 4613180220 jgi gig 82555 xa:"e m 4613186030 4613150052 Valve
aive 4613159152 Valve
m 4613150250 jgi gig 82555 xa:"e m 4613186040 4613150052 Valve
aive 4613159152 Valve
m 4613180260 4613150052 Valve 461318924 2  Pedal mounting piece
461 315915 2 Valve 461 318 9252  Electrical cover
461 318 926 2  Electrical switch
m 4613180280 4613150052 Valve
461 3159152  Valve m 4613186050 4613189242 Pedal mounting piece
461 318 9252  Electrical cover
m 4613180470 4613150052 Valve 461318 926 2 Electrical switch
4613159152 Valve

74

461 318 049 0

461 318 924 2

461 315005 2
461 315915 2
461 318 924 2

Pedal mounting piece

Valve
Valve
Pedal mounting piece

461 318 606 0

461 318 609 0

461 318 920 2
461 318 924 2
461 318 925 2

461 318 924 2
461 318 926 2

Pedal cover
Pedal mounting piece
Electrical cover

Pedal mounting piece
Electrical switch



Product number

Repair kit

Content

Product number

Repair kit

4613186110
4613240010

461 324 006 0

461 324 008 0

461 324 0090

461 3240120

461 3240180

461 324 0220

461 324 0270

461 318 925 2

461 318 920 2
461 315005 2
461 3159152
461 318 924 2
461 324 000 2

461 318 920 2
461 315005 2
461 3159152
461 318 924 2
461 324 000 2

461 318 920 2
461 318 924 2
461 324 000 2

461 318 920 2
461 315005 2
461 315915 2
461 318 924 2
461 324 000 2

461 318 920 2
461 315005 2
461 315915 2
461 324 000 2

461 318 920 2
461 315917 2
461 318 924 2
461 324 000 2

461 315005 2
461 315915 2
461 324 000 2

461 318 920 2
461 315916 2
461 318 924 2
461 324 000 2

Electrical cover

Pedal cover

Valve

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover

Valve

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover

Valve

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover
Valve

Valve

Pressure control
relay valve spring

Pedal cover

Valve

Pedal mounting piece
Pressure control
relay valve spring

Valve

Valve

Pressure control
relay valve spring

Pedal cover

Valve

Pedal mounting piece
Pressure control
relay valve spring

m 4613240340

4613240390

461 3240400

461 3240410

461 324 0420

461 324 0430

461 324 0460

461 3245200

461 3245220

461 478 000 0

461 478 007 0

461 494707 0

461 318 920 2
461 315005 2
461 315915 2
461 318 924 2
461 324 000 2

461 318 920 2
461 315916 2
461 318 924 2
461 324 000 2

461 318 920 2
461 315005 2
461 3159152
461 318 924 2
461 324 000 2

461 318 920 2
461 318 924 2

461 318 920 2
461 318 924 2

461 318 920 2
461 318 924 2

461 318 920 2
461 315005 2
461 3159152
461 318 924 2
461 324 000 2

461 324 000 2

461 324 000 2

461 315005 2
461 315915 2
461 324 000 2

461 315005 2
461 315915 2
461 324 000 2

461 318 925 2

—
Content
Pedal cover
Valve
Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover

Valve

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pedal cover
Pedal mounting piece

Pedal cover
Pedal mounting piece

Pedal cover
Pedal mounting piece

Pedal cover

Valve

Valve

Pedal mounting piece
Pressure control
relay valve spring

Pressure control
relay valve spring

Pressure control
relay valve spring

Valve

Valve

Pressure control
relay valve spring

Valve

Valve

Pressure control
relay valve spring

Electrical cover




CONVENTIONAL BRAKING COMPONENTS

Foot brake valve (461 494 ... 0)

m Temperature

—40 ... +80 °C

—30 ... +80 °C: 461 494 100 0O,

4614941110

461 494 5020 461 494 704 0 461 494 706 0
FIEELE] FELE Emele Max. pressure | Predominance Port
number actuator
461 494 1000 - 15.0 bar - 1, 2: 2x M16x1.5; 11, 12, 21, 22: M16x1.5; 3: flap
461 494 110 0V — 8.0 bar 0.00 bar 11, 12, 21, 22: M16x1.5; 3: union
4614941110 - 15.0 bar 0.00 bar 1, 2: 2x M16x1.5; 11, 12, 21, 22: M16x1.5; 3: flap
461 494 113 02 - 8.0 bar 0.00 bar 11, 12, 21, 22: M16x1.5; 3: snap-on contour
461 494 500 0 — 12.5 bar 0.00 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 502 0 — 12.5 bar 0.30 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 509 0 — 12.5 bar 0.45 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 510 0 — 10.0 bar 0.30 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 511 0 — 10.0 bar 0.15 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 512 0 — 12.5 bar 0.15 bar 11, 12, 21, 22: @ 16 mm, 3: silencer
461 494 7000 25° 12.5 bar 0.30 bar 11, 12, 21, 22: M16x1.5; 3: silencer
461 494 701 0 25° 12.5 bar 0.30 bar 11, 12, 21, 22: M16x1.5; 13, 23: M12x1.5; 3: silencer
461 494 7020 25° 12.5 bar 0.45 bar 11, 12, 21, 22: M16x1.5; 13, 23: M12x1.5; 3: silencer
461 494 703 0 25° 12.5 bar 0.45 bar 11, 12, 21, 22: M16x1.5; 3: silencer
461 494 704 0 25° 12.5 bar 0.45 bar 11, 12, 21, 22: M16x1.5; 3: silencer
461 494 7050 25° 12.5 bar 0.15 bar 11, 12, 21, 22: M16x1.5; 3: silencer
461 494 706 0 35° 12.5 bar 0.30 bar 11, 12, 21, 22: M16x1.5; 3: silencer
) basic valve 461 315 150 0
2 basic valve 461 315 154 0
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4614945000 4614949232 Silencer m 4614947000 4614949232 Silencer
461 494 926 2  Piston 461 3189202  Pedal cover
m 4614945020 4614949232 Silencer 4614949252 Electrical switch
461 494 926 2  Piston m 4614947010 4614949232 Silencer
m 4614945090 4614949232 Silencer 4613189202 Pedal cover
461 494 926 2  Piston m 4614947020 4613189202 Pedal cover
m 4614945100 4614949232 Silencer m 4614947030 4614949232 Silencer
461 494 926 2  Piston 461 494 925 2  Electrical switch
m 4614945110 4614949232 Silencer m 4614947040 4614949232 Silencer
4614949262 Piston m 4614947050 4614949232 Silencer
m 4614945120 4614949232 Silencer 461 494 925 2  Electrical switch
461 494 926 2  Piston

m 4614947060

461 494 925 2

Electrical switch




Foot brake valve digital (461 333 ... 0)

m Temperature —40 ... +80 °C

461 3330000 461 3330030
Product number Max. pressure Predominance Port
461 3330000 12.5 bar 0.3 bar 11, 12, 21, 22: M16x1.5; 3: silencer
461 333 003 0% 12.5 bar 0.3 bar 11, 12, 21, 22: M16x1.5; 3: silencer

* different Electronic Control Unit (ECU) compared to 461 333 000 0

Relay valve

Relay valve - simple (973 00. ... 0)

m Temperature -40 ... +80 °C

m Accessories 432 407 070 0  Silencer (port JED-463)
432 407 060 0  Silencer (port M22x1.5)

973 001 0200 973 006 001 0 973 006 003 O
Max. pressure
Product number Port
Control Supply Response
9730010100 10.0 bar 22.0 bar 0.3 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: exhaust
973 001 013 0 8.0 bar 22.0 bar 0.3 bar 1, 3, 4: M22x1.5; 2: 2x M22x1.5
9730010180 10.0 bar 22.0 bar 0.3 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: JED-463
973 001 020 0 8.0 bar 22.0 bar 0.3 bar 1: M22x1.5; 2: 2x M16x1.5; 3: exhaust; 4: M16x1.5
9730010300 8.0 bar 22.0 bar 0.3 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: exhaust
9730010310 8.0 bar 22.0 bar 0.3 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: exhaust
9730012100 10.0 bar 22.0 bar 0.2 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: exhaust
973001 2210 10.0 bar 22.0 bar 0.3 bar 1, 3: M22x1.5; 2: 2x M16x1.5; 4: M16x1.5
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973 006 001 0 10.0 bar 10.0 bar 0.2 bar 3: JED-463: 4: M16x1.5 JED-388
rso0s0030 | mshw | sstw | oobw |EVEISIDSNZZZnisib 2

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content
m 9730010100 9730010002 Valvering m 9730012100 9730010022 Valvering
m 9730010200 9730010002 Valvering m 9730012210 9730010062 Valvering

1



CONVENTIONAL BRAKING COMPONENTS

Relay valve - simple (973 011 ... 0)

—40 ... +80°C

432 407 0700
432 407 0600

m Temperature
m Accessories

Silencer (port JED-463)
Silencer (port M22x1.5)

9730110000 973 011 004 0 973 011 0500
Max. pressure
Product number Port
Control Supply Response
9730110000 10.0 bar 13.0 bar 0.20 bar 1. M22x1.5; 2: 2x M22x1.5; 3: JED-463; 4. M16x1.5
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973011001 0 10.0 bar 13.0 bar 0.20 bar 3: JED-463: 4: M16x1.5 JED-388
9730110020 10.0 bar 13.0 bar 0.20 bar 1, 3: M22x1.5; 2: 2x M22x1.5; 4: M16x1.5
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
SIS ET0 QO 3T LD T 0.20bar 15 Giiencer 432 407 050 0: 4: M16x1.5 JED-388
1: 34"-14 NPTF; 2: 4% %"-18 NPTF; 3: exhaust;
973 011 006 0 10.0 bar 13.0 bar 0.28 bar 4: 1,18 NPTE
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973 011 007 0 10.2 bar 13.0 bar 0.20 bar 3: exhaust: 4: M16x1.5 JED-388
1. M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
9730110080 10.0 bar 13.0 bar 0:20bar 15 Gilencer 432 407 050 0: 4: M16x1.5 JED-388
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
e L0 B 1D 0.50bar |5 Giencer 432 407 050 0: 4: M16x1.5 JED-388
9730110100 10.0 bar 13.0 bar 0.38 bar 1, 3: M22x1.5; 2: 2x M22x1.5; 4: M16x1.5
973011 011 0 10.0 bar 13.0 bar 0.20 bar 1: M22x1.5; 2: 2x M22x1.5; 3: JED-463; 4. M16x1.5
9730110180 10.0 bar 13.0 bar 0.20 bar 1, 4: M22x1.5; 2: 2x M22x1.5; 3: exhaust
1: %4"-14 NPTF; 2: 3%"-18 NPTF; 3: exhaust;
9730110210 10.0 bar 13.0 bar 0.28 bar 4: 1,18 NPTE
1: %2"-14 NPTF; 2: 2x 3%"-18 NPTF; 3: exhaust;
973011024 0 10.0 bar 13.0 bar 0.38 bar 4 1,"18 NPTE
973011 0250 10.0 bar 13.0 bar 0.28 bar 1: @ 24 mm; 2: 3%"-18 NPTF; 3: exhaust; 4: @ 14.5 mm
973011 026 0 10.0 bar 13.0 bar 0.38 bar 1. @ 24 mm; 2: 3%"-18 NPTF; 3: exhaust; 4: @ 14.5 mm
1: M22x1.5 JED-152; 21: 2x M16x1.5 JED-152;
973 011 050 0 10.0 bar 13.0 bar 0.20 bar 22, 4: M16%1.5 JED-152: 3: M22x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 9730110000 9730110002 Valve m 9730110110 973011 0002 Valve
9730110032  Valve m 9730110210 9730110002 Valve
m 9730110010 9730110002 Valve m 9730110240 9730110002 Valve
m 9730110020 9730110002 Valve s 9730110250 9730110002 Valve
9730110032 Valve
m 9730110260 9730110002 Valve
m 9730110040 9730110002 Valve
s 9730110080 9730110002 Valve m 9730110500 9730110022 Valve
m 9730110090 9730110002 Valve
m 9730110100 4721959262 Valve + filter

78



Relay valve - simple (with predominance)

m Temperature -40 ... +80 °C
m Predominance adjustable
m Accessories 432 407 070 0  Silencer (port JED-463)

432 407 060 0  Silencer (port M22x1.5)

973 003 007 0

Product Predomi- Max. pressure -

number nance Control Supply Response
973 003 0000 1.0 bar 12.0 bar 12.0 bar 0.3 bar 1, 41: M22x1.5; 2: 2x M22x1.5; 3: exhaust
973 003 002 0 0.0 bar 10.0 bar 10.0 bar 0.3 bar 1, 3, 41: M22x1.5; 2: 2x M22x1.5
9730030060 | 0.5 bar 10.0bar | 10.0 bar 03bar |1 M22xL5JED-464; 2: 2x M22x1.5 JED-464;

3: silencer 432 407 050 0; 41: M22x1.5 JED-464
973 003 007 0 0.5 bar 10.0 bar 10.0 bar 0.3 bar 1, 2, 3, 41: M22x1.5
1: M22x1.5 JED-464; 2: 2x M22x1.5 JED-464;

9730030080 | 0.0 bar 10.0bar | 10.0 bar 0-3bar 3 gilencer 432 407 050 0; 41: M22x1.5 JED-464
1: M22x1.5 JED-388-3; 2: 2x M22x1.5 JED-388-3;

973 003 010 0 0.4 bar 11.0 bar 13.0 bar 0.3 bar 3: silencer 432 407 560 2: 41: M22x1.5

9730030120 | 0.0 bar 11.0 bar 13.0 bar 10bar |1 M22x1.5JED-388-3; 2: 2x M22x1.5 JED-388-3;

3: silencer 432 407 560 2; 41: M22x1.5

Overload protection relay valve

m Temperature —-40 ... +80 °C

m Accessories 432 407 070 0  Silencer (port JED-463)
432 407 060 0  Silencer (port M22x1.5)

4730170010 973011 2000 9730112010 9730112050 973011 206 0

Max. pressure

Product number Port
Supply Control Response
4730170000 10.0 bar 10.0 bar 0.4 bar 1, 41, 42: M22x1.5; 2: 2x M22x1.5; 3: exhaust
473 017 001 0 10.0 bar 10.0 bar 0.4 bar 1,3, 41, 42: M22x1.5; 2: 2x M22x1.5
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973 011 2000 13.0 bar 10.0 bar 0.2 ... 0.3 bar 3: JED-463: 41, 42: M16x1.5 JED-388
973 011 201 0 12.0 bar 10.0 bar 0.2..03bar |1 M22xL52L: 2x M16x1.5; 22, 41, 42: M16x1.5;
3: JED-463
1: M22x1.5 JED-152; 2: 2x M22x1.5 JED-152;
973 011 203 0 10.0 bar 10.0 bar 02..0.3bar |3 3 o Mi6xL5 JED-162
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
18012050 150 bar 10.0 bar 0.2...03bar |5 silencer 432 407 050 0; 41, 42: M16x1.5 JED-388
1: M22x1.5 JED-388; 21: 2x M22x1.5 JED-388; 22,
9130112060 130 bar 10:0 bar 0-2...0.3bar | 47 "42: M16x1.5 JED-388; 3: silencer 432 407 050 0

79



CONVENTIONAL BRAKING COMPONENTS

Max. pressure
Product number Port
Supply Control Response
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;

973011 2500 13.0 bar 10.0 bar 0.2 ... 0.6 bar 3: JED-463: 41, 42: M16x1.5 JED-388
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4730170000 4730170002 Valvering m 9730112030 9730110002 Valve
m 4730170010 4730170002 Valvering m 9730112050 9730110002 Valve
m 9730112000 9730110002 Valve m 9730112060 9730110062 Valve
m 9730112010 9730110002 Valve m 9730112500 9730110072 Valve
Empty-load relay valve
m Temperature —-40 ... +80 °C
m Accessory 432 407 0500  Silencer

9730111090

Product Max. regu- Max. pressure S
number lating ratio | supply Control | Response
, 1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
9730111060 | 113 13.0bar | 10.0bar | 0.25bar |5 giencer 432 407 050 0; 41, 42: M16x1.5 JED-388
_ 1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
918 011070 Led 13.0bar | 10.0bar | 0.25bar |5 giencer 432 407 050 0; 41, 42: M16x1.5 JED-388
, 1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973 011090 bhs 13.0bar | 10.0bar | 0.50bar . Giencer 432 407 050 0; 41, 42: M16x1.5 JED-388
_ 1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
973 OO0 Led 13.0bar | 10.0bar | 0.50bar 3. Giencer 432 407 050 0; 41, 42: M16x1.5 JED-388
Repair solutions
Product number  Repair kit Content
m 9730111060 9730110012 Valve
m 9730111070 9730110012 Valve
m 9730111090 9730110012 Valve

m 9730111100

973 011 001 2

Valve




Relay valve - special

m Temperature —-40 ... +80 °C

9730113000

Max. pressure
Product number Port
Supply Control Response

1, 12: M22x1.5 JED-388-0, 2: 2x M22x1.5 JED-388-0;

973 011 3000 13.0 bar 11.0 bar 0.0 ... 2.3 bar 3- exhaust: 4: M16x1.5 JED-388-0

Repair solutions

Product number  Repair kit Content

m 9730113000 9730110052 Valve

Pressure limiting valve

Pressure limiting valve (475 010 ... 0)

475010006 0 4750103330 475010 4000

Pressure
Product number = - Temperature Port
Max. working Delivered
475 010 000 0 20 bar 7.0 bar at p1 = 10.0 bar -40 ... +80 °C 1, 2: M22x1.5
475 010 001 O 20 bar 5.3 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5
475 010 002 0 20 bar 1.8 bar at pl = 7.5 bar —-40 ... 480 °C 1, 2: M22x1.5
475 010 006 0 20 bar 8.0 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M22x1.5
4750100080 20 bar 3.0 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5
475 010 009 0 20 bar 7.5 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M22x1.5
4750100100 20 bar 4.0 bar at p1 = 7.5 bar -40 ... +80 °C 1, 2: M22x1.5
475010011 0 20 bar 3.5 bar at p1 = 8.5 bar —40 ... +80 °C 1, 2: M22x1.5
4750100120 20 bar 5.5 bar at p1 = 7.5 bar —-40 ... 480 °C 1, 2: M22x1.5
4750100150 20 bar 7.3 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M22x1.5
475010016 0 20 bar 1.2 bar at pl1 = 7.5 bar -40 ... +80 °C 1, 2: M22x1.5
475 010 017 O 20 bar 0.45 bar at p1 = 9.5 bar —-40 ... +80 °C 1, 2: M22x1.5
4750100250 20 bar 4.0 bar at p1 = 8.0 bar —40 ... 480 °C 1, 2: M22x1.5
475 010 032 0 20 bar 8.5 bar at pl = 12.5 bar —-40 ... 480 °C 1, 2: M22x1.5
4750102000 20 bar 8.0 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M22x1.5

81



CONVENTIONAL BRAKING COMPONENTS

Pressure
Product number - : Temperature Port
Max. working Delivered
475 010 201 0 20 bar 10.0 bar at p1 = 12.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 300 0 20 bar 8.5 bar at p1 = 10 bar _40 ... +80 °C 1, 2: M22x1.5 JED-388
4750103010 20 bar 10.0 bar at p1 = 12.5 bar -40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 302 0 20 bar 5.3 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 303 0 20 bar 1.8 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 304 0 20 bar 7.5 bar at pl = 12.0 bar _40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 305 0 20 bar 6.0 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475010306 0 20 bar 5.0 bar at p1 = 9.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 307 0 20 bar 1.8 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 308 0 20 bar 7.8 bar at pl = 10.0 bar _40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 309 0 20 bar 5.7 bar at pl = 7.5 bar _40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 310 0 20 bar 4.0 bar at pl = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475010311 0 20 bar 3.5 bar at p1 = 8.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
4750103120 20 bar 5.5 bar at p1 = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 313 0 20 bar 3.3 bar at pl = 7.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 314 0 20 bar 7.0 bar at pl = 10.0 bar _40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 317 0 20 bar 6.5 bar at pl = 12.0 bar _40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 318 0 20 bar 8.0 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 322 0 20 bar 4.2 bar at p1 = 8.0 bar —-40 ... 480 °C 1, 2: M22x1.5 JED-388
475 010 324 0 20 bar 1.4 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-152
475 010 325 0 20 bar 3.5 bar at p1 = 10.0 bar _40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 328 0 20 bar 2.5 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 330 0 20 bar 6.5 bar at p1 = 12.0 bar —-40 ... +80 °C 1, 2: M22x1.5 JED-388
4750103320 20 bar 3.5 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
475010 3330 20 bar 9.3 bar at p1 = 12.5 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
475 010 335 0 20 bar 8.5 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M22x1.5 JED-388
_ i 11,1.2,21,2.2,2.3:

475 010 400 0 20 bar 8.0 bar at p1 = 9.8 bar —40 ... +80 °C M22x1.5 JED-388

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

= 4750100000 4750100002 Valve m 4750102010 4750100012 Valve

m 4750100010 4750100002 Valve 4750100022 valve

m 4750100020 4750100002 Valve = 4750103000 4750100012 Valve

m 4750100060 4750100002 Valve = 4750103010 4750100012 Valve

m 4750100080 4750100002 Valve = 4750103020 4750100012 Valve

m 4750100090 4750100002 Valve = 4750103030 4750100012 Valve

e 0100100 475010000 Vale m 4750103040 4750100012 Valve

m 4750100110 4750100002 Valve = 4750103050 4750100012 Valve

m 4750100120 4750100002 Valve m 4750103060 4750100012 Valve

e 0100150 4750100005 Vel m 4750103070 4750100012 Valve

m 4750100160 4750100002 Valve = 4750103080 4750100012 Valve

m 4750100170 4750100002 Valve = 4750103090 4750100012 Valve

e 0100950 4750100005 Vale m 4750103100 4750100012 Valve

m 4750100320 4750100002 Valve = 4750103110 4750100012 Valve

m 4750102000 4750100012 Valve = 4750103120 4750100012 Valve

4750100022 Valve m 4750103130 4750100012 Valve

82



Product number  Repair kit Content Product number  Repair kit Content
m 4750103140 4750100012 Valve m 4750103250 4750100012 Valve

m 4750103170 4750100012 Valve m 4750103330 4750100022 Valve

m 4750103180 4750100012 Valve m 4750103350 4750100022 Valve

m 4750103220 4750100012 Valve m 4750104000 4750100022 Valve

m 4750103240 4750100012 Valve

Pressure limiting valve (475 015 ... 0)

475 015 063 0 4750155120
Pressure
Product number = - Temperature Port
Max. working Delivered

475015001 0 20 bar 7.4 bar at pl1 = 16.0 bar —-40 ... +80 °C 1, 2: M16x1.5 JED-152
475 015004 0 10 bar 3.5 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16%1.5
4750150050 20 bar 8.0 bar at p1 = 12.0 bar —-40 ... +80 °C 1, 2: M16x%1.5 JED-152
4750150090 20 bar 5.3 bar at p1 = 8.0 bar -40 ... +80 °C 1, 2: M16x1.5 JED-152
4750150100 20 bar 5.7 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16x1.5 JED-152
475015014 0 8 bar 3.0 bar at p1 = 8.0 bar —-40 ... +80 °C 1, 2: M16x1.5
4750150150 20 bar 4.0 bar at p1 = 10.0 bar -40 ... +80 °C 1, 2: M16x1.5 JED-152
475 015 016 0 20 bar 7.5 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M16%1.5
4750150180 20 bar 8.0 bar at p1 = 10.0 bar -40 ... +80 °C 1, 2: M16x1.5
475015026 0 14 bar 2.5 bar at p1 = 8.0 bar —-40 ... +80 °C 1, 2: M16x1.5 JED-152
4750150280 20 bar 7.5 bar at p1 = 8.9 bar —40 ... +80 °C 1, 2: M16x1.5 JED-464
475 015 030 0 20 bar 6.0 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16%1.5
4750150310 14 bar 7.5 bar at pl1 = 11.0 bar —40 ... 480 °C 1, 2: M16%1.5

475 015 032 0 14 bar 11.0 bar at p1 = 12.0 bar —-40 ... +80 °C 1, 2: M16x1.5
4750150330 20 bar 7.0 bar at p1 = 8.9 bar —40 ... +80 °C 1, 2: M16x1.5 JED-464
4750150350 20 bar 8.7 bar at p1 = 12.5 bar —40 ... +80 °C 1, 2: M16x1.5

475 015 036 0 14 bar 6.7 bar at p1 = 11.0 bar -40 ... +80 °C 1, 2: M16%1.5

475 015037 0 14 bar 9.5 bar at p1 = 11.0 bar —-40 ... +80 °C 1, 2: M16%1.5
4750150390 14 bar 8.5 bar at p1 = 11.0 bar —-40 ... 480 °C 1, 2: M16%1.5
4750150400 20 bar 0.45 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16x1.5
4750150480 20 bar 7.0 bar at p1 = 11.0 bar -30...+80°C 1, 2: M16%1.5
4750150490 10 bar 4.5 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16x1.5
4750150570 20 bar 2.8 bar at p1 = 12.5 bar —-40 ... +80 °C 1, 2: M16x1.5 JED-464
475 015 063 0 20 bar 8.5 bar at p1 = 12.0 bar —40 ... +80 °C 1, 2: M16%1.5
4750150720 15 bar 8.5 bar at p1 = 11.0 bar -40 ... +80 °C 1, 2: M16x1.5 JED-152
475015 073 0 15 bar 7.5 bar at p1 = 10.0 bar —40 ... +80 °C 1, 2: M16x1.5 JED-152
4750153000 20 bar 1.8 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16x1.5

475 015 400 0 20 bar 4.5 bar at p1 = 8.0 bar —40 ... +80 °C 1, 2: M16%1.5

475 0155000 20 bar 6.5 bar at p1 = 8.0 bar —40 ... 480 °C 1, 2: M16%1.5

475 015512 0 14 bar 5.5 bar at p1 = 8.5 bar —40 ... +80 °C 1, 2: M16x1.5 JED-388-3




CONVENTIONAL BRAKING COMPONENTS

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

4750150010
4750150040
4750150050
4750150090
4750150100
4750150150
475015016 0
4750150180
4750150350

475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2

Pressure limiting valve

Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide

Valve + venting guide

4750150370
4750150390
4750150400
4750150480
4750150630
4750150720
4750154000
4750155000
4750155120

475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2
475015001 2

Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide
Valve + venting guide

Valve + venting guide

Valve + venting guide

(475019 ...0/475020 ... 0)

m Temperature —40...+80°C 475 019 000 0 475020 011 0
Product number - Pressure - Electrical connection Port
Max. working Delivered
475 019 000 0 12 bar 0.5 bar at p1 = 12.0 bar - ; ';szinleéi f.i%gszss
475 020 006 0 13 bar 4.1 bar at p1 = 10.2 bar DIN 72585 1A-2.1-Sn/K2 ; ';sziﬂleéilj_i%gs%ss
475020 011 0 13 bar 5.0 bar at pl = 8.5 bar DIN 72585 1A-2.1-Sn/K2 % ';sziﬂleéi 13?3'51;2152
475020 012 0 13 bar 60baratpl= 85bar | DIN 72585 1A-21-Sn/k2 |3 a0 D252
Repair solutions
Product number  Repair kit Content

m 4750190000 9730010002

Valve ring




Load sensing valve

Load sensing valve - mechanical

m Temperature —40 ... +80 °C
m  Max. pressure 10 bar
m  Max. regulating ratio 14 475 701 001 0
. Stroke
Product number Break point Port
Total Control
4757010010 - —40° ... +40° —40° ... +30° 1, 2: M22x1.5 JED-152
475 701 007 O — —40° ... +40° —40° ... +30° 1, 2: M22x1.5 JED-152
4757010120 - —40° ... +40° —40° ... +30° 1, 2: M22x1.5 JED-152
4757010200 - —21° ... +35° —21° ... +13° 1, 2: M22x1.5 JED-152
475 702 020 0 0.5 bar —21° ... +35° —21° ... +13° 1, 2: M22x1.5 JED-152
475 702 022 0 0.5 bar —21° ... +35° —21° ... +13° 1, 2: M22x1.5 JED-152
Repair solutions
Product number  Repair kit Content
m 4757010010 4757010092 Diaphragm
m 4757010070 4757010092 Diaphragm
m 4757010120 4757010092 Diaphragm
m 4757010200 4757010002 Diaphragm

4757020200
4757020220

475702001 2
475702001 2

Lever joint + diaphragm

Lever joint + diaphragm




CONVENTIONAL BRAKING COMPONENTS

Load sensing valve - mechanical with integrated relay valve

m Temperature -40 ... +80 °C
—45 ... +80 °C: 475 710 128 0, 475 710 129 0, 475 710 156 0
m Max. control 10 bar
pressure 475 710 136 0: 10.2 bar; 475 800 301 0: 8.0 bar
s Comment D Operating assembly (lever)
2 Test port

% Test port, solenoid valve (connection DIN 72585-A1-3.1-SN/K1)
4 Regulation (0 ... 7.2 bar)
9 Silencer 432 407 050 0

m Accessories 432 407 0600  Silencer (port M22x1.5)
432 407 070 0  Silencer (port JED-463 / snap-on contour)

475710 128 0 475 710 136 0 475720 003 0 884 057 811 0 8840578120
Product Break Max. Max. Stroke
number point supply line | regulating Port
pressure ratio Total Control
, ] N . |1, 4 M16x1.5 JED-152; 2: 2x M16x1.5
4757100000 | 0.7 bar 13 bar 18 |-30°.4110°| 0°.460° |0 i e
4757100030 | 0.6 bar 10 bar 1.8 |—30°.+110°| 0°.+60° |1,4: M16xL5; 2: 2x M16x1.5: 3: M22x1.5
4757100060 | 0.3bar | 10 bar 18 |-30°.4110°| 0°.+60° |1 M22x15;2:2x M16x1.5; 3: M22x1.5;
4: M16%1.5
475710007 0 | 0.6 bar 10 bar 1:8 | -30°.+110°| 0°..+60° |1,4: M16xL5; 2: 2x M16x1.5; 3: M22x1.5
, ) N . |1: M22x1.5 JED-388; 2: 2x M22x1.5
4757100080 | 0.6 bar 13 bar L8 [-80°.4110° | 0% 60° | S ea: 4 M16wL 5 JED-388
4757100110 | 0.6 bar 13 bar 1.8 |-30°.+120°| oc.+60° |L M22x15/2:2x MI16x1.5; 3: JED-463;
4: M16%1.5
4757100120 | 0.6 bar 13 bar 18 |-30°.+110°| 0°.+60° |+ M22x15JED-388; 2: 2x M22x1.5

JED-388; 3: JED-463; 4: M16x1.5 JED-388
4757100130 | 0.6 bar 10 bar 1:8 —30°...+110° | 0°...+60° |1: M22x1.5; 2: 2x M16x1.5; 3, 4: JED-463
1: M22x1.5 JED-388; 2: 2x M22x1.5

4757100160 | 0.6bar | 13 bar L8 |=807.4110° | 0%t60° | S A6s: - M16wL 5 JED-388

4757100200 | 0.7bar | 13 bar 18 | -45°.495° | 0°. 4300 |L % MI6x15JED-152;2: M16x1.5 JED-152
3: JED-463

4757100210 | 0.6 bar 10 bar 1:8 _45°. +95° | 0°..4+30° |1 M22xL5; 2 2x M16x1.5; 3: snap-on
contour; 4: M16x1.5

475710022 09 | 0.5 bar 10 bar 1:8 (50 450 | G0, e || A 2 e LR e B )
contour; 4: M16x1.5

4757100240 | 0.5bar | 12 bar 18 |-40°..+110° | 0°.. +34°30" | & M22x1.5;2: 2x M16x1.5; 3: JED-463;
4: M16x1.5

4757100250 | 0.6bar | 12 bar 18 L e | P || AR 2 S LS e Bl e
contour; 4: M16x1.5

4757100270%| 0.5bar | 10 bar 1:8 _a5°.+95° | 0°..+30° |% M22x1.5;2:2x M16x1.5; 3: JED-463;
4: M16x1.5

475710029 0% | 05bar | 10 bar 18 | -45°.495° | 0°.+30c | Ma2xl.5; 2 2% MIGxLS; 3: snap-on
contour; 4: M16x1.5

47571003309 | 0.5 bar 10 bar 1:8 _45°. +95° | 0°..+30° |1 M22xL5; 2 2x M16x1.5; 3: snap-on

contour; 4: M16x1.5




Product Break LA Max. Stroke
number point supply line | regulating Port
pressure ratio Total Control
, i NN . |1 M22x1.5 JED-464; 2: 2x M16x1.5
4757100350 | 0.5bar | 13 bar FEE || LB | R L e
_ . o . |1 M22x1.5 JED-388; 2: 2x M22x1.5
4757100360 | 0.6bar | 13 bar 1:8 45405 | 04800 | S D A6S: 4- M16xL 5 JED-388
47571004009 | 0.4bar | 10 bar 0G| B0 aEe | G e (L MR 2 L e Sl
contour; 4: M16x1.5
_ ) o . |1: M22x1.5 JED-388: 2: 2x M22x1.5
4757100420 | 0.6bar | 13 bar 1:8 —50°..400° | 0%.420° | S s 4 M1BwL 5 JED-388
4757100440 | 0.5bar | 12 bar 18 _50°..490° | 0°.+20° |Y M22x1.5;2:2x M16x15; 3: JED-463;
4: M16x1.5
47571010809 | 0.7bar | 13 bar 1:8  |-30°..+110°| 0°..+60° |1,4: M16xL5: 2: 2x M16x1.5; 3: JED-463
4757101210 | 0.7bar | 10 bar 18 L e | P || AR R A LR S5
4: M16%1.5
4757101220 | 0.7bar | 10 bar 18 _a5°.+95° | 0°..430° |% M22x1.572:2x M16x1.5; 3: M22x1.5;
4: M16%1.5
4757101280 | 0.6bar | 13 bar 1:8 450, +95° | 00,4300 |1 M22x1.5:2:2x M16x1.5; 3: JED-463;
4: M16x1.5
4757101290 | 0.6 bar 13 bar 18 _a5°+95° | 0°..4+30° |1 M22x1.5,2:2x M16x1.5; 3: JED-463;
4: M16x1.5
, i o . |1: M22x1.5 JED-388; 2: 2x M22x1.5
4757101340 | 0.6bar | 13 bar 18 e e e ol e
_ i o . |1 M22x1.5 JED-388; 2: 2x M22x1.5
4757101350 | 0.6bar | 13 bar 1:8 —45°%.. 4050 | 04800 | S D A6%: 4 M16xL5 JED-388
1: M22x1.5 JED-388; 2: M22x1.5 JED-388 /
4757101360 | 0.6 bar 13 bar 1.8 —54°,,.+86° 0°...+16° |M16x1.5 JED-388; 3: silencer®; 4: M16x1.5
JED-388
_ i o . |1 M22x1.5 JED-152; 2: 2x M22x1.5
4757101440 | 0.6bar | 13 bar 1:8 —45°.405° | 0%.480° | S s 4 M16wL 5 JED-152
4757101510 | 0.6bar | 10 bar 18 —54°.+86° | 0°.+16° |1, 3: M22x15: 2: 2x M22xL1.5; 4: M16x1.5
_ ) o . |1: M22x1.5 JED-464; 2: 2x M16x1.5
4757101560 | 0.6bar | 13 bar 1:8 —45°..405° | 0%.480° | S s 4 MIBXL 5 JED-464
_ i o . |1: M22x1.5 JED-388; 2: 2x M22x1.5
4757101570 | 0.5bar | 10 bar 18 PR | ORI e e e e
1: M22x1.5 JED-388; 2: 2x M22x1.5
2) . o o o o o 1
47572000102 | 0.8bar | 13 bar 155.3 45°..495° | 0°.430° | T e eer: 4: M16nL 5 JED-388
1: M22x1.5 JED-152; 2: 2x M22x1.5
2) . I o o o o )
47572000202 | 0.6bar | 13 bar 15.3 Sui o AR o R e S
1: M22x1.5 JED-388; 2: 2x M22x1.5
2) . o o o o o 1
47572000302 | 0.6bar | 13 bar 15.3 45°..495° | 0°.430° | T e meer: 4: M16nL 5 JED-388
1: M22x1.5 JED-388; 2: 2x M22x1.5
2) a o o o o o 1
475720004 02| 0.6bar | 13 bar 15.3 45°..495° | 0%.430° | S er, 4: M16wl 5 JED-388
1: M22x1.5 JED-388: 2: 2x M22x1.5
2) . _ o o o o )
47572000502 | 0.6bar | 13 bar 155.3 54°,.+86° | 0°.416° | JL e cer: 4 Voss 235 - NG 8
_51.5°.. 1: M22x1.5 JED-388: 2: 2x M22x1.5
2) . o ° 5
475720006 02| 0.6bar | 13 bar 155.3 B O HE TG A e s
1: M22x1.5 JED-152; 2: 2x M16x1.5 JED-152:
2) . o o o o o 1 )
47572000802 | 0.8bar | 13 bar 155.3 45°..495° | 0°.430° |31 et oL JED-15
1: M22x1.5 JED-388; 2: 2x M22x1.5
3) . o o o o o ’
47572050009 | 0.8bar | 13 bar 155.3 5N il RN o e e
47572200002 | 0.6bar | 13 bar 153 | -30°.+110°| 0°.+52° |14 ML6xL5JED-152; 2 MI16x1.5 JED-152
3: JED-463
475800301 09| - 8 bar 155.3 . —30°...430° |1, 2: M12x1.5
88405781107 | 0.7bar | 13 bar 1:8  |-45°.+105°| 0°.+30° |1,4: M16xL5: 2: 2x M16x1.5; 3: JED-463
8840578120 | 0.7bar | 13 bar 1:8  |-30°..+110°| 0°.+60° |1, 4: M16XL5; 2: 2x M16x1.5; 3: JED-463
8845022700 | 0.6bar | 10 bar 1:8  |=30°.+110°| 0°.+60° |1,3: M22x15; 2: 2x M22x1.5; 4: M16x1.5




CONVENTIONAL BRAKING COMPONENTS

Repair solutions

Product number

Repair kit

Content

Pro

duct number

Repair kit

Content

4757100000
4757100030
475710006 0
4757100070
475710008 0
4757100110
4757100120
4757100130
475710016 0
4757100200
4757100210
4757100220
4757100240
4757100250
475710027 0
4757100290

475 710 001 2
475710 001 2
475710 001 2
475710 001 2
475710 001 2
475 710 002 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475710001 2
475710001 2

Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Diaphragm

Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm

Lever joint + diaphragm

4757100330
4757100350
4757100360
4757100400
4757100420
4757100440
4757101210
4757101220
4757101280
4757101290
4757101340
4757101350
4757101360
475710 1440
4758003010

475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475 710 001 2
475710001 2
475710001 2
475710001 2
475710002 2
475710 002 2
475710001 2
475710001 2
475710 002 2
475710001 2
475 800 004 2

Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Diaphragm

Diaphragm

Lever joint + diaphragm
Lever joint + diaphragm
Diaphragm

Lever joint + diaphragm

Sealing

Load apportioning valve (475 604 ... 0)

m Temperature —40 ... +85°C

m Max. pressure 10 bar

m Port 1, 2: M22x1.5

= Mounting Flange DIN 71501 475 604 011 0 475 604 013 0

Product Adjustment (pre-adjusted)
number Empty 1/4 1/2 3/4 Fully loaded

475604 0100 | 0.8...2.2 bar (1.6 bar) - 2.8...3.7 bar (3.7 bar) - Inlet pressure
475604 0110 | 1.4...2.8 bar (2.1 bar) - 3.4...4.3 bar (4.0 bar) - Inlet pressure
475 604 012 0* | 0.8...2.2 bar (1.6 bar) - 2.8...3.7 bar (3.7 bar) - Inlet pressure
475 604 013 0* | 1.4...2.8 bar (2.1 bar) - 3.4...4.3 bar (4.0 bar) - Inlet pressure
4756040410 | 1.4...2.8 bar (2.1 bar) - 3.4...4.3 bar (4.0 bar) - Inlet pressure
475604 1100 | 0.7...1.2 bar (0.8 bar) 1.7£0.3 2.8...3.5 bar (2.8 bar) 41+0.3 Inlet pressure
475 604 112 0* | 0.7...1.2 bar (0.8 bar) 1.7+0.3 2.8...3.5 bar (2.8 bar) 41+0.3 Inlet pressure

* without release position

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4756040100 4756040022 Valve m 4756040410 4756040022 Valve

m 4756040110 4756040022 Valve m 4756041100 4756040022 Valve

m 4756040120 4756040022 Valve m 4756041120 4756040022 Valve

m 4756040130 4756040022 Valve

88
[



Load sensing valve - pneumatic

m Temperature -40 ... +80 °C
m Control medium  Air

m Comments 9 Flange mounted DIN 1501
2 Universal valve with transformation set;
flange mounted DIN 71501

)
? Test port 475700 126 0 475700 220 0
Product Max. pressure Max.
Break point Operation . regulating Port
number Control Braking ratio
47570012209 | 0O.4bar | 1.0..46bar | 8.0bar 10.0 bar 141 bar | &2 M22x15; 3: exhaust;
4: M12x1.5
475700126 09| 0.4bar | 05..41bar | 8.0bar 10.0 bar VOAL iy |2 A SR ORI
4: M12x1.5
47570022007 | O.4bar | 0.7..425bar | 80bar | 10.0bar 131bar | b2 M22L5 3 exhaust
4: M12x1.5
1/4, 22: M16x1.5 JED-152:
3) . : 5
475 723 000 0 0.7 bar 1.0 ... 4.6 bar 10.0 bar 10.0 bar 1:5.3 bar 3: JED-463: 41: M12x1.5 JED-152
1/4, 22: M16x1.5 JED-152:
3) . ) ;
4757230010 0.7 bar 0.5... 4.1 bar 10.0 bar 10.0 bar 1:5.3 bar 3: JED-463: 41: M12x1.5 JED-152

Load sensing valve - pneumatic with integrated relay valve

m Temperature -40 ... +80 °C

m Test connection Port 43: M16x1.5

m Port3 9 Silencer 432 407 050 0

m Accessories 432 407 0500  Silencer (port bayonet)

432 407 0700  Silencer (port JED-463 / snap-on contour)

4757110340 4757111180 4757111550 4757210080
. . Max. pressure on port
Rl Break point Operation Port
number 1 4,1/4 | 41,42

1. M22x1.5; 2: 2x M16x1.5; 3: JED-463;

4: M16x1.5; 41, 42: M12x1.5

1, 4: M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
. JED-463; 4, 41, 42: M16x1.5 JED-388

: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

475 711 0090 0.4 bar 0.5...6.0bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 012 0 0.5 bar 0.35 ... 7.2 bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110220 0.6 bar 0.85 ... 4.9 bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 024 0 0.6 bar 0.6 ... 4.3 bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110250 0.6 bar 0.6 ... 4.3 bar | 13.0 bar | 10.0 bar | 13.0 bar

475 711 026 0 0.6 bar 0.8 ...3.5bar | 13.0 bar | 10.0 bar | 13.0 bar

WkFE Wk Wk, W

89



CONVENTIONAL BRAKING COMPONENTS

Max. pressure on port
R Break point Operation o P Port
number 1 4,1/4 | 41,42

1, 4: M16x1.5; 2: 2x M16x1.5; 3: bayonet;

41, 42: M12x1.5

1, 4: M16x1.5; 2: 2x M16x%1.5; 3: snap-on
contour; 41, 42: M12x1.5

- M22x1.5; 2: 2x M16x1.5; 3: JED-463;

1 M16x1.5; 41, 42: M12x1.5

1 M22x1.5; 2: 2x M16x1.5; 3: JED-463;

: M16x1.5; 41, 42: M12x1.5

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1, 4: M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1, 4. M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1 M22x1.5; 2: 2x M16x1.5; 3: JED-463;

1 M16x1.5; 41, 42: M12x1.5

1 M22x1.5; 2: 2x M16x1.5; 3: JED-463;

1 M16x1.5; 41, 42: M12x1.5

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1, 4: M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1. M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1, 4: M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
3: JED-463; 4, 41, 42: M16x1.5 JED-388

1: 2x M22x1.5 JED-388; 2: 2x M16x1.5
4757111180 0.6 bar 0.5...3.0bar | 13.0 bar | 10.2 bar | 13.0 bar | JED-388; 3: silencer?; 4, 41, 42: M16x1.5
JED-388

1: 2x M22x1.5 JED-388; 2: 2x M16x1.5

475 711 119 0 0.6 bar 0.5...45bar | 13.0 bar | 10.2 bar | 13.0 bar | JED-388; 3: silencer?; 4, 41, 42: M16x1.5
JED-388

1, 4: M16x1.5; 2: 2x M16x1.5; 3: JED-463;

41, 42: M12x1.5

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
. silencer?; 4, 41, 42: M16x1.5 JED-388

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
. silencer?; 4, 41, 42: M16x1.5 JED-388

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: silencer?; 4, 41, 42: M16x1.5 JED-388

475711 0300 0.7 bar 0.6 ... 3.5bar | 13.0 bar | 10.0 bar | 13.0 bar

475711034 0 0.7 bar 0.4 ...5.6 bar | 12.0 bar | 10.0 bar | 12.5 bar

4757110370 1.2 bar 1.8 ...5.4bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110400 0.8 bar 1.2 ...4.8bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 0420 0.5 bar 0.2 ...5.5bar | 13.0 bar | 10.0 bar | 13.0 bar

P Wk AR AR

475711 051 0 0.5 bar 0.4 ...6.6 bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110520 0.3 0.8 ... 7.0 bar | 13.0 bar | 10.0 bar | 13.0 bar

475 711 060 0 0.7 bar 0.6 ... 49bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 0740 0.5 bar 0.5...5.0bar | 13.0 bar | 10.0 bar | 12.0 bar

475 711 0750 0.5 bar 0.5...6.0 bar | 13.0 bar | 10.0 bar | 12.0 bar

475711076 0 1.2 bar 1.3 ... 4.3 bar | 13.0 bar | 10.0 bar | 13.0 bar

P Wk AR AR

475 711 087 0 0.5 bar 0.3...4.0bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110890 0.7 bar 0.6 ... 5.5bar | 13.0 bar | 10.0 bar | 12.0 bar

475 711 097 0 0.5 bar 0.45 ... 5.0 bar | 13.0 bar | 10.0 bar | 13.0 bar

4757110990 0.5 bar 0.35... 7.2 bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 1100 0.7 bar 1.4 ...31bar | 13.0 bar | 10.0 bar | 13.0 bar

4757111110 0.5 bar 0.4 ...3.5bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 114 0 0.8 bar 1.2 ... 4.8 bar | 13.0 bar | 10.0 bar | 13.0 bar

4757111200 0.7 bar 0.5...5.2bar | 13.0 bar | 10.0 bar | 13.0 bar

475 711 122 0 0.4 bar 0.4 ...8.2bar | 13.0 bar | 10.0 bar | 13.0 bar

4757111250 0.5 bar 0.4 ...5.8bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 126 0 0.5 bar 0.5...5.9bar | 13.0 bar | 10.0 bar | 13.0 bar

4757111270 0.5 bar 0.8 ...8.0bar | 13.0 bar | 10.0 bar | 13.0 bar

475711 128 0 0.5 bar 0.5...4.8bar | 13.0 bar | 10.0 bar | 13.0 bar

1 M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
: JED-463; 4, 41, 42: M16x1.5 JED-388

475711 1430 1.4 bar 0.5...6.7 bar | 13.0 bar | 10.0 bar | 13.0 bar

Wk, Wk, Wk Wk, Wk Wk




Max. pressure on port
e Break point Operation o P Port
number 1 4,1/4 | 41,42

1: 2x M22x1.5 JED-388; 2: 2x M16%1.5
475 711 148 0 0.6 bar 1.2 ...3.0bar | 13.0 bar | 10.2 bar | 13.0 bar | JED-388; 3: silencer?; 4, 41, 42: M16x1.5

JED-388

1: 2x M22x1.5 JED-388; 2: 2x M16%1.5
4757111490 0.6 bar 1.2 ...45bar | 13.0 bar | 10.2 bar | 13.0 bar | JED-388; 3: silencer?; 4, 41, 42: M16x1.5

JED-388

1: M22x1.5 JED-388; 2: 2x M16x1.5 JED-388;
475711 1540 0.8 bar 0.5 ... 7.7 bar | 13.0 bar | 10.0 bar | 13.0 bar 3: JED-463: 4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M16x1.5 JED-388;
4757111550 0.8 bar 0.5...6.7 bar | 13.0 bar | 10.0 bar | 13.0 bar 3: JED-463: 4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475721 000 0 0.8 bar 0.5 ... 4.7 bar | 13.0 bar | 10.0 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
4757210010 0.6 bar 0.6 ... 5.0 bar - 10.0 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475721002 0 2.8 bar 0.4 ...2.7 bar | 13.0 bar | 10.0 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
4757210030 2.0 bar 0.3 ... 4.65 bar | 13.0 bar | 10.0 bar | 10.0 bar 3 silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475 721 005 0 0.6 bar 0.5...4.5bar | 13.0 bar | 10.2 bar | 10.0 bar 3: silencer®: 1/4, 41, 42: Voss 232-NG 8

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475 721 006 0 0.6 bar 0.55 ... 41 bar | 13.0 bar | 10.0 bar | 10.0 bar 3 silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
4757210070 0.6 bar 0.55 ... 3.1 bar | 13.0 bar | 10.0 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: M16x1.5 JED-388

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475721 008 0 0.6 bar 0.5...3.0bar | 13.0bar | 10.2 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: Voss 232-NG 8

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
475721 009 0 0.6 bar 0.5...2.0bar | 13.0 bar | 10.2 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: Voss 232-NG 8

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
4757210180 0.6 bar 0.5...3.0bar | 13.0 bar | 10.2 bar | 10.0 bar 3- silencer?: 1/4, 41, 42: Voss 232-NG 8

1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;

* ’ ]

475 721 500 0 0.8 bar 0.5... 4.7 bar | 13.0 bar | 10.0 bar | 10.0 bar 3: silencer?: 1/4, 41, 42: M16x1.5 JED-388

* with solenoid valve (connection DIN 72585-A1-3.1-SN/K1)

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

m 4757110090
m 4757110120
m 4757110220
m 4757110240
m 4757110250
m 4757110260
m 4757110300
m 4757110340
m 4757110370
m 4757110400
m 4757110420
m 4757110510
m 4757110520
m 4757110600
m 4757110740

475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475711 000 2
4757110012

Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm

Diaphragm + valve

m 4757110750
m 4757110760
m 4757110870
m 4757110890
m 4757110970
m 4757110990
m 4757111100
m 4757111110
m 4757111140
m 4757111180
m 4757111190
m 4757111220
m 4757111260
m 4757111270
m 4757111280

475711001 2
475 711 000 2
475 711 000 2
475 711 000 2
475 711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2
475711 000 2

Diaphragm + valve

Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm
Lever joint + diaphragm

Lever joint + diaphragm

91




CONVENTIONAL BRAKING COMPONENTS

Product number  Repair kit Content Product number  Repair kit Content

m 4757111480 4757110002 Lever joint + diaphragm m 4757111550 4757110002  Lever joint + diaphragm
m 4757111490 4757110002 Lever joint + diaphragm

Load sensing valve - hydraulic

m Temperature —40 ... +80 °C
m Control medium  Mineral oil
s Comments Universal valve with transformation set; flange mounted
DIN 71501 475700 4020
Product _ _ Max. pressure Max._
Break point Operation ) regulating Port
number Control Braking ratio
) 1, 2: M22x1.5; 3: exhaust;
4757004020 0.4 bar 10 ... 65 bar 300 bar 10.0 bar 1:3.1 bar 41, 42: M12x1.5

Adapting valve

Adapting valve (473 30. ... 0)

m Temperature —40 ... +80 °C
m Max. pressure 10 bar
473 303 ... 0: 10.2 bar
= Break point 473303 ... 0- 1.0 bar 473301003 0 4733020210 4733030020
Product number Opemn?ppl))ressure Regulating ratio Port

473 3000000 - 4:1 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
473 300001 0 - 3.3:11 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
473 3000030 - 2:1 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
473 300 004 0 - 151 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
473 3000050 - 1.35:1 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
473 300 006 0 - 1.15:1 1: M22x1.5/M12x1.5; 2: 2x M22x1.5; 3: exhaust; 4: M12x1.5
4733000120 - 2.7:1 1: M16x1.5/M12 x1.5; 2: 2x M16x1.5; 3: exhaust; 4: M12x1.5
473 300 013 0 - 2:1 1: M16x1.5/M12 x1.5; 2: 2x M16x1.5; 3: exhaust; 4: M12x1.5
473300014 0 - 1.5:1 1: M16x1.5/M12 x1.5; 2: 2x M16x1.5; 3: exhaust; 4: M12x1.5
473 300 061 0 - &l 1: M16x1.5/M12 x1.5; 2: 2x M16x1.5; 3: M22x1.5; 4: M12x1.5
473 300 062 0 - 2.71 1: M16x1.5/M12 x1.5; 2: 2x M16x1.5; 3: M22x1.5; 4: M12x1.5
473 301 0000 — 2:1 1: M22x1.5; 2: 2x M22x1.5; 3: exhaust
4733010010 - 1.5:1 1: M22x1.5; 2: 2x M22x1.5; 3: exhaust
473 301 002 0 - 1.35:1 1, 2.1, 2.2: M22x1.5; 2: 2x M22x1.5; 3: exhaust
473 301 0030 - 1.15:1 1. M22x1.5; 2: 2x M22x1.5; 3: exhaust
473301 0420 - 1.35:1 1, 3: M22x1.5; 2: 2x M22x1.5
4733010540 - 171 1, 3: M22x1.5; 2: 2x M22x1.5; 4. M12x1.5
4733020010 - 2:1 1,21, 2.2, 4: M16x1.5; 2: 2x M16x1.5; 3: exhaust
4733020210 - 21 1,21, 2.2, 4: M16x1.5; 2: 2x M16x1.5; 3: M22x1.5
473 302 022 0 - 2.71 1,21, 2.2, 4: M16x1.5; 2: 2x M16x1.5; 3: M22x1.5
473 3030000 0.3 bar 2:1 1, 2: M16x1.5 JED-388; 3: silencer

92
[



Product number Openln(gp:rl))ressure Regulating ratio Port

473 303 002 0 0.3 bar 1.5:1 1, 2: M16x1.5 JED-388; 3: silencer

473 3030030 0.3 bar 1.15:1 1, 2: M16x1.5 JED-388; 3: silencer

473 303 005 0 0.3 bar 1.35:1 1, 2: M16x1.5 JED-388; 3: silencer

473 303006 0 0.3 bar 1.27:1 1, 2: M16x1.5 JED-388; 3: silencer

473 303 007 0 0.3 bar 1.21:1 1, 2: M16x1.5 JED-388; 3: silencer
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4733010010 4733010092 Valve m 4733020010 4733020012 Valve
m 4733010020 4733010092 Valve m 4733020210 4733020012 Valve
m 4733010030 4733010092 Valve

Adapting valve (975 00. ... 0)

m Temperature —40 ... +80 °C
m Max. pressure 10 bar
m Regulating ratio 1.1 (after break point)
m Adjustment 975001 ...0:0.3 ... 1.6 bar
m Accessory 432 407 018 0  Silencer for venting guide 973 002 222 2 975002 017 0
Product number Break point Openm?pg)ressure Port
975001 0000 3.2 bar 0.7 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
9750010010 4.6 bar 1.0 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
975 001 002 0 2.3 bar 0.5 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
975 001 003 0 1.8 bar 0.3 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
975 001 500 0 3.2 bar 0.7 bar 1: 2.1, 2.2: M22x1.5; 2: 3x M22x1.5 (1x test connection);
3: exhaust
975 002 001 0 3.5 bar, 5.7 bar 0.5 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
9750020030 2.5 bar, 4.5 bar 0.4 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
975 002 0050 2.0 bar, 3.5 bar 0.5 bar 1,21, 2.2: M22x1.5; 2: 3x M22x1.5 (1x closed); 3: exhaust
975002 0170 1.8 bar, 4.1 bar - 1,21, 2.2, 4: M16x1.5; 2: 3x M16x1.5 (1x closed); 3: exhaust
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
ST AT DB, b (EET - 2.1, 2.2.: M22x1.5: 3: venting guide 973 002 222 2
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
9750020720 1.8 bar, 4.1 bar - 2.1, 2.2.: M22x1.5; 3: silencer 432 407 050 0
1: M22x1.5 JED-388; 2: 2x M22x1.5 JED-388;
CIDAIEN 1T 2. o LELET 2.1,2.2.: M22xL1.5; 3: venting guide 973 002 222 2

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 9750010000 9750010002 Diaphragm m 9750010030 9750010002 Diaphragm
m 9750010010 9750010002 Diaphragm m 9750015000 9750010002 Diaphragm
m 9750010020 9750010002 Diaphragm m 9750020170 9750020012 Valve




CONVENTIONAL BRAKING COMPONENTS

Pressure switch

Pressure switch - normal pressure

m Temperature —-40 ... +80 °C
441 042 000 0: =25 ... +70 °C

m Adjusting screw  equipped: 441 009 ... 0, 441 042 0000

m \Voltage 12/24V
441 009 ... 0: max. 30 V
441 042 0000: 24V

441 0140170 441 024 007 0
FIEELE] .Pressure - Function Medium Wrench Port
number Max. working Switch
441 009 001 0 10.0 bar 5.0 bar open Air - 2x M22x1.5
441 0091010 10.0 bar 5.0 bar closed Air - 2x M22x1.5
4410140010 12.0 bar 2.0 bar open Air 24 mm M12x1.5
441 014 002 0 12.0 bar 1.0 bar open Air 24 mm M10x1 DIN 158
441 0140040 12.0 bar 5.5 bar closed Air 24 mm M12x1.5
441 0140050 12.0 bar 2.0 bar open Air 24 mm M10x1 DIN 158
441 014 006 0 12.0 bar 2.0 bar closed Air 24 mm M12x1.5
441 014 007 0 12.0 bar 3.0 bar open Air 24 mm M10x1 DIN 158
441 0140080 12.0 bar 4.2 bar closed Air 24 mm M10x1 DIN 158
441 014 0090 12.0 bar 4.0 bar open Air 24 mm M10x1 DIN 158
441 0140100 12.0 bar 0.3 bar closed Air 24 mm M12x1.5
441 014 0120 12.0 bar 3.5 bar closed Air 24 mm M12x1.5
441 0140130 12.0 bar 4.1 bar closed Air 24 mm M12x1.5
441 014 0140 12.0 bar 4.5 bar closed Air 24 mm M12x1.5
441 0140150 12.0 bar 5.0 bar closed Air 24 mm M12x1.5
441 014 017 0 12.0 bar 4.0 bar open Air 24 mm M12x1.5
441 0140180 12.0 bar 1.2 bar closed Air 24 mm M12x1.5
441 014 0190 12.0 bar 0.15 bar open Air 24 mm M12x1.5
441 0140200 12.0 bar 2.0 bar closed Air 24 mm M10x1 DIN 158
441 0140210 12.0 bar 0.5 bar open Air 24 mm M12x1.5
441 014 0220 12.0 bar 6.0 bar open Air 24 mm M12x1.5
441 014 0230 12.0 bar 2.5 bar open Air 24 mm M12x1.5
441 014024 0 12.0 bar 1.0 bar open Air 24 mm M12x1.5
441 0140250 12.0 bar 6.0 bar closed Air 24 mm M12x1.5
441 0140260 12.0 bar 4.5 bar open Air 24 mm M12x1.5
441 0140290 12.0 bar 5.0 bar open Air 24 mm M12x1.5
441 0140320 12.0 bar 5.2 bar closed Air 24 mm M12x1.5
441 0140400 12.0 bar 3.0 bar open Air 24 mm M12x1.5
441 0140610 12.0 bar 5.7 bar closed Air 24 mm M12x1.5
441 014 0720 12.0 bar 6.6 bar closed Air 24 mm M12x1.5
441 0140730 12.0 bar 5.5 bar open Air 24 mm M12x1.5
441 014086 0 12.0 bar 6.6 bar closed Air 24 mm M12x1.5
441 0141000 12.0 bar 0.15 bar open Air 24 mm M12x1.5 DIN 2353
441 014101 0 12.0 bar 4.5 bar closed Air 24 mm M12x1.5 DIN 2353
441 014 102 0 12.0 bar 5.5 bar closed Air 24 mm M12x1.5 DIN 2353
441 014 104 0 12.0 bar 0.5 bar open Air 24 mm M12x1.5 DIN 2353
441 014 1050 12.0 bar 5.7 bar closed Air 24 mm M12x1.5 DIN 2353
441 014 1400 10.0 bar 0.3, 0.6, 1.0 bar open Air, Mineral oil 24 mm M12x1.5
441 0141410 15.0 bar 0.3 bar open Air, Mineral oll 24 mm M10x1
441 014 142 0 15.0 bar 0.6 bar open Air, Mineral oll 24 mm M10x1
441 014 144 0 15.0 bar 1.0 bar open Air, Mineral oil 24 mm M10x1
94



Pressure
PTEE D - : Function Medium Wrench Port
number Max. working Switch
441 014 6020 12.0 bar 0.4 bar open Air 27 mm M16x1.5
441 024 006 0 10.0 bar 5.8 bar closed Air, Water, Mineral oil 27 mm M12x1.5
441 024 007 O 10.0 bar 0.6 bar open Air, Water, Mineral oil 27 mm M12x1.5
441 042 000 0 15.0 bar 1.8 /1.3 bar closed / open Air, Oil 27 mm GY4"
Pressure switch - high pressure
m Temperature -30 ... +100 °C
m Voltage max. 42 V
m Wrench 24 mm 441 014 055 0
Pressure
FIEELE] - - Function Medium Port
number Max. working Switch
441 014 0430 200.0 bar 21.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 044 0 200.0 bar 17.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 0490 200.0 bar 100.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 051 0 200.0 bar 37.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 0550 200.0 bar 1.0 bar open Air, Water, Mineral oil M12x1.5
441 0140590 200.0 bar 3.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 0640 200.0 bar 9.0 bar closed Air, Water, Mineral oil M12x1.5
441 014 0700 200.0 bar 54 bar open Air, Water, Mineral oll M12x1.5
441 014 0820 200.0 bar 26 bar open Air, Water, Mineral oil M12x1.5
Directional control valve
2/2 Directional control valve (463 068 ... 0)
m Max. pressure 10.0 bar
m Portl, 2 M16x1.5 463 068 013 0
Pressure Nominal & )
Product number - - Temperature Mounting
Opening Closing Port 1 Port 2
463 068 0080 0.5 ... 115 bar 1.0 bar 8.0 mm 8.0 mm -25 ... +80 °C 2x @ 9.0 mm
463 068 0130 1.0 ... 1.73 bar 1.5 bar 8.0 mm 3.5 mm -31...+80°C 2x @ 10.5 mm




CONVENTIONAL BRAKING COMPONENTS

3/2 Directional control valve (434 205 ... 0)

Safety valve for handbrake valve (manually controlled)

Force: 70 N (7 bar)
Range: 5.0 mm

Function

m Actuation

m Port 2: exhausted if pressure < 4.0 bar

3: exhaust

= Mounting M26x1.5; (434 205 032 0: -)

4342050260 4342050270 4342050280 4342050300 4342050310

e Max. pressure Nominal @ Actuation Temperature Port
number
434 205026 0 10 bar @ 5.0 mm Push (M6) —-40 ... +80°C 1, 2: M12x1.5
434 205 027 0 10 bar @ 5.0 mm Push (knob) —-40 ... +80 °C 1, 2: M14x1.5
434 205028 0 10 bar - Push (M6) —-40 ... +80 °C 1, 2: M14x1.5
434 2050300 11 bar @ 5.0 mm Push (knob) —40 ... +80 °C 1, 2: M12x1.5
4342050310 10 bar @ 5.0 mm Push (M6) —-45 ... +80 °C 1, 2: M12x1.5
434 205032 0 10 bar — Push (M6) —-40 ... +80 °C 1: M12x1.5, M10x1; 2: M12x1.5
Repair solutions
Product number  Repair kit Content
m 4342050260 4342050012 Sealingring
m 4342050270 4342050012 Sealing ring
m 4342050280 4342050012 Sealingring
m 4342050300 4342050012 Sealingring

4342050310

434 205001 2

Sealing ring




3/2 Directional control valve - manually controlled (push)

m Type
m Actuation
= Knob
m Nominal @
m Comment

3/2
push
v

@ 4.0 mm; 463 012 000 O: —

D with hexagon nut SW 32
2 with washer

463 0131220

4630220210

463 012 0000 463 013 2000 563 020 000 0
e Temperature Max. pressure - Force - Port
number Actuating Holding

463 0120000 | —40 ... +80°C 8.0 bar - - 1, 2: M12x1.5; 3: exhaust
4630130120 | —40... +80°C 10.0 bar 70 N (7 bar) 52 N (7 bar) |1, 2, 3: M12x1.5
4630130140 | —-40... +80°C 10.0 bar 70 N (7 bar) 52 N (7 bar) |1, 2, 3: M12x1.5
463 0130250 | —-40 ... +80 °C 10.0 bar 70 N (7 bar) 52 N (7 bar) |1, 2, 3: M12x1.5
4630131100 | —40 ... +80°C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M12x1.5
4630131110 | —40 ... +80°C 10.0 bar 94 N (7 bar) 50 N (7 bar) |1, 2, 3: M12x1.5
4630131120 | —40...+80°C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M12x1.5 JED 152
4630131140 | —40 ... +80°C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M12x1.5 JED 152
463013 116 0V | —40 ... +80 °C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M12x1.5

463 013 117 02 | —40 ... +80 °C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M12x1.5
4630131220 | —-40 ... +80°C 8.5 bar 160 N (7 bar) - 1, 2, 3: M12x1.5
4630131240 | —40 ... +80°C 10.0 bar 90 N (7 bar) 65 N (7 bar) |1, 2, 3: M12x1.5
4630131260 | —40 ... +80°C 10.0 bar 94 N (7 bar) 50 N (7 bar) |1, 2, 3: M12x1.5 JED 152

463 013 128 0V | —40 ... +80 °C 10.0 bar 94 N (7 bar) 50 N (7 bar) |1, 2, 3: M12x1.5
4630131300 | —40 ... +80°C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1, 2, 3: M16x1.5 JED 388
4630132000 | —40 ... +80 °C 10.0 bar 91 N (7 bar) 83 N (7 bar) |1, 2: M16x1.5 JED 388; 3: M12x1.5
4630132100 | —40...+80°C 10.0 bar 90 N (7 bar) 48 N (7 bar) |1: M16x1.5; 21, 22, 3: M12x1.5
463 022 020 09| =40 ... +100 °C 10.0 bar 150 N (7 bar) - 1, 2: M10x1; 3: exhaust

463 022 021 07 | —40 ... +100 °C 10.0 bar 150 N (7 bar) - 1, 2: M10x1 JED 152; 3: exhaust
4630360240 | —25... +80° C 10.0 bar 70 N (11 bar) - 1, 2: M16x1.5; 3: M10x1
5630200000 | —25... +80 °C 10.0 bar 30/60 N (10 bar) - A, P1, R1: M10x1

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4630130120 4630130012 Valve m 4630131240 4630130042 Valve

m 4630130140 4630130012 Valve m 4630131260 4630130042 Valve

m 4630131100 4630130042 Valve m 4630131300 4630130042 Valve

m 4630131110 4630130042 Valve m 4630132100 4630130042 Valve

m 4630131120 4630130042 Valve m 4630220200 4630220012 Valve + boot

m 4630131140 4630130042 Valve m 4630220210 4630220012 Valve + boot

m 4630131160 4630130042 Valve

m 4630131170 4630130042 Valve

97



CONVENTIONAL BRAKING COMPONENTS

3/2 Directional control valve - manually controlled (turn)

m Type 3/2

m Actuation turn

m Locking function ¢

m Nominal @ @ 4.0 mm

m Accessory 8915005204 locking nut M28x1.5

463 036 000 0 463 036 008 0 463 036 010 0 463 036 016 0
Product number Temperature Max. pressure Knob Port
463 036 000 0 -25...+80°C 10 bar v 1, 2: M10x1; 3: exhaust
463 036 001 0 -25...+80°C 10 bar v 1, 2: M10x1; 3: exhaust
463 036 005 0 -25...+80°C 10 bar v 1, 2: M16x1.5 JED-388; 3: M10x1
463 036 008 0 —40 ... +80°C 11 bar v 1, 2: M12x1.5; 3: exhaust
463 036 010 0 -25...+80°C 10 bar - 1, 2: M16x1.5 JED-388; 3: M10x1
463 036 016 0* —40 ... +80 °C 10 bar (%4 1, 2: M16x1.5; 3: tappet
463 036 0180 -25...+80 °C 10 bar v 1, 2: M10x1; 3: exhaust
463 036 0250 -25...+80 °C 10 bar v 1, 2: M10x1 JED-388-1; 3: exhaust
463 036 026 0 —-40 ... 480 °C 10 bar - 1, 2: M12x1.5; 3: exhaust
463 036 027 0 25 ... +80 °C 10 bar — 1, 2: M10x1; 3: exhaust
* with hexagon nut SW 32
4/2, 4/3 Directional control valve (463 037 ... 0)
m Function manually controlled
m Locking function v
m Actuation Turn
m Accessory 8915005204 locking nut M28x1.5 463 037 001 0
Ir:[]?r?llnjgrt' Type Temperature | Max. pressure | Nominal @ Knob Port
463 037 0000 4/3 -25...+80° C 10 bar @ 4.0 mm - 1, 21, 22: M10x1; 3: exhaust
463 037 001 0 4/3 -25 ... +80° C 10 bar @ 2.5 mm - 1, 21, 22: M10x1; 3: exhaust
463 037 0030 4/3 -25 ... +80°C 10 bar @ 2.5 mm - 1,21, 22: M10x1; 3: @ 9.8
463 037 0040 4/3 —25 ... +80°C 10 bar @ 4.0 mm (4 1, 21, 22: M10x1; 3: exhaust
463 037 0060 4/3 —40 ... +80°C 12 bar @ 4.0 mm v 1, 21, 22: M12x1.5; 3: M10x1
463 037 007 0 4/3 —40 ... +80°C 12 bar @ 4.0 mm v 1, 21, 22: M12x1.5; 3: M10x1
463 037 1100 4/2 —40 ... +80°C 10 bar @ 3.0 mm v 1, 21, 22: M12x1.5; 3: M10x1
463 037 111 0 4/2 —40 ... +80°C 12 bar @ 3.0 mm - 1, 21, 22: M12x1.5; 3: M10x1
463 037 2000 4/3 -25 ... +80°C 10 bar @ 4.0 mm - 1, 21, 22: M16x1.5; 3: M10x1
463 037 201 0 4/3 —25 ... +80°C 10 bar @ 2.5 mm - 1, 21, 22: M16x1.5; 3: M10x1
463 037 2020 4/3 —40 ... +80°C 11 bar @ 4.0 mm - 1, 21, 22: M12x1.5; 3: M10x1
98



Repair solutions

Product number  Repair kit Content

m 4630370000 4630370002 Sealingring
m 4630370010 4630370002 Sealingring
m 4630370030 4630370002 Sealingring
m 4630370040 4630370002 Sealingring
m 4630370060 4630370012 Sealingring
m 4630370070 4630370012 Sealingring
m 4630371100 4630370012 Sealingring
m 4630372000 4630370012 Sealingring
m 4630372010 4630370012 Sealingring

Directional control valve
(463079 ...0/571040...0)

m Function pneumatically controlled
= Max.pressure 10 bar 463 079 002 0 571 040 000 0
Pressure
el Type - Temperature Port
number Supply Pilot
463079002 0 | Slide valve (4/2) Sbar | 3..10bar | —20 ... +150 °C |2 4L 42 M10x1; 21, 22: @ 7 mm;
3: exhaust
463 079 003 0 |Slide valve (4/2) 5 bar 2 .. 5bar |=20.. +150°c |14 4L M10x1;21,22: @ 7 mm;
3: exhaust
463 079 012 0 | Spring returned (3/2) - 3...10bar | -15... +80°C |A, P1, R1: M14x1.5; Z: M10x1
463 079 030 0 | Spring returned (5/2) - 3...10bar | -25...+80°C |A,B, S, P, R: @ 16 mm; Z: M10x1
463 079 031 0 |Slide valve (5/2) - 2..10bar | -25...+80°C |A,B,S,P,R: @16 mm; Y, Z: M10x1
571 040 000 O | Spring returned (3/2) - 3...10bar | =25 ... +80 °C |1, 2, 3: M14x1.5; Z: M10x1




CONVENTIONAL BRAKING COMPONENTS

Quick release valve

m Temperature

-40 ... +80°C

m  Max. pressure Air:

= Mounting

m Distance between

holes

Service:
Supply:

air pressure inlet
service pressure
supply pressure

2x @ 9.5 mm

973 500 030 0: 2x @ 11.0 mm

38 mm

973 500 030 0: 85 mm

4735012030

Product
number

Equipped with

973500028 0

Max. pressure

9735000450

973500059 0

Port

473 501 000 0
473501 001 0
4735010040

473 501 005 0

4735012010
473501 2020
4735012030
973 500 003 0
973 500 006 0
9735000140
973 500 018 0
973 500 028 0
973500 0300
973500031 0
9735000340
973 500 039 0
973 500 042 0
973500 044 0

973500 0450
973 500 047 0
973 500 053 0

973 500 057 0

973 500 059 0
973500 104 0
9735001050
973 500 106 0

bypass
double check valve
double check valve

bypass

double check valve
fording ability

integrated double cut-
off valve

integrated double cut-
off valve

10.0 bar (Supply)
10.0 bar (Service)
10.0 bar (Air)

10.0 bar (Supply)

10.0 bar (Service)
10.0 bar (Service)
10.0 bar (Service)
10.0 bar (Service)
10.0 bar (Service)
10.0 bar (Service)
10.0 bar (Service)
12.0 bar (Air)

10.0 bar (Service)
12.0 bar (Air)

12.5 bar (Air)

12.0 bar (Air)

12.5 bar (Supply)
12.0 bar (Supply)

12.0 bar (Supply)
10.0 bar (Supply)
12.0 bar (Supply)

12.0 bar (Supply)

12.5 bar (Air)
10.0 bar
10.0 bar
10.0 bar

1, 3: M22x1.5 JED-152; 2: 2x M22x1.5 JED-152
1, 3: M22x1.5; 2: 2x M22x1.5
1, 3: M22x1.5; 2: 2x M22x1.5

1: M22x1.5 JED-152; 2: 2x M22x1.5 JED-152; 3: silencer
432 407 060 0

1, 3: M22x1.5; 2: 2x M22x1.5

1, 3: M22x1.5; 2: 2x M22x1.5

1, 3: M22x1.5; 2: 2x M22x1.5

1, 3: G%" J (NFE03004); 2: 2x G%" J (NFE03004)
1, 3: M16x1.5 JED-464; 2: 2x M16x1.5 JED-464
1: 15" PTF; 2: 2x %" NPTF; 3: %" NPTF

1, 3: M22x1.5; 2: 2x M16x1.5

1, 21, 22: M22x1.5; 3: exhaust

1, 2: M16x1.5; 3: open

1, 21, 22: M22x1.5; 3: exhaust

1, 21, 22: M22x1.5 JED-388; 3: exhaust

1, 3: M22x1.5 JED-464; 2: 2x M22x1.5 JED-464
1, 21, 22: M22x1.5 JED-388; 3: M22x1.5 JED-152
1, 3: M22x1.5 JED-464; 2: 2x M22x1.5 JED-464

1: M22x1.5 JED-464; 2: 2x M22x1.5 JED-464; 3: silencer
432 407 0600

1: M22x1.5; 2: 2x M16x1.5; 3: M16x1.5

11, 12: M16x1.5; 2: 2x M16x1.5; 3: silencer 432 407 060 O

11, 12, 3: M16x%1.5; 22: M16x1.5

1, 21, 22: M22x1.5 JED-388; 3: silencer 432 407 070 0
1: 15"-14 NPTF; 2: 2x special flange; 3: exhaust
1: ¥5"-14 NPTF; 2: 2% special flange; 3: exhaust
1: ¥5"-14 NPTF; 2: 2x special flange; 3: exhaust

100




Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

4735010050
473501 2020
9735000280
9735000310
9735000340

473501920 2
973 500 000 2
973500001 2
973500001 2
973500001 2

Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm

Piston operating cylinder

973500 0530
9735000590
9735001050
973500106 0

973 500 004 2
973 500 004 2
973500001 2
973500001 2

Diaphragm
Diaphragm
Diaphragm
Diaphragm

Piston operating cylinder - single acting (421 410 ... 0)
m Diameter @ 35 mm
421 410 025 0: @ 30 mm
m Max. pressure 8.0 bar
421 410 039 0, 421 410 079 0: 10.0 bar
m Boot equipped 421 410 054 0, 421 4100590
m Comments 9 External stop for push-rod
)
2 QOutput force at max. stroke / Inlet pressure 421 410 041 0
I;Lc;;itl:g: Length | Stroke | Push-rod Stop? | Temperature Force? Wrench Inlet port
421 4100200 | 172 mm |45.0 mm M8 - —40... +80°C | 120N/ 4.5 bar 34 mm for hose 5x3
421 4100230 | 153 mm | 25.0 mm M6 - —40... +80°C | 240 N/ 4.5 bar 19 mm for hose 5x3
4214100250 | 106 mm |25.0 mm | @6 H11 - —40... +80°C | 229 N/ 4.5 bar 19 mm M10x1
421 4100340 | 107 mm | 25.0 mm M8 - —20... +80°C | 203 N/ 4.5 bar 19 mm M10x1
421 4100350 | 107 mm | 25.0 mm M8 - —20... +80°C | 244 N/ 4.5 bar 19 mm M10x1
421 4100390 | 106 mm | 25.0 mm M8 - —40... +80°C | 240 N/ 4.5 bar 19 mm M10x1
4214100410 | 162 mm |45.0 mm M8 v —40... +80°C | 120N/ 4.5 bar 34 mm M10x1
421 4100520 | 120 mm | 25.0 mm M6 - —40... +80°C | 240N/ 4.5 bar 19 mm for hose 5x3
421 4100540 | 172 mm | 45.0 mm M8 v —40... +80°C | 120N/ 4.5 bar - for hose 5x3
421 4100590 | 153 mm | 30.0 mm M6 - —25...+120 °C | 170 N/ 4.5 bar - M10x1
4214100600 | 143 mm | 25.0 mm M6 - —40... +80°C | 240N/ 4.5 bar 19 mm M10x1
421 410066 0 | 172 mm | 45.0 mm M8 v —40... +80°C | 120 N/ 4.5 bar 34 mm M10x1
421 4100720 | 106 mm | 25.0 mm M8 - -20... +80°C 94 N/ 4.5 bar 19 mm M10x1
421 4100750 | 122 mm | 32.0 mm M8 - —25...+120°C | 170 N/ 4.5 bar 19 mm M10x1
421 410078 0 | 150 mm | 55.0 mm M8 (4 -35... +80°C | 100 N/ 6.0 bar 34 mm M10x1
421 4100790 | 152 mm | 56.5 mm M8 v —40... +80°C | 190 N/ 4.5 bar 9 mm M12x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4214100200 4214100012  Sealingring m 4214100520 4214100012  Sealingring
m 4214100230 4214100012  Sealingring m 4214100540 4214100012  Sealingring
m 4214100250 4214100012  Sealing ring m 4214100600 4214100012  Sealingring
m 4214100390 4214100012  Sealingring m 4214100660 4214100012  Sealing ring
m 4214100410 4214100012  Sealingring m 4214100750 4214100012  Sealingring

101




CONVENTIONAL BRAKING COMPONENTS

Piston operating cylinder - single acting (421 41. ... 0)

Max. pressure

Boot equipped

10.0 bar

421 411 500 0, 421 411 501 0: 12.0 bar

421 411 070 0, 421 412 0000
External stop for ¢

push-rod
m Inlet port M12x1.5
421 411 305 0: ¥4"-18 NPTF
)

m Comments D Qutput force at max. stroke / Inlet pressure 421 411 021 0 421 411 316 0
FrEeE] Length (] Stroke Push-rod Temperature Force? Wrench
number

4214110210 185.0 mm 40 mm 65 mm M8 —40... +80°C | 223 N /5.0 bar 40 mm
4214110310 | 228.0 mm 40 mm 85 mm M8 —40... +80°C | 110 N/ 4.5 bar 9 mm
4214110350 | 193.0 mm 40 mm 50 mm M8 —40... +80°C | 360 N /6.5 bar 9 mm
421 411 0650 | 228.0 mm 40 mm 85 mm M8 —40... +80°C | 145N/ 4.5 bar 9 mm
421 4110700 155.0 mm 40 mm 38 mm @ 8 H11 —40... +80°C | 270 N/ 6.0 bar 13 mm
421411094 0 159.0 mm 40 mm 50 mm M12 —40... +80°C | 240 N/ 4.5 bar 40 mm
421 4113000 | 228.0 mm 43 mm 85 mm M12 —25...+120°C | 145N/ 4.5 bar 10 mm
421 411301 0 187.0 mm 43 mm 78 mm M8 —25...+140 °C | 120 N/ 4.5 bar 9 mm
421 4113020 | 233.0 mm 43 mm 85 mm M12x1.5 —25...+120°C | 145N/ 4.5 bar 10 mm
421 411 304 0 248.0 mm 43 mm 85 mm @ 8 H11 —40... +80°C | 145N /4.5 bar 9 mm
421 411 3050 180.0 mm 43 mm 54 mm M8 —25...+120°C | 130N /4.5 bar 9 mm
421 411 3060 | 227.0 mm 43 mm 85 mm M8 —40... +80°C | 145N/ 4.5 bar 9 mm
4214113110 187.0 mm 43 mm 73 mm M8 —25...+140°C | 20N /4.5 bar 9 mm
421 411 3140 | 180.0 mm 43 mm 60 mm M8 —25...+120°C | 230 N/ 4.5 bar -

4214113150 | 180.0 mm 43 mm 54 mm M8 —25...+120°C | 130 N/ 4.5 bar 9 mm
4214113160 | 180.0 mm 43 mm 60 mm M8 —25...+120°C | 230 N/ 4.5 bar -

421 4115000 | 166.5mm 55 mm 53 mm M10 —25...4#190 °C | 1075 N /6.5 bar -

4214115010 | 166.5 mm 55 mm 20 mm M10 —25...4190°C | 9.4 N /0.5 bar -

421 4120000 | 221.0 mm 55 mm 65 mm M12x1.5 —40... +80°C | 410 N/ 4.5 bar 10 mm

Repair solutions

Product number  Repair kit Content

m 4214110210 4219010012 Guide piece

m 4214110310 4219010012 Guide piece

m 4214110350 4219010012 Guide piece

m 4214110650 4219010012 Guide piece

m 4214110940 4219010012 Guide piece

m 4214120000 4214120002 Boot

102




Piston operating cylinder - single acting (42142....0,42144....0)
m External stop for ¢
push-rod 421 429 003 0, 421 444 020 0: —
m Inlet port M12x1.5
421 425 010 0O: for hose 5x3
421 425 011 0: for pipe @6 mm DIN 3901
421 429 002 0, 421 429 006 0, 421 445 000 0: M10x1
m Comments 9 Output force at max. stroke / Inlet pressure
\ 4
421 4250100 4214250110 421 4290030 421 4440200 421 4450000
T LE] Length Stroke Push-rod Temperature T Force? Wrench
number pressure
421 4250100 150.0 mm | 31.0 mm 48 mm M8 -25...+120 °C 8.0 bar 59 N /6.0 bar -
421 4250110 | 150.0 mm |31.0 mm 48 mm M8 —25...+120 °C 8.0 bar 59 N /6.0 bar -
421 427 002 0 90.0 mm | 25.0 mm 28 mm @ 4 mm -25... +80°C 7.0 bar 133 N/ 7.0 bar -
421 427 003 0 90.0 mm | 25.0 mm 28 mm @4 mm -25... +80 °C 7.0 bar 186 N / 7.0 bar -
421 429 002 0 179.0 mm | 41.0 mm 70 mm M8 -30... +80° C 10.0 bar 140 N/ 5.5 bar -
421 429 003 0 171.4 mm |33.0 mm 48 mm M8 —25...+140 °C 8.5 bar 70 N /5.5 bar —
421 429 006 0 179.0 mm | 41.0 mm 41 mm M8 -30... +80° C 10.0 bar 194 N /5.5 bar -
421 442 0000 | 163.0 mm |40.0 mm 40 mm M8 -35... +80°C 8.0 bar 196 N / 6.0 bar 9 mm
421 442 008 0 193.0 mm |40.0 mm 40 mm M8 -30...+125 °C 8.0 bar 10 N /6.0 bar 9 mm
421 442 0130 168.0 mm |40.0 mm 40 mm M8 -35... +80 °C 11.2 bar 10 N/ 6.0 bar 9 mm
421 442 017 0 168.0 mm |40.0 mm 40 mm M8 -30... +80° C 11.2 bar 10 N /6.0 bar 9 mm
421 4420180 | 226.0 mm |40.0 mm 60 mm M8 -35... +80°C 8.0 bar 10N/6.0bar | 9 mm
421 444 0200 112.0 mm | 24.0 mm —15 mm M14x1.5 —35...+100 °C 10.0 bar - -
421 4450000 | 156.5mm |36.5mm 52 mm M8 —40...+120 °C 10.0 bar 55 N /4.5 bar -
Repair solutions
Product number  Repair kit Content
m 4214270020 4214270002 Guide piece
m 4214270030 4214270002 Guide piece
m 4214420000 4214420002 Rod wiper
m 4214420130 4214420002 Rod wiper
m 4214420170 4214420002 Rod wiper
m 4214420180 4214420002 Rod wiper

103




CONVENTIONAL BRAKING COMPONENTS

Piston operating cylinder - double acting

m Temperature -35...+80 °C
m  Max. pressure 8.0 bar
m Diameter @ 40 mm
m Wrench 13 mm
m Push-rod M8
m Inlet port M12x1.5 421 441 020 0
Spring force at stroke
Product . . .
Length Stroke Compression Expansion Mounting
number
Min. 0mm 0mm Max.
421 441 0030 172 mm -32/+50 mm 324 N 68 N 6.8 N 16 N M8 female
Ball socket B10
421 441 0200 162 mm -32/0 mm 324 N 68 N - - DIN 71805
421 441 0220 265 mm -55/0 mm 360N 100 N - - M8 female
Ball socket B10
421 441 0600 187 mm —40 / +40 mm 324 N 68 N 8.0N 16 N DIN 71805

Repair solutions

Product number  Repair kit Content

m 4214410030 4214410002 Rod wiper
m 4214410200 4214410002 Rod wiper
m 4214410600 4214410002 Rod wiper

Silencer

Silencer (432 407 ... 0,899 470 ... 0)

m Temperature —-40 ... +80 °C

432 407 0120 432 407 0150 432 407 050 0 432 407 0600 432 407 0700
Rl Application Max. (0] Port O-ring
number pressure

432 407 012 0 |Air dryer 18.5 bar 87 mm shap-on (clamp) 897 086 470 4
432 407 015 0 |Air dryer 18.5 bar 87 mm snap-on (sawtooth) (4
432 407 016 O | Air dryer 13.0 bar 87 mm snap-on (sawtooth) v
432 407 018 0 | Air dryer 13.0 bar 87 mm shap-on (retaining ring) -
432 407 050 0 |Braking devices 11.0 bar 69 mm Bayonet v
432 407 060 0 Ercyérs devices, Braking devices, Al | 130 par | 69mm |M22x15 =

104




e Application Max. (0] Port O-ring
number pressure
432 407 070 0 |e.g. relay valves 11.0 bar 69 mm shap-on (retaining ring) -
899 470 319 09 | Air dryer 13.0 bar 87 mm snap-on (retaining ring) v
899 470 332 02 | Air dryer 13.0 bar 87 mm snap-on (retaining ring) (4
D Silencer 432 407 016 0 + PA tube (880 mm)
2 Silencer 432 407 016 0 + PA tube (130 mm)
Silencer (532 40. ... 0)
m Temperature —40 ... +80 °C
532401 ...0:-25 ... +80 °C e
m Max. pressure 10 bar 532 400 117 0
L Dimensions )
Product number Application Mounting
Hole @ Outer Inner Wrench
532400111 0 Pressure control valve 6.0 mm 18.0 mm 6.0 mm 13 mm M10x1.0
532400 112 0 Air dryer 8.5 mm 25.0 mm 8.0 mm 17 mm M14x1.5
532400 1170 Solenoid valve 8.5 mm 25.0 mm 8.0 mm 17 mm M12x1.5
532401 1100 Pressure regulator - 16.5 mm 5.5 mm - R %"
5324011110 Solenoid valve - 20.0 mm 71 mm - R ¥4"
Solenoid
m \Voltage 24V
m Electrical connection 9 Bayonet DIN 72585 A2-2.1-Sn/K1
4420191151 442 0191351 442 0191651
Product . Max. Electrical | Nominal @ : Distance
Function . Temperature Mounting between Port 1
number pressure | connection (port 1) holes
442 016 112 0 closed 13 bar M24x1 0.7 mm —40... +65°C | 4x 7.0 mm | 38x42 mm 12H9
442 016 118 0 closed 10 bar M24x1 0.7 mm —40... +65°C | 4x 6.5 mm | 36x42 mm 12H9
442 019 1151 closed 13 bar M24x1 0.7 mm —40... +65°C | 3x6.5mm | 38x42 mm 12H9
442 019 1351 closed 13 bar 0.7 mm —40... +65°C | 3x 6.5 mm | 38x42 mm 12H9
442019 1651 closed 13 bar Bayonet? 0.7 mm —40... +65°C | 4x6.5mm | 36x42 mm 12H9
442 022 106 0 10 bar M27x1 2.2 mm —40...+100 °C M26x1.5
442 022 108 0 10 bar M27x1 2.2mm —40...+100 °C M26x1.5
442 025 108 0 10 bar M27x1 4.0 mm —20... +70 °C M26x1.5
442 026 102 1 closed 10 bar 1.2 mm —-20...+100 °C M26x1.5
442 043 102 1 closed 13 bar M27x1 1.0 mm —40... +80°C 12H9

105




CONVENTIONAL BRAKING COMPONENTS

Solenoid valve

Solenoid valve - open

m Function normally open

m Electrical 9 EN 175301-803-A/ISO 4400 (formerly DIN 43650/A)
connection 2 Bayonet DIN 72 585 A1-2.1-Sn/K1
9 Bayonet DIN 72 585 A1-2.1-Sn/K2
4 Bayonet DIN 72 585 A1-3.2-Sn/K1
5 Tyco HDSCS Cod. B C-114-18739-1 (Index C)

472 125 707 0 4721717260 4721732260 4721737000 472176 316 0
ELOr:tl)“e:: Max. pressure Né?g;?)ll)g Voltage clcz)lrfr::;:fizln Temperature Port

4721020400 8 bar 2.6 mm 10.8/28.8 V|EN?Y —40... +70°C |1, 2: M12x1.5
472 106 1080 10 bar 2.0 mm 24V M27x1 —40...+100 °C |1: 2x M12x1.5; 2: M12x1.5
472 125707 0 8 bar 4.0 mm 12V M27x1 —20... +70°C |1, 2: M12x1.5
472 171 000 O 13 bar 2.2 mm 24 V M27x1 —40...+100 °C |1: M14x1.5; 2: M12x1.5
472 171 336 0 13 bar 2.2 mm 24V Bayonet® —-40...+100 °C |1, 2: M16x1.5 JED-388
472 171 428 0 16 bar 2.2 mm 24V Bayonet® —40...+100 °C |1: M10x1; 2: M12x1.5
472 1717000 13 bar 2.2 mm 24V M27x1 —-40...+100 °C |1, 2: M12x1.5
472 171 704 0 16 bar 2.2 mm 24V Bayonet —40...+100 °C |1, 2: M12x1.5
472 171706 0 16 bar 2.2 mm 24V Bayonet? —40...+100 °C |1, 2: M12x1.5
472 171726 0 16 bar 2.2 mm 24V Bayonet? —40...+100 °C |1, 2: M12x1.5
472 173001 0 13 bar 4.0 mm 24V Tyco® —40... +80°C |1, 2: V16x1.5 JED-388
472 173 002 0 13 bar 4.0 mm 24V Tyco® —40... +80°C |1, 2: V16x1.5 JED-388
472 173011 0 13 bar 4.0 mm 12V Tyco® —40... +80°C |1, 2: V16x1.5 JED-388
472 173 204 0 13 bar 4.0 mm 24V Bayonet —-40... +80°C |1, 2: M12x1.5
472173206 0 13 bar 4.0 mm 24V Bayonet® —-40... +80 °C |[1: V12x1.5; 2: M12x1.5
472 173 226 0 13 bar 4.0 mm 24V Bayonet?® —-40... +80°C |1, 2: M12x1.5
472 173286 0 13 bar 4.0 mm 24V Bayonet?® —40... +80°C |1, 2: M12x1.5 JED-464
472 173 316 0 13 bar 4.0 mm 24V Bayonet® —40... +80°C |1, 2: M16x1.5 JED-388
472 173428 0 13 bar 4.0 mm 24V Bayonet® —40... +80 °C |1: M10x1; 2: M12x1.5
472 173 700 0 13 bar 4.0 mm 24V M27x1 —40... +80°C |1, 2: M12x1.5
4721737010 13 bar 4.0 mm 12V M27x1 —-40... +80°C |1, 2: M12x1.5
472 173 703 0 13 bar 4.0 mm 12V M27x1 —40... +80°C |1, 2: M12x1.5
472 173704 0 13 bar 4.0 mm 24V Bayonet —40... +80°C |1, 2: M12x1.5
472 175 424 0 16 bar 4.0 mm 24V Bayonet —40... +80 °C |1: M10x1; 2: M12x1.5
472 175426 0 16 bar 4.0 mm 24V Bayonet? —40... +80 °C |1: M10x1; 2: M12x1.5
472 176 316 0 13 bar 4.0 mm 24V Bayonet? —40... +80 °C |1, 2: M16x1.5 JED-388
472176 916 0 13 bar 4.0 mm 24V Bayonet® —40... +80°C |1, 2: M16x1.5 JED-388
472 178 424 0 16 bar 2.2 mm 24V Bayonet —40...+100 °C |1: M10x1; 2: M12x1.5
472 178 426 0 16 bar 2.2 mm 24V Bayonet? —40...+100 °C |1: M10x1; 2: M12x1.5
572 740 022 0 10 bar 7.0 mm 24V ENY -15... +50°C
577 602 022 0 10 bar 7.0 mm 24V ENY -25... +50°C |1, 2: M14x1.5

106




Repair solutions

Product number

Repair kit

Content

m 4721730110
m 4721763160

472 170920 2
472 170920 2

Solenoid valve - closed

m Function

m Electrical
connection

normally closed

Exhaust cap

Exhaust cap

D EN 175301-803-A/ISO 4400 (formerly DIN 43650/A)
2 Bayonet DIN 72 585 A1-2.1-Sn/K1
9 Bayonet DIN 72 585 A1-2.1-Sn/K2

® Tyco HDSCS Cod. A C-114-18739-1 (Index C)
® Tyco HDSCS Cod. C C-114-18739-1 (Index C)

)

)

)
% Bayonet DIN 72 585 A1-3.2-Sn/K1
)

)

)

” Tyco HDSCS Cod. A C-114-18743 (Index C)

4720703390

472 072 628 0

4720726390

472 1231070

884 5018370

I;Lc::gg: Max. pressure Né?g;?;)g Voltage cil:r?:!fizln Temperature Port
442 207 9080 10.0 bar 2.2 mm 24V M27x1 —40...+100 °C |1: M14x1.5; 3: M26x1.5
472 0703390 13.0 bar 4.0 mm 24V Bayonet?® —40... +80°C |1, 2, 3: M16x1.5 JED-388
472 070 600 0 13.0 bar 4.0 mm 24V M27x1 —40... +80°C |1, 2: M12x1.5
472 070 628 0 13.0 bar 4.0 mm 24V Bayonet® —40...+4100 °C |1: 3x M12x1.5; 2: M12x1.5
4720706390 13.0 bar 4.0 mm 24V Bayonet® —40... +80°C |1, 2: M16x1.5 JED-388
472 0720220 13.0 bar 2.2 mm 24V Tyco? —40... +80°C |1, 2: V16x1.5 JED-388
472 072 628 0 12.5 bar 2.2 mm 24V Bayonet? —-40...4100 °C |1: 3x M12x1.5; 2: M12x1.5
472 0726390 13.0 bar 2.2 mm 24V Bayonet® —40... +80°C |1, 2: M16x1.5 JED-388
472 123107 0 10.0 bar 2.2 mm 12V M27x1 —40...+100 °C |1, 2: M12x1.5
472 123 109 0 19.0 bar 2.2 mm 24V M27x1 —40... +80 °C |1, 2: M12x1.5; 3: M14x1.5
472 1231420 10.0 bar 2.2 mm 24V ENY —40...+100 °C |1, 2: M12x1.5
472 127 1400 8.5 bar 2.2 mm 12/24V |EN? —40... +70°C |1, 2: M12x1.5
4721291110 10.0 bar 2.2 mm 12V M24x1 —-40...+100 °C |1, 2: M12x1.5
472 132 198 0 10.0 bar 2.2 mm 24V Bayonet —40...+100 °C |1, 2: M12x1.5
4721351110 10.0 bar 2.2 mm 12V M24x1 —-40...+100 °C |1, 2: ¥"-18 NPTF
472 137 1320 11.0 bar 4.0 mm 24V Volvo —40... +80°C |1, 2: M12x1.5
472 170001 0 13.0 bar 4.0 mm 24V Tyco® —40... +80°C |1, 2: V16x1.5 JED-388
472 170 012 0 13.0 bar 4.0 mm 122V Tyco® —40... +80°C |1, 2, 3: V16x1.5 JED-388
4721700800 13.0 bar 4.0 mm 24V Tyco® —40... +80°C |1, 2, 3: V16x1.5 JED-388
472 170 226 0 11.0 bar 4.0 mm 24V Bayonet? —40... +80°C |1, 2, 3: M12x1.5
472 170 6000 13.0 bar 4.0 mm 24V M27x1 —40... +80°C |1, 2: M12x1.5
472 170 601 O 13.0 bar 4.0 mm 12V M27x1 —40... +80°C |1, 2: M12x1.5
472 170604 0 13.0 bar 4.0 mm 24V Bayonet —40... +80 °C |1, 2: M12x1.5
472 170 606 0 13.0 bar 4.0 mm 24V Bayonet? —40... +80°C |1, 2: M12x1.5
472 170616 0 13.0 bar 4.0 mm 24V Bayonet?® —40... +80°C |1, 2: M16x1.5 JED-388
472 170 636 0 13.0 bar 4.0 mm 24V Bayonet® —40... +80°C |1, 2: M16x1.5 JED-388

107



CONVENTIONAL BRAKING COMPONENTS

I;Lc::tl:g: Max. pressure N(ZT;Z?;)QJ Voltage clcz)l:r?::rclfiiln Temperature Port

472 170 6370 13.0 bar 4.0 mm 12V |Bayonet? _40... +80°C |1, 2: M16x1.5 JED-388
472 170 667 0 13.0 bar 4.0 mm 12V |Bayonet? _40... +80°C |1,2: %18 NPT
472 170 686 0 13.0 bar 4.0 mm 24V |Bayonet? _40... +80°C |1, 2: M12x1.5 JED-464
472 170 700 0 13.0 bar 4.0 mm 24V |M27x1 —40... +80°C |1, 2: M12x1.5
472 170 790 0 13.0 bar 4.0 mm 24V |M27x1 —40... +80°C |1: M12x1.5: 2: 14.5 mm
472 170 867 0 13.0 bar 4.0 mm 12V |Bayonet? _40... +80°C é i.,i/g;lﬁpNTPT;

o |1, 2: 18 NPT
472 170 990 0 13.0 bar 4.0 mm 24V |M27x1 ~40... +80°C |3 L o7 NPT

o |1, 2: w18 NPT
472 170 991 0 13.0 bar 4.0 mm 12V |M27x1 ~40... +80°C |3 L o7 NPT
472 170 996 0 13.0 bar 4.0 mm 24V |Bayonet —40... +80°C % i.,i/é;lﬁpNTPT;
472 172 001 0 13.0 bar 2.2 mm 24V |Tyco? ~40... +80°C |1, 2: V16x1.5 JED-388
472 172 007 0 13.0 bar 2.2 mm 24V |Tyco? ~40... +80°C |1, 2: V16x1.5 JED-388
472 172 011 0 13.0 bar 2.2mm 24V |Tyco? —40... +80°C |1, 2, 3: V16x1.5 JED-388
4721720210 13.0 bar 2.2 mm 24V |Tyco? _40... +75°C |1, 2: V16x1.5 JED-388
472 172 600 0 12.5 bar 2.2 mm 24V |M27x1 _40..+100 °C |1, 2: M12x1.5
472 172 604 0 12.5 bar 2.2mm 24V |Bayonet _40..+100 °C |1, 2: M12x1.5
472 172 606 0 12.5 bar 2.2 mm 24V Bayonet? —40...+100 °C |1, 2: M12x1.5
472 172 6200 12.5 bar 2.2mm 24V |M27x1 —40...+100 °C |1, 2: M12x1.5
472 172 626 0 12.5 bar 2.2mm 24V |Bayonet? ~40...+#100 °C |1, 2: M12x1.5
472 172 686 0 12.5 bar 2.2 mm 24V |Bayonet? —40...4100 °C |1, 2: M12x15
472 172 7040 12.5 bar 2.2 mm 24V |Bayonet ~40...4100 °C |1, 2, 3: M12x1.5
472172 7240 12.5 bar 2.2mm 24V |Bayonet ~40..+100 °C |1, 2, 3: M12x15
472172726 0 12.5 bar 2.2mm 24V |Bayonet? ~40...4100 °C |1, 2, 3: M12x1.5
472 172 784 0 12.5 bar 2.2mm 24V |Bayonet —40...+100 °C |1, 2, 3: M12x1.5
472 172 786 0 12.5 bar 2.2 mm 24V |Bayonet? ~40...4100 °C |1, 2, 3: M12x1.5
472 172 901 0 13.0 bar 2.2 mm 24V |Tyco? _40... +80°C |1, 2: V16x1.5 JED-388
472 174500 0 13.0 bar 4.0 mm 24V |M27x1 _40... +80°C |1, 2: M12xL5
472 174504 0 13.0 bar 4.0 mm 24V Bayonet —40... +80°C |1, 2: M12x1.5
472 174 524 0 13.0 bar 4.0 mm 24V Bayonet —-40... +80°C |1, 2: M12x1.5
472 174 597 0 17.0 bar 3.7 mm 12V Bayonet? —30... +65°C |1: Voss 8x1; 2: Voss 6x1
472 180 002 0 13.0 bar 4.0 mm 24V |Tyco® _40... +80°C |1, 2: V16x1.5 JED-388
472 2231080 10.0 bar 2.2 mm 24V |2x M27x1 —40..+100 °C |1, 21, 22: M12%1.5
472 270 600 0 13.0 bar 4.0 mm 24V |2x M27x1 _40... +80°C |1, 21, 22: M12xL5
4722799060 |  13.0 bar 4.0 mm 24V |2xBayonet? | —40... +70°C %1\/;;3\}5;185)(1
472 899 005 0 8.1 bar 1.2 mm 12V |EN® —40... +80°C |1,2: %" NPT
472 899 006 0 10.0 bar 2.4 mm 12V |EN? —40... +80°C |1,2: %" NPT
472 899 008 0 8.1 bar 1.2 mm 24V |ENY _40... +80°C |1, 2: M12xL5
472 899 009 0 8.1 bar 1.2 mm 12V |EN? —40... +80°C |1, 2: M12xL5

1,12, 2, 21: M22x1.5
474 200 001 0 20.0 bar 2.0 mm 24V |Bayonet? _40... +80°C |Voss-232; 11: M16xL.5
Voss-232

577 202 022 0 10.0 bar 7.0 mm 24V |ENY _25... +50°C |1, 2, 3: M14x1.5
884 501 096 0 10.0 bar 2.2mm 24V |M24x1 ~40...+4100 °C |1, 2: M12x15
884 501 634 0 10.5 bar 1.2 mm 12V |[2xENY —40... +80 °C iiz'\D/'_Z;gg'S; 20 MI16xL5
8845018370 |  10.5 bar 1.2mm 24V |ENY —40... +80°C | T M22xLS 2 MIOS
8845019400 |  10.5 bar 1.2 mm 24V |2xENY ~40... +80°C | T MA2HLS 2 MIOLS

108




e Max. pressure O Voltage Electrlqal Temperature Port
number (supply) connection
1: M22x1.5; 2: M16x1.5
1) _ o ,
884 501 997 0 10.5 bar 1.2 mm EN 40... +80 °C JED-388
884 502 864 0 10.0 bar 3.0mm M24x1 —40... +80 °C |11, 12, 2: M12x1.5
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

m 4720706000
m 4720706280
m 4720726280
m 4721231070
m 4721231420
m 4721321980
m 4721351110
m 4721700010
m 4721706000
m 4721706040

472 170920 2
472 170920 2
472 170920 2
472 123 000 2
472 123 000 2
472 123 000 2
472 123 000 2
472 170920 2
472 170920 2
472 170920 2

Exhaust cap
Exhaust cap
Exhaust cap
Solenoid armature
Solenoid armature
Solenoid armature
Solenoid armature
Exhaust cap
Exhaust cap

Exhaust cap

m 4721706060
m 4721706160
m 4721706360
m 4721726000
m 4721726040
m 4721726060
m 4721726200
m 4721726260
m 4722231080
m 4722706000

472 170920 2
472 170920 2
472 170920 2
472 170920 2
472 170920 2
472 170920 2
472 170920 2
472 170920 2
472 123 000 2
472 170920 2

Exhaust cap
Exhaust cap
Exhaust cap
Exhaust cap
Exhaust cap
Exhaust cap
Exhaust cap

Exhaust cap

Solenoid armature

Exhaust cap

109




Alr quality matters

Air dryer cartridges from WABCO offer the most reliable
protection for air brake systems. Designed to the highest
quality standards, they are engineered to keep air brake
systems operating at optimum levels of performance,
helping to ensure vehicles stay on the road and out of the
maintenance bay.

www.wabco-customercentre.com




Anti-lock braking system (ABS)

ABS electronic control unit (ECU)

m \oltage 24V
12 V: 446 003 832 0, 446 004 610 0, 446 004 621 0,
446 004 6530

m Accessories 826 000 066 3 ABS-Label
894 0000152 Cover
8945900810 Cable with plug

m Training Classroom training: ABS 446 004 320 0

Rl ABS type System Diagnostic Mounting DI R Temperature

number Protocol | Software holes
446 0034030 |D 6S/6M ISO 9141 ABS D+ 4x @75 mm | 163.0x162.0 mm | —40 ... +75°C
446 0034040 |D 6S/6M ISO 9141 ABS D+ 4x @75 mm | 163.0x162.0 mm | —40 ... +75°C
446 0034080 (D 6S/6M SAE J1587 |ABS SAE 4x @75 mm | 163.0x162.0 mm | —40 ... +75°C
446 0034200 |D 6S/6M SAE J1587 |ABS SAE 4x @75 mm | 163.0x162.0 mm | —40 ... +75°C
446 003 708 0 |E Universal |6S/6M SAE J7587 |ABS SAE 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 710 0 |E Universal |6S/6M ISO 9141 ABS D+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 7130 |E Universal |6S/6M KWP2000 |ABS D+ 4x @75 mm | 163.0x122.5mm | —40... +75°C
446 003 7350 |E Universal |4S/4AM SAE J1587 - 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 747 0 | E Universal 6S/6M SAE J1587 |ABS E+ 4 @ 7.5 mm 163.0x122.5mm | —40 ... +75°C
446 003 749 0 |E Universal [4S/4M KWP2000 |[ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 761 0 |E Universal |4S/4M SAE J1939 - 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 762 0 |E Universal |6S/6M SAE J1939 - 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 0037650 |E 4S/4M KWP2000 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 768 0 |E Universal |[6S/6M KWP2000 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 0037690 |E4.5 6S/6M KWP2000 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 003 827 0 |E8 Universal |4S/4AM ISO 14229 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +85°C
446 003829 0 |E8 Universal |6S/6M ISO 14229 |ABS E+ 4x 375 mm | 163.0x122.5mm | —40... +85°C
446 003 830 0 |E8 Universal |6S/6M ISO 14229 - 4x @75 mm | 163.0x122.5mm | —40 ... +85°C
446 003 832 0 | Universal 4S/4M ISO 14229 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40... +85°C
446 003 833 0 [E8 Universal |4S/4AM ISO 14229 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40... +85°C
446 003 836 0 | E8 Universal |6S/6M ISO 14229 |ABS E+ 4x @75 mm | 163.0x122.5mm | —40 ... +85°C
446 004 310 0 |D Basic 4S/AM ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 3130 |D Basic 4S/4M SAE J1587 |ABS SAE 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 314 0 | D Basic 4S/3M KWP 2000 |ABS D+ 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 318 0 | D Basic 4S/4M KWP 2000 |[ABS D+ 3x @ 7.5 mm 112.0x122.0 mm —40 ... +75°C
446 004 320 0 |E Basic 4S/AM SAE J1587 |ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 324 0 | E Basic 4S/AM ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 330 0 | E Basic 4S/3M ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 332 0 | D Basic 4S/4M KWP2000 |ABS D+ 3x@75mm | 112.0x122.0 mm | —40... +75°C
446 004 333 0 |E Basic 4S/3M ISO 9141 ABS D+ 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 334 0 |E Basic 4S/AM-Q ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 3350 |E Basic 4S/AM-Q ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 402 0 | SKN 4S/AM CAN - Clamp - —40 ... +75°C
446 004 4040 |D 4S/AM ISO 9141 ABS D+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 0044060 |D 4S/4AM 1ISO 9141 ABS D+ 4 @ 7.5 mm 163.0x122.5 mm -40 ... +75°C
446 004 4140 |D 4S/AM 1ISO 9141 ABS D+ 4 @ 7.5 mm 163.0x122.5 mm —40 ... +75 °C
446 004 4160 |D 4S/AM ISO 9141 ABS D+ 4x @75 mm | 163.0x122.5mm | —40 ... +75°C
446 004 4200 |D 4S/AM SAE J1587 |ABS SAE 4x @75 mm | 163.0x162.0 mm | —40 ... +75°C

111



ANTI-LOCK BRAKING SYSTEM (ABYS)

e ABS type System Diagnostic Mounting DI | ETEE Temperature

number Protocol | Software holes
446 004 4260 |D 4S/4M SAE J1587 |ABS SAE Ax @75 mm | 163.0x162.0 mm | —40 ... +75°C
446 004 4270 |D 4S/4M ISO 9141 ABS D+ Ax @75 mm | 163.0x122.5mm | —40 ... +75°C
446 004 4280 |D 4S/4AM 1ISO 9141 ABS D+ 4 @ 7.5 mm 163.0x122.5 mm -40 ... +75°C
446 004 601 0 | E Basic 4S/AM SAE J1587 |ABS SAE 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 602 0 |E Basic 4S/4M SAE J1587 |ABS SAE 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 606 0 |E Basic 4S/4M KWP 2000 |ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 6070 |E 4S/4M ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 608 0 | E Basic 4S/AM SAE J1587 |ABS SAE 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 610 0 |E Basic 4S/3M SAE J1587 - 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 612 0 | E Basic 4S/4M KWP 2000 |ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 616 0 | E Basic 4S/4M ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 617 0 | E Basic 4S/4M ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 621 0 |E2 Basic 4S/AM KWP 2000 |ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 630 0 |E2 Basic 4S/AM KWP 2000 |[ABS D+ 3x @ 7.5 mm 112.0%x122.0 mm —40 ... +75°C
446 004 631 0 | E Basic 4S/4M ISO 9141 ABS D+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 634 0 | E Basic 4S/AM KWP 2000 222 [E):/ 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 636 0 | E Basic 4S/AM KWP 2000 222 E:/ 3x@7.5mm | 112.0x122.0 mm | —40 ... +75°C
446 004 637 0 |E Basic 4S/4M KWP 2000 ﬁgg [E):/ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 643 0 |E Basic 4S/AM KWP 2000 |ABS E+ 3x @ 7.5 mm 112.0%x122.0 mm —40 ... +75°C
446 004 644 0 | E4 Basic 4S/AM KWP 2000 |ABS E+ 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C
446 004 645 0 | E4 Basic 4S/4M KWP 2000 |ABS E+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 646 0 | E4.5 Basic 4S/4M KWP 2000 |[ABS E+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 647 0 |E4.5 Basic 4S/4M E’V(\?Plg%%%/ ABS E+ 3x@75mm | 112.0x122.0 mm | —40 ... +75°C
446 004 653 0 | E4 Basic 4S/AM KWP 2000 |ABS E+ 3x @75 mm | 112.0x122.0 mm | —40 ... +75°C

ABS solenoid modulator valve

m Temperature —-40 ... +80 °C
m  Max. pressure 11 bar

472195016 0 472 195078 0 4721950790 4721951080
Product number Voltage Electrical connection Port

4721950050 12V M24x1 1, 2: ¥2"-14 NPTF

472 195 006 O 24V M24x1 1, 2: ¥2"-14 NPTF
4721950090 24V Bayonet 1, 2: M22x1.5

472 195 0100 24V M24x1 1, 2: M22x1.5
4721950110 24V Bayonet 1, 2: M22x1.5 JED-388

472 1950150 24V M27x1 1, 2: M22x1.5 JED-464

112
[



Product number

Voltage

Electrical connection

Port

472195016 0
472 195018 0
4721950460
472 1950480
4721950520
472 195 054 0
472 1950550
472 195 056 0
4721950580
472 195 064 0
472 195 066 0
472 195071 0
4721950720
472 195073 0
4721950740
472 1950750
472195076 0
472 195077 0
472195078 0
472 195079 0
4721950820
4721950830
472 195086 0
472 195094 0
4721950950
472 195 096 0
4721950970
472 195 100 0
4721951010
472 195 102 0
4721951050
472 195 106 0
472 1951080
472 195 1100
4721951210
472 196 0200
9721950450
972 195 064 0
9721950650

24V
24V
12V
24V
12V
12V
24V
24V
24V
24V
12V
24V
24V
24V
24V
24V
12V
12V
12V
12V
12V
12V
12V
12V
12V
24V
24V
12V
12V
12V
24V
24V
24V
24V
12V
24V
24V
24V

24V

Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 Al1-3.1-Sn/K1
Volvo-Plug

Bayonet DIN 72585 A1-3.1-Sn/K1
M27x1

Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 Al1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet

Bayonet

Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet ISO 15 170 A1-3.1-Sn/K1
Bayonet ISO 15 170 A1-3.1-Sn/K1
Bayonet ISO 15 170 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet ISO 15 170 A1-3.1-Sn/K1
Tyco HDSCS 3x 2.8 coding A
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1
Tyco HDSCS 4x 2.8 coding A
Bayonet DIN 72585 A1-3.1-Sn/K1
Bayonet DIN 72585 A1-3.1-Sn/K1

Bayonet DIN 72585 A1-3.1-Sn/K1

1, 2: M22x1.5 JED-388
1, 2: M22x1.5

1, 2: ¥2"-14 NPTF

1, 2: M22x1.5

1, 2: %."-14 NPTF

1, 2: M22x1.5 JED-464
1, 2: M22x1.5 JED-388
1: M22x1.5 JED-388; 2: M22x1.5
1, 2: M22x1.5

1, 2: RC %"

1, 2: M22x1.5

1, 2: M22x1.5

1

P PR R R R R R R R R

[EnY

[EEY

[EnY

[EEY

2: M22x1.5 JED-388
2: M22x1.5

: Flange (@ 24); 21, 22: ¥%"-14 NPTF
: Flange (@ 24); 21, 22: Y4"-14 NPTF
: Flange (@ 24); 21: %2"-14 NPTF

: Flange (@ 24); 21: %2"-14 NPTF

: Flange (@ 24); 21, 22: ¥%2"-14 NPTF
: Flange (@ 24); 21, 22: ¥%2"-14 NPTF
: Flange (@ 24); 21, 22: %4"-14 NPTF
: Flange (@ 24); 21, 22: Y4"-14 NPTF

2: RC %" JIS B 0253
2: ¥5"-14 NPTF

1 ¥2"-14 NPTF

1 Y214 NPTF

1 M22x1.5

: 1"-14 NPTF

N N NN

1, 2: %."-14 NPTF

1, 2: ¥2"-14 NPTF

1: M22x1.5 JED-388; 2: M22x1.5
1: M22x1.5 JED-388; 2: M22x1.5
1, 2: M22x1.5 JED-388-0

1, 2: M22x1.5 JED-388-4

1, 2: M22x1.5 JED-388-0

1, 2: M22x1.5 JED-388-4

1, 2: Rc %" JIS B 0253

1, 2: %"-14 NPTF

1, 2: ¥%2"-14 NPTF

Repair solutions

Product number

Repair kit

Content

m 4721950580

472 195922 2

Solenoid modulator valve

113




ANTI-LOCK BRAKING SYSTEM (ABS)

ASR proportional valve

m Temperature —40 ... +100 °C

m \Voltage 24V

= Mounting 2x @ 9.0 mm

m Distance between holes 42 mm 472 250 000 0 472 250 007 0

Product number Electrical connection Max. pressure (supply) Port

472 250 000 0 M27x1 10.0 bar M12x1.5
472 250 0030 Bayonet 11.2 bar M12x1.5
472 250 007 0 Bayonet DIN 72585 B1-2.1-Sn/K1 11.2 bar M12x1.5
472 250 008 0 Bayonet DIN 72585 B1-2.1-Sn/K1 11.0 bar RC v4"

ABS trailer control valve

m Temperature —40 ... +80 °C
m Accessory 432 407 012 0  Silencer (port: snap-on contour)

9730025200 9730090010 973 009 006 0 9730090100

ELC::E:;: Max. pressure | Predominance Mounting Port
973 002 0000 8.0 bar 0.6 bar 2x M8 1, 2,41, 42, 43: M22x1.5; 3: flap
973002 0100 8.0 bar 0.5 bar 4x M8 1, 2,41, 42, 43: M22x1.5; 3: flap
973002 013 0 8.0 bar 0.6 bar 4x M8 1, 2,41, 42, 43: M22x1.5; 3: flap
973 002 020 0 8.0 bar 0.3 bar 4x M8 1, 2,41, 42, 43: M22x1.5; 3: flap
973 002 0220 8.0 bar 0.2 bar 4x M8 1, 2,41, 42, 43: M22x1.5; 3: flap
973002 051 0 8.0 bar 0.2 bar 4x M8 1, 2, 41, 42: M22x1.5; 3: flap
9730020700 8.0 bar 0.6 bar 2x M8 1, 2,41, 42: M22x1.5; 3: snap-on contour
973 002 402 0 8.0 bar - 4x M8 1, 2,41, 42, 43: M16x1.5; 3: flap
973 002 403 0 8.0 bar 0.2 bar 2x M8 1, 2,41, 42, 43: M16%1.5; 3: flap
973 002 404 0 8.0 bar - 4x M8 1, 2, 41, 42: M16x%1.5; 3: flap
9730024050 8.0 bar - 4x M8 1,12, 2, 41, 42: M16x1.5; 3: snap-on contour
973 002 406 0 8.0 bar 0.5 bar 2x M8 1, 2,41, 42, 43: M16x1.5; 3: flap
973 002 409 0 8.0 bar 0.2 bar 4x M8 1, 2,41, 42, 43: M16x1.5; 3: flap
973 002 418 0 8.0 bar 1.0 bar 4x M8 1, 2,41, 42, 43: M16x1.5; 3: flap
973002 419 0 8.0 bar 0.4 bar 3x M8 1,12, 2, 41, 42: M16x1.5; 3: flap
973 002 422 0 8.0 bar - 4x M8 1, 2,41, 42, 43: M16%1.5; 3: flap
973002 4230 8.0 bar 0.3 bar 4x M8 1, 2,41, 42, 43: M16x1.5; 3: flap
973002 4250 8.0 bar 0.2 bar 4x M8 1,12, 2,41, 42, 43: M16x1.5; 3: flap
973002 4300 8.0 bar - 4x M8 1,12, 2,41, 42, 43: M16x1.5; 3: flap

114
[



Rl Max. pressure | Predominance Mounting Port
number

973 002 450 0 8.0 bar - 4x M8 1, 2,41, 42, 43: M16x1.5; 3: M22x1.5
9730025000 8.0 bar - 4x M8 12,22, 41, 42, 43: M16x1.5; 3: flap
973 002501 0 8.0 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
9730025050 8.0 bar - 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
973 002 5200 8.0 bar - 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
9730025210 8.5 bar 0.2 bar 4x M8 12,22, 41, 42, 43: M16x1.5; 3: flap
973 002 522 0 8.0 bar 0.5 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
9730025230 8.0 bar 0.5 bar 4x M8 12,22, 41, 42, 43: M16x1.5; 3: flap
973 002 527 0 8.0 bar 0.3 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: snap-on contour
9730025280 8.0 bar - 4 x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
973 002 5320 8.0 bar 0.7 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
973 0025350 8.0 bar - 4x M8 12, 22, 41, 42, 43: M16x%1.5; 3: snap-on contour
973 002 5380 8.0 bar - 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
9730025390 8.0 bar 0.3 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
973 002 544 0 8.0 bar - 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
9730025700 8.0 bar 0.3 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: flap
973 002 6200 8.0 bar 0.5 bar 4x M8 12, 22, 41, 42: M16x1.5; 3: flap

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
9730090010 8.5 bar 0.2 bar 4x M8 contour: 43: M16x1.5 JED-388
973 009 002 0 8.5 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: snap-on contour

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
9730090040 8.5 bar - axme contour: 43: M16x1.5 JED-388

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
973 009 005 0 8.5 bar 0.5 bar 4x M8 contour: 43: M16x1.5 JED-388

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
9730090060 8.5 bar - ax e contour; 43: M16x1.5 JED-388

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: silencer;
973 009 007 0 8.5 bar - 4x M8 43 M16x1.5 JED-388

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: silencer;
973 009 009 0 8.5 bar 0.6 bar 4x M8 43 M16x15 JED-388
9730090100 8.5 bar 0.4 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: silencer
973 009 011 0 8.5 bar 0.2 bar 2XMIOXL.25With |15 55 49 42 43: M16x1.5: 3: silencer

mounting plate

973 009 013 0 8.5 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: snap-on contour
973009014 0 8.5 bar - 4x M8 12, 22, 41, 42, 43: M16x%1.5; 3: snap-on contour
9730090150 8.5 bar 0.1 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: silencer

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: silencer;
973009016 0 8.5 bar 0.4 bar 4x M8 43 M16x15 JED-388
9730090180 8.5 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: silencer
973 009 022 0 8.5 bar 0.1 bar 4x M8 12, 22,41, 42, 43: M16x1.5; 3: silencer

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
973 009 0230 8.5 bar 0.9 bar 4x M8 contour: 43: M16x1.5 JED-388

2x M10 with mounting |11, 12, 22, 41, 42: M22x1.5 JED-388; 3: silencer;

9730090240 8.5 bar 0.2 bar plate 43 M16x15 JED-388
973 009 025 0 8.5 bar 0.5 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: silencer

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: snap-on
973009 0280 8.5 bar 0.2 bar 4x M8 contour: 43: M16x1.5 JED-388
973 009 0290 8.5 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: silencer
973 009 100 0 8.5 bar 0.2 bar 4x M8 12, 22, 41, 42, 43: M16x1.5; 3: snap-on contour
973009 120 0 8.5 bar B 4% M8 1?, _43: blind plugged; 22, 41, 42: M16x1.5;

3: silencer

11, 12, 22, 41, 42: M22x1.5 JED-388; 3: silencer;
973 009 3000 8.0 bar 0.2 bar 4x M8 43 M16%15 JED-388

115




ANTI-LOCK BRAKING SYSTEM (ABS)

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

m 973002 0000
m 9730020100
m 9730020130
m 9730020200
m 9730020220
m 9730020510
m 9730020700
m 9730024020
m 9730024030
m 9730024040
m 9730024050
m 973002 4060
m 9730024090
m 9730024180
m 9730024190
m 9730024220
m 9730024230
m 9730024250
m 9730024300
m 9730024500
m 9730025000
m 9730025010
m 9730025050
m 9730025200
m 9730025210
m 9730025220

116

973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 004 2
973 002 003 2
973 002 004 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 003 2
973 002 009 2
973 002 004 2
973 002 004 2
973 002 006 2
973 002 005 2
973 002 008 2
973 002 006 2
973 002 005 2
973 002 005 2

Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve

Valve + diaphragm
Valve + diaphragm
Valve

Valve + diaphragm

Valve + diaphragm

m 9730025230
m 9730025270
m 9730025280
m 9730025320
m 9730025350
m 9730025380
m 9730025390
m 9730025440
m 9730025700
m 9730026200
m 9730090010
m 9730090020
m 973009 004 0
m 973009 0050
m 973009 006 O
m 9730090070
m 973009 009 0
m 9730090100
m 9730090130
m 9730090140
m 9730090150
m 9730090180
m 9730090290
m 9730091000
m 9730091200
m 9730093000

973 002 005 2
973 002 008 2
973 002 005 2
973 002 005 2
973 002 008 2
973 002 006 2
973 002 005 2
973 002 008 2
973 002 005 2
973 002 005 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 000 2
973 009 001 2

Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve + diaphragm
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve
Valve

Valve




Wheel speed sensor

Sensor set - radial sensor

m Description

m Sensor head @ 16.0 mm

WABCO sensor sets include all components required to
affect a proper repair: clamp bushing, grease pad and the
corresponding sensor.

Product Replacement for / Cross references
Wheel speed sensor Length
number WABCO OEM number OEM
1778553
4410320102 | 250 mm 4410321710 177goea  |DAF
4410320132 | 2056 mm | 4410321910 | B587105K300 Ei};“”da' /
21361848
4410320172 | 2321 mm | 4410328980 1361849 | VOO
4410320182 | 1596 mm | 4410328930 21361845 | Volvo
4410320192 | “X125MM I 40 0325180 | A6555400717 | Daimler
L2: 160 mm
4410320212 | 17545 mm | 4410321770 1890167  |Scania
® .
! 4410320222 | 2754.5mm | 4410321780 1890168  |Scania
i 4410320232 | 1500 mm | 4410351440 1869290  |DAF
| Code A .
- 4410320242 | 1400 mm | 4410351450 1869290 | DAF
‘ Code B @
=S Knorr: 1971906916
1 4410320292 | 1422mm | 0486000284 K50 | o.'5o0% "0 0 | MAN
| Code D @ 0486000285 NOO | ~™
(V| e Knorr: 81.27120-6177
1l 4410320302 | 1572 mm | 0486000250 K50 | 81.27120-6201 | MAN
| code A @ 0486000276 NOO | 81.27120-6202
. Knorr:
4410320312 | 1550 mm | 0486000251 K50 | S1-27120-6176 1y,

Code B 5

0486000277 NOO

81.27120-6202

117




ANTI-LOCK BRAKING SYSTEM (ABYS)

Product Replacement for / Cross references
Wheel speed sensor Length
number WABCO OEM number OEM
441 035922 2 895.2 mm 441 032 1070 5010457732 |Renault
441 0328550 41200559 lveco
441 035923 2 | 1545.2 mm
‘ 441 032 856 0 41200560 lveco
1524828 DAF
441 032858 0
: 41200561 lveco
441 035924 2 | 2345.2 mm
123399 lveco
441 032 859 0
41200562 lveco
441 032 874 0 5010457045 |Renault
] 441 0328750 5010422333 |Renault
| 441 035 928 2 2056 mm 1517455 DAF
441 032 728 0 -
- A0005429618 | Daimler
441 035 102 0 - Hino
5010457879 Renault
7580212W
441 032 144 0
20723669 Volvo
I_ - 21364022
i Code @ | 4410359352 | 4000 mm 5010457891
| 7421363486 |Renault
4410321510 7580218W
21363486 Volvo
441 0351330 21570623 Volvo
5010457883 Renault
441 032 1490 7580216W
21363479 Volvo
7421150950 |Renault
I_ = 441 032 187 0
Fl Code B @ | 4410359362 | 2500 mm 21150950 _ | Volvo
7420785816
: 7420787816 | Renault
441 032 3330 7580246W
20787816 Volvo
21363484
5010457878 Renault
7580211W
441 032 1430
20723666 Volvo
21360516
10457880
I | 50 Renault
| Code A @ | 4410359372 | 3650mm | 4410321460 | 7580213W
| 21363476 Volvo
7580245W Renault
441 032 3320 20787815 Vol
21363481 oo
4410351310 21570619 Renault
5010457882 Renault
I Iy 441 032 1480 7580215W
| Code o @ | 4410359382 | 2200 mm 21363478 | Volvo
! 7421150949 | Renault
441 032 186 0
21150949 Volvo

118




Sensor set - axial sensor

m Description

m Sensor head

WABCO sensor sets include all components required to
affect a proper repair: clamp bushing, grease pad and the
corresponding sensor.

@ 16.0 mm

Product Replacement for / Cross references
Wheel speed sensor Length
number WABCO OEM number OEM
f ‘Ih .E 441 032 025 2 2035 mm 441 0329800 41221280 lveco
441 032 377 0 1890170 Scania
441 032 952 0 1892057
| 441 032 026 2 1685 mm 441 032 363 0 21363499
Code A, B,C,D @& 441 032 364 0 21363500 Renault
441 032 365 0 21363502
441 032 366 0 21363503
441 0323780 1890171 Scania
441 0329950 41363474
441 032996 0 21363475
:m- ETj 4410353210 21663166
CodeA.B.C.D @ 4410320272 | 2710 mm 4410353220 21663162 Volvo
T 441 0353240 21663167
441 0353250 21663170
441 0353260 21663172
441 0353320 21663163
£ “ d 441 0353010 21296829
441 032 028 2 | 1659.75 mm 441 035 302 0 21296849 Volvo
Code A
5010457874 | Renault
S |
441 035 920 2 1750 mm 441 0329950 20723702
Code B . VOlVO
21363474
1729798 Scania
441 032 321 0
21363496 Volvo
[ = -l I . 7421296839 | Renault
CodeB @ 441 0353210 21296839 |,
21663166 oo
441 035 3270 21296845 Volvo
1518311 DAF
L _ =gl | 441 0359252 2200 mm 441 0329220
A0025422718 |Daimler
1518009 DAF
441 0329200 ;
A0025423818 | Daimler
441 032 9230 A0025422618 |Daimler
A0005423318 Daimler
441 032 487 0 A0015423318
. “ =—{gll | 4410359262 | 3000 mm
36271206005 | MAN
A0015428818 |Daimler
441 032921 0 i
920100080 | Solars
Bus
441 032 942 0 A0015428918 |Daimler
119



ANTI-LOCK BRAKING SYSTEM (ABYS)

Product Replacement for / Cross references
Wheel speed sensor Length
number WABCO OEM number OEM
4410329410 | A0035423518 |Daimler
4410329460 | A0035424618 |Daimler
A0005429718 |Daimler
£ il =@l | 4410359272 | 4000 mm 4410327270
36271206004 |MAN
A0035424518 | Daimler
4410329470
503147652 lveco
7420795150 | o o
7580252W
441 032 352 0
20916177 |\,
21363497
738610135 Renault
441 032 386 0
21247147 | Volvo
21361885 Renault
441 032 954 0 20528657 |,
21361885 oo
7420528653 | Renault
441 032 961 0 20528653 |
21361883 oo
T I TN i ermnenes | i 7421663556 | Renault
Code A @ 441 0353120 21296831 |,
21663556 oo
21296832
441 035 3130 lioen | EhE
21296836
441 0353170 21663557 | Volvo
7421296840 |Renault
441 0353220 21296840 |,
21663162 oo
21296841
441 035 3230 21663164 | VOIvo
21444285
441 0353320 e | e
7420915970 | Renault
4410323470 20915970 |,
21363488 oo
7420794630 | o o
441 032 3530 7420916178
20916178 Volvo
i [ 7424427344 | Renault
Eﬂ i || 441 035930 2 3950 mm 20509864
441 032 9650
Code A @ 21361900 | Volvo
24427344
21296837
441 0353180 21663559 | Vovo
7421296846 |Renault
441 035 3280 21296846 |,
21663165 oo
738610142 Renault
441 032 3880
21247161 Volvo
ﬁ 441 035 931 2 4300 mm 738610139 Renault
Code A @ 441 032 968 0 20509869 |,
21361881
441 032 974 0 20554958 | Volvo

120




Product Replacement for / Cross references
Wheel speed sensor Length
number WABCO OEM number OEM
5010457871
7420916171 Renault
E_—l 7580249W
S 441 035932 2 5550 mm 441 0323490
Code B @ 20732821
20916171 Volvo
21363493
732520051 Renault
441 032 374 0 21097072 Vol
21361887 oo
738610136 Renault
441 0323870
21247154 Volvo
441 0329550 20528658 Volvo
7420528654 | Renault
441 032 962 0 20528654
2850 mm 21361884 | VOO
738610140 Renault
! '— ok 4410329640 |[—oe0o09805
Code B @ s 20509865 /)
21361893
5010457875 Renault
7580299W
441 032 996 0
20723706 Volvo
21363475
7421663561 |Renault
441 0353140 21296833 Vol
21663561 ovo
2850 mm
7421296842 | Renault
441 035 324 0 21296842 Vol
21663167 oo
20732820
441 0323480 20915973 Volvo
21363492
21296838
441 0353190 21663563 Volvo
f—" | E==. 21296847
|| 441 035934 2 3950 mm 4410353290 Volvo
Code B @ 21663169
21444282
441 0353300 21663168 Volvo
7421663562 | Renault
441 0353340 21444281 Vol
21663562 oo
5010457876
7420916173 Renault
7580250W
441 032 350 0
20732822
e l W | 10359392 | 5550 mm 20916173 | Volvo
Code B @ 21363495
738610141 Renault
441 032 389 0
21247157 Volvo
441 0329750 20554959 Volvo

121




WABCO Cable Catalogue

Searching for more information on WABCO cables?
Check our WABCO Cable Catalogue. This document gives
an overview of the different cables used by WABCO.

Ask your sales representative to provide you with
a WABCO Cable Catalogue.




Electronic braking system (EBS)

EBS truck electronic control unit (ECU)

m \Voltage 24V
m Protection class IP30 (IEC 529)
m Temperature —40 ... +75°C

—40 ... +80 °C: 446 135 202 0, 446 135 203 0, 446 135 240 0,
446 135 2500

m Training Classroom training: Truck EBS 446 135 241 0
Product Application Diagnostic Mounting Distance
number Manufacturer System software between holes

446 130 014 0 | Daimler 4S/4M EBS EPB MB Truck Clamp -
446 130 015 0 | Daimler 4S/AM S EBS EPB MB Truck Clamp -
446 130 018 0 | Daimler 4S/4AM EBS EPB MB Truck Clamp -
446 130 019 0 | Daimler 4S/AM S EBS EPB MB Truck Clamp -
446 130 022 0 | EvoBus/Travego 4S/4M EBS EPB Bus Clamp -
446 130 023 0 | EvoBus/Travego 6S/6M EBS EPB Bus Clamp -
446 130 028 0 | EvoBus 4S/4M EBS EPB Bus Clamp -
446 130 029 0 | EvoBus 6S/6M EBS EPB Bus Clamp -
446 130 030 0 | EvoBus 4S/4M EBS EPB Bus Clamp -
446 130 031 0 |EvoBus 6S/6M EBS EPB Bus Clamp -
446 130 053 0 | Daimler 4S/4M EBS EPB MB Truck Clamp -
446 130 062 0 | EvoBus 4S/4M EBS EPB Bus Clamp -
446 130 067 0 | Daimler 4S/4M - Clamp -
446 130 208 0 | Daimler 4S/4M EBS 3 Clamp -
446 130 210 0 | Daimler 4S/4M, 6S/6M - Clamp -
446 130 211 0 |EvoBus 4S/4M, 6S/6M - Clamp -
446 130 212 0 | Daimler 4S/4M - Clamp -
446 130 220 0 | Daimler 4S/4AM - Clamp -
446 135 003 0 | Nissan Diesel 4S/4M - 4x @ 7.5 mm 163.0x182.5 mm
446 135016 0 |Iveco 4S/4M EBS Euro 4x @ 7.5 mm 163.0%182.5 mm
446 135 017 0 |DAF 4S/4M EBS Euro Ax @ 7.5 mm 163.0x182.5 mm
446 135018 0 |lveco 4S/4AM EBS Euro 4x @ 7.5 mm 163.0x182.5 mm
446 135 030 0 | Neoplan 4S/4M EBS Euro 4x @ 7.5 mm 163.0x182.5 mm
446 135 031 0 | Neoplan 4S/4M EBS Euro 4x @ 7.5 mm 163.0x182.5 mm
446 135039 0 |DAF 4S/4M EBS Euro 4x @ 7.5 mm 163.0x182.5 mm
446 135 041 0 | Standard Bus 4S/4M, 6S/6M EBS Bus Standard | 4x @ 7.5 mm 163.0x182.5 mm
446 135042 0 |DAF 4S/4AM EBS Euro 4x @ 7.5 mm 163.0x182.5 mm
446 135 051 0 |Hino Motors, Isuzu, Nissan 4S/4M EBS 1C Asia 4x @ 7.5 mm 163.0x182.5 mm
446 135 052 0 |Nissan Diesel 4S/4M EBS 1C Asia 4x @ 7.5 mm 163.0x182.5 mm
446 135 059 0 | Hyundai 4S/4M, 6S/6M EBS Euro 4x @ 7.5 mm 163.0%182.5 mm
446 135 202 0 |DAF 4S/4M ... 6S/5M |EBS 3 4 @ 7.5 mm 163.0x122.5 mm
446 135 203 0 |DAF 4S/AM ... 6S/5M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm
446 1352400 |VDL/Bova 4S/4M ... 6S/6M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm
446 135241 0 |VDL Bus & Coach 4S/4M ... 6S/6M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm
446 135 242 0 |VDL/Bova 4S/4AM ... 6S/6M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm
446 135 245 0 | Hyundai 4S/AM ... 6S/6M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm

123



ELECTRONIC BRAKING SYSTEM (EBYS)

Product Application Diagnostic . Distance
Mounting
number Manufacturer System software between holes
FAW, Hino Motors, Isuzu,
446 135246 0 VDL Bus & Coach, VDL/Bova. ... 4S/4M ... 6S/6M |EBS 3 4x @ 7.5 mm 163.0x122.5 mm
446 135 248 0 | Kamaz 4S/4AM — Clamp —
446135 250 ¢ | Hino Motors, Mitsubishi Fuso, 1 ;o\, EBS 3 4x@75mm | 163.0x122.5 mm
Nissan Diesel, Hyundai
446 135 253 0 |Hino Motors 4S/4M EBS 3 4x @ 7.5 mm 163.0x122.5 mm

EBS truck Central Braking Unit (CBU)

m Temperature -40 ... +80 °C
m \Voltage 24V
= Mounting A M8 480 020 020 0 480 020 105 0
Product S Diagnostic Distance
number AL gl e software between holes Port
4800200120 |  Iveco 12.7 bar - 61x61 mm |11 12,21, 222 @ 1370 17.9 mm; 23: @ 8x1;
3: silencer
11, 12, 21, 22: M22x1.5 JED-388-4;
480 020 020 0 MAN 12.7 bar EBS CBU MAN 84x32 mm 23- M16x1.5 JED-388-4: 3: silencer
11, 12, 21, 22: M22x1.5 JED-388-4;
480 0200280 MAN 12.7 bar EBS CBU MAN 84x32 mm 23- M16x1.5 JED-388-4: 3: silencer
. 11, 12, 21, 22: M22x1.5 JED-388-4;
480 020 1050 Daimler 10.0 bar - 61x61 mm 23: M16x1.5 JED-388-4: 3: silencer
Repair solutions
Product number  Repair kit Content
m 4800200120 4800209202 Cover

124




EBS truck modulator

Truck EBS modulator - generation 1

m Temperature —-40 ... +80 °C

m Max. pressure 10 bar

m \Voltage 24V

m Electrical connection Bayonet DIN 72585 1A-4.1-Sn/K2

m Protection class IP66 / IP69K

m Port 11, 12, 13, 21, 22: M22x1.5 JED-388

23: M16x1.5 JED-388
3: integrated silencer 480 103 011 0
Product Application . Distance
Mounting
number Manufacturer System bolts holes

480 103 008 0 | EvoBus additional axle, with backup valve 2x M12x1.50 - 100 mm
480 103 011 0 :
480 103 011 R Daimler 4%2 2x M12x1.50 - 100 mm
4801030120 :
480 103 012 R Daimler 6%2, 6x2/4, 6x4, 8x4 2x M12x1.50 - 100 mm
480 103 013 0 | Daimler 4%2 2x M12x1.50 - 100 mm
480 103 014 0 | Daimler 6x2, 6x4, 8x4 2x M12x1.50 - 100 mm
480 103 0150 :
480 103 015 R Daimler 4x2 2x M12x1.50 - 100 mm
4801030160 . )
480 103 016 R Daimler all vehicles except 4x2 2x M12x1.50 - 100 mm
480 103 022 0 |Iveco drive axle 4x2, 6x2, 6x4 2x M12x1.75 100 mm -
480 103 024 0 |Iveco Semitrailer tractor 2x M12x1.75 100 mm -
480 103 0250 |Iveco Truck 2x M12x1.75 100 mm -
480 1030330 |- Front axle 2x M12x1.25 100 mm -
480 103 035 0 |Hino Motors Front axle & AOH 2x M12x1.25 100 mm —
480 103 041 0 |DAF 4x2 with backup valve 2x M12x1.50 - 100 mm
480 103 042 0 | DAF 6x2 with backup valve 2x M12x1.50 - 100 mm
480 103 043 0 |DAF 4x2 without backup valve 2x M12x1.50 - 100 mm
480 103 061 0 | Neoplan additional axle, with backup valve 2x M12x1.50 - 100 mm
480 103 063 0 | Standard bus drive axle 4x2 with backup valve 2x M12x1.50 - 100 mm
480 103 066 0 | EvoBus drive axle 4x2 with backup valve 2x M12x1.50 - 100 mm

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4801030080 4801039212 Silencer m 4801030350 4801039212 Silencer

m 4801030110 4801039212 Silencer m 4801030410 4801039212 Silencer

m 4801030120 4801039212 Silencer m 4801030420 4801039212 Silencer

m 4801030130 4801039212 Silencer m 4801030430 4801039212 Silencer

m 4801030140 4801039212 Silencer m 4801030610 4801039212 Silencer

m 4801030150 4801039212 Silencer m 4801030630 4801039212 Silencer

m 4801030160 4801039212 Silencer m 4801030660 4801039212 Silencer

m 4801030220 4801039212 Silencer

m 4801030240 4801039212 Silencer

m 4801030250 4801039212 Silencer

m 4801030330 4801039212 Silencer

125



ELECTRONIC BRAKING SYSTEM (EBYS)

Truck EBS modulator - generation 2

—40 ... +80 °C

24V

Bayonet DIN 72585 1A-4.1-Sn/K2
IP6K6K / IP6KIK

11, 12, 21, 22: M22x1.5 JED-388-4
3. integrated silencer
4: M16x1.5 JED-388-4

Temperature

Voltage

Electrical connection
Protection class
Port

m  Mounting 2x M12x1.5
m Distance between holes 100 mm 480 104 003 0
Application
Product number Max. pressure
Manufacturer System

480104 001 0 Hino Motors drive axle 2S 2M 12.5 bar
480 104 002 O DAF, Hino Motors drive axle 2S 2M 12.5 bar
480 104 003 0 DAF drive axle 2S 2M without backup valve 12.5 bar
480 104 005 0 Iveco drive axle 2S 2M 2W without backup valve 12.5 bar
480 104 006 0 lveco drive axle 2S 2M 2W 12.5 bar
480 104 007 O Standard Bus additional axle 2S 2M 2W 12.5 bar
480 104 008 0 Hyundai drive axle 2S 2M 2W 12.5 bar
480 104 009 0 Standard Bus drive axle 2S 2M 2W 12.5 bar
480 104 106 0 MAN drive axle 2S 2M 4W 12.8 bar
480 104 107 0 MAN additional axle 2S 2M 2W/4W 12.8 bar
980 104 0050 Hino Motors drive axle 2S 2M 12.5 bar
980 104 006 0 Hino Motors drive axle 2S 2M 12.5 bar

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4801040010 4801049202 Valve piston m 4801040070 4801049202 Valve piston

480104 9212 Solenoid 480104 9212 Solenoid

480 104 922 2
480 106 920 2

Pressure sensor module
Valve Filter

480 104 922 2
480 106 920 2

Pressure sensor module
Valve Filter

m 4801040020 4801049202 Valve piston 480 104 0080 4005009252 Valve body
480104 9212 Solenoid 480 104 9202 Valve piston
480 104 922 2  Pressure sensor module 480 104 921 2 Solenoid

480 106 920 2

Valve Filter

480 104 922 2
480 106 920 2

Pressure sensor module
Valve Filter

m 4801040030 4801049202 Valve piston
480104 9212 Solenoid 480104 0090 4801049202 Valve piston
480 106 9202 Valve Filter 480104 9212 Solenoid
m 4801040050 4005009252 Valve body 328 182 ggé ; \'j;?\fstl‘:r”et;ensor module
480 104 9202 Valve piston
480104 9212 Solenoid 480104106 0 4005009252 Valve body
480 106 9202 Valve Filter 480 104 9202 Valve piston
m 4801040060 4005009252 Valve body 328 182 ggé 3 \Slgll\?g?:li?ter
480 104 9202 Valve piston
480104 9212 Solenoid 480 104 1070 4005009252 Valve body
480 104 9202 Valve piston
480104 9212 Solenoid
480 106 9202 Valve Filter

126




Truck EBS modulator - generation 3

-40 ... +80°C

Max. pressure 13 bar

Voltage 24V

Bayonet DIN 72585 1A-4.1-Sn/K2
Protection class IP6K6K / IP6K9K

Port 11, 21, 22: M22x1.5 JED-388-4
3: integrated silencer
4: M16x1.5 JED-388-4

Temperature

Electrical connection

480 105006 0

Application . Distance between
Product number Mounting
Manufacturer System holes
480 105 006 0 EvoBus 4x2 2x M12x1.50 100 mm
480 105 007 0 EvoBus 6x2, 6x4, 8x4 2x M12x1.50 100 mm
Repair solutions
Product number  Repair kit Content
m 4801050060 4801049212 Solenoid
480106 920 2  Valve Filter
480 106 921 2  Valve piston
m 4801050070 4801049212 Solenoid
480 106 920 2  Valve Filter
480 106 921 2  Valve piston

Truck EBS modulator - generation 4

m Temperature —-40 ... +80 °C

m Max. pressure 13 bar

m \Voltage 24V

m Electrical connection HDSCS

m Protection class IP6K6K / IP6K9K

m Port 11, 21, 22: M22x1.5 JED-388-4
3: silencer

4: M16x1.5 JED-388-4

480106 1050

Product number Application Mounting DISETEE DEMEe
Manufacturer System holes
480 106 053 0 EvoBus 2-channel 2x M12x1.5 100 mm
480 106 1030 Hyundai 2-channel 2x M12x1.5 100 mm
480 106 104 0 Hino Motors 2-channel 2x M12x1.5 100 mm
480 106 105 0 DAF 2-channel 2x M12x1.5 100 mm
480 106 106 0 DAF 2-channel 2x M12x1.5 100 mm
480 106 201 0 Standard Bus 2-channel 2x M12x1.5 100 mm
480 106 202 0 Standard Bus 2-channel 2x M12x1.5 100 mm
480 106 203 0 Solaris Bus & Coach 2-channel 2x M12x1.5 100 mm
480 106 204 0 Standard Bus 2-channel 2x M12x1.5 100 mm
480 106 553 0 EvoBus 1-channel 2x M12x1.5 50 mm
480 106 603 0 Hyundai Mobis 1-channel 2x M12x1.5 50 mm
480 106 604 0 Hino Motors 1-channel 2x M12x1.5 50 mm
480 106 605 0 DAF 1-channel 2x M12x1.5 50 mm

127



ELECTRONIC BRAKING SYSTEM (EBYS)

128

Application . Distance between
Product number Mounting
Manufacturer System holes
480 106 606 0 DAF 1-channel 2x M12x1.5 50 mm
480 106 607 0 DAF 1-channel 2x M12x1.5 50 mm
480 106 608 0 DAF 1-channel 2x M12x1.5 50 mm
4801067010 Standard Bus 1-channel 2x M12x1.5 50 mm
480 106 702 0 Solaris Bus & Coach 1-channel 2x M12x1.5 50 mm
Repair solutions
Product number  Repair kit Content
m 4801060530 4801069202 Valve filter
480 106 921 2  Valve piston
480106 1030 4801069202 Valve filter
480 106 921 2  Valve piston
480106 1040 4801069202 Valve filter
480 106 921 2  Valve piston
480106 1050 4801069202 Valve filter
480 106 921 2  Valve piston
480106 106 0 4801069212 Valve piston
4801062010 4801069202 Valve filter
480 106 921 2  Valve piston
4801062020 4801069212 Valve piston
480106 2030 4801069212 Valve piston
4801062040 4801069212 Valve piston
4801065530 4801069202 Valve filter
480 106 921 2 Valve piston
480106 6030 4801069202 Valve filter
480106 921 2 Valve piston
480106 604 0 4801069202 Valve filter
480106 921 2 Valve piston
480106 6050 4801069202 Valve filter
480 106 921 2 Valve piston
480106 606 0 4801069202 Valve filter
480106 921 2 Valve piston
480106 6070 4801069212 Valve piston
480106 608 0 4801069212 Valve piston
480106 7010 4801069202 Valve filter
480106 921 2 Valve piston
480106 7020 4801069212 Valve piston




EBS trailer control valve

Temperature
Protection class
Mounting

Distance betwee

n holes

—40 ... +80°C
IP6K6K / IP6K9K
3x M8

80x80 mm

480 204 0020 480 204 003 0 480204 0300 480204 0320 480204 0410

Product Voltage Electriqal Output pressure (p22) / Port

number connection max. pressure
480 204 002 0 24V |Bayonet DIN 72585 8.5 bar Llé ié’: 2,\?16'\1?2; 3‘833_%2;38'0; 3: silencer;
480 204 003 0 24V |Bayonet DIN 72585 8.5 bar iin folu rz;iiz'?/'j;f'\lﬂ-f&'flgifé%%;g_znap on
480 204 030 0 24\ (I—:|g)dSeCS connector 8.5 bar g.é ié 2&161\1212;?]:;%383284 3: silencer;
480 204 031 0 24\ (H:(II))dSeCS connector 8.5 bar jé 3113 Zhilg(iZSX3§6]§283i84 3: silencer;
480 204 032 0 o4\ (I—:|CII))dSeCS connector 8.5 bar ‘112 ig 2&%\1?;%:;%3;284 3: silencer;
480 204 041 0 12V gcl?dSeCS connector 75 bar Alé,,: ﬁigfi,g?é;l.ggjgﬁf-%g-m 3: silencer;
480 204 042 0 12V CH:(IZ))dSeCS connector 75 bar Llé 31%), 2[\?1&2125%55[;]%,283284 3: silencer;

Repair solutions

Product number  Repair kit Content
m 4802040020 4802049202 Valve piston
m 4802040030 4802049202 Valve piston

129




ELECTRONIC BRAKING SYSTEM (EBYS)

EBS brake signal transmitter

m Temperature —40 ... +80 °C
m Electrical connection * Bayonet DIN 72585
= Mounting 4x M8

(480 001 300 0: 3x M8x1.5)
(480 001 500 0: 3x M8)

61x61 mm
(480 001 300 0: holes 80x50 mm)
(480 001 400 0, 480 001 401 0: holes 61x61 mm)

m Distance between bolts

480 001 0000

4800010110 480 003 0000 480003 0020

480003 0040

4800030390

ARSI Application Max. EIectrlgaI Voltage Port
number pressure connection
11, 12, 21, 22: M22x1.5 JED-388;
480 001 000 0 |Mercedes-Benz 10.0 bar | 2x Bayonet* 4 pol 8...32V |3: Union @ 16.0; 4: M16x1.5
JED-388
11, 12, 21, 22: M22x1.5 JED-388;
o , 12, 21, ;
480 001 005 0 |EvoBus 10.0 bar | 2x Bayonet* 4 pol 8..32V 3: Union & 16.0
11, 12, 21, 22: Voss 232 NG12;
480 001 010 O |Daimler 10.0 bar | 2x Bayonet* 4 pol 9...32V |3:silencer 480 001 520 2;
4: Voss 232 NG8
: . 11, 12, 21, 22: Voss 232 NG12;
480 001 011 0 |Daimler 10.0 bar | 2x Bayonet* 4 pol 9..32V 3 silencer 480 001 520 2
1x Bayonet* 4 pol; 11, 12: M16x1.5; 21, 22: @ 13/
480 001 3000 |lveco 10.0 bar 1x Bayonet* 7 pol 8..32V 3 17.9: 3: silencer
Hino Motors, Nissan 1x Bayonet* 4 pol; 11, 12, 21, 22: M16x1.5 JED-152;
SR Diesel/ UD Trucks HULEET; 1x Bayonet* 7 pol SRR 3: Union @ 16.0
Isuzu, Hino Motors, 1x Bayonet* 4 pol; 11, 12, 21, 22: M16x1.5 JED-152;
4800014010 Nissan Diesel / UD Trucks 10.0 bar 1x Bayonet* 7 pol 932V 3: Union @ 16.0
. 1x Bayonet* 4 pol; 11, 12, 21, 22: M22x1.5 JED-388;
480 001 500 0 | Paccar, Solaris 10.0 bar 1x Bayonet* 7 pol 8..32V 3 silencer 480 001 520 2
: . 11, 21: M22x1.5 JED-388; 12, 22:
480 003 000 0 | Daimler 13.0 bar | 2x Bayonet* 4 pol 9..32V M16x1.5 JED-388-4: 3: silencer
11, 21: M22x1.5 JED-388; 12, 22:
480 003 001 O |Daimler 13.0 bar | 2x Bayonet* 4 pol 9..32V |M16x1.5 JED-388-4; 3: Union
@ 16.0
. 11, 21: Voss 232 NG12; 12, 22:
. ) ; 12,
480 003 002 0 | Hino Motors 13.0 bar | 2x Bayonet* 4 pol 9...32V Voss 232 NG8: 3: silencer
. . 1x Bayonet* 4 pol; 11, 21: M22x1.5 JED-388; 12, 22:
480 003 003 0 |Nissan Diesel/ UD Trucks 13.0 bar 1x Bayonet* 7 pol 9..32V M16x1.5 JED-388-4: 3: silencer
1x Bayonet* 4 pol; 11, 21: Voss 232 NG12; 12, 22:
4800030040 | DAF 130 bar 1x Bayonet* 7 pol 932V Voss 232 NG8; 3: silencer
11, 12, 21, 22: M16x1.5
480 003 030 0 |EvoBus 12.5bar |HDSCS 24V JED-388-4: 3: silencer
480003 0320 |Hino Motors 12.5bar |HDSCS o4y |11 12,21, 22: Voss 232 NG8;
3: silencer
11, 12, 21, 22: M16x1.5
480 003 033 0 |Hunday 12.5 bar |HDSCS 24V JED-388-4: 3: silencer

130




el Application LD Electrlc_al Voltage Port
number pressure connection
11, 12, 21, 22: M16x1.5
480 003 038 0 | Mercedes-Benz 12.5bar |HDSCS 24V JED-388-4: 3: silencer
: 11, 12, 21, 22: M16x1.5
480 003 039 0 |CNHTC, Kinglong, Yutong 12.5 bar |HDSCS 24V JED-388-4: 3: silencer
11, 12, 21, 22: M16x1.5
480 003 041 0 |Isuzu 12.5bar |HDSCS 24V JED-388-4: 3: silencer
Nissan Diesel/ UD Trucks, 11, 12, 21, 22: M16x1.5
RIS Mitsubishi Fuso IS IR AP 2 JED-388-4; 3: silencer
480 003 044 0 |DAF 12.5bar |HDSCS oay |11 12,21, 22: Voss 232 NG8;
3: silencer
: 11, 12, 21, 22: M16x1.5
480 003 050 0 | Daimler 12.5bar |[HDSCS 24V JED-388-4: 3: silencer
. 11, 12, 21, 22: M16x1.5
480 003 058 0 | Daimler 12.5bar |HDSCS 24V JED-388-4: 3: silencer
: 11, 12, 21, 22: M16x1.5
480 003 060 0 | Daimler 12.5bar |[HDSCS 24V JED-388-4: 3 silencer
EBS brake signal transmitter with pedal
m Temperature —-40 ... +80 °C
m Electrical connection * Bayonet DIN 72585
m Distance between holes 118x182 mm
(480 002 202 0: 116x174 mm)
(480 002 203 0, 480 002 208 0: special)
480 002 0000 480 002 003 0 480 0020210 480 002 1030
Product Application Max. Pedal EIectrlc_aI Voltage Port
number pressure angle connection
11, 12, 21, 22: M22x1.5
] * H 1 1
480 002 000 0 | EvoBus 10.0 bar 46 2x Bayonet* 4 pol 8..32V JED-388: 3: Union & 16.0
. . 11, 12, 21, 22: M22x1.5
480 002 003 0 |Bus 10.0 bar 45 2x Bayonet* 4 pol 8..32V JED-388: 3: Union & 16.0
R . 11, 12, 21, 22: M22x1.5
480 002 004 0 |EvoBus 10.0 bar 25 2x Bayonet* 4 pol 8..32V JED-388: 3: Union & 16.0
11, 21: M22x1.5 JED-388-4;
480 002 020 0 | EvoBus 13.0 bar 25° 2x Bayonet* 4 pol 9...32V |12, 22: M16x1.5 JED-388-4;
3: silencer
11, 21: M22x1.5 JED-388-4;
* . ) fl
4800020210 |YDLBuUs&Coach, | 45y, gge | Bayonet"dpol | g a5\ 195 99 M16x1.5 JED-388-4:
Foton Motor, Yutong 1x Bayonet* 7 pol o
3: silencer
11, 21: M22x1.5 JED-388-4;
480 002 022 0 |Bus 10.0 bar 46° 2x Bayonet* 4 pol 9...32V |12, 22: M16x1.5 JED-388-4;
3: silencer
R 11, 12, 21, 22: M16x1.5
480002 102 0 |Bus 13.0 bar 25 HDSCS 24V JED-388-4: 3: silencer
Daimler, Yutong, R 11, 12, 21, 22: M16x1.5
4800021030 | 20150 Motor, cNHTC | 130 Par 46 |HDSCS 24V | JED-388-4; 3: silencer

131



ELECTRONIC BRAKING SYSTEM (EBYS)

Product L Max. Pedal Electrical
Application . Voltage Port

number pressure angle connection
. 11, 12, 21, 22: M16x1.5
480002 121 0 |EvoBus 13.0 bar 25 HDSCS 24V JED-388-4: 3: silencer
. . . 11, 12, 21, 22: M16x1.5
480 002 202 0 | Mitsubishi Fuso 12.5 bar 54 HDSCS 24V JED-388-4: 3: silencer
. . 11, 12, 21, 22: M16x1.5
480 002 203 0 |Hino Motors 12.5 bar 56 HDSCS 24V JED-388-4: 3: silencer
. . 11, 12, 21, 22: M16x1.5
480 002 208 0 | Hino Motors 13.0 bar 56 HDSCS 9..32V JED-388-4: 3: silencer

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4800020000 4800029202 Pedal cover m 4800020200 4800029202 Pedal cover
m 4800020030 4800029202 Pedal cover m 4800020210 4800029202 Pedal cover
m 4800020040 4800029202 Pedal cover m 4800020220 4800029202 Pedal cover

EBS proportional relay valve

m Temperature —-40 ... +80 °C
m Voltage (V) 24V
m Electrical connection Bayonet DIN 72585
m Protection class IP6K6K / IPEKIK
= Mounting 3x M8
m Distance between holes 100x64 mm 480 202 004 0
Product number Max. pressure Port
480 202 004 0 10.0 bar 1, 21, 22: M22x1.5 JED-388-4; 3: silencer; 4: M16x1.5 JED-388-4

1: 2x M22x1.5 JED-388-4; 21, 22: M22x1.5 JED-388-4; 3: silencer
432 407 050 0; 4: M16x1.5 JED-388-4

480 202 007 0 10.0 bar 1,21, 22, 3: M22x1.5 JED-388-4; 4: M16x1.5 JED-388-4

1, 21, 22: M22x1.5 JED-388-4; 3: silencer 432 407 050 0;
4: M16x1.5 JED-388-4

4802020100 12.5 bar 1, 21, 22: M22x1.5 JED-388-4; 3: silencer; 4. M16x1.5 JED-388-4

1: M22x1.5 JED-388-4 with filter; 21, 22: M22x1.5 JED-388-4; 3: silencer
432 407 050 0; 4: M16x1.5 JED-388-4

1, 21, 22: M22x1.5 JED-388-4; 3: silencer 432 407 050 O;

4: M16x1.5 JED-388-4

480 202 0050 10.0 bar

480 202 009 O 12.5 bar

480 202 012 0 12.5 bar

480 202 200 0 10.0 bar

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4802020040 4802029212 Valve piston m 4802020100 4802029212 Valve piston
m 4802020050 4802029212 Valve piston m 4802020120 4802029212 Valve piston
m 4802020090 4802029212 Valve piston m 4802022000 4802029212 Valve piston

132




EBS solenoid relay valve

m Temperature —-40 ... +80 °C

m Voltage (V) 24V

m Electrical connection Bayonet DIN 72585 1A-2.1-Sn/K2
= Mounting 4x M8

m Distance between holes 75%75 mm

4802050010 480 205 102 0 480 205104 0 480 205106 0
Product number Max. pressure Protection class Port
480 205 001 0 10.2 bar P66/ IPEOK |2 gﬂxzhizlsf jf’a's’sfézzwgffé-i JED-ams closed;
480 205 010 0 10.2 bar IP66 / IP69K ; 2’5}1&? 215,'3‘1‘25”’8%:2&/";"623;;-? 553;3358 + 1x closed;
4802051010 10.2 bar IP66 / 1P69 1: M22x1.5; 2: 2x M22x1.5; 3: exhaust; 42: M16x1.5
480 205 102 0 13.0 bar IP6K / 1P69 1: M22x1.5; 2: 2x M22x1.5; 3: exhaust; 42: M16x1.5
480 205 103 0 13.0 bar IP6K7 iZMﬁigi15;EEDD3§SSZ 2x M22x1.5 JED-388; 3: exhaust;
480 205 104 0 13.0 bar IP6K6K / IPEK9K é ';szhiﬁsts iEDM3i862125 \l;/lEZSi(;.é%JED-:SSS " ciosed
480 205 106 0 13.0 bar IP6K6K / IP6KIK én'\ggﬁ;luf J‘],E[E)_ fgfff;f;?fﬁ%ffg ?:;ggglx closed; 3 snap

Repair solutions

Product number  Repair kit Content

m 4802051040 4802059212 Valve

133




ELECTRONIC BRAKING SYSTEM (EBYS)

Parking brake

Hand brake valve

m Temperature -40 ... +80 °C
961 710 055 0: —40 ... +75°C
961 721 002 0: =20 ... +100 °C

461 700 000 0 961 7230360

Rl kS Actuation Colour Mounting DI Port
number pressure between holes
461 700 0000 8.0 bar 80° black 2X @ 9 mm 25x47 mm 1, 21, 3: M22x1.5
461 700 006 O 8.0 bar 90° steel untreated 2x @9 mm 47 mm 1, 21, 3: M22x1.5
461 704 0350 7.36 bar 120° chromated 2x 3 8.5 mm 22 mm 1, 21, 3: M12x1.5
461 704 046 0 10.0 bar 7° | 45° black 2x @ 8.5 mm 22 mm 1, 21, 3: M12x1.5
8845019290 | 10.0 bar 73° black 2x M8 40 mm 1, 21: M14x1.5; 3: hose
nozzle @ 8.5 mm
9617100550 | 10.0 bar 50° . 2x M6 80 mm Lo 2058 LRI 5 o
nozzle @ 8 mm
9617210020 | 20.0 bar 90° black 2x M6 32x39 mm |- 21 M14x1.5; 3 hose
nozzle @ 12 mm
9617210070 | 10.0 bar 90° black 2x M6 32x39mm |1 2L M14xL5; 3: hose

nozzle @ 8.5 mm
961 721 037 0 20.0 bar 90° black/yellow 2x M6 32x39 mm 1, 21: M14x1.5; 3: M12x1

1, 21: M14x1.5; 3: hose
nozzle @ 8.2 mm

9617210450 10.0 bar 90° black 2x M6 32x39 mm 1, 21: Rp ¥&" (ISO 7/1); 3: flap

1, 21: M14x1.5; 3: hose
nozzle @ 8.2 mm

961 721 051 0 10.0 bar 90° black 2x M6 65 mm 1, 21: M14x1.5; 3: flap
1, 21: M14x1.5; 3: hose

961 7210410 10.0 bar 75° black 2x M6 32x39 mm

961 721 050 0 10.0 bar 90° red 2x M6 65 mm

961 721 053 0 10.0 bar 90° green 2x M6 39%25 mm
nozzle @ 8.2 mm
9617210540 | 10.0 bar 90° red/ black 2% M6 65 mm 1, 21: M14x15; 3: hose
nozzle @ 8.2 mm
9617221700 | 10.0 bar 73° black 2x M8 80 mm e
nozzle @ 8.5 mm
9617221710 | 10.0 bar 73° black 2x M8 80 mm 1, 21: M14x1.5; 3: hose
nozzle @ 8.5 mm
9617221820 | 10.0 bar 73° black 2% M8 B e
nozzle @ 8.5 mm
9617221830 | 10.0 bar 73° black 2x M8 40 mm 1, 21. M14x1.5; 3: hose
nozzle @ 8.5 mm
9617221870 | 10.0 bar 73° red 2x M8 40 mm o 2 il 055 25 o
nozzle @ 8.5 mm
9617222230 | 10.0 bar 73° black 2x M8 80 mm 11, 12, 21, 23: M14x1.5;
3: hose nozzle @ 8.5 mm
9617223150 | 10.0 bar 73° black 2x M8 40 mm o 20 22 LS lded 25 [ TBSE
nozzle @ 8.5 mm
9617223160 | 10.0 bar 73° red 2% M8 40mm | 2L 22 M14xL5; 3: hose
nozzle @ 8.5 mm
9617230330 | 10.0 bar 42° black 2x M6 80 mm L E10 VIR DR e

3: hose nozzle @ 6 mm
961 723 034 0 11.0 bar 73° red/black 2x M6 80 mm 1, 21: M16x%1.5; 3: flap

1, 21: M16x%1.5 JED-464;

961 723 036 0 10.0 bar 53° black 2x M6 80 mm '
3: hose nozzle @ 6 mm

134




Rl NS Actuation Colour Mounting RIS Port
number pressure between holes
9617231340 | 10.0 bar 53° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-388;
3: hose nozzle @ 6 mm
9617233000 | 10.0 bar 73° black 2x M6 gomm |1 2L M16x1.5JED-464;
3: hose nozzle @ 6 mm
9617233040 | 10.0 bar 73° black 2x M6 80 mm 1,21: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
9617234240 | 10.0 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4617000000 4617000092 Valve m 9617210410 9617219202 Valve piston
m 4617000060 4617000092 \Valve m 9617210530 9617210042 Valve + venting guide
m 4617040350 4617040092 Valve 9617219202 Valve piston
. ) m 9617233000 9617230012 Filter
m 9617210020 9617210062 Compression spring 961 7239302  Protection hood +
m 9617210070 9617210082 Valve handle
m 9617210370 9617210042 Valve + venting guide m 9617233040 9617230012 Filter

961 721 008 2

Valve

Hand brake valve - parking

Temperature

m \oltage

—40 ... +80 °C
961 701 105 0:
961 710 056 0:
961 721 501 0:

-10 ... +120°C
—40 ... +75°C
-30 ... +80°C

961 701 1000

*24V

723539000 8, 7235395008:24 ... 28V

)

9617221510

961 722 262 0

961 7230010

961 723 004 0

961 723 007 0

e IERS Actuation Colour Mounting PIREIIES Port
number pressure between holes
7235390008 | 10.0 bar 34°/34° black 2x M6 110mm |5 21 M16x1.5,22: MI14x1.5;
3: hose nozzle @ 9 mm
7235395008 | 10.0bar | 34°%34° black 2x M6 110mm |2 21 M16x1.5,22: M14x1.5;
3: hose nozzle @ 9 mm
884058381 0 | 10.0 bar 73° black/red 2x M8 gomm |- 2L M16xL5JED-388; 3: hose
nozzle @ 6 mm
8845025070 | 10.0 bar 73° black 2x M8 90 mm L2 W ER e 2 L
3: hose nozzle @ 11 mm
961 701 100 0 8.0 bar 84° black 2xX @ 7 mm 75 mm 1, 21, 3: M14x1.5
961 701 1050 8.0 bar 84° black 2x @7 mm 75 mm 1, 21, 3: M14x1.5
961 701 1100 8.0 bar 84° black 2x @7 mm 75 mm 1, 21, 3: M14x1.5

135



ELECTRONIC BRAKING SYSTEM (EBYS)

Rl NS Actuation Colour Mounting RIEEIIES Port
number pressure between holes

9617100560 | 12.0 bar 50° black 2x M6 G il | o MUILES B S IR
@ 7.9 mm

9617210040 | 20.0 bar 90° black 2x M6 65 mm 1, 21: M14x1.5; 3: hose nozzle
@ 8.2 mm

9617210110 | 20.0 bar 90° black 2x M6 S | o el 68 e e
@ 8.2 mm

9617210190 | 10.0 bar 90° black 2% M6 32x39 mm | L 21 M14xL5; 3: hose nozzle
@ 8.2 mm

9617210440 | 20.0 bar 90° black 2% M6 65 mm o 215 [l 025 28 e e
@ 8.2 mm

9617215010 | 10.0 bar 90° black 2x M6 32x39 mm | b 2L M14xL5; 3: hose nozzle
@ 8.5 mm

9617221500 | 10.0 bar 73° black 2x M8 80 mm 0 215 [l 55 28 Mo Tl
@ 8.5 mm

9617221510 | 10.0 bar 73° black 2% M8 40mm | L 2L M14xL15;3: hose nozzle
@ 8.5 mm

9617221570 | 10.0 bar 73° black 2% M6 80 mm L ZIE [l sles 8 o ozl
@ 8.5 mm

9617221580 | 10.0 bar 73° black 2x 3 6.5 mm 80 mm 1, 21: M14x1.5; 3: hose nozzle
@ 8.5 mm

961722 1640 | 10.0 bar 73° black 2x M8 40 mm () 2, 22 LS dIEoReict]
3: hose nozzle @ 6.0 mm

9617221790 | 10.0 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-388; 3: hose
nozzle @ 8.5 mm

9617222100 | 10.0 bar 73° black 2x M8 40 mm b, 26 (2142 [hlif 23 Lirsiss
nozzle @ 8.5 mm

9617222320 | 10.0 bar black M8

9617222510 | 10.0 bar 73° black 2x M8 40 mm il 12, 22 288 [l 28 Do
nozzle @ 8.5 mm

9617222620 | 10.0 bar 73° black 2x 3 6.5 mm 80 mm 11,12, 21, 23: M14x1.5; 3: hose
nozzle @ 8.5 mm

9617222640 | 10.0 bar 73° black 2x M8 40 mm Mo 12, 22 225 (L2 28 Toe
nozzle @ 8.5 mm

9617222650 | 10.0 bar 73° black 3x M6 30x30 mm | L% 12, 21, 23: M14x1.5;3: hose
nozzle @ 8.5 mm

9617222750 | 10.0 bar 73° black 2x M8 80 mm LU 12, 20, 205F LI E 5 Lo
nozzle @ 8.5 mm

9617222840 | 10.0 bar 73° black 2x M8 80 mm 11,12, 21, 23: M14x1.5; 3: hose
nozzle @ 8.5 mm

961 722292 0* | 10.0 bar 73° black 2% M6 80 mm 208 MR 28 TR ez
@ 8.5 mm

9617223250 | 10.0 bar 73° black 2x M8 80 mm 11,12, 21, 23: M14x1.5; 3: hose
nozzle @ 8.5 mm

9617223260 | 10.0 bar 73° black 2x @ 6.5 mm 80 mm 0 12, 20, 2228 [WEG L 87 23 1o
nozzle @ 8.5 mm

9617230010 | 10.0 bar 85° black 2x M6 gomm  |L 2L MI6xL5 JED-464; 3: hose
nozzle @ 6 mm

9617230030 | 10.0 bar 73° black 2% M6 80 mm L ZAE WG o) JIZ D 28 s
nozzle @ 8.5 mm

961 723 004 0 10.0 bar 85° black 2x M6 80 mm 1, 21: M16x1.5 JED-464; 3: flap

961 723 005 0 10.0 bar 73° green-grey 2x M8 90 mm 1, 21: M16x1.5 JED-388; 3: flap

961 723007 0* | 11.0 bar 73° red 2% M6 80 mm 1, 21: M16xL15; 3: flap

9617230080 | 16.5 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

961 723 009 0* 10.0 bar 73° green-grey 2x M8 90 mm 1, 21: M16x%1.5 JED-388; 3: flap

9617230120 | 16.5 bar 73° black 2% M6 80 mm L ZIE I8 JED=2iais 8 o
nozzle @ 8.5 mm

136




Rl NS Actuation Colour Mounting RIEEIIES Port
number pressure between holes

1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 8.5 mm

961 7230190 10.0 bar 73° black 2x M8 90 mm 1, 21: M16x1.5 JED-388; 3: flap

1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

1, 21: M16x%1.5 JED-464; 3: hose
nozzle @ 6 mm

961 723 023 0* 11.0 bar 73° red 2x M6 80 mm 1, 21: M16x%1.5; 3: flap

1, 21: M16x1.5 JED-388; 3: hose

961 7230150 10.0 bar 85° black 2x M6 80 mm

961 723 016 0 10.0 bar 85° black 2x M6 80 mm

961 723021 0 10.0 bar 73° black 2x M6 80 mm

961 723 0220 10.0 bar 73° black 2x M6 80 mm

961 7230250 10.0 bar 85° black 2x M6 80 mm
nozzle @ 6 mm

9617230260 | 10.0 bar 730 black 2% M6 T || MO S ISR 2R e
nozzle @ 6 mm

961 723027 0* | 13.0 bar 85° black 2% M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose

nozzle @ 6 mm
961 723 028 0 11.0 bar 85° black 2x M8 80 mm 1, 21, 22, 3: M16x1.5 JED-388

1, 21: M16x1.5 JED-388; 3: hose
nozzle @ 6 mm

961 723 031 0* 10.0 bar 73° red 2x M8 90 mm 1, 21: M16x%1.5 JED-388; 3: flap
1, 21: M16x1.5 JED-464; 3: hose

961 7230300 10.0 bar 73° black 2x M6 80 mm

9617230380 | 10.0 bar 85° black 2x M6 80 mm
nozzle @ 6 mm

9617230400 | 10.0 bar 85° grey 2% M6 W | oh O S R TR
nozzle @ 6 mm

9617230420 | 10.0 bar 85° black 2% M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

9617230430 | 10.0 bar 73° red/black 2x M8 80 mm s 205 [Ltles clAp-Cleier 28 e
nozzle @ 6 mm

9617230500 | 10.0 bar 85° black 2x @ 7 mm 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

9617230860 | 10.0 bar 85° black/white | 2x @ 7 mm | ek MDD ISR 2R e

nozzle @ 6 mm

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 9617210110 9617210042 Valve + venting guide m 9617230030 9617230012 Filter
961 7219202 Valve piston

m 9617210190 9617210042 Valve + venting guide
961 7219202 Valve piston

m 9617210440 9617210042 Valve + venting guide

m 9617230040 9617230012 Filter
m 9617230120 9617230012 Filter
m 9617230150 9617230012 Filter

961 7219202 Valve piston m 9617230160 9617230012 Filter
m 9617230010 9617230012 Filter m 9617230400 9617230012 Filter
961 7239302 Protection hood +
handle

137




ELECTRONIC BRAKING SYSTEM (EBYS)

Hand brake valve - parking with additional valve

m Temperature —40 ... +80 °C
961 702 004 0: -10 ... +120°C
961 721 127 0: -30 ... +80°C

m \Voltage * 24V

961 721 0000 9617231180 9617232150 9617232170

eI WS Actuation Colour Mounting e Port
number pressure between holes

961 702 001 0 8.0 bar 90° black 2x @ 7 mm 75 mm 1,22, 3: M14x1.5

961 702 004 0 8.0 bar 90° black 2x @7 mm 75 mm 1, 22, 3: M14x1.5

961 702 0050 8.0 bar 90° black 2x @ 7 mm 75 mm 1, 22, 3: M14x1.5

961 702 011 0 8.0 bar 90° black 2x @ 7 mm 75 mm 1,22, 3: M14x1.5

9617020300 | 10.0 bar 90° black 2x @ 7 mm 75 mm 1,22, 3: M14x1.5

9617020310 | 10.0 bar 90° black 2x @ 7 mm 75 mm 1,22, 3: M14x1.5

961 703 002 0 8.0 bar 90° black 2x @ 7 mm 75 mm 1,22, 3: M14x1.5

9617210000 | 10.0 bar 90° black 2% M6 e |2 o VUL EE eRE ezl
@ 8.2 mm

9617210400 | 10.0 bar 75° green grey 2x M6 32x39 mm | L 2L M14xL5; 3. hose nozzle
@ 8.2 mm

9617211270 | 10.0 bar 90° black 2x M6 32x39mm | & 2L M14x1.5; 3: hose nozzle
@ 8.5 mm

9617222120 | 10.0 bar 73° black 2x M8 40 mm 11,21, 22: ¢ 12.5 mm; 3: hose
nozzle @ 8.5 mm

9617222140 | 10.0 bar 73° black 3x@545mm | 70x76mm |l 2l 22: M1dxl5;3: hose
nozzle @ 8.5 mm

9617222400 | 10.0 bar 73° black 2x M8 80 mm 11,21, 22: M16x1.5 JED-388;
3: hose nozzle @ 8.5 mm

9617222520 | 10.0 bar 73° black 2x M8 40 mm o 2 22 ORiliag 25 1TRsE
nozzle @ 8.5 mm

9617222580 | 10.0 bar 69° black 2x M6 80 mm %}}lﬁ)’ 21,22, 23: M14x1.5;

9617222600 | 10.0 bar 69° black 2x M8 80 mm F ) e O e
3: hose nozzle @ 8.5 mm

9617222660 | 10.0 bar 73° black 2x M8 40 mm 11,21, 22: M14x1.5; 3: hose

nozzle @ 8.5 mm
961 722 267 0* 10.0 bar 73° black 2x M8 40 mm 11, 21, 22: M14x1.5; 3: flap
11, 21, 22: M14x1.5; 3: hose

9617222690 | 10.0 bar 73° black 2x M6 80 mm
nozzle @ 8.5 mm
9617222780 | 10.0 bar 73° black 2x M8 40 mm () il 22 L dISoReeta]
3: hose nozzle @ 6 mm
961722291 0% | 10.0 bar 73° black 2x M6 80 mm 11, 21, 22: M14x1.5; 3: hose
nozzle @ 8.5 mm
9617223020 | 10.0 bar 85° black 2x M6 80 mm O 220 2728 G5 SR I
nozzle @ 8.5 mm
9617223050 | 10.0 bar 85° black 2x M6 80 mm 11,21, 22: M14x1.5; 3: hose

nozzle @ 8.5 mm

138




Rl NS Actuation Colour Mounting RIEEIIES Port
number pressure between holes
9617223140 | 10.0 bar 73° black 3x@545mm | 70x58mm |1l 2L 22: M14x1.5:3: hose
nozzle @ 8.5 mm
9617223240 | 10.0 bar 85° black 2x M6 80 mm 11, 21, 22: M14x1.5; 3: hose
nozzle @ 8.5 mm
9617230390 | 10.0 bar 73° grey 2x M6 80 mm 1, 20 LA QIED=ainn 6 ees
nozzle @ 6 mm
9617230410 | 10.0 bar 73° black 2% M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm
961 723 049 0 10.0 bar 73° black 2x M8 90 mm 1, 21: M16x1.5 JED-388; 3: flap
961723051 0% | 10.0 bar 73° black 2x 3 9.0 mm 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm
961 7231000 | 10.0 bar 73° black 2% @ 6.5 mm 80 mm L 2 22 VIG5 &% INgee
nozzle @ 8.5 mm
9617231020 | 10.0 bar 730 black 2% M6 gomm | L 2L 22 M16x1.5 JED-464;
3: hose nozzle @ 6 mm
961 7231040 | 10.0 bar 73° green-grey 2x M8 90 mm é‘. ﬁ;‘pzz M16x1.5 JED-388;
961723107 0* |  10.0 bar 73° green-grey 2x M8 90 mm éi fé‘pzz: M16x1.5 JED-388;
9617231080 | 10.0 bar 73° black 2x M6 80 mm B 2oty 2] MRS B I IR 5
3: hose nozzle @ 6 mm
9617231090 | 10.0 bar 73° black 2% M6 gomm | L 2L 22 M16x1.5 JED-464;
3: hose nozzle @ 6 mm
9617231110 | 10.0 bar 73° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
961 7231120 10.0 bar 73° black 2x M8 90 mm éi ?l:;,p22: WILELS JED =358
9617231160 | 10.0 bar 73° black 2x M6 80 mm o 8 2 LS I HD S
3: hose nozzle @ 8.5 mm
961 723 117 O* 11.0 bar 73° red 2x M6 80 mm 1, 21, 22: M16x1.5; 3: flap
961 723 118 0 10.0 bar 73° black 2x M8 90 mm éi ﬁ;bzz: e
961723120 0 | 10.0 bar 73° black 2x M8 90 mm i{ ﬁ;p 22: M16x1.5 JED-388;
4x @ 9.0 mm /
961 723 122 0 10.0 bar 73° black/ white | 2x @ 6.5 mm / 44x80 mm 1, 21, 22: M16x1.5; 3: flap
2x 6.0 mm
9617231230 | 10.0 bar 73° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
9617231240 | 10.0 bar 73° black 2x M8 90 mm éi ﬁ;’p 223 e 9 1T el
9617231250 | 11.0 bar 73° black 2x M8 80 mm 1,21, 22, 3: M16x1.5 JED-388
9617231260 | 10.0 bar 73° black 2x M6 80 mm Lo oty G LilRens o9 SR
3: hose nozzle @ 6 mm
9617231270 | 10.0 bar 73° black 2x M6 80 mm 1,21,22: M16x1.5 JED-388;
3: hose nozzle @ 6 mm
9617231300 | 10.0 bar 73° black 2x M6 80 mm L 20, 22 Mledls JI st
3: hose nozzle @ 6 mm
9617231390 | 10.0 bar 73° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
9617231400 | 10.0 bar 73° black 2% M6 80 mm T 2y 22 RS, 8|2 DRy
3: hose nozzle @ 6 mm
9617231430 | 10.0 bar 73° black 2% M6 gomm |1 2L 22: M16x1.5 JED-388;
3: hose nozzle @ 6 mm
9617232000 | 10.0 bar 85° black 2% M6 SO | e e e e SRS o
3: hose nozzle @ 6 mm
9617232030 | 10.0 bar 85° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-464;
3: hose nozzle @ 6 mm

139



ELECTRONIC BRAKING SYSTEM (EBYS)

Rl NS Actuation Colour Mounting RIEEIIES Port
number pressure between holes
9617232040 | 10.0 bar 85° black 2x M6 80 mm 1,21, 22: M16x1.5 JED-464;
3: hose nozzle @ 6 mm
9617232080 | 10.0 bar 85° black 2% M6 gomm |4 2L 22: M16x15 JED-464;
3: hose nozzle @ 6 mm
9617232120 | 10.0 bar 85° black 2x M6 80 mm L R IS
3: hose nozzle @ 6 mm
961723214 0% | 11.0 bar 85° red 2x M8 90 mm éi fé’pzz: M16x1.5 JED-388;
9617232150 | 10.0 bar 73° black 2x M6 80 mm R laali et L e
3: hose nozzle @ 6 mm
4x @ 9.0 mm /
961 7232170 10.0 bar 73° black/ white | 2x @ 6.5 mm/ 44x80 mm 1, 21, 22: M16x%1.5; 3: flap
2x @ 6.0 mm
9617239620 | 10.0 bar 73° black 2% M6 TEm || et R
nozzle @ 6 mm
961 724 224 0 8.5 bar 59.5° dark grey 6x @ 8.0 mm | special console 1j 21, 22: quick connection;
3: hose nozzle @ 6 mm
961 724 2250 8.5 bar BSOS dark grey 6x @ 8.0 mm | special console 1f 2 ez [e S
3: hose nozzle @ 6 mm
Repair solutions
Product number  Repair kit Content
m 9617210000 9617210082 Valve
m 9617210400 9617219202 Valve piston
m 9617211270 9617210042 Valve + venting guide
961 7219202  Valve piston
m 9617230390 9617230012 Filter
m 9617231020 9617230092 Valve
m 9617231080 9617230092 Valve

961 723 930 2

Protection hood + handle

m 9617231090 9617230092 Valve
m 9617231170 9617230092 Valve
m 9617231220 9617230092 Valve
m 9617231390 9617230012 Filter
m 9617231400 9617230012 Filter
m 9617231430 9617230092 Valve
m 9617232000 9617230092 Valve

961 723 2030

961 723 930 2
961 723 930 2

Protection hood + handle

Protection hood + handle

m 9617232040 9617230092 Valve
m 9617232080 9617230092 Valve
m 9617232120 9617230092 Valve
m 9617232140 9617230092 Valve
m 9617232150 9617230092 Valve

140




Hand brake valve for trailer control

m Temperature -40 ... +80 °C
m \Voltage *24V

961 723 403 0 961 723 421 0 961723 423 0 961723 428 0
Product Max. Actuating Colour Mounting Distance Port
number pressure range between holes
8845019220 | 10.0 bar 7°/45° black 2x @ 8.5 mm 22 mm 1,21, 22: M16x1.5 JED-388
VAR b Gl
8845021050 | 10.0 bar 73° red 2% M6 T |l 2 e NPT ER TS el
@ 8.5 mm
8845025210 | 11.0 bar 85° black 2x M8 90 mm ;1 ?I;,DZZZ M16x1.5 JED-388,;
8845030280 | 10.0 bar 7°/45° black 2% @ 8.5 mm 22 mm 1, 21, 3: M16x1.5 JED-388
8845031660 | 10.0 bar 70° black 4x M5x1 32x32mm | b 2 M14x1.5; 3. hose nozzle
@ 6 mm
9617234010 | 10.0 bar 73° black 2% M6 T | el MO SRS S

nozzle @ 6 mm
1, 21: M16x1.5 JED-464; 3: hose

961 723 4030 10.0 bar 73° black 2x M6 80 mm
nozzle @ 6 mm

9617234050 | 10.0 bar 73° black 2% M6 80 mm 2 gl JIFb el o e
nozzle @ 6 mm

9617234110 | 10.0 bar 73° black 2% M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

9617234140 | 10.0 bar 73° black 2x M6 80 mm o ZAE [l dles ISRt 28 (15
nozzle @ 6 mm

9617234180 | 10.0 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose
nozzle @ 6 mm

9617234200 | 10.0 bar 730 black 2% M6 T | LS SRS S
nozzle @ 6 mm

9617234210 | 10.0 bar 73° blue/black 2x M8 80 mm 1, 21: M16x1.5 JED-388: 3: flap

961 723 423 0 10.0 bar 73° blue/black 2x M8 90 mm 1, 21: M16x1.5 JED-388; 3: flap

9617234250 | 10.0 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose

nozzle @ 6 mm
961 723 426 0 10.0 bar 73° blue/black 2x M8 90 mm 1, 21: M16x1.5 JED-388; 3: flap
1, 21: M16x1.5 JED-464; 3: hose

961 723 428 0* 10.0 bar 73° black/white 2xX @ 9 mm 80 mm
nozzle @ 6 mm

9617234290 | 10.0 bar 73° black 2% @7 mm T | GO S SRR e e
nozzle @ 6 mm

9617234300 | 10.0 bar 73° black 2% M6 80 mm 1, 21: M16x1.5 JED-388; 3: hose
nozzle @ 6 mm

961 7234330 | 10.0 bar 73° black 2% M6 80 mm e 21 Inlisrdles) JISRRAKS 28 105
nozzle @ 6 mm

9617234360 | 10.0 bar 73° black 2x M6 80 mm 1, 21: M16x1.5 JED-464; 3: hose

nozzle @ 8.5 mm

141




ELECTRONIC BRAKING SYSTEM (EBYS)

Repair solutions

Product number

Repair kit

Content

961 7234010
961 723 4030

961 7234050
9617234110
961 7234140
961 7234300

142

961 723 001 2

961 723 001 2
961 723 930 2

961 723 001 2
961 723 001 2
961 723 001 2

961 723 009 2
961 723 930 2

Filter

Filter
Protection hood + handle

Filter
Filter
Filter

Valve
Protection hood + handle




Hydraulic brake systems

Conventional hydraulic brake

Load sensing valve - hydraulic

m Medium Brake fluid

m Temperature —40 ... +80 °C
468 402 008 0: —40 ... +100 °C

= Mounting 2x M8 468 404 253 0 468 406 000 0
Product Max. ) Stroke Distance
Operation Port
number pressure total control holes bolts
468 402 008 0 150 bar 30 ... 150 bar - - 55 mm - 1.1,1.2,2.1: M12x1
468 404 253 0 150 bar 5 ... 120 bar —-40° ... +70° +25° 30 mm - 1, 2: M12x1
468 404 3050 150 bar 6 ... 120 bar -40° ... +70° +25° 30 mm - 1, 2: M12x1
468 406 000 0 | 10/150 bar 5 ... 130 bar - - — 72 mm 1, 2, 4: M12x1

Repair solutions

Product number  Repair kit Content

m 4684020080 4684020012 Extentsion spring + valve
m 4684042530 4684040002 Sealing
m 4684043050 4684040002 Sealing

Brake valve
m Medium Pneumatic: Air
Hydraulic: Brake fluid
m Temperature —40 ... +80 °C
m Predominance max. 0.25 bar (fixed setting) 470 012 000 0
Max. pressure
Rlicel Nominal @ : P : Port
number Pneumatic Reservoir
470012 0000 10 mm 8 bar 55 bar 1, 2: M14x1; 11, 12, 21, 22: M16x1.5; 3: exhaust

143




HYDRAULIC BRAKE SYSTEMS

Single circuit air - hydraulic servo unit - e
m Medium Brake fluid
921 399 024 0: Mineral oil
m Temperature -40 ... +80 °C
m Pneumatic 8 bar
pressure
m Accessory 9213998222 Level control switch 921 399 016 0 921 399 200 0
Product Hydraulic Volume E—
number pressure Swept Reservoir
9213990160 120 bar 60 cm? 770 cm3 11-4: M22x1.5; 12: @ 44.8x3.62; 2: M12x1
9213990190 120 bar 60 cm3 - 11-4: M14x1.5; 12: M14x1.5; 2: M12x1; 5: M16x1.5
921 399 022 0 120 bar 60 cm? 770 cm3 11-4: M22x1.5; 12: @ 44.8%x3.62; 2: M12x1
921 399024 0 120 bar 60 cm? 770 cm3 11-4: M22x1.5; 12: @ 44.8x3.62; 2: M12x1; 5: M16x1.5
9213990250 120 bar 60 cm3 770 cm3 11-4: M22x1.5; 12: @ 44.8x3.62; 2: M12x1
921 399 027 0 120 bar 60 cm3 770 cm3 11-4: M22x1.5; 12: @ 44.8x3.62; 2: M12x1; 5: M16x1.5
921 399 200 0 120 bar 30 cm3 770 cm3 11-4: M22x1.5; 12: @ 44.8x3.62; 2: M12x1
Repair solutions
Product number  Repair kit Content

m 9213990250 9213999272 Reservoir

Trailer control valve

Trailer control valve - 1-circuit (470 015 ... 0)

m Temperature —-40...+80°C

m Lever v

m Port 1, 2: M16x1.5; 3: flap; 4: DIN 74235 - EL M12x1
= Mounting 2x @ 9.0 mm

m Distance Bolts: 48 mm

Holes: 50 mm

470 015054 0

Product number Limiting pressure Working pressure Medium
4700150100 70.0 bar 7.0 /80.0 bar bar Brake fluid
470015011 0 70.0 bar 7.0/ 80.0 bar Mineral oil
4700150510 15.0 bar 7.0 /50.0 bar Mineral oil
470 0150520 20.0 bar 7.0 /50.0 bar Brake fluid
4700150540 30.0 bar 7.0/50.0 bar Brake fluid
470 015 055 0 30.0 bar 7.0/ 50.0 bar Mineral oil
4700150900 45.0 bar 7.0 /50.0 bar Brake fluid
470 015096 O 15.0 bar 7.0 /50.0 bar Brake fluid
4700150980 25.0 bar 7.0 /50.0 bar Brake fluid
470 015099 0 20.0 bar 7.0/ 50.0 bar Brake fluid
470 015 590 O* 45.0 bar 7.0/50.0 bar Brake fluid

* =470 015 090 0 + 471 208 000 0

144




Repair solutions

Product number  Repair kit Content Product number  Repair kit Content
m 4700150100 4700150012 Valve m 470015096 0 4700150022 Valve

m 4700150510 4700150042 Valve m 4700150980 4700150032 Valve

m 4700150520 4700150022 Valve m 4700150990 4700150022 Valve

m 4700150540 4700150032 Valve m 4700155900 4700150012 Valve

m 4700150550 4700150052 Valve 4712080002 valve

m 4700150900 4700150012 Valve

Trailer control valve - 1-circuit (471 20. ... 0)

m Temperature —-40... +80°C

= Medium Air

471 200 008 0 4712001100 471 2050400 471 208 0000
Product number Lever Working pressure Mounting Dlstangﬁl?:tween Port

4712000080 - 8 bar 4x M10 117x117 mm 1,2, 4: M22x1.5
471 200 102 0 v 8 bar 3x M10 165 mm 1,2, 4: M22x1.5
471 200 1100 - 8 bar 4x M10 117x117 mm 1, 2, 4: M22x1.5
471 200 113 7 v 8 bar 4x M10 165 mm 1,2, 4: M22x1.5
471 200 1140 - 8 bar 4x M10 165 mm 1, 2, 4: M22x1.5
471 200 117 0 - 8 bar 4x M10 165 mm 1,2, 4: M22x1.5
4712050400 - 8 bar 3x M10 116x116 mm 1,2, 4: M22x1.5
471 208 000 0 - 10 bar 2x @ 8.0 mm Holes: 58 mm 1, 4. M16x1.5; 2: M22x1.5

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4712000080 4712000072 Valve m 4712001140 4712000072 Valve

m 4712001020 4712000052 Valve m 4712001170 4712000072 Valve

m 4712001100 4712000072 Valve m 4712080000 4712080002 Valve

145




HYDRAULIC BRAKE SYSTEMS

Trailer control valve - 2-circuit hydraulic actuated

m Temperature —-40...+80°C

m Lever 4

= Mounting 2x@9.0mm 470 015 203 0 470 015 215 0

Pressure )
Product number — - Medium Port
limiting working

470 0152030 12.0 bar 7.0/50.0 bar Mineral oil 1, 2: M16x1.5; 3: flap; 4: DIN 74235 - EL M12x1
470015214 0 72.5 bar 8.5/90.0 bar Brake fluid 1, 2: M16x1.5; 3: flap; 4: DIN 74235 - EL M10x1
4700152150 20.0 bar 7.0 /50.0 bar Mineral oil 1, 2: M16x1.5; 3: flap; 4: DIN 74235 - EL M10x1
470 015 217 0 14.0 bar 8.5 /50.0 bar Mineral oil 1, 2: M16x1.5; 3: flap; 4: DIN 74235 - EL M12x1

Repair solutions

Product number  Repair kit Content

m 4700152030 4700150062 Valve

m 4700152150 4700159002 Valve

m 4700152170 4700150062 Valve

Trailer control valve - 2-circuit hydraulic & pneumatic actuated

m Temperature —-40...+80°C
m Lever v
m Port 1, 2: M16x1.5; 3: flap; 42: M12x1.5
m  Mounting 2x 9.0 mm
4700152520 4700152650 4700152590 4700152610
Pressure
Product number — - Medium Port 41
limiting working
470 015 2520 20.0 bar 7.0 /50.0 bar Brake fluid DIN 74235 - EL M10x1
470 015 2530 20.0 bar 7.0 /50.0 bar Mineral oil DIN 74235 - EL M10x1
470 015 254 0 11.0 bar 7.0/50.0 bar Brake fluid DIN 74235 - EL M10x1
470 015 255 0 11.0 bar 7.0/ 50.0 bar Mineral oil DIN 74235 - EL M10x1
470 015 256 0 19.0 bar 7.0/50.0 bar Brake fluid DIN 74235 - EL M10x1
470 015 2570 19.0 bar 7.0 /50.0 bar Mineral oil DIN 74235 - EL M10x1
470 0152580 14.0 bar 7.0 /50.0 bar Brake fluid DIN 74235 - EL M10x1
470 015 259 0 8.0 bar 7.0/ 50.0 bar Mineral oil DIN 74235 - EL M10x1
146



Pressure .
Product number — : Medium Port 41
limiting working
470 015 261 0 14.0 bar 7.0/50.0 bar Mineral oil DIN 74235 - EL M10x1
470 015 2630 4.2 bar 7.4/10.0 bar Mineral oil DIN 74235 - EL M10x1
4700152650 11.0 bar 7.4/ 50.0 bar Mineral oil DIN 74235 - EL M10x1
470 015 267 0 14.0 bar 8.1/50.0 bar Mineral oil DIN 74235 - FL M10x1
470 0152690 14.0 bar 8.5/50.0 bar Mineral oil DIN 74235 - FL M10x1
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content
m 4700152520 4700150072 Valve m 4700152570 4700150082 Valve
m 4700152530 4700150082 Valve m 4700152590 4700159012 Valve
m 4700152540 4700150072 Valve m 4700152630 4700159022 Valve
m 4700152550 4700150082 Valve m 4700152670 4700159032 Valve
m 4700152560 4700150072 Valve m 4700152690 4700159032 Valve
Hydraulik brake chamber
Temperature —40 ... +80 °C
Max. pressure 10 bar
Total length 147 mm

Con-rod length

Comments

46 mm (at stroke 0)
Y mechanical wear indicator after stroke 37.5 mm

2 with switch; clamp band position 120°
3 with switch; clamp band position 180°

423 0550500

423 056 0000

423 056 004 0

423 058 0020

) Con_rod Inlet POI"[
Product number Type Stroke Mounting . — Exhaust
radius Position Thread
423 054 0000 16 75 mm 3x M10 5.5 mm 120° M16x1.5 v
423 054 001 0 16 75 mm 3x M10 5.5 mm 240° M16x1.5 (74
423 0550000 20 75 mm 3x M10 5.5 mm 240° M16x1.5 v
423 055001 0 20 75 mm 3x M10 5.5 mm 120° M16x1.5 v
423 055006 0 20 62 mm 3x M10 5.5 mm 315° M22x1.5 v
423 055 008 0 20 75 mm 3x M10 5.5 mm 30° M22x1.5 v
2x M12x1.5/ o
423 0550500 20 50 mm 2% M10 8.0 mm 0 M14x1.5 v
2x M12x1.5/ . M22x1.5 M16x1.5
423 055 1000 20 75 mm 3% M10 5.5 mm 0 JED-388 JED-388
423 056 000 0 24 75 mm 2 M12x15] 5.5 mm 240° M16x1.5 v
3x M10
147



HYDRAULIC BRAKE SYSTEMS

) Con-rod |n|et Port
Product number Type Stroke Mounting . — Exhaust
radius Position Thread
2x M12x1.5 / s
423 056 001 0 24 75 mm 3% M10 5.5 mm 120 M16x1.5 v
423 056 004 0 24 75 mm 2 M12xL5 ] 8.0 mm centre M16%1.5 v
3x M10
2x M12x1.5 / 5
423 056 050 0 24 50 mm 2% M10 8.0 mm 0 M14x1.5 v
423057 001 09 30 75 mm 21 M12x1.5 7.5 mm 255° M16x1.5 v
3x M10
423 057 003 02 30 75 mm o g 7.5 mm centre M16x1.5 v
3x M10
423 057 01009 30 75 mm 2x M12x1.5/ 7.5 mm centre M16x1.5 (4
3x M10
423058 001 0V 36 75 mm e el 7.5 mm 255° M16x1.5 v
3x M10
423058 002 0¥ 36 75 mm 2 M12xl5] 7.5 mm centre M16%1.5 v
3x M10
423 060 000 O 14 75 mm 3x M10 5.5 mm 240° M16x1.5 v
423 060 004 0 14 62 mm 3x M10 5.5 mm 0° M22x1.5 (4
Repair solutions
Product number  Repair kit Content
m 4230560000 4230560002 Diaphragm
m 4230560010 4230560002 Diaphragm
m 4230560040 4230560002 Diaphragm
m 4230570010 4230570002 Diaphragm
m 4230570030 4230570002 Diaphragm
m 4230580010 4230080002 Diaphragm
Piston air / hydraulic actuator
m Temperature —40 ... +80 °C
m Con-rod length 46 mm (at stroke 0)
m Piston @ 150 mm
m Console v
421 305 147 0: —
m Flanged with hydraulic master cylinder
= Mounting 3x M10 to hydraulic cylinder
m Accessory 441 014 0020  Pressure switch 421517 082 0
Product Max. Length Stroke Controd Push force Port
number pressure radius at pressure
421 305 106 0 8 bar 155 mm 75 mm 8.0 mm roknfasbar .\ 500 5 switch: —
9.3kn /6.0 bar
7.0 kn /4.5 bar; 1: M22x1.5;
421 305 147 0 8 bar 155 mm 75 mm 8.0 mm 9.3 kn /6.0 bar switch: M10x1
7.2 kn/ 4.5 bar; 1, 2: M22x1.5; 3: @ 10x1;
421512 182 0 10 bar 219 mm 60 mm 7.5 mm 9.6 kn /6.0 bar switch: —
7.2 kn/ 4.5 bar; 1, 2: M22x1.5; 3: @ 10x1;
421 512 183 0 10 bar 219 mm 60 mm 7.5 mm 9.6 kn /6.0 bar switch: —
5.5kn /4.5 bar; 1, 2: M22x1.5; 3: @ 10x1;
421517 0820 10 bar 230 mm 60 mm 7.5 mm 74 kn /6.0 bar switch: —

148




Repair solutions

Product number

Repair kit

Content

m 4213051060

m 4213051470

m 4215121820
m 4215121830

421 305000 2
422 802 003 2

421 305000 2
422 802 003 2

421512001 2
421512001 2

Sealing + filter
Sealing

Sealing + filter
Sealing

Sealing

Sealing

Electro hydraulic brake

Hydraulic ABS modulator
m System 4S/4M
m Temperature —40 ... +85°C
m Medium Brake fluid FMVSS 116
m  Working pressure 150 bar
m Port MF: Modulator front FL: front left RL: rear left
MR: Modulator right FR: front right RR: rear right 478 407 067 0
Diagnostic
FICELE] Application 2 Voltage Port
number Protocol Software
. MF, MR, FL, RL: M12x1,
478 407 046 0 | Multicar KWP 2000/SAE J1939 HBS AddOn-E 12V FR. RR: M10x1
MF, MR, FL, RL: M12x1,
478 407 048 0 | Ashok Leyland KWP 2000/SAE J1939 HBS AddOn-E 24V FR. RR: M10x1
MF, MR, FL, RL: M12x1,
478 407 067 0 |GAZ KWP 2000/SAE J1939 HBS AddOn-E 12V FR. RR: M10x1
- MF, FL, RL: 7/16"-24 UNS-2B;
478 407 072 0 | Freightliner SAE J1587/SAE J1939 — 12V MR, FR, RR: %"-20 UNF-2B
. MF, MR, FL, RL: M12x1;
478 407 084 0 | Multicar KWP 2000/SAE J1939 HBS AddOn-E 12V FR. RR: M10x1
MF, MR, FL, RL: M12x1;
478 407 108 0 |Hansa KWP 2000/SAE J1939 - 12V FR. RR: M10x1

Repair solutions

Product number

Repair kit

Content

m 4784070460

m 4784070480

446 047 923 2
478 407 944 2

446 047 922 2

ABS ECU
ABS modulator

ABS ECU

149




HYDRAULIC BRAKE SYSTEMS

ABS hydraulic power brake (HPB)

m Application
m Medium
m Port

Hyundai
Brake fluid FMVSS 116

MF: Modulator front
MR: Modulator right
FL: front left
FR: front right

RL: rear left
RR: rear right 468 411 007 0 478 407 1270
Product number Max. pressure Voltage Temperature Port
468 411 007 0 - 8..32V -20...+70°C 2x M10x1
478 407 127 0 160 bar 24V -35... +85°C MF, MR, FL, FR, RL, RR: M10x1

Repair solutions

Product number

Repair kit Content

m 468 4110070
m 4784071270

4519009262 Yoke

478 4079302 Relay valve
478 407 953 2 DC-motor
478 408 923 2 DC-motor
478 408 926 2  Guide

Hydraulic electronic control unit (ECU)

m  System 4S/AM

m Voltage 12V

m Distance between holes 112x122 mm

m  Mounting 3x @ 7.5 mm

m Diagnostics Diagnostic software ABS D Hydraulic (KWP 2000)
m Function? ETC: Electronic traction control

EBD: Electronic brakeforce distribution
4WD: Four-wheel drive

446 0440790

Product number Application Protection class Temperature Comment
446 044 0770 Renault IP30 (IEC 529) —-40 ... +70°C
i . with special function? (ETC,
446 044 0790 Multicar IP30 (IEC 529) —-40 ... +70 °C EBD, 4WD)

150




Brake actuators

Service brake chamber (UNISTOP™)

Service brake chamber (UNISTOP™) - disc

Type 14
m Push-rod thread Ball R8
m Working pressure 10.2 bar
m Clamp band @ 166 mm
m Bolt lengths /threads 43 mm / M16x1.5
m Distance between bolts 120.7 mm
m Port 9 JED-388
m Temperature —-40 ... +80 °C 423514 001 0
Length Position Port
Product
Stroke Clamp . .
number Chamber Push rod band Side port Side Top
4231147100 57 mm 121 mm 15 mm 20° 0° M16x1.5 M16x1.5
423 514 001 O 57 mm 104 mm 15 mm 0° -30° M22x1.5Y -
423514 0020 57 mm 104 mm 15 mm 0° —-60°/30° | M16x1.5/M22x1.5 -
Repair solutions
Product number  Repair kit Content
m 4231147100 4235140002 Diaphragm + boot
m 4235140010 4235140002 Diaphragm + boot
m 4235140020 4235140002 Diaphragm + boot
Type 16
m Push-rod thread Ball R8
m Working pressure 10.0 bar
10.2 bar: 423 104 710 0, 423 504 002 0
m Clamp band @ 166 mm
@ 103 mm: 423 504 002 0
m Bolt lengths /threads 38 mm / M16x1.5
43 mm: 423 104 710 0, 423 504 002 0
m Distance between bolts 120.7 mm
m Temperature —40 ... +80 °C 423104 710 0
Length Position Port
Product
Stroke Clamp i i
number Chamber Push rod band Side port Side Top
423104 0200 57 mm 118 mm 15 mm 90° - - M16x1.5
423 104 700 0 73 mm 117 mm 26 mm 180° -90° M22x1.5 -
4231047100 57 mm 121 mm 15 mm 20° 0° M16x1.5 M16x1.5
423104 711 0 73 mm 117 mm 20 mm 180° -90° M22x1.5 -
423104 712 0 73 mm 117 mm 20 mm 180° 90° M22x1.5 -
423 504 002 0 57 mm 104 mm 15 mm -90° 90° M16x1.5 —

151




BRAKE ACTUATORS

Repair solutions

Product number

Repair kit

Content

4231040200
4231047100
4231047110
423104 7120

423 104 002 2
423 104 002 2
423 104 003 2
423 104 003 2

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot

Type 20

Push-rod thread
Working pressure

Clamp band

Bolt lengths / threads

Ball R8

10.0 bar
10.2 bar: 423 505 000 O

@ 175 mm
@ 174 mm: 423 105 700 0

38 mm / M16x1.5
43 mm: 423 505 000 0

m Distance between bolts 120.7 mm
m Temperature —40 ... +80 °C 423505 000 0
Length Position Port
Product
Stroke Clamp i .
number Chamber Push rod band Side port Side Top
4231050200 57 mm 117 mm 15 mm 90° - - M16x1.5
423105 700 0 75 mm 115 mm 20 mm 180° -90° M22x1.5 —
4235050000 62 mm 117 mm 15 mm 20° 0° M16x1.5 M16x1.5
Type 22
m Push-rod thread Ball R8
m  Working pressure 10.2 bar
m Clamp band @ 186 mm
m Boltlengths /threads 43 mm / M16x1.5
m Distance between bolts 120.7 mm
m Temperature -40 ... +80 °C 423 110 710 0
Length Position Port
Product
Stroke C|amp . .
number Chamber Push rod band Side port Side Top
4231107100 62 mm 117 mm 15 mm 20° 0° M16x1.5 M16x1.5

152




Type 24

Push-rod length / thread 15 mm/ Ball R8

Working pressure
Bolt lengths / threads

10.2 bar

43 mm / M16x1.5
42 mm: 423 506 001 0, 423 506 073 0

m Distance between bolts 120.7 mm

m Port 9 JED-464-0

= Temperature —40...+807C 423506 001 0 423506 120 0

Position Port
Product Stroke Length Clamp .
number chamber band p Side port Side Top
band

423 506 001 0 64 mm 120.0 mm @ 185 mm 20° 0° M16x1.5 M16x1.5
423 506 072 0 65 mm 121.0 mm @ 186 mm 180° 0° M16x1.5Y M16x1.5Y
423506 073 0 64 mm 120.0 mm @ 185 mm 0° 20° M22x1.5 M16x1.5
423 506 093 0 64 mm 115.4 mm @ 185 mm 0° 180° M22x1.5 —
423506 094 0 64 mm 115.4 mm @ 185 mm 0° 180° M22x1.5 —
423 506 100 0 65 mm 121.0 mm @ 186 mm 180° 0° M16x1.5Y M16x1.5
423 506 101 0 65 mm 121.0 mm @ 186 mm 180° 0° M16x1.5Y M16x1.5Y
423506 1030 65 mm 121.0 mm | @ 186 mm -90° 0° M16x1.5% M16x1.5Y
423506 104 0 65 mm 121.0 mm @ 186 mm 90° 0° M16x1.5Y M16x1.5Y
423 506 1200 65 mm 121.0 mm @ 186 mm —135° 90° M16x1.5Y M16x1.5Y
423506 121 0 65 mm 121.0 mm @ 186 mm -135° 0° M16x1.5Y M16x1.5Y
423 506 1300 65 mm 121.0 mm @ 186 mm 90° -90° M16x1.5Y M16x1.5
423 506 1430 65 mm 107.0 mm @ 186 mm —45° -90° M16x1.5 JED-152 -

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

423 506 001 0
423 506 0720

423506 100 0
423506 1010

423 506 1030

423 506 001 2

423 506 001 2
925461 013 2

423 506 001 2

423 506 001 2
925 481 000 2

925 481 000 2

Diaphragm + boot

Diaphragm + hose stud
Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + hose stud
Diaphragm + spring

Diaphragm + spring

m 4235061040
m 4235061210

m 4235061300
m 423506 1430

925 481 000 2

423 506 001 2
925 481 000 2

925 481 000 2
423 506 001 2

Diaphragm + spring

Diaphragm + hose stud

Diaphragm + spring
Diaphragm + spring

Diaphragm + hose stud

153




BRAKE ACTUATORS

Service brake chamber (UNISTOP™) - cam

Accessories

Product number Description
895801 140 4 Yoke: inner thread M14x1.5, bolt diameter @ 14 H8, length til mid of borehole 48.5 mm
895801 142 4 Yoke: inner thread M14x1.5, bolt diameter @ 14 H8, length til mid of borehole 37.0 mm
895801 2104 Yoke: inner thread M16x1.5, bolt diameter @ 14 H8, length til mid of borehole 56.0 mm
895 801 215 2 Yoke
895 802 090 4 Yoke: inner thread M16x1.5, bolt diameter @ 16 H10, length til mid of borehole 56.0 mm
423 000 900 2 Repair kit incl. yoke 895 801 140 4 (M14x1.5)
423 000901 2 Repair kit incl. yoke 895 801 210 4 (M16x1.5)
423 000 534 2 Accessory package “hole”
423 000535 2 Accessory package “long hole”

Type 12
m Working pressure 8 bar
m Push-rod thread M16x1.5
m Distance between bolts  76.2 mm
m Temperature —40 ... +80 °C 423103 900 0
iti Port
Product Stroke Push rod Ppsmon Yoke Boot .
number length side port Side Top
423103 2980 57 mm 227 mm 180° screwed v M16x1.5 M16x1.5
423 103 900 0* 57 mm 186 mm 180° - 4 M16x1.5 M16x1.5

* Push rod length can be shortened according to customer needs

Type 14
m Working pressure 10 bar
m Push-rod thread M14x1.5
m Distance between bolts  76.2 mm
m Temperature —40 ... +80 °C 423 114 010 0
iti Port
Product Stroke Push rod Ppsmon Yoke Boot .
number length side port Side Top
423 1140100 75 mm 82.5 mm 0° screwed v M16x1.5 —

154




Type 16

m Push-rod thread M16x1.5; if yoke welded, push-rod not threaded

m Distance between bolts 120.7 mm
76.2 mm: 423 104 900 0

m Port 9 JED-152
m Temperature -40 ... +80 °C 423104 900 0
i iti Port
Product Stroke Working Push rod EOS|t|on Yoke Boot .
number pressure length side port Side Top
423 104 606 0 57 mm 10.0 bar 37 mm - welded v - M16x1.5
423104 6150 57 mm 10.0 bar 37 mm 0° welded (4 M16x1.5 M16x1.5
423 104 900 0* 75 mm 8.5 bar 186 mm 180° - - M16x1.5Y M16x1.5Y

* Push rod length can be shortened according to customer needs

Repair solutions

Product number  Repair kit Content

m 4231046150 4231040012 Diaphragm + boot

Type 20
m Push-rod thread M16x1.5; if yoke welded, push-rod not threaded
m Yoke screwed
m Distance between bolts 120.7 mm
m Port 9 JED-152
m Temperature -40 ... +80 °C 423105 900 0
i iti Port
Product Stroke Working Push rod Ppsmon Yoke Boot .
number pressure length side port Side Top
4231051110 57 mm 10.2 bar 37 mm - welded (4 - M16x1.59
423 105 408 0 57 mm 10.2 bar 37 mm - welded v - M16x1.59
423 1054090 57 mm 10.2 bar 37 mm - welded v - M16x1.59
423105414 0 57 mm 8.0 bar 37 mm 0° welded (4 M16x1.5 -
423105704 0 57 mm 10.2 bar 37 mm —45° welded v M16x1.5Y -
423 105 705 0 57 mm 10.2 bar 37 mm -135° welded (%4 M16x1.5Y -
423 105 900 0* 75 mm 8.5 bar 186 mm 180° - - M16x1.5Y M16x1.5Y

* Push rod length can be shortened according to customer needs

155




BRAKE ACTUATORS

Type 24
m Push-rod thread M16x1.5; if yoke welded, push-rod not threaded
m Distance between bolts  120.7 mm
m Port 9 JED-152; ? JED-464-0
m Temperature -40 ... +80 °C 423106 900 0
i iti Port
Product Stroke Working Push rod EOS|t|on Yoke Boot .
number pressure length side port Side Top
423106 088 0 75 mm 10.2 bar 70 mm - screwed - M16x1.59 -
423 106 106 0 57 mm 8.5 bar 37 mm - welded (4 - M16x1.5
423 106 1150 57 mm 10.2 bar 37 mm - welded (4 - M16x1.5Y
423 106 201 0 65 mm 10.2 bar 58 mm 180° — - M16x1.52 M16x1.52
423 106 2020 65 mm 10.2 bar 102 mm 0° - - M16x1.52 M16x1.52
423 106 2920 75 mm 10.0 bar 116 mm - welded (4 = M16x1.5
423 106 900 0* 75 mm 8.5 bar 186 mm 180° - - M16x1.5 M16x1.5
423 106 926 0 57 mm 10.0 bar 37 mm 0° screwed (4 M16x1.5Y M16x1.5Y
* Push rod length can be shortened according to customer needs
Repair solutions
Product number  Repair kit Content
m 4231062010 4231060032 Diaphragm
m 423106 900 0* 4231069232 Diaphragm
Type 27
m Working pressure 10.2 bar
m Distance between bolts 120.7 mm
m Port 9 JED-152; @ JED-388; ® JED-464-0
m Temperature —-40 ... +80 °C 423109 120 0
Push-rod iti Port
Product Stroke Position Yoke Boot 5
number Thread Length side port Side Top
423 1090100 65 mm M16x1.5 247 mm 0° - - M16x1.5% M16x1.5%
4231090200 64 mm - 54 mm 0° welded v M22x1.5? M12x1.5
4231090220 64 mm - 54 mm 0° welded v M22x1.5? M12x1.5
423 109 102 0 75 mm - 37 mm - welded v - M16x1.5%
423109 1200 75 mm M14x1.5 40 mm - screwed 4 - M16x1.5Y

Repair solutions

Product number  Repair kit Content

m 4231090200 4231099212 Diaphragm
m 4231090220 4231099212 Diaphragm
m 4231091200 4231099202 Diaphragm

156
[



Type 30

m Push-rod thread M16x1.5; if yoke welded, push-rod not threaded
m Distance between bolts 120.7 mm
m Port 9 JED-152; @ JED-388
m Temperature —40 ... +80 °C 423 107 900 0
i iti Port
Product Stroke Working Push rod Ffosmon Yoke Boot .
number pressure length side port Side Top
423 107 406 0 64 mm 10.2 bar 54 mm -30° welded (4 M22x1.5? M12x1.5%
423 107 407 0 64 mm 10.2 bar 37 mm 0° welded (4 M12x1.5% M16x1.5%
423107 408 0 64 mm 10.2 bar 54 mm 30° welded (4 M22x1.5% M12x1.5%
423 107 410 0 64 mm 10.2 bar 54 mm 0° welded (4 M12x1.59 M22x1.52
423107 411 0 64 mm 10.2 bar 37 mm 0° welded v M22x1.5? M12x1.5%
423 107 900 0* 75 mm 8.5 bar 186 mm 180° - - M16x1.5 M16x1.5

* Push rod length can be shortened according to customer needs

Type 36
m Push-rod thread M16x1.5
m Distance between bolts 120.7 mm
m Temperature —40 ... +80 °C 423008 919 0
i iti Port
Product Stroke Working Push rod Ffosmon Yoke Boot
number pressure length side port Side Top
423 008 919 O* 76 mm 8.0 bar 183 mm 180° - v M22x1.5 M22x1.5

* Push rod length can be shortened according to customer needs

Repair solutions

Product number  Repair kit Content

m 4230089190 4230080002 Diaphragm

157




BRAKE ACTUATORS

Service brake chamber (UNISTOP™) - wedge

Temperature

—40 ... +80°C

42304....0 42307....0 42314....0
Product Working Chamber Clamp . .
number Type Stroke pressure length band Mounting Side port

4231420010 9 44.5 mm 8.0 bar 138.0 mm | @134 mm |1%3."-12 UNS-2A M16x1.5
423 070 0500 12 53.0 mm 8.0 bar 1740 mm | @ 145 mm |M48x1.5 M16x1.5
423 0700670 12 53.0 mm 10.2 bar 213.0mm | @ 145 mm |M48x2 M16x1.5 JED-152
423 070 068 0 12 53.0 mm 10.2 bar 213.0mm | @ 145 mm |M48x2 M16x1.5 JED-152
423 143001 0 12 44.5 mm 8.0 bar 138.0 mm | @145 mm |[13."-12 UNS-2A M16x1.5
4231430040 12 44.5 mm 8.0 bar 187.0 mm | @ 145 mm |134"-12 UNS-2A M16x1.5
4231430120 12 44.5 mm 8.0 bar 1450 mm | @145 mm |1%."-12 UNS-2A M16x1.5
423 1430200 12 51.0 mm 8.0 bar 2150 mm | @ 145 mm |1%:"-12 UNS-2A M16x1.5
4231439020 12 445 mm 8.0 bar 187.0 mm @ 145 mm |1%4"-12 UNS-2A M16x1.5
4230722010 16 53.0 mm 10.0 bar 215.0mm | @166 mm |M48x2 M16x1.5
4230441030 18 53.0 mm 8.0 bar 183.5mm | @164 mm |1%3."-12 UNS-2A M16x1.5
4230730400 18 55.0 mm 10.2 bar 216.0mm | @174 mm |[4x @ 10.5 mm Rc %" (ISO 7-1)
423 0450000 20 53.0 mm 10.0 bar 202.0mm | @173 mm |[M45x1.5 M16x1.5
423 045001 0 20 53.0 mm 10.0 bar 255.0mm | @173 mm |M45x1.5 M16x1.5
4230741020 20 55.0 mm 10.2 bar 215.0 mm @175 mm |4x & 10.5 mm Rc %" (ISO 7-1)
423 077 0500 22 55.0 mm 10.2 bar 220.0mm | @185 mm |4x & 10.5 mm Rc %" (ISO 7-1)
423 046 000 0 24 53.0 mm 10.2 bar 207.5mm | @186 mm |M45x1.5 M16x1.5
423 046 001 0 24 53.0 mm 10.2 bar 276.5mm | @186 mm |[M45x1.5 M16x1.5
423 076 030 0 24 55.0 mm 10.2 bar 2200 mm | @185 mm |4x & 10.5mm Rc %" (ISO 7-1)
423 076 0400 24 55.0 mm 10.2 bar 250.0 mm | @185 mm |4x & 10.5 mm Rc %" (1ISO 7-1)
423076 0410 24 55.0 mm 10.2 bar 250.0mm | @185 mm |4x & 10.5 mm Rc %" (1ISO 7-1)
423 076 100 0 24 55.0 mm 10.2 bar 220.0mm | @186 mm |4x @& 10.5 mm Rc %" (ISO 7-1)

Repair solutions

Product number  Repair kit Content Product number  Repair kit Content

m 4230450000 4253330012 Diaphragm + hose m 4230770500 4230770002 Diaphragm

m 4230450010 4253330012 Diaphragm + hose m 4231430010 4230430002 Diaphragm

m 4230460000 4253310002 Diaphragm + hose m 4231430040 4230430002 Diaphragm

m 4230460010 4253310002 Diaphragm + hose m 4231430120 4230430002 Diaphragm

m 4230730400 4230730002 Diaphragm m 4231430200 4230430002 Diaphragm

m 4230760300 4230760002 Diaphragm m 4231439020 4253270012 Diaphragm + hose stud

m 4230760400 4230760002 Diaphragm 4230430002 Diaphragm

158




Spring brake actuator (TRISTOP™)

Spring brake actuator (TRISTOP™) - disc

m Push-rod thread Ball R8

m Bolt threads M16x1.5

m Distance between bolts 120.7 mm

m BV Internal breathing valve
m Temperature —40 ... +80 °C

925480004 0 9254800050 9254800110 9254811500 925481 3130
ELOn?tl:g: Type Stroke Plu:nhétrﬁd p\)Ar/Z;l:unrge IBV Port thread
925486 1010 12/16 57/57 mm 15 mm 10.2/8.5 bar 4 11, 12: M22x1.5 JED-388
925 486 104 0 12/16 57/57 mm 15 mm 10.2/8.5 bar 4 11, 12: M22x1.5 JED-388
925 486 105 0 12/16 57/57 mm 15 mm 10.2/8.5 bar 4 11, 12: M22x1.5 JED-388
925 486 110 0 12/16 57/57 mm 15 mm 10.2/8.5 bar (%4 11, 12: M22x1.5 JED-388
925486 111 0 12/16 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 486 0100 12/24 57/57 mm 15 mm 10.2/8.5 bar (%4 11, 12: M22x1.5 JED-388
925486 011 0 12/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 426 200 0 14/16 57/57 mm 15 mm 10.0/8.5 bar - 11, 12: M22x1.5 JED-388
925426 2010 14/16 57/57 mm 15 mm 10.0/8.5 bar - 11, 12: M22x1.5 JED-388
925 468 033 0 14/16 57/57 mm 15 mm 10.2/8.5 bar - 11, 12: M22x1.5 JED-388
925 486 420 0 14/16 57/57 mm 15 mm 10.0/10.0 bar v 11, 12: M22x1.5 JED-388
925486 421 0 14/16 57/57 mm 15 mm 10.0/10.0 bar 4 11, 12: M22x1.5 JED-388
925488 0100 14/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 488 014 0 14/24 57/57 mm 15 mm 10.2/8.5 bar (4 11, 12: M22x1.5 JED-388
925488 0150 14/24 57/57 mm 15 mm 10.2/8.5 bar 4 11, 12: M22x1.5 JED-388
925 424 800 0 16/16 57/57 mm 15 mm 10.0/8.5 bar - 11, 12: M22x1.5 JED-388
925 424 801 0 16/16 57/57 mm 15 mm 10.0/8.5 bar - 11, 12: M22x1.5 JED-388

925 464 450 0 16/16 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M16%1.5
925 464 451 0 16/16 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5
925 464 461 0 16/16 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5
925 464 5000 16/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5
925484 0100 16/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925484 011 0 16/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 484 020 0 16/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925484 0210 16/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 460 027 0 20/24 57/57 mm 15 mm 10.2/8.5 bar - 11, 12: M16x1.5
9254600900 20/24 64/64 mm 15 mm 10.2/10.0 bar - 11, 12: M22x1.5 JED-388
925 460 091 0 20/24 64/64 mm 15 mm 10.2/10.0 bar - 11, 12: M22x1.5 JED-388
925460101 0 20/24 64/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M16x1.5
925 460 102 0 20/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5
925 460 1300 20/24 75/75 mm 20 mm 10.0/8.0 bar - 11, 12: M22x1.5 JED-388

159



BRAKE ACTUATORS

EL?:S;: Type Stroke Pr:nhg-trr? ¢ ;Ar/g;l;mge IBV Port thread

925 460 240 0 20/24 75/75 mm 20 mm 10.0/8.5 bar - 11, 12: M22x1.5
9254801200 20/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925480121 0 20/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 460 100 0 20/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5

925 480 004 0 20/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925480 0050 20/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 480 0100 20/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
9254800110 20/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 487 000 0 22/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 487 001 0 22/24 64/64 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 461 290 0 24/16 65/45 mm 15 mm 10.5/8.5 bar - 11, 12: M16x1.5 JED-152
925 461 350 0 24/16 65/45 mm 15 mm 10.5/8.5 bar - 11, 12: M16x1.5 JED-152
925481 2300 24/16 65/45 mm 15 mm 10.5/8.5 bar (4 11, 12: M16x1.5 JED-152
9254812310 24/16 65/45 mm 15 mm 10.5/8.5 bar v 11, 12: M16x1.5 JED-152
925 461 022 0 24/24 75/75 mm 20 mm 10.0/8.5 bar - 11, 12: M22x1.5

925461 0230 24/24 75/75 mm 20 mm 10.0/8.5 bar - 11, 12: M22x1.5

925 461 052 0 24/24 64/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M16x1.5
9254611010 24/24 65/65 mm 15 mm 10.0/8.5 bar - 11, 12: M16%1.5

925 461 131 0 24/24 65/65 mm 15 mm 10.0/8.5 bar - 11, 12: M16x1.5

925 461 2100 24/24 75/75 mm 26 mm 10.0/8.5 bar - 11, 12: M22x1.5

925461 211 0 24/24 75/75 mm 26 mm 10.0/8.5 bar - 11, 12: M22x1.5

925461 2920 24/24 65/65 mm 15 mm 10.2/8.5 bar - 11, 12: M16x1.5 JED-464-0
925 461 2930 24/24 75/75 mm 20 mm 10.2/8.5 bar - 11, 12: M22x1.5 JED-388
9254810010 24/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 481 156 0 24/24 64/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M22x1.5 JED-388
925481 1700 24/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-152
925 481 360 0 24/24 65/65 mm 15 mm 10.2/8.5 bar (4 11, 12: M16x1.5 JED-464
9254813610 24/24 65/65 mm 15 mm 10.2/8.5 bar (4 11, 12: M16x1.5 JED-464
925 481 000 0 24/24 57/57 mm 15 mm 10.2/8.5 bar (4 11, 12: M22x1.5 JED-388
925481 012 0 24/24 64/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M22x1.5 JED-388
925 481 013 0 24/24 64/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M22x1.5 JED-388
925481 0200 24/24 57/57 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
925 481 0320 24/24 65/64 mm 15 mm 10.2/8.5 bar (4 11, 12: M16x1.5 JED-464-0
925481 0500 24/24 65/64 mm 15 mm 10.2/8.5 bar ("4 11, 12: M16x1.5 JED-464-0
925 481 051 0 24/24 65/64 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464-0
925481 1500 24/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925481 151 0 24/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
9254812010 24/24 64/64 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-152
925 481 260 0 24/24 75/75 mm 20 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-152
925481 2700 24/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925 481 271 0 24/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
925481 2720 24/24 57/57 mm 15 mm 10.2/8.5 bar v 11, 12: M22x1.5 JED-388
9254810210 24/24 57/57 mm 15 mm 10.2/8.5 bar v HFL3 |11, 12: M22x1.5 JED-388
9254614700 24/30 65/65 mm 15 mm 10.2/8.5 bar - 11, 12: M16x1.5 JED-152
9254614710 24/30 65/65 mm 15 mm 10.2/8.5 bar - 11, 12: M16x1.5 JED-152
9254810700 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464-0
925 481 1000 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-152
9254811020 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-152
925481 1030 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-152
925481 1200 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464-0
9254811210 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464-0

160



Rlicel Type Stroke FIEI= 0 Slns IBV Port thread
number length pressure
925481 0600 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464-0
925481 3120 24/30 65/65 mm 15 mm 10.5/8.5 bar v 11, 12: M16x1.5 JED-152
925481 3130 24/30 65/65 mm 15 mm 10.5/8.5 bar v 11, 12: M16x1.5 JED-152
925481 314 0 24/30 65/65 mm 15 mm 10.5/8.5 bar v 11, 12: M16x1.5 JED-152
925481 3450 24/30 65/65 mm 15 mm 10.2/8.5 bar v 11, 12: M16x1.5 JED-464
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

m 9254248000
m 9254248010
m 9254262000
m 9254262010
m 9254600270
m 9254600900
m 9254600910
m 925460 1000
m 9254601010
m 9254601020
m 9254602400
m 9254610220
m 9254610230
m 9254610520
m 9254611010
m 9254612100
m 9254612110
m 9254612900
m 9254612920
m 9254614700
m 9254614710
m 9254644500

m 9254644510
m 9254644610

m 9254645000

m 9254680330
m 9254810000
m 9254810010
m 9254810120
m 9254810130
m 9254810200

925 426 000 2
925 426 000 2
925 426 000 2
925 426 000 2
925481 001 2
925481 001 2
925481 001 2
925492921 2
925492921 2
925492 921 2
925 460 001 2
925 461 004 2
925 461 004 2
925492 921 2
925 461 003 2
925 461 000 2
925 461 000 2
925 461 003 2
925461 013 2
925 461 003 2
925 461 003 2

925464 002 2
925492921 2

925492 921 2

925492921 2
925464 002 2

925464 002 2
925492921 2

925481 001 2
925481 001 2
925481 001 2
925 481 000 2
925 481 000 2
925 481 000 2

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Screw insert

Screw insert

Screw insert

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Screw insert

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot

Diaphragm + boot

Diaphragm + hose stud

Diaphragm + boot
Diaphragm + boot

Diaphragm + boot
Screw insert

Screw insert

Screw insert
Diaphragm + boot

Diaphragm + boot
Screw insert

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + spring
Diaphragm + spring

Diaphragm + spring

m 9254810210
m 9254810320
m 9254810500

m 9254810510

m 9254810600
m 9254810700
m 9254811000
m 9254811020
m 9254811030
m 9254811500
m 9254811510
m 9254811560
m 9254811700
m 9254812300
m 9254812310
m 9254812600
m 9254812710

9254812720
m 9254813120
m 9254813130
m 9254813140
m 9254813600

m 9254813610

m 9254861010
m 9254861040
m 925486 1050
m 925486 1100
m 9254861110

925 487 0000
m 9254870010

925 481 000 2
925 481 000 2

925 481 004 2
925 481 000 2

925 481 000 2
925 481 004 2

925 481 000 2
925 481 000 2
925 481 000 2
925 481 000 2
925 481 000 2
925 481 000 2
925 481 000 2
925 481 000 2
925481 001 2
925 481 000 2
925 481 000 2
925 481 002 2
925481 001 2
925481 001 2
925 481 000 2
925 481 000 2
925 481 000 2

925 481 004 2
925 481 000 2

925 481 000 2
925481 004 2

925 486 000 2
925 486 000 2
925 486 000 2
925 486 000 2
925 486 000 2
925 487 000 2
925 487 000 2

Diaphragm + spring
Diaphragm + spring

Valve
Diaphragm + spring

Diaphragm + spring
Valve

Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + spring
Diaphragm + boot

Diaphragm + spring
Diaphragm + spring
Diaphragm + boot

Diaphragm + boot

Diaphragm + boot

Diaphragm + spring
Diaphragm + spring
Diaphragm + spring

Valve
Diaphragm + spring

Diaphragm + spring
Valve

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot

161




BRAKE ACTUATORS

Spring brake actuator (TRISTOP™) - cam

m Yoke S - screwed, w - welded

m BV Internal breathing valve

m Port 11,12 9 JED-152; ? JED-388; ¥ JED-464-0

m Accessories 895801 1404  Yoke: inner thread M14x1.5, bolt diameter @ 14 H8, length til mid of borehole 48.5 mm

895801 1424  Yoke: inner thread M14x1.5, bolt diameter @ 14 H8, length til mid of borehole 37.0 mm
895801 2104  Yoke: inner thread M16x1.5, bolt diameter @ 14 H8, length til mid of borehole 56.0 mm
8958012152 Yoke

895802 0904 Yoke: inner thread M16x1.5, bolt diameter @ 16 H10, length til mid of borehole 56.0 mm
423 000900 2 Repair kit incl. yoke 895 801 140 4 (M14x1.5)

423000901 2 Repair kit incl. yoke 895 801 210 4 (M16x1.5)

423 000534 2 Accessory package “hole”

925421 750 0 925491 9000 9254919010 925492 1020 9254929020
ELOn?tl:g: Type Stroke Lengt:usr]-m:hread p\)Ar/Z;l:LTrge Yoke IBV Port 11, 12
925 426 3300 10/16 57/57 mm 155 mm M14x1.5 10.2/8.5 bar s - M22x1.52
925 455 001 0 12/12 45/45 mm 214 mm M14x1.5 12.5/12.5 bar - - M16x1.5
9253248120 12/16 57/57 mm 15 mm Ball R8 10.0/8.0 bar S - M16x1.5
925 324 813 0 12/16 57/57 mm 15 mm Ball R8 10.0/8.0 bar S - M16x1.5
925 324 0000 16/24 57/67 mm 187 mm - 8.0/8.0 bar | s895801 1404 - M16x1.5
925 324 206 0 16/24 57/57 mm 60 mm - 8.0/8.0 bar w - M16x1.5
9253242500 16/24 57/57 mm 60 mm - 10.0/8.0 bar w - M16x1.5
925 324 260 0 16/24 57/57 mm 60 mm - 10.0/8.0 bar w - M16x1.5
925 424 100 0 16/24 57/57 mm 187 mm - 10.2/8.5 bar W - M22x1.52
925 494 041 0* | 16/24 57/57 mm 250 mm M16x1.5 10.2/8.5 bar - v M16x1.5
925 494 106 0 16/24 57/57 mm 187 mm - 10.2/8.5 bar w v M22x1.52)
925 494 9100 16/24 57/57 mm 37 mm - 10.2/8.5 bar w v M22x1.52
925494911 0 16/24 57/57 mm 37 mm - 10.2/8.5 bar w v M22x1.52
925 494 960 0 16/24 57/57 mm 250 mm M16x1.5 10.2/8.5 bar - v M16x1.5
925 420954 0 20/24 57/57 mm 200 mm M14x1.5 10.2/8.5 bar S - M22x1.52
925 490 102 0 20/24 65/65 mm 250 cm M16x1.5 10.2/8.5 bar - v M16x1.5
9254909050 | 20/24 57/57 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254909250 | 20/24 57/57 mm 250 mm M16x1.5 10.2/8.5 bar - v M16x1.5
9253205050 | 20/30 57/57 mm 77 mm - 10.0/8.0 bar w - M16x1.5
9253205150 20/30 57/57 mm 77 mm - 10.0/8.0 bar w - M16x1.5
9254909010 | 20/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
925490906 0 | 20/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9253211600 24/24 57/57 mm 187 mm - 10.0/8.0 bar w - M16x1.5
925 321 2020 24/24 57/67 mm 290 mm M14x1.5 8.0/8.0 bar | s 895801 140 4 - M22x1.5
9253212030 24/24 57/67 mm 25 mm M14x1.5 8.0/8.0 bar | s 8958011404 - M22x1.5
925 321 2920 24/24 57/67 mm 187 mm M14x1.5 8.0/8.0 bar s 895 801 140 4 — M16x%1.5
9254210200 24/24 57/57 mm 310 mm - 10.0/8.5 bar w - M16x1.5
9254211000 24/24 57/57 mm 187 mm - 10.2/8.5 bar w - M22x1.52
9254211410 24/24 57/57 mm 50 mm - 10.2/8.5 bar w - M22x1.52
162



R Type | Stroke Push-rod Working Yoke IBV | Port 11, 12
number Length Thread pressure
925 421 2000 24/24 65/65 mm 93.5 mm - 10.0/8.5 bar | s 895 801 215 2 - M16x1.5
9254212010 | 24/24 65/65 mm 93.5mm - 10.0/8.5 bar | s 895801 215 2 - M16x1.5
925 421 342 0 24/24 57/57 mm 112 mm M16x1.5 10.0/10.0 bar W - M16x1.5
925421 3460 24/24 57/57 mm 112 mm M16x1.5 10.0/10.0 bar w - M16x1.5
925 421 347 0 24/24 57/57 mm 220 mm M16x1.5 10.0/10.0 bar w - M16x1.5
925 421 750 0 24/24 57/57 mm 75 mm - 10.2/8.5 bar w - M22x1.52
925421 751 0 24/24 57/57 mm 200 mm - 10.2/8.5 bar w - M22x1.52
925 421752 0 24/24 57/57 mm 200 mm - 10.2/8.5 bar w - M22x1.52
9254310330 | 24/24 65/65 mm 70 mm M16x1.5 10.5/8.5 bar | s 895802 090 4 - M16x1.5Y
9254310940 | 24/24 65/65 mm 58 mm M16x1.5 10.2/8.5 bar - - M16x1.5
925 431 095 0* | 24/24 65/65 mm 247 mm M16x1.5 10.2/8.5 bar - v M16x1.5%
9254311010 24/24 65/65 mm 186 mm M16x1.5 10.0/9.0 - - M16x1.5
925491 1040 | 24/24 65/65 mm 58 mm M16x1.5 10.2/8.5 bar - v M16x1.5%
9254911050 | 24/24 57/57 mm 187 mm - 10.2/8.5 bar w v M22x1.52
925491 106 0 | 24/24 57/57 mm 187 mm - 10.2/8.5 bar w v M22x1.52
925491 1070 24/24 65/65 mm 58 mm M16x1.5 10.2/8.5 bar v M16x1.5%
925 491 121 0 24/24 65/65 mm 200 mm M16x1.5 10.2/8.5 bar - v M16x1.5
925 491 141 0* 24/24 57/57 mm 250 mm M16x1.5 10.2/8.5 bar — (4 M16x1.5
925 491 900 0 24/24 57/57 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254919010 24/24 57/57 mm 37 mm - 10.2/8.5 bar w v M22x1.52
925 321 407 0 24/30 64/64 mm 77 mm — 10.2/8.5 bar w - M16x1.5
9253214170 24/30 64/64 mm 77 mm - 10.2/8.5 bar w - M16x1.5
9254215400 24/30 65/65 mm 75 mm - 10.2/8.5 bar w - M22x1.52
9254314220 | 24/30 65/65 mm 70 mm M16x1.5 10.5/8.5 bar |s 895802090 4 - M16x1.5Y
9254314230 | 24/30 65/65 mm 70 mm M16x1.5 10.5/8.5 bar | s 895802 090 4 - M16x1.5Y
925491 143 0* | 24/30 65/65 mm 246 mm M16x1.5 10.2/8.5 bar - v M16x1.5
925 491 4400 24/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254914410 24/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
884 5023930 | 24/30 64/64 mm 38 mm %"-18 UNF 8.0/8.0 bar - - %"-18 NPTF
925491 1130 24/30 65/65 mm 200 mm M16x1.5 10.2/8.5 bar - v M16x1.5Y
9254391100 | 27/24 65/65 mm 220 mm M16x1.5 10.0/8.5 bar - - M16x1.5
9254990030 | 27/24 65/65 mm 220 mm M16x1.5 10.2/8.5 bar - v M16x1.5%
9253290210 27/30 64/64 mm 50.8 mm M14x1.5 10.0/8.0 bar - - M16x1.5
9253290310 27/30 64/64 mm 50.8 mm M14x1.5 10.0/8.0 bar - - M16x1.5
925 429 0200 27/30 65/65 mm 85 mm - 10.5/8.5 bar w - M16x1.5
925499 001 0* | 27/30 65/65 mm 250 mm M16x1.5 10.2/8.5 bar - v M16x1.5
9254320220 | 30/24 65/65 mm 70 mm M16x1.5 10.2/8.5 bar |s 895802 090 4 - M16x1.5Y
9254920010 30/24 65/65 mm 58 mm - 10.2/8.5 bar w v M16x1.5Y
925 492 1000 30/24 65/65 mm 250 mm M16x1.5 10.2/8.5 bar - v M16x1.5
925492 2010 30/24 65/65 mm 105 mm %II_‘ISXNF_ 10.2/8.5 bar - v M16x1.5%
9253222050 | 30/30 64/64 mm 37 mm - 8.0/8.0 bar w - M16x1.5
9253222150 30/30 64/64 mm 37 mm - 8.0/8.0 bar w - M16x1.5
925 322 241 0 30/30 64/64 mm 77 mm - 8.0/8.0 bar w - M16x1.5
9253222510 | 30/30 64/64 mm 77 mm - 8.0/8.0 bar w - M16x1.5
9254220700 | 30/30 65/65 mm 38 mm %"-18 UNF 8.5/8.5 bar s — - M16x1.5
9254321130 | 30/30 65/65 mm 215 mm M16x1.5 10.5/8.5 bar |s 895802 090 4 - M16x1.5Y
9254321140 | 30/30 65/65 mm 215 mm M16x1.5 10.5/8.5 bar | s 895802 090 4 - M16x1.5Y
9254321150 30/30 65/65 mm 70 mm M16x1.5 10.5/8.5 bar |s 8958020904 - M16x1.5Y
925432 117 0 30/30 65/65 mm 260 mm M16x1.5 10.5/8.5 bar |s 895802 090 4 - M16x1.5Y
9254321180 | 30/30 65/65 mm 260 mm M16x1.5 10.5/8.5 bar |s 895802 090 4 - M16x1.5Y
9254324200 | 30/30 65/65 mm 86 mm M16x1.5 10.0/10.0 bar | s 895 801 210 4 - M16x1.53
163



BRAKE ACTUATORS

';L‘iggg: Type | Stroke Lengt:usr"m:hread ;’\r’g;';mge Yoke IBV | Port 11, 12
9254324830 | 30/30 65/65 mm 70 mm - 10.2/8.5 bar w - M16x1.5%
925 492 102 0* | 30/30 65/65 mm 252 mm M16x1.5 10.2/8.5 bar = v M16x1.5
9254922000 | 30/30 65/65 mm 54 mm - 10.2/8.5 bar w v M22x1.52
925492 2030 | 30/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254922080 | 30/30 65/65 mm 200 mm M16x1.5 10.2/8.5 bar - v M16x1.5Y
9254922090 | 30/30 65/65 mm 187 mm - 10.2/8.5 bar w v M22x1.52
925492 2130 30/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254922210 | 30/30 65/65 mm 187 mm - 10.2/8.5 bar w v M22x1.52
9254923000 | 30/30 65/65 mm 200 mm M16x1.5 10.2/8.5 bar - (4 M16x1.5
9254929020 | 30/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52
9254929030 | 30/30 65/65 mm 37 mm - 10.2/8.5 bar w v M22x1.52)
925 323130 0* | 36/30 76/76 mm 217 mm M16x1.5 8.0/8.0 bar - - M16x1.5

* Push rod length can be shortened according to customer needs
Repair solutions
Product number  Repair kit Content Product number  Repair kit Content

9253205050
9253205150
9253211600
9253212020
9253212920
9253214070
9253214170
9253222050
9253222150
9253222410
9253222510
925 324 0000
925324 2060
9253242500

925 320 000 2
925 320 000 2
925 321 007 2
925321001 2
925321001 2
925 321 000 2
925 321 000 2
925 322 006 2
925 322 006 2
925 322 000 2
925 322 000 2
925 324 000 2
925 324 003 2
925 324 003 2

Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot

9254212010
9254213420
9254213460
925421 3470
9254215400
9254217500
9254217510
9254217520
9254241000
925426 3300
9254310330
9254310940
9254314220
9254314230

925431902 2
925 321 000 2
925 321 000 2
925 321 000 2
925 421 009 2
9254219202
925421920 2
9254219202
925 424 002 2
925481001 2
925431 008 2
925431902 2
925431 008 2
925431 008 2

Diaphragm + hose stud
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + boot
Diaphragm + hose stud
Diaphragm + hose stud
Diaphragm + hose stud

Diaphragm + hose stud

m 9253242600 9253240032 Diaphragm + boot m 9254911040 4231060032 Diaphragm
m 9253248120 925466 0002 Diaphragm + boot m 9254911070 4231060032 Diaphragm
m 9253248130 9254660002 Diaphragm + boot m 9254911130 4231060032 Diaphragm

9253290210

9253290310

9254209540
9254211000
9254211410
9254212000

164

925 329 000 2
925431901 2

925329 000 2
925431901 2

925320003 2
925 421 009 2
925 421 008 2

925431902 2
925421001 2

Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + boot
Diaphragm + boot

Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + boot

9254911210
9254920010
925492 208 0
925492 3000
925494 0410
925494 960 0

925492921 2
925492 001 2
925492 920 2
925492921 2
925492921 2
925492921 2

Screw insert
Diaphragm
Hose

Screw insert
Screw insert

Screw insert




Spring brake actuator (TRISTOP™) - wedge

= BV
m Port 11, 12
m Temperature

Internal breathing valve
9 JED-388; 2 JIS B 0253; ¥ 1ISO-7-1
—40 ... +80 °C

‘ )

4254540710

4253332120

425 4540700 425457 1000

Product Stroke Pressure (bar) Dimensions (mm) . Port
Type - IBV Mounting
number (mm) Working Release | Length %} 11,12
425 327 052 0 12/12 44.5/44.5 8.0/8.0 5.2 374 176 - 1.75"-12UNS-2A | M16x1.5
425 327 064 0 12/12 51/51 8.0/8.0 5.2 351* 164 — [1.75"-12 UNS-2A |M16x1.5
425 426 201 0 12/16 53/53 10.0/8.5 5.2 284 176 — | M48x1.5 M22x1.59
425 454 070 0 12/16 58168 10.2/8.5 51 366 168.5 — | M48x2 M22x1.5Y
425 454 0710 12/16 53/53 10.2/8.5 51 366 168.5 — | M48x2 M22x1.5Y
425 428 900 0 16/16 58/58 10.2/8.5 5.2 316 186 — | M48x2 M16x1.5
425 429901 0 18/16 53/53 10.2/8.5 5.2 316 186 — | M48x2 M16x1.5
425 457 100 0 18/24 58158 10.0/10.0 5.2 823 186 — | M48x 1.5 M22x1.59
4253330020 20/16 53/45 8.0/8.0 5.2 370 182 — | M45x1.5 M16x1.5
425 3331000 20/20 53/53 10.2/8.5 51 394 192 — | M45x1.5 M16x1.5
4253331010 | 20/20 53/53 10.2/8.5 51 334 192 — |M45x1.5 M16x1.5
425 3331020 20/20 53/53 10.2/8.5 51 420 192 — | M45x%x1.5 M16x1.5
4253332000 20/24 53/53 10.2/8.0 51 358 210 — | M45x1.5 M16x1.5
425 3332010 20/24 53/53 10.2/8.0 51 325 210 — | M45x%x1.5 M16x1.5
425 333 2020 20/24 53/53 8.0/8.0 51 370 210 — | M45x1.5 M16x1.5
4253332120 | 20/24 53/53 10.2/8.0 5.1 389 210 — |M45x1.5 M16x1.5
425 4500800 20/24 55/55 10.2/8.5 4.2 351 191 - [4x @ 10.65 mm Rc %2
425 450 081 0 20/24 55(55 10.2/8.5 4.2 &zl 191 — |4x @ 10.65 mm Rc %2
425 467 010 0 22/24 55/55 10.2/8.5 4.2 356 186 v [4x @ 10.5mm Rc %2
425 3319020 24/16 53/53 8.0/8.0 4.6 359 198 — | M45x%x1.5 M16x1.5
4253319040 24/16 53/53 8.0/8.0 4.6 385 198 — | M45x1.5 M16x1.5
M16x1.5
425 331 0030 24/24 53/53 8.0/8.0 Bl 410 210 — | M45x1.5 JED-152
425 451 080 0 24/24 24/24 10.2/8.5 4.2 356 186 - |4x @ 10.65 mm Rc %
425451081 0 24/24 24/24 10.2/8.5 4.2 356 186 — |4x @ 10.65 mm Rc %
425 461 0000 24/24 57/57 10.2/8.5 4.2 386 185 v |4x 3 10.5 mm Rc %2
425 461 001 0 24/24 BYi51 10.2/8.5 4.2 386 185 v |[4x @ 10.5 mm Rc %2
425 461 002 0 24/24 57/57 10.2/8.5 4.2 356 186 v [4x@10.5mm Rc %2
425 461 003 0 24/24 SIS 10.2/8.5 4.2 356 186 v [4x @ 10.5 mm Rc %2
425 461 0200 24/24 55/55 10.2/8.5 4.2 356 186 v [4x@10.5mm Rc %
425 451 010 0 24/24 55/55 10.2/8.5 4.2 356 186 — |4x @ 10.65 mm Rc %
4254510110 24/24 55/55 10.2/8.5 4.2 356 186 - [4x @ 10.65 mm Rc %
425 326 051 7 9/20 44.5/44.5 8.0/8.0 5.2 262 176 — [1.75"-12UNS-2A | M16x1.5

* (with nut)

165




BRAKE ACTUATORS

Repair solutions

Product number

Repair kit

Content

Product number

Repair kit

Content

m 4253270520
m 4253310030
m 4253319020
m 4253319040
m 4253330020
m 4253331000
m 4253331010
m 4253331020
m 4253332000
m 4253332010
m 4253332020
m 4253332120

166

425327 001 2
425 331 000 2
425331001 2
425331001 2
425333001 2
425333001 2
425333001 2
425333001 2
425333001 2
425333001 2
425333001 2
425333001 2

Diaphragm + hose stud

Diaphragm + hose

Diaphragm + hose stud

Diaphragm + hose stud

Diaphragm + hose
Diaphragm + hose
Diaphragm + hose
Diaphragm + hose
Diaphragm + hose
Diaphragm + hose
Diaphragm + hose

Diaphragm + hose

m 4254262010
m 4254289000
m 4254299010
m 4254500800
m 4254500810
m 4254510800
m 4254510810
m 4254610000
m 4254610010
m 4254610020
m 4254610030
m 4254670100

425 426 001 2
425 428 000 2
425 428 000 2
425 450 002 2
425 450 002 2
425 451 002 2
425 451 002 2
425 461 000 2
425 461 000 2
425 461 000 2
425 461 000 2
423 077 000 2

Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm
Diaphragm

+ hose stud
+ hose stud
+ hose stud

+ hose stud




Air disc brakes

Tool sets for disc brakes

Tool set for MAXX™, MAXXUS™ & PAN™ calipers

m Description

m Product number

Modular tool set for repairing WABCO calipers and adjusting the

return units

400608 3750 WABCO caliper tool set

Product number Content
300 100 010 2 Tool set ‘Basic’
300 100 011 2 Adjuster change
300100012 2 Ratchet for return unit
300 100 013 2 Tool set ‘Extension’
Tool set ‘Basic’
Product number Product
300 100 010 2 Tool set ‘Basic’
Tool set ‘Extension’
Product number Product
300100 013 2 Tool set ‘Extension’
Adjuster change
Product number Product
3001000112 Adjuster change
Ratchet for return unit
Product number Product

300100 012 2

Ratchet for return unit

)

167




AIR DISC BRAKES

Application of tool sets

300 100 010 2 300 100 011 2 300 100 012 2 300 100 013 2

IELE BT Tool set ‘Basic’ Adjuster change Ratchet for return unit Tool set ‘Extension’

v

PAN™17
PAN™17 CWS*
PAN™19
PAN™22
PAN™25
MAXX™17
MAXX™19
MAXX™22
MAXX™22T
MAXXUS™

AN N U N N U N

SSSXXSSXSSKKX~
[
SSSXSXSSXSSKK-«

SN

* CWS - continuous wear sensor

PAN™ range

PAN™ 17 - light duty air disc brake

m OE brake * OE production numbers; brakes are not available for Independant
Aftermarket
m |IAM brake Exchange brake (without brake pads)

m REMAN brake Remanufactured brake (without brake pads)

WABCO product number Mounting OE reference
OE brake* IAM brake REMAN brake side Manufacturer OE number
40 175 051 40 175 049 640 175 049 R left VAN 81.50804.6089
40 175 052 40 175 050 640 175 050 R right 81.50804.6090
40 175 056 40 175 072 640 175 072 R left Ana(;‘(’)?j(l’suzu 375;07073;7;9%5851
40 175 057 40 175 073 640 175 073 R right Ana(;‘(’)?j(l’suzu 375;0373;722%4351
40 175 058 40 175 072 640 175 072 R left eco 500 328 232
40 175 059 40 175 073 640 175 073 R right 500 328 234
40 175 062 40 175 064 640 175 072 R left - 501 042 226 0
40 175 063 40 175 065 640 175 073 R right 501 042 226 1
40 175 070 40 175 072 left . 140 363 2
40 175 071 40 175 073 - right DAF, Hendrickson 140 363 3
40 175 074 640 175 116 0 - left ercodes. Bens A688 420 740 1
40 175 075 640 175 117 0 right A688 420 750 1
40 175 076 640 175 118 0 - left Vercedes. Bens A688 420 760 1
40 175 077 640 175 119 0 right A688 420 770 1
40 175 080 40 175 049 640 175 049 R left VAN 81.50804.6355
40 175 081 40 175 050 640 175 050 R right 81.50804.6354
640 175 122 0 40 175 072 - left A 40 130 006
640 175 123 0 40 175 073 right 40 130 007
640 175 126 0 40 175 072 640 175 072 R left eco 580 154 364 1
640 175 127 0 40 175 073 640 175 073 R right 580 154 363 9

168




Repair solutions

Product number  Repair kit Content
m 40175051 12 480 021 Wear indicator PAN™ 17
40 175 052 12 999 782 Brake pad kit
40 175 080 12 999 802 Brake pad kit
40 175 081 12 999 580VT  Seals
12999 699VT  Sealing and guide bolts
640 1759202  Seals for clamping unit
640 1759402  Pressure plate PAN™ 17
640 175946 2  Clamping unit
m 40175056 12 480 021 Wear indicator PAN™ 17
40 175 057 12 999 698VT  Brake pad kit with wear indicator
40 175 058 12 999 699VT  Sealing and guide bolts
40 175 059 12 999 743VT  Wear indicator PAN™ 17

640175126 0
6401751270

40 175 062
40 175 063

40 175 070
40 175 071

40 175 07